-

CORTECO GmbH
Badener Strafle 4

69493 Hirschberg
Germany

Tel. +49 6201 25964-0
Fax +49 6201 25964-11

CORTECO S.A.S

Z.A. La Couture

87140 Nantiat

France

Tel. +33 555 53 68 00
Fax +33 5 55 53 68 88

CORTECO S.r.l. (a socio unico)
Via P. Poccardi, 3

Zona Industriale Porporata
10064 Pinerolo (TO)

Italy

Tel. +39 0121 369-269

Fax +39 0121 369-299

CORTECO Lid.

Unit 6, Wycliffe Industrial Park
Lutterworth, Leicestershire
LE17 4HG

United Kingdom

Tel +44 1455 550000

Fax +44 1455 550066

a brand of

VN FREUDENBERG

CORTECO Spain & Portugal
Freudenberg Sealing Technologies
S.L.U.

Pol. Ind. Can Volart

C/ Gurri 1

08150 Parets del Vallés (Barcelona)
Espaia

Tel. +34 93 5738741

Fax +34 93 5624676

CORTECO Eastern Europe
Moscow Region,
Lenninskiy district,
142700 City Vidnoye,
Donbasskaya str.block 2
Office 718, Russia

Tel. +7-495 22361-84
Fax +7-495 22361-84

CORTECO Poland
53-014 Wroctaw

U.l Warsztatowa 11
Poland

Tel. +48 71 33997-55
Fax +48 71 33997-00

CORTECO Balkan States
Gajeva 27.

21208 Sremska Kamenica
(Novi Sad) Serbia

Tel. +381 21 465268
Fax +381 21 465268

CORTECO Asia

18 Tractor Road
Singapore 627976
Singapore

Tel. +65 6561 6651
Fax +65 6561 6862

CORTECO India Pvt. Ltd.
370 First Floor, Udyog Vihar,
Phase 6, Sector 37,
Gurgaon 122001 Haryana
India

Tel. +91 124 4019274

CORTECO China Co.Ltd.
Suit 14-1 International Ocean
Shipping Building,

720 Pudong Avenue,
Shanghai, PR.C.

Tel. +86 21 3470 1680

Fax +86 21 3468 9697

CORTECO Ishino Japan

Corteco Ishino Corporation
1-4-8, Shiba-Daimon, Minato-ku,
Tokyo 105-0012

Japan

Tel. +81-3-5405-8411

Fax +81-3-5405-8412

CORTECO USA
11617 State Route 13
Milan, Ohio 44846
USA

Tel. +1 419 4992-502
Fax +1 419 4992-804

CORTECO South America

Av. Piraporinha, 411

09950-902 Séo Paulo / Diadema
Brasil

Tel. +55 11 40728010

Fax +55 11 40752535

CORTECO Mexico

Circuito El Marques Norte #14
Parque Industrial el Marques
El Marques, Querétaro

C.P 76240

Mexico

Tel- +52 (442) 153 3278

CORTECO Turkey

Freudenberg Sealing Technologies
Sanayi ve Ticaret A.S.

NOSAB 204 Sk. No: 3

16140 Nilufer Bursa

Turkey

www.corteco.com

99000180 11/16

PULLEY | RIEMENSCHEIBEN | PULIES DE VILEBREQUIN | PULEGGE

Riemenscheiben | Poulies de Vilebrequin |

Pulegge

PULLEY

2017 pa
2018

a brand of

VN FREUDENBERG




.

- ;
SEALING VIBRATION CONTROL CABIN AIR FILTER www.corfeco.com

WE DELIVER THE ORIGINAL.

Corteco, Freudenberg Group

FREUDENBERG = FE e . H H%
SEALING TECHNOLOGIES V7 \libracoustic micronAir
2 billion seals per year for the Market leader in vibration control with cabin air filters in every
automotive industry in Europe around EUR 1.7 billion turnover per year other new car

a brand of

7N FREUDENBERG

Rechtliche Hinweise | Informations Légales |

Avvertenze

DISCLAIMER

Every care has been taken to ensure this information is
correct at the time of publication. We cannot accept re-
sponsibility for errors. This catalogue contains prod-
ucts in original quality. We reserve the right to make
technical changes. Original numbers from automobile
manufacturers only serve as a cross-reference com-
parison with the CORTECO-No. and should not be
used in delivery notes and invoices to vehicle owners.
Full or partial reproduction permitted only with our
written approval.

L'exactitude des données de ce catalogue a été vérifiée
avec le plus grand soin. Néanmoins, tout droit & indem-
nité lié¢ aux indications du présent catalogue est exclu. Ce
catalogue comporte des produits de qualité d’équipe-
ment d’origine. Nous nous réservons le droit de procé-
der & des modifications techniques sans préavis. Si nous
nous référons dans nos documents au numéro de piéce
de rechange du fabricant automobile, nous le faisons
uniquement & des fins de comparaison. |l est interdit de
faire usage de telles données dans des factures adres-
sées au propriétaire du véhicule. Toute réimpression,
méme sous forme d’extraits, requiert notre autorisation.

Die Angaben in diesem Katalog wurden mit gréfiter Sorg-
falt auf ihre Richtigkeit Uberprift. Trotzdem kénnen Ersatz-
anspriche auf Grund von Angaben aus diesem Katalog
nicht anerkannt werden. Alle Angaben erfolgen ohne Ge-
wdéhr. Dieser Katalog enthélt Produkte in Original-Qualitét.
Konstruktionsénderungen  bleiben  vorbehalten.  So-
weit wir in unseren Unterlagen Bezug auf die Ersatzteil-
nummer des Fahrzeugherstellers nehmen, dient diese
nur zu Vergleichszwecken. Eine Verwendung derartiger
Angaben in Rechnungen an den Fahrzeugbesitzer ist
nicht statthaft. Der Nachdruck, auch auszugsweise, ist
nur mit unserer schriftichen Genehmigung gestattet.

Ci siamo adoperati affinché i dati contenuti in questo ca-
talogo siano i piu esatti possibili. Tuttavia decliniamo ogni
responsabilitd per eventuali inesattezze, non verranno da
noi riconosciuti diritti di risarcimento di qualsiasi sorta
causati da errori od omissioni. Questo catalogo contie-
ne prodotti di qualitd primo equipaggiamento. Ci riser-
viamo il diritto di apportare modifiche tecniche. | numeri
originali e i nomi dei costruttori citati in questo catalogo
servono esclusivamente a scopo comparativo e non pos-
sono essere utilizzati sulle bolle di accompagnamento e
fatture ai proprietari di autoveicoli. La riproduzione, anche
sommaria, & concessa solo dietro nostra autorizzazione.



Inhalt | Sommaire | Indice

CONTENT

PRODUCT OVERVIEW 4
Produktibersicht | Loffre Produits | Catalogo Prodotti

MORE THAN 160 YEARS OF EXPERTISE 6
Uber 160 Jahre Fachkompetenz | Plus de 160 ans d'expertise |
Oltre 160 anni di esperienza

NEW AUTOMOTIVE GENERATION 8
Eine neue Generation in der Automobilindustrie | Nouvelle génération d'automobiles |
Nuova generazione automotive

START-STOP PULLEY 10
Start & Stopp Riemenscheiben | Poulies Stop & Start | Pulegge Start & Stop

VEHICLE APPLICATIONS & & 19

Fahrzeuganwendungen | Applications | Applicazioni

PICTURES 345
Produktbilder | Photos | Foto

OE-NUMBERS 359
OE-Nummern | Correspondances Corteco-Origine | Tabelle Comparative Corteco-OEM

SIGNS AND SYMBOLS 369
Zeichenerklarung | Signes et Symboles | Segni e Simboli

DISCLAIMER 377
Rechtliche Hinweise | Informations Légales | Avvertenze



Corteco, trust the expert

PRODUCT OVERVIEW

Cabin oirrfil’rer :
ni Faumfilf\gr
iltres d “habitacle |

Gaskets and head bolts
Dichtungen und Zylinderkopfschrauben
Joints et kits de vis de culasse

Guarnizioni motore e bulloni testa

Radial shaft and valve stem seals
‘ ; Simmerringe® und Ventilschaftabdichtungen

agues d“étanchéité et joints de queues de soupapes
) Anelli di tenuta e paraolio valvole

Brake hoses
Bremsschlduche Vibration control parts for chassis, engine and transmission
Flexibles de freins Schwingungstechnische Produkte fir Fahrwerk, Motor und Getriebe
Tubi freno Pieces antivibratoires pour moteurs et fransmissions
Ricambi per il controllo delle vibrazioni per telaio, motore e frasmissione




No matter which products you choose from the CORTECO
product portfolio, you always receive outstanding original
quality. This high quality standard is directly linked to Freuden-
berg and characterises our comprehensive spare parts range.
CORTECO offers more than 19,000 products and service kits
to garages - among them leading brands such as the Sim-
merring® radial shaft seal. Our extensive product programme
comprises Simmerrings, valve stem seals, flat gaskets and en-
gine kits, vibration control technology such as engine mounts,
pulleys and suspension mounts as well as cabin air filters and
brake hoses.

For welches Produkt Sie sich aus der CORTECO-Produki-
familie auch entscheiden, Sie erhalten immer herausragende
Original-Qualitat. Dieser hohe Qualitétsstandard, dank unse-
rer direkten Verbindung zu Freudenberg, kennzeichnet unser
umfangreiches Ersatzteil-Sortiment. CORTECO bietet Werkstét-
ten mehr als 19.000 Produkte und Service Kits - unter ihnen
fohrende Marken wie z. B. den Simmerring® Radialwellendich-
tring. Unser breites Produktsortiment umfasst Simmerringe,
Ventilschaftabdichtungen, Flachdichtungen und Motorsétze,
Schwingungstechnik wie Motorlager, Riemenscheiben und
Fahrwerkslager sowie Innenraumfilter und Bremsschléuche.

Quelque soit le produit CORTECO que vous choisissez,

vous bénéficiez avant tout de la qualité d’origine issue de la
technologie et de I'innovation Freudenberg. CORTECO offre
plus de 19.000 références de qualité, parmi lesquelles des
marques leaders comme les bagues d’étanchéité Simmerring®.
Nos gammes comprennent des bagues d’étanchéité
dynamique, des joints de queues de soupapes, des joints et kits
de joints, des piéces antivibratoires pour moteur, transmission
ou chassis, des filtres d’habitacle ou encore des flexibles de
freins.

Qualunque prodotto scegliate dalla gamma CORTECO,
troverete sempre la necessaria qualita originale. La nostra
gamma & caratterizzata da prodotti di alta qualita garantiti
dal gruppo Freudenberg. CORTECO offre alle officine piu

di 19.000 parti di ricambio e kit riparazione, tra i quali
importanti marchi depositati come Simmerring® e CORTECO
per gli anelli di tenuta. Il nostro programma di vendita include
anelli di tenuta, paraolio stelo valvola, guarnizioni piane e
kit guarnizioni motore, supporti motore, pulegge, supporti
sospensioni ed anche ricambi di servizio come filtri aria
abitacolo e tubi freno.



DER

SIMMERRING

(Wort

Carl Johann Freudenberg
establishes tannery in
Weinheim. Production of
patent leather begins.

Carl Johann Freudenberg
grundet Gerberei in
Weinheim. Patentierte
Lederfertigung beginnt.

Hermann Ernst Freu-
denberg develops a
tanning process using
chrome liquor instead of
vegetable products.The
company becomes the
largest leather manufac-
turer in Europe.

Hermann Ernst Freu-
denberg entwickelt ein
Gerbverfahren, das auf
einer Chromflussigkeit
statt auf Pflanzenpro-
dukten basiert. Das
Unternehmen wird der
groBte Lederhersteller in
Europa.

Corte & Cosso establis-
hed in Turin, laly.

Corte & Cosso wird in
Turin, ltalien, gegrindet.

The Simmerring® is
developed on the basis
of the first seals.

Der Simmerring® wird
auf der Grundlage der
ersten Dichtungsringe
entwickelt.

ORE THAN 160 YEARS
OF EXPERTISE

Carl Johann Freudenberg
crée une tannerie & Wein-
heim. La production de
cuir verni commence.

Carl Johann Freudenberg
fonda la sua conceria

in Weinheim. Inizia la
produzione brevettata

di cuoio.

Hermann Ernst Freu-
denberg développe un
processus de tannage
utilisant une solution &
base de chrome & la
place de produits végé-
taux. La société devient
le plus gros fabricant de
cuir en Europe.

Hermann Ernst Freuden-
berg sviluppa un proces-
so di conciatura che usa
cromo liquido al posto
di prodotti vegetali.
L'azienda diventa il piv
grande produttore di
cuoio in Europa.

Création de Corte &
Cosso & Turin, ltalie.

Viene fondata la Corte &
Cosso a Torino, in ltalia.

La marque Simmer-
ring® est développée
sur la base des premiers
joints d'étanchéité.

Il Simmerring® (anello di
tenuta) & sviluppato sulla
base delle prime tenute.

Agreement with Carl
Freudenberg company,
distribution of technical
leather goods for
engines.

Vereinbarung mit dem
Unternehmen von Carl
Freudenberg, Vertrieb von
technischen Lederwaren
fir Motoren.

Perbunan (synthetic rub-
ber) is used as a sealing
material for Simmerrings
and replaces leather.

Perbunan (syntheti-
sches Gummi) wird als
Dichtungsmaterial fur
Simmerringe verwendet
und ersetzt Leder.

In 1957 Freudenberg
embraces vibration
control technology.

1957 fihrt Freudenberg
die Schwingungsdémp-
fungstechnik ein.

Involvement with Nippon
Qil Seal Industry Compa-
ny Ltd, Tokyo (NOK) and
partnership in Japanese
Vilene Company Ltd
(also Tokyo) the company
becomes a worldwide
operating business
group.

Durch die Zusammen-
arbeit mit Nippon Oil
Seal Industry Company
Ltd, Tokio (NOK), und
die Partnerschaft mit der
japanischen Vilene Com-
pany Ltd (ebenfalls Tokio)
entsteht eine weltweit
tétige Unternehmens-
gruppe.

Accord avec la société
Carl Freudenberg,
distribution de produits
techniques en cuir pour
les moteurs.

Accordo con l'azienda
Carl Freudenberg

per la distribuzione di
prodotti fecnici in cuoio
per motori.

Le Perbunan (caout-
chouc synthétique) est
utilisé comme matériau
d'étanchéité pour les
bagues Simmerring® et
remplace le cuir.

NBR (gomma nitrilica)
& usato come base per
i Simmerring al posto

del cuoio.

En 1957, Freudenberg
se lance dans la tech-
nologie du contréle des
vibrations.

Nel 1957 la Freuden-
berg include la tecno-
logia per il controllo
vibrazioni.

Engagement avec
Nippon QOil Seal Indus-
try Company Ltd, Tokyo
(NOK) et joint-venture
avec Japanese Vilene
Company Ltd (également
& Tokyo). La société devi-
ent un groupe d'affaires
mondial.

Joint venture con la
Nippon Oil Seal Indus-
try Company Ltd, Tokyo
(NOK) in partnership
con la giapponese Vilene
Company Ltd (sempre in
Tokyo) I'azienda diventa
una business group ope-
rante a livello mondiale.



1996/97

®

2001

vibracoustic /\/\

2001

TransTec establised,
partially owned by
Freudenberg & Co.

Grindung von TransTec
im Miteigentum von
Freudenberg & Co.

Particle filter develop-
ment commences.

Die Partikelfilterentwick-
lung beginnt.

Carbon activated filter
production starts.

Die Herstellung von
Aktiv-Kohlefilter beginnt.

Corteco brand estab-
lished in Turin (ltaly),
Viernheim (Germany)
and Lutterworth (UK).

Die Marke Corteco

wird in Turin (ltalien),
Viernheim (Deutschland)
und Lutterworth (GB)
gegrindet.

Vibracoustic created as
joint venture between
Freudenberg and
Phoenix AG.

Vibracoustic wird als
Joint Venture von Freu-
denberg und Phoenix
AG gegrindet.

TransTec name changed
to Corteco USA.

TransTec wird in Corteco
USA umbenannt.

Création de TransTec,
partiellement détenue
par Freudenberg & Co.

Viene fondata la
TransTec, parzialmente
di proprieta della Freu-
denberg & Co.

Le développement des
filtires d’habitacle &
particules commence.

Inizia lo Sviluppo del
Filtro Particellare.

La production des filires
d’habitacle & charbon
actif démarre.

Comincia la produzione
del Filtro a Carboni
Attivi.

La marque Corteco
s'installe & Turin (ltalie),
Viernheim (Allemagne)
et Lutterworth (UK).

Corteco da brand
diventa anche azienda,
e viene fondata in
Pinerolo (ltalia), Viern-
heim (Germany) e in
Lutterworth (UK).

Vibracoustic est créé
suite & la joint-venture
entre Freudenberg et
Phoenix AG.

Nasce Vibracoustic
come joint venture tra
Freudenberg e Phoenix
AG.

TransTec devient Corteco
USA.

TransTec cambia il suo
nome in Corteco USA.

2012

—-V7_ Vibracoustic

2014
AUTO

SUPPLIERS
LIMITED

2016

Corteco-Meillor S.A.S.
becomes Corteco S.A.S.

Corteco-Meillor S.A.S.
wird zu Corteco S.A.S.

Foundation of Corteco
China. Further branches
open in Poland, Russia,
America and Asia.

Grindung von Corteco
China. Weitere Nieder-
lassungen werden in Po-
len, Russland, Amerika
und Asien erdffnet.

TrelleborgVibracoustic
established as joint
venture company for au-
tomotive anti-vibration
solutions. Corteco India
and Corteco Ishino
Japan are established.

TrelleborgVibracoustic
wird als Joint Venture fir
schwingungstechnische
Lésungen im Auto-
mobilbau gegrindet.
Grindung der Corteco
Indien und Corteco
Ishino, Japan.

Corteco expands power
steering business. Auto
Suppliers Ltd acquired
by Corteco.

Corteco weitet
Servolenkungsgeschaft
aus. Corteco Ubernimmt
Auto Suppliers Ltd.

Corteco - a global
company, with focus on
partnership, service and
quality.

Corteco - ein weltweit
tétiges Unternehmen
mit Schwerpunkt auf
Partnerschaft, Service
und Qualitét.

Corteco-Meillor S.A.S.
devient Corteco S.A.S.

Corteco-Meillor S.A.S.
diventa Corteco S.A.S.

Création de Corteco
Chine. D’autres suc-
cursales sont ouvertes
en Pologne, Russie,
Amérique et Asie.

Fondazione della
Corteco Cina. Altre
filiali vengono aperte in
Polonia, Russia, America
e Asia.

Création de la joint-
venture Trelleborg/
Vibracoustic afin de
renforcer la position de
leader mondial en solu-
tions antivibratoires pour
I'automobile. Corteco
Inde et Corteco Ishino
au Japon sont fondés.

Trelleborg Vibracoustic
viene fondata in joint
venture come azienda
per i componenti anti-vi-
branti per I'automotive.
Vengono fondate
Corteco India e Corteco
Ishino Giappone

Corteco se développe
dans le secteur de la
direction assistée avec
I"acquisition d’Auto
Suppliers Ltd.

Corteco incrementa

il suo fatturato nella
servoassistenza ed ac-
quisisce Auto Suppliers
LTD.

Corteco - une entreprise
mondiale focalisée sur
le partenariat, le service
et la qualité.

Corteco Oggi —
un’azienda globale fo-
calizzata in partnership,
servizio e qualita.



Your partner for a

NEW AUTOMOTIVE

GENERATION

FREUDENBERG - INNOVATING TOGETHER

We are inspired by technology and innovation. Together with
our customers and with our research partners, we develop
leading-edge technologies, products, solutions and services.
Having pioneered innovation throughout our history — from
chrome tanning and the development of the Simmerring to
sophisticated and high-tech medical devices — our company
is an innovation champion. For us, striving together for solu-
tions that support global sustainability is both our motivation as
well as our concept for success. We live “Innovating Together”
across business groups and world regions. This enables us to
provide our customers with solutions and answers to tomorrow’s
questions, today.

Driving Balance

Vibracoustic is the global market leader in the field of
automotive vibration control technology. And thus, supplies
virtually every passenger vehicle and commercial vehicle
manufacturer in the world with components that clearly and
noticeably boost the comfort on board.

The global R&D network enables the engineers at Vibracoustic to
develop unparalleled vibration damping technologies, gain new
insights every day info manufacturing and materials engineering
that are the key to superior products. Here, Vibracoustic never
focuses on an individual component, but rather its effect on the
vehicle as a whole.

Corteco, subsidiary of the Freudenberg group, is responsible
for the distribution of automotive products to the independent
aftermarket. With OE connections like this and a reputation for
customer service and logistical support that's second to none, it's
no wonder that Corteco is able to deliver so many appropriate
solutions for so many different countries.

FREUDENBERG - INNOVATING TOGETHER

Wir sind von Technologie und Innovation inspiriert: Gemein-
sam mit unseren Kunden und unseren Forschungspartnern ent-
wickeln wir fihrende Technologien, Produkte, Lésungen und
Dienstleistungen. Von der Chromgerbung und der Entwicklung
des Simmerrings bis hin zu komplexen, hochtechnologischen
Medizingeraten: Unsere Firmenhistorie ist durch zukunftwei-
sende Innovationen geprégt. Als Meister der Innovation streben
wir gemeinsam nach Lésungen, die die globale Nachhaltigkeit
unterstitzen. Das ist nicht nur unsere Motivation, sondern auch
unser Erfolgskonzept. Wir leben das Motto ,Innovating Toge-
ther” in allen Geschéftsbereichen und Regionen der Welt. So
ist es uns méglich, unseren Kunden bereits heute Lésungen und
Antworten auf die Fragen von morgen zu liefern.

Fahrkomfort

Vibracoustic ist der globale MarktfGhrer fir Schwingungs-
technik im Automobil. Als solcher beliefert er nahezu alle Pkw-
und Nutzfahrzeughersteller weltweit mit Bauteilen, die den
Komfort an Bord spirbar steigern.

In einem globalen F&E-Netzwerk entwickeln Vibracoustic
Ingenieure Technologien zur Schwingungsdémpfung. Neue
Erkenntnisse der Fertigungs- und Werkstofftechnik und moderne
Berechnungsmethoden sind der Schlissel fir bessere Produkte.
Dabei betrachtet Vibracoustic nie nur die einzelne Komponente,
sondern deren Wirkung im Gesamtfahrzeug.

Die Freudenberg Tochter Corteco ist fir den Vertrieb der
Automobilprodukte an den freien Automobil-Ersatzteilmarkt
zusténdig. Mit OEM-Verbindungen wie dieser und einem Ruf fir
Kundenservice und logistische Unterstitzung, die unibertroffen
sind, wundert es nicht, dass Corteco so viele passende Lésungen
fur so viele verschiedene Lénder anbieten kann.



FREUDENBERG - INNOVATING TOGETHER

La technologie et I'innovation nous inspirent. Ensemble avec
nos clients et nos partenaires de recherche, nous développons
des technologies de pointe, des produits, des solutions et des
services. Tout au long de notre histoire, du tannage au chrome
aux appareils médicaux sophistiqués et de haute technologie, en
passant par le développement des bagues Simmering, notre en-
treprise a toujours fait preuve d'innovation. Pour nous, chercher
ensemble des solutions favorisant la durabilité mondiale est & la
fois notre motivation et notre concept de réussite. Nous vivons
"Innovating together" au travers de groupes de travail dans le
monde entier. Cela nous permet de fournir aujourd’hui & nos
clients des solutions et des réponses aux questions de demain.

Confort de conduite

Vibracoustic est le leader mondial du marché dans le domaine
du contréle des vibrations automobiles. Et en tant que tel, il
fournit presque tous les constructeurs de VL et VUL dans le
monde en piéces qui améliorent nettement le confort & bord.

Un réseau mondial de Recherche et Développement permet
aux ingénieurs de Vibracoustic de développer des technologies
antivibratoires inégalées, d'acquérir de nouvelles perspectives
chaque jour dans les techniques de conception et de fabrication
des matériaux.

Clest la clé pour obtenir des produits de qualité supérieure. Dans
le méme esprit, Vibracoustic ne se concentre jamais sur un seul
composant mais sur l'effet produit sur I'ensemble du véhicule.

Corteco, filiale du groupe Freudenberg, est responsable de la
distribution des piéces automobiles sur le marché de la rechange
indépendante. Muni de tels liens avec I'équipement d'origine, et
d'un service client et logistique sans égal, il n'est pas étonnant
que Corteco puisse fournir autant de solutions adaptées pour
autant de pays différents.

FREUDENBERG - INNOVATING TOGETHER

Ispirati dalla tecnologia e dall’innovazione, insieme con i nostri
clienti e con i nostri partner, sviluppiamo tecnologie, prodotti,
soluzioni e servizi all’avanguardia. L'innovazione ci accom-
pagna fin dagli esordi — dalla conceria in cromo allo sviluppo
del Simmerring® (anello di tenuta) fino ai sofisticati dispositivi
medici hi-tech. Per questo, per noi, sviluppare soluzioni che
supportano la sostenibilitd globale & una filosofia ma anche la
chiave per il successo. Viviamo “innovando insieme” ai Business
Groups in tutte le regioni del mondo. Questo fa si che gia oggi,
possiamo fornire ai nostri clienti soluzioni e risposte ai loro bi-
sogni di domani.

Comfort di guida

Vibracoustic & il leader mondiale, in campo automobilistico
per la tecnologia del controllo delle vibrazioni. Da questa
posizione,Vibracoustic fornisce virtualmente ogni produttore di
autoveicoli e veicoli commerciali nel mondo con componenti che
migliorano in modo evidente il comfort di guida.

La rete globale di ricerca e sviluppo consente agli ingegneri
di Vibracoustic di sviluppare tecnologie di smorzamento delle
vibrazioni senza pari, con costanti aggiornamenti in materia di
ingegneria della produzione e dei materiali, le chiavi per fornire
un prodotto superiore. Vibracoustic non si focalizza solamente
sul singolo componente, ma anche sugli effetti che questo pro-
duce sull' infero veicolo.

Corteco, quale sussidiaria del gruppo Freudenberg, & respon-
sabile della distribuzione nell'independent aftermarket per i pro-
dotti automotive. Con un link con I'OE come questo, unito ad
un servizio clienti ed una capacita logistica seconda a nessuno,
non ¢& difficile comprendere che Corteco & in grado di fornire
soluzioni appropriate ad ogni specifica area.



s,

Vi —

¢

A growing trend

START-STOP SYSTEMS

MAKING A CHANGE

Environmental considerations and a reduction in the combustion
of precious fuels are crucial factors in the development of new
eco-friendly technologies for the automotive sector.

Automatic start-stop systems are good examples, providing a 5
to 7 % improvement in fuel economy and a similar reduction of
carbon dioxide emissions.

More than half of the cars currently produced are equipped with
start-stop systems that reduce CO2 emissions and save fuel. The
OE trend points upwards. By 2022, it is expected that start- stop
systems will be fitted as standard on more than 82 % of the
vehicles sold in Western Europe.

The vehicle comes to a standstill, the engine is stopped and then
restarted after a brief period of time. It is a process that increases
the vibrations and the strain throughout the accessory drive, via
the crankshaft pulley.

On average, an ordinary pulley will have to withstand up
to 50,000 to 70,000 starts. A start-stop pulley on the other
hand, will have to endure 500,000 to 700,000 starts.

Developing pulleys that can withstand ten times
as many starts without breaking or failing, poses
enormous challenges. Extensive research, development and
testing makes it possible to deliver the solutions.

Counterfeit parts are exposed to none of these and therefore
cannot match OE requirements.




THE CORTECO START-STOP RANGE

There are over 20,000 Vibration Control, Sealing and Filiration
products and more than 1,410 of these are specifically for start-
stop applications.

The Corteco range already includes:

B 50 Corteco start-stop PULLEYS covering over
4.5 million vehicles

B 11 Corteco start-stop PULLEY KITS including
Pulleys and matching bolts

CORTECO®

STRONGER PARTS FOR A HIGHER DURABILITY

As the aftermarket distribution arm of the Freudenberg
Group, Corteco is able to draw on the wealth of design and
development resources available from a company renowned as
one of the world’s largest manufacturers of components for OE.

Transforming an ordinary pulley (TVD) into the perfect start-
stop component is a complicated process. Some of the stages
include:

Optimising construction by developing a stronger
geometry between components

Conceiving new mounting and
bonding processes specifically
designed for metal and rubber
parts - Enhancing the bonding
characteristics through
enlargement of the holding
surfaces to improve isolation and
extend durability

Developing new materials such
as high temperature and
performance elastomers
(Nano-EPDM Technology)

11



s,

¥

¢

l

Ein wachsender Trend

START-STOPP-SYSTEME

EINEN UNTERSCHIED MACHEN

Okologische Aspekte, sowie die unnétige Verbrennung von wert-
vollem Benzin, waren fir die Automobilindustrie mafigebliche
Faktoren, um umweltfreundlichere Technologien zu entwickeln.

Eine dieser neuen Entwicklungen ist das automatische Start-
Stopp System, welches den Benzinverbrauch um 5 bis 7 %
reduziert, mit einem &hnlich Effekt bei Kohlendioxid-Emissionen.

Mehr als die Hélfte der derzeitig produzierten Autos sind
mit einem Start-Stopp-System, welches den CO2 Ausstof3
reduziert und den Kraftstoffverbrauch senkt, ausgestattet - Tendenz
steigend. Es wird erwartet, dass Start-Stopp-Systeme bis zum
Jahr 2022 serienméBig in mehr als 82 %, aller in Westeuropa
verkauften Fahrzeuge, verbaut sind.

Wenn das Fahrzeug zum Stillstand kommt wird der Motor abge-
schaltet und nach kurzer Zeit wieder gestartet. Dieser Vorgang
erhoht die Vibration sowie die Belastung aller Teile, die mit der
Riemenscheibe an der Kurbelwelle verbunden sind.

Eine herkémmliche Riemenscheibe muss durchschnittlich
50.000 bis 70.000 Startvorgéngen standhalten. Eine Start-
Stopp Riemenscheibe muss hingegen 500.000 bis 700.000
Starts aushalten.

Die Entwicklung von Motorlagern oder Riemenscheiben, welche
der zehnfachen Anzahl an Starts standhalten ohne auszufal-
len, stellt eine immense Herausforderung dar. Jedoch machte
eine intensive Forschung, Entwicklung und Prifung es méglich
dieses Problem zu I8sen. Plagiate unterlagen keinem dieser drei
Schritte und entsprechen demzufolge den OE Anforderungen
nicht.




DAS CORTECO START-STOPP-SORTIMENT

Corteco bietet Gber 20.000 Produkte im Bereich Schwingungs-
démpfer, Dichtungen und Filtration, von denen mehr als 1.410
speziell fur Start-Stopp-Applikationen sind.

Das Corteco Sortiment umfasst bereits:

B 50 Corteco Start-Stopp Riemenscheiben; decken den
Bedarf von ca. 4,5 Millionen Fahrzeugen

B 11 Corteco Start-Stopp Riemenscheiben Sets,
inklusive Riemenscheibe und passenden Schrauben

CORTECO®

STARKERE BAUTEILE FUR EINE LANGERE LEBENSDAUER

Als Vertriebsgesellschaft fur Ersatzteile der Freudenberg Gruppe,
ist Corteco in der Lage auf eine Fille an Gestaltungsméglich-
keiten und Entwicklungsressourcen zurickzugreifen, bezogen
von einer Firma bekannt als einer der weligréBBten Hersteller
von Bestandteilen fir den OE-Bereich.

Eine herkémmliche Riemenscheibe Start-Stopp-féhig zu machen
ist ein aufwendiger Prozess. Hierzu gehdrren einige Schritte wie:

Optimierung der Konstruktion durch eine verbesserte
Geometrie der Komponenten

Entwicklung neuer Montage- und
Klebeprozesse, speziell fir Gummi-
Metallteile - Verbesserte Bindungs-
eigenschaften fihren, mittels einer
vergroBerten Haftflache, zu einer
verbesserten Isolierung und einer
l&dngeren Lebensdauer

Das Entwickeln von neuen
Materialen, wie temperatur-
besténdigen Hochleistungs-
Elastomeren (Nano-EPDM Technologie)

13



Une tendance grandissante

SYSTEMES STOP & START

APPORTER UN CHANGEMENT

Des considérations environnementales et une réduction de la
combustion des précieux carburants sont des facteurs cruciaux
dans le développement de nouvelles technologies écologiques
pour le secteur automobile.

Les systémes automatiques Stop & Start en sont un bon exemple
en améliorant les économies de carburant de 5 & 7 % et en
apportant une réduction équivalente d'émissions de dioxyde de
carbone.

Plus de la moitié des véhicules fabriqués actuellement sont équi-
pés d'un systtme Stop & Start qui réduit les émissions de CO2
et économise le carburant. Et la tendance chez les constructeurs
est & la hausse. D'ici 2022, on prévoit que les systémes Stop &
Start équiperont en série plus de 82 % des véhicules vendus en
Europe de I'Ouest.

Le véhicule s'arréte, le moteur s'arréte lui aussi et redémarre
peu de temps aprés. Ce processus augmente les vibrations et
la tension sur l'entrainement des accessoires via la poulie de
vilebrequin.

En moyenne, une poulie ordinaire devra résister jusqu'a
50 000 voire 70 000 démarrages. Une poulie Stop &
Start, en revanche, devra endurer 500 000 a 700 000
démarrages.

Développer des supports moteurs ou des poulies capables de
résister & dix fois plus de démarrage sans cassure ou rupture,
est un énorme défi. Des travaux approfondis de recherche, de
développement et d'essais permettent de fournir des solutions.

Les piéces contrefaites n'ont pas été soumises & ces contraintes et
ne peuvent donc pas répondre aux exigences des constructeurs.

14



LA GAMME STOP & START DE CORTECO

Il existe plus de 20 000 produits en contréle des vibrations, en
étanchéité et en filtration et plus de 1 410 d'entre eux sont spé-
cialement congus pour des applications Stop & Start.

La gamme Corteco inclut déja :

B 50 POULIES Stop & Start couvrant plus de
4,5 millions de véhicules

B 17 KITS POULIES Stop & Start comprenant les
poulies et les vis de fixation correspondantes

rodu n o
N TART-STOP PULLEY

CORTECO®

DES PIECES PLUS RESISTANTES POUR UNE PLUS GRANDE
DURABILITE

En tant que bras du groupe Freudenberg sur le marché de la
distribution des piéces de rechange, Corteco profite de la rich-
esse de conception et des ressources de développement d'une
société reconnue comme l'un des plus grands fabricants au
monde de piéces pour I'équipement d'origine.

Transformer une poulie ordinaire (Torsional Vibration Damper)
en équipement parfait pour Stop & Start est un processus com-
pliqué. Quelques-unes des étapes sont :

Optimiser le montage en développant une géométrie
plus résistante entre les composants

Concevoir des techniques de
fixation et d'adhérisation spécifiques
aux parties métalliques et caoutchouc -
Accroitre les caractéristiques
d'adhérisation par un élargissement
des surfaces de maintien pour
augmenter la durabilité

Développer de nouveaux matériaux
tels que les élastoméres résistant aux
températures élevées
(technologie Nano-EPDM)



s,

v - e

¢

l

Un trend in crescita

SISTEMI START&STOP

UN CAMBIO DI ROTTA

Considerare |I' impatto ambientale e ridurre il consumo di car-
burante sono due fattori chiave per lo sviluppo di nuove tecno-
logie automobilistiche eco-friendly.

| sistemi automatici Start&Stop ne sono un buon esempio, dal
momento che permettono un miglioramento tra il 5 % e il 7 %
dei consumi di carburante e similmente anche delle emissioni

di CO2.

Pib della meta delle automobili prodotte attualmente sono equi-
paggiate con un sistema Start&Stop che riduce le emissioni di
CO2 e ne migliora i consumi; questo trend & in costante crescita.
Entro il 2022, si prevede che sistemi Start&Stop siano montati
di primo impianto su oltre I' 82 % degli autoveicoli venduti in
Europa occidentale.

Quando il veicolo si ferma, il motore viene spento e riacceso
al momento della partenza, dopo qualche istante. Questo & un
processo che aumenta le vibrazioni e lo stress sulla cinghia ser-
vizi tramite la puleggia albero motore ed i supporti motore.

In media, una puleggia e un supporto motore standard,
devono sopportare tra le 50.000 e le 70.000 partenze a
differenza di una puleggia e un supporto in un sistema
Start&Stop che dovranno sopportarne tra le 500.000 e le
700.000.

Sviluppare componenti che possano smorzare un numero di
partenze dieci volte maggiore, senza danneggiarsi o rompersi,
sappresenta una grande sfida, superata attraverso ricerche ap-
profondite ed innumerevoli test. | componenti contraffatti non

sono sottoposti a nessuno di questi processi quindi non soddis-
fano le caratteristiche richieste dall' OE.

16



GAMMA START&STOP CORTECO

Una gamma composta da oltre 20.000 prodotti divisi tra con-
trollo vibrazioni, tenute e filtrazione, 1410 dei quali specifici per
applicazioni Start&Stop.

La gamma Corteco include:

| 50 PULEGGE Corteco Start&Stop che coprono oltre
4,5 milioni di veicoli
| 11 KIT PULEGGIA Corteco Start&Stop che includono

puleggia e relativi bulloni

CORTECO®

ALTA RESISTENZA, LUNGA DURATA

In qualita di distributore aftermarket del gruppo Freudenberg,
Corteco & in grado di attingere dalle risorse di un' azienda rico-
nosciuta tra i maggiori costruttori e fornitori di componenti OE
al mondo.

La trasformazione di una puleggia standard (TVD) in una pu-
leggia ottimizzata Start&Stop & un processo complicato. Alcuni
tra i processi sono:

Ofttimizzazione costruttiva tramite lo sviluppo di una
geometria pivU equilibrata tra i
componenti

Ideazione di nuovi processi di
adesione tra componenti di
gomma e metallo, incrementando
la forza legante tra le parti ed
aumentando le superfici di contatto
per ottenere migliore isolamento
dalle vibrazioni e estendere la
durata del prodotto

Sviluppo di nuovi e performanti
elastomeri resistenti ad alte
temperature (Nano-EPDM Technology)

17



SEALING VIBRATION CONTROL CABIN AIR FILTER

WE DELIVER THE ORIGINAL.
— Corteco, Freudenberg Group

N FREUDENBERG V7 \libracoustic micronAir
2 billion seals per year for the Market leader in vibration control with cabin air filters in every
automotive industry in Europe around EUR 1.7 billion turnover per year other new car

18




Fahrzeugverwendungen | Applications | Applicazioni

VEHICLE APPLICATIONS

2



VEHICLE APPLICATIONS

7|
FAHRZEUGVERWENDUNGEN | APPLICATIONS | APPLICAZIONI
ca E] g i VA I o | OE
ALFA ROMEO - 145 12/96 - 01/01
1.4i.e. 16VTS. AR 33503, AR 38501 12/96 - 01/01 6PK | 5 80000917 60815976...
T.6i.e. T6VTS. AR 38201, AR 67601 12/96 - 01/01
1.81i.e. 16V AR 32201 03/98 - 01/01
1.9 JTD AR 32302 02/99 - 01/01 6PK | 5 80001159 93183257...
! Start & Stop
6PK | 5 Q 80004910 93183257...
N - Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
2.0 16V Quadrifoglio AR 32301 03/98 - 01/01 6PK | 5 80000917 60815976...
ALFA ROMEO - 146 02/99 - 01/01
1.9JTD AR 32302 02/99 - 01/01 80001159 93183257...
+ Start & Stop
6PK | 5 80004910 93183257...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
ALFA ROMEO - 14 01/01 - 03/10
1.6 16V T.SPARK AR 32104 01/01 - 03/10 6PK | 5 80000917 60815976...
1.6 16V T.SPARK ECO AR 37203 01/01 - 03/10
1.9 JTD 182 B9.000, 937 A2.000 [04/01 - 03/10 6PK | 5 80001159 93183257...
1.9JTD 16V 192 A5.000, 937 A4.000 [11/02 - 03/10
1.9 JTDM 16V 937 A5.000 09/04 - 03/10
1.9 JTDM 8V 937 A3.000 07/05 - 03/10, ! Start & Stop
6PK | 5 Q 80004910 93183257...
N - Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
2.0 16V T.SPARK AR 32310 01/01 - 03/10 6PK | 5 80000917 60815976...
3.2 GTA 932 A.000 02/03 - 03/10 6PK | 5 80001139 60802008...
ALFA ROMEO 05/96 9
1.6 16V TS. AR 67601 05/96 - 12/97 6PK | 5 80000917 60815976...
1.7 TS. 16V AR 67106 05/96 - 12/97
ALFA ROMEO - 156 / Sportwagon 09/97 - 05/06
1.6 16V T.SPARK. AR 32102, AR 32103, 05/00 - 05/06 80000917 60815976...

AR 32104, AR 67601

1.6 16V T.SPARK

AR 32102, AR 32103,
AR 32104, AR 67601

09/97 - 09/05

1.8 16V T.SPARK

AR 32201, AR 32205

09/97 - 05/06

20




o

¢
2

3

B oo

OE

ALFA ROMEO - 156 / Sportwagon

09/97 - 05/06

1.9JTD 937 A2.000, AR 32302, |09/97 - 05/06 6PK | 5 80001159 93183257...
AR 37101
1.9 JTD 16V 192 A5.000 11/02 - 05/06
+ Start & Stop
6PK | 5 80004910 93183257...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
2.0 16V T.SPARK AR 32310 10/00 - 03/02 6PK | 5 80000917 60815976...
2.0JTS 937 A1.000 03/02 - 05/06
2.4 J7D 839 A6.000, 841 C000, |09/97 - 05/06 6PK | 5 80001142 71747796...
841 G.000, AR 32501
2.5V6 24V AR 32401, AR 32402, 09/97 - 05/06 6PK | 5 80000927 60620395
AR 32405
3.2 GTA 932 A.000 03/02 - 05/06 6PK | 5 80001139 60802008...
a A RO O 9 PO ago 09/0
1.9 JTDM 16V 937 A8.000, 939 A8.000 |09/05 - 11/11| M: 5344781 -> 6PK | 5 80001159 93183257...
1.9 JTDM 8V 939 A1.000 09/05 - 11/11
+ Start & Stop
-> M: 5344781 6PK | 5 80004910 93183257...
+ Start & Stop
M: 5344782 -> 6PK | 5 80004910 93183257...
+ Start & Stop
-> M: 5344781 / - - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50
M: 5344782 -> / - - 80004886
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26
2.4 JTDM 939 A3.000, 939 A9.000 [09/05-11/11 6PK | 5 80001142 71747796...
ALFA ROMEO - 166 09/98 - 06/07
2.0 T.Spark AR 34103, AR 36301 80000917 60815976...
2.4 JTD 839 A6.000, 841 C000, |09/98 - 06/07 6PK | 5 80001142 71747796...
841 G.000, 841 H.000,
841 M.000, 936 B.000,
AR 34202
2.5 V6 24V AR 36201 10/00 - 06/07 6PK | 5 80000927 60620395
3.0 V6 24V AR 34301, AR 34302, 09/98 - 06/07 6PK | 5 80001138 60813309...
AR 36101
3.2 V6 24V 936 A.000 10/03 - 06/07 6PK | 5 80001139 60802008...
ALFA ROMEO - Brera 01/06 - 06/10
2.4 JTDM 20V 939 A3.000, 939 A9.000 80001142 71747796...

21



o

ALFA ROMEO - GT

¢
2

11/03 - 09/10

3

B oo

OE

ALFA ROMEO - GTV

10/96 - 10/05
AR 32201

05/98 - 10/05

1.9JTD 937 A5.000 11/03 - 09/10 6PK | 5 80001159 93183257...
+ Start & Stop
6PK | 5 80004910 93183257...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
3.2 GTA 936 A.000 11/03 - 09/10] 6PK | 5 80001139 60802008...

80000917

60815976...

ALFA ROMEO - Spider

09/94 - 06/10

3.0 V6 24V AR 16102, AR 16105 10/96 - 10/05 6PK | 5 80001138 60813309...
3.2 V6 24V 936 A6.000 04/03 - 10/05 6PK | 5 80001139 60802008...
ALFA RO O o 09/08
1.4 199 A6.000 09/08 5PK | 4 80000926 55217836...
1.4 Tlet 199 A8.000 09/08

+ Start & Stop
1.6 JTDM 198 A2.000, 955 A3.000 09/08 6PK | 5 80001159 93183257...

+ Start & Stop

6PK | 5 80004910 93183257...

I° - Start & Stop

+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26

80004886

AUDI - 80 IV / Avant

09/91 - 01/96

1.8 16V AR 32201 05/98 - 04/05 6PK | 5 ’ 80000917 60815976...

2.4 JTDM 939 A3.000 04/07 - 06/10 6PK | 5 C 80001142 71747796...

3.0V6 AR 16105 09/94 - 08/00 6PK | 5 Q 80001138 60813309...

3.2 V6 24V 936 A6.000 04/03 - 04/05 6PK | 5 3 80001139 60802008...
®

1.9TD AAZ 09/91 - 12/94| 8C-N-000 001 -> 6PK | 5 80000204 | 028 105243 T...
8C-N-000 001 -> 6PK | 5 . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 4“3

1.9 TDI 1Z 09/91 - 01/96] 8C-N-000 001 -> 6PK | 5 80000204 | 028 105243 T...

22



o ] i VI o OE
AUDI - 80 IV/ Avant 09/91 - 01/96

1.9 TDI 1Z 09/91 - 01/96| 8C-N-000 001 -> 6PK | 5

80004333 | 028 105243T

+ CORTECO Nr: 80000204 / - -
D @: M14x1,5x47 / M8x45

80001253

2.8 AAH 09/91 - 01/96| 8C-S-025 821 -> 6PK | 5
2.8 quattro AAH 09/91 - 07/95

80001079 | 078 105 251 R...

AUDI - AT 05/10 -

1.4TDI CuUsB 11/14 73 04B1052438B
49374715

1.6 TDI CAYB, CAYC 05/10 6PK | 5 80000678 | 038 105 243 M...

2.0 TDI CFHB, CFHD 09/11

80005272

AUDI - Al Sportback 09/11 -

1.4 TDI CUsB 11/14 6PK | 5 7 04B 105243 8B
49374715

1.6 TDI CAYB, CAYC 11/11 6PK | 5 80000678 | 038 105 243 M...

2.0 TDI CFHB, CFHD 09/11

80005272

AUDI - A2 02/00 - 08/05
1.4 TDI AMF, ATL, BHC 02/00 - 08/05 6PK | 5

80000680 | 045 105243 D...

AUDI - A3 1 09/96 - 05/03

1.8 AGN, APG 09/96 - 05/03| A @: 143 80001118 | 06B 105243 F..
1.8T AGU, AlQ, APP AQA, ARY,|12/96 - 05/03
ARZ, AUM, AUQ
1.8 T quattro AGU, AlQ, AQA, ARX, ARY|12/96 - 05/03
1.9 TDI AGR, ALH 09/96 - 07/01} -> 8L-3 070 000 / 6PK | 5 80000394 038 105 243

-> 8L-31-222 000

8L-3-070 001 ->/ 6PK | 5
8L-31-222 001 ->

80000543 | 03G 105243 C...

+ Start & Stop
80004925| 03G 105243 C...

8L-3-070 001 -> / 6PK | 5
8L-31-222 001 ->

+ Start & Stop
80004980 038 105 243

-> 8L-3 070 000 / 6PK | 5
-> 8L-31-222 000

09/00 -> / - - 80004917
+ CORTECO Nr: 80000543 /

D @: M16x1,5x54 / M8x16 /

M8x20 / M8x37

+ CORTECO Nr: 80000394 / - - 80004920

D @: M16x1,5x54 / M8x37

1.9 TDI AHF, ASV 08/97 - 07/01} -> 8L-3 070 000 / 6PK | 5
-> 8L-31-222 000

80000394 038 105 243

8L-3-070 001 -> / 6PK | 5
8L-31-222 001 ->

80000543 | 03G 105243 C...

; Start & Stop

0070000010100l 0010: ¢

23



o

09/96 - 05/03

AUDI - A3 |

I

OE

1.9 TDI AHF, ASV 08/97 - 07/01} 8L-3-070 001 -> / 6PK | 5 80004925 | 03G 105243 C...
8L-31-222 001 ->
+ Start & Stop
-> 8L-3 070 000 / 6PK | 5 80004980 038 105 243
-> 8L-31-222 000
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37
+ CORTECO Nr: 80000394 / - - 80004920
D @: M16x1,5x54 / M8x37
1.9 TDI ASZ 08/00 - 05/03| -> 06/03 6PK | 5 80000396 038 105 243 K
6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37
1.9 TDI ATD, AXR 10/00 - 05/03]01/01 -> 06/03 6PK | 5 80000396 038 105 243 K
6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37
1.9 TDI quattro ASZ 08/00 - 05/03} -> 06/03 6PK | 5 80000396 038 105 243 K
6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37
S3 quattro AMK, APY, AUL, BAM 03/99 - 05/03| A @: 143 6PK | 5 e 80001119 06A 105 243 F
AUDI - A3 1l 05/03 - 08/12
CAYB, CAYC 05/09 - 08/12 a 80000678 | 038 105 243 M...
- - 80005272
1.8 TFSI BYT, BZB, CDAA 11/06 - 08/12| A @: 143 6PK | 5 e 80001120 | 06H 105 243 K...
+ Start & Stop
1.9 TDI BKC, BLS, BXE 05/03 - 05/10 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004922 03G 105243 C...
; Start & Stop

24



o ] g i VI o] OE

AUDI - A3 1l 05/03 - 08/12

1.9 TDI BKC, BLS, BXE 05/03 - 05/10] + CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 FSI AXW, BLR, BLX, BLY, BMB, |05/03 - 06/08] A @: 143 6PK | 5 80001118 | 06B 105243 F..

BVY, BVZ

+ Start & Stop

2.0 TDI AZV, CBAA, CFFA 05/03 - 08/12 6PK | 5 ° 80000543 | 03G 105243 C...

+ Start & Stop
80000678 | 038 105 243 M...

11/09 -> 6PK | 5

6PK | 5 80004922 | 03G 105243 C...

+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “

- - 80005272

2.0 TDI BMM 06/05 - 06/08 6PK | 5 ° 80000543 | 03G 105243 C...

+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...

- Start & Stop

+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

2.0 TDI BMN, CBBB, CFGB 03/06 - 08/12 6PK | 5 ° 80000543 | 03G 105 243 C...
! Start & Stop

11/09 -> 6PK | 5 80000678 | 038 105 243 M...

6PK | 5 80004922 | 03G 105243 C...

+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “

- - 80005272

2.0 TDI 16V BKD, CBAB, CFFB, CLJA  |05/03 - 08/12 6PK | 5 80000543 | 03G 105243 C...

+ Start & Stop
80000678 | 038 105 243 M...

11/09 -> 6PK | 5

+ Start & Stop
80004925| 03G 105243 C...

6PK | 5

6PK | 5 Q 80004922 | 03G 105243 C...

+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N

25



o

AUDI - A3 Il

05/03 - 08/12

I

OE

2.0 TDI 16V BKD, CBAB, CFFB, CLJA  |05/03 - 08/12] + CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37
- - 80005272
2.0 TDI 16V quattro BKD, CBAB, CFFB 08/04 - 08/12 6PK | 5 80000543 | 03G 105 243 C...

+ Start & Stop

11/09 ->

6PK | 5

80000678 | 038 105 243 M...

6PK | 5

80004922 | 03G 105243 C...

+ Start & Stop

6PK | 5

80004925 | 03G 105243 C...

+ Start & Stop

+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37
- - 80005272
2.0 TDI quattro AZV, BMM 05/03 - 06/08 6PK | 5 80000543 | 03G 105243 C...

+ Start & Stop

6PK | 5

80004922

- Start & Stop

03G 105243 C...

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

2.0 TDI quattro

BMN, CBBB, CFGB

03/06 - 08/12

6PK | 5

80000543

- Start & Stop

03G 105243 C...

11/09 ->

6PK | 5

80000678 | 038 105 243 M...

6PK | 5

80004922 | 03G 105243 C...

+ Start & Stop

|

S3 quattro

BHZ, CDLA

11/06 - 08/12

+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 &
- - 80005272
2.0 TFSI AXX, BWA, CAWB, CCZA |09/04 - 08/12) A &: 143 6PK | 5 e 80001120 06H 105 243 K...
+ Start & Stop
AD: 143 6PK | 5 e 80001122 | 06F 105243 J...
2.0 TFSI quattro AXX, BWA, CCTA, CCZA |09/04 - 08/12) A D: 143 6PK | 5 e 80001122 | 06F 105 243 J...

26



o

OE

AUDI - A3 Il Cabriolet 04/08 - 05/13
1.6 TDI CAYC 05/09 - 05/13}11/09 -> 6PK a 80000678 | 038 105 243 M...
- 80005272
1.8 TFSI BZB, CDAA 04/08 - 05/13| A D: 143 6PK e 80001120| 06H 105 243 K...
+ Start & Stop
1.9 TDI BLS 04/08 - 10/09 6PK ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK Q 80004922 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 TDI CBAA, CFFA 04/08 - 05/13 6PK e 80000678 | 038 105 243 M...
- 80005272
2.0 TDI CBAB, CFFB 04/08 - 05/13 6PK ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK a 80000678 | 038 105 243 M...
6PK Q 80004922 | 03G 105243 C...
+ Start & Stop
6PK Q 80004925| 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D &: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N
+ CORTECO Nr: 80000543 / - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N
- 80005272
2.0 TFSI CAWB, CCZA 04/08 - 05/13| A @: 143 6PK e 80001120 | 06H 105 243 K...
+ Start & Stop
AUDI - A3 Il Sportback 09/04 - 03/13
1.6 TDI CAYB, CAYC 05/09 - 03/13}11/09 -> 6PK e 80000678 | 038 105 243 M...
- 80005272
1.8 TFSI BYT, BZB, CDAA 11/06 - 03/13| A @: 143 6PK e 80001120| 06H 105 243 K...
' - Start & Stop
1.9 TDI BKC, BLS, BXE 09/04 - 05/10 6PK ° 80000543 | 03G 105243 C...
; Start & Stop




o

B oo

OE

AUDI - A3 |l Sportback 09/04 - 03/13

1.9 TDI BKC, BLS, BXE 09/04 - 05/10 6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 FSI AXW, BLR, BLX, BLY, BMB, |09/04 - 06/08] A @: 143 6PK | 5 80001118 | 06B 105243 F..
BVY, BVZ
+ Start & Stop
2.0 TDI AZV, BMM, CBAA, CFFA  |09/04 - 03/13 6PK | 5 80000543 | 03G 105243 C...
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D &: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 TDI BMN, CBBB, CFGB 03/06 - 03/13 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
11/09 -> 6PK | 5 80000678 | 038 105 243 M...
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
- - 80005272
2.0 TDI 16V BKD, CBAB, CFFB, CLJA  |09/04 - 03/13 6PK | 5 80000543 | 03G 105243 C...

+ Start & Stop

11/09 ->

6PK | 5

80000678

038 105 243 M...

6PK | 5

80004922

+ Start & Stop

6PK | 5

80004925

+ Start & Stop

03G 105243 C...

03G 105243 C...

+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37
- - 80005272
2.0 TDI 16V quattro BKD, CBAB, CFFB 11/05 - 03/13 6PK | 5 80000543 | 03G 105 243 C...

+ Start & Stop

11/09 ->

6PK | 5

80000678

038 105 243 M...

28



o

¢
2

AUDI - A3 |l Sportback 09/04 - 03/13

B oo

OE

2.0 TDI 16V quattro BKD, CBAB, CFFB 11/05 - 03/13 6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004925 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37
- - 80005272
2.0 TDI quattro BMM 01/06 - 06/08 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 %
2.0 TDI quattro BMN, CBBB, CFGB 03/06 - 03/13 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
11/09 -> 6PK | 5 a 80000678 | 038 105 243 M...
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
- - 80005272
2.0 TFSI AXX, BPY, BWA, CAWB, 09/04 - 03/13| A @: 143 6PK | 5 80001120 06H 105 243 K...
CBFA, CCZA e
+ Start & Stop
A D: 143 6PK | 5 e 80001122 06F 105243 J...
2.0 TFSI quattro AXX, BPY, BWA, CCZA 09/04 - 03/13| A @: 143 6PK | 5 e 80001122 | 06F 105243 J...
AUDI - A4 |/ Avant 01/95 - 09/01
1.8 ADR, APT, ARG, AW 01/95 - 09/01|AC / A D: 143 4PK | 3+4 80001117 | 058 105 251 E...
+5PK ’
ex. AC 5PK | 4 80001537 | 058 105251 D
1.8 quattro ADR, APT, ARG 01/95 - 09/01| AC / 8D-W-031 525 -> / A QD: 143 | 4PK | 3+4 80001117 | 058 105 251 E...
AC/AD: 143 +5PK ’

29



o

AUDI - A4 | / Avant

¢
2

01/95 - 09/01

OE

-> 8D-X-199 999/
D @: M14x1,5x47 / M8x16

1.8 quattro ADR, APT, ARG 01/95 - 09/01) ex. AC 5PK | 4 80001537 | 058 105 251 D
18T AEB, ANB, APU, ARK, AWT |01/95 - 09/01| AC / A @: 143 4PK | 3+4 80001117| 058 105 251 E...
+5PK ’
8D-X-200 001 -> / A @: 143 4PK | 314 80001124 06B 105 243 D
ox. AC 5PK | 4 @ 80001537 | 058 105 251 D
\
18T AL 12/97 - 09/01| AC / A @: 143 4PK | 3+4 80001117 058 105 251 E...
+5PK ’
ex. AC 5PK | 4 @/ 80001537 | 058 105 251 D
\
1.8 T quattro AEB, ANB, APU, ARK, AWT |01/95 - 11/00| AC / A @: 143 4PK | 3+4 80001117 | 058 105 251 E...
+5PK ’
8D-X-200 001 -> / A @: 143 4PK | 314 80001124 06B 105 243 D
+5PK
ox. AC 5PK | 4 80001537 | 058 105 251 D
>
\
1.8 T quattro AEB, ANB, APU, ARK, AWT |01/96 - 09/01| AC / A @: 143 4PK | 314 80001117| 058 105 251 E...
+5PK ’
8D-X-200 001 -> /A @: 143 4PK | 3+4 80001124 08B 105 243 D
+5PK
ex. AC 5PK | 4 @/ 80001537 | 058 105 251 D
\
1.8 T quattro AlL 12/97 - 09/01| AC / A @: 143 4PK | 3+4 80001117 | 058 105 251 E...
+5PK ’
ox. AC 5PK | 4 80001537 058 105 251 D
L)
\
1.9 DI 1Z, AHH, AHU 01/95 - 11/00] -> 8D-1-200 000 4PK | 3+4 80000203 | 028 105 243 Q
+5PK Q
+ CORTECO Nr: 80000203 / 1 - 80001265
8D-X-200 001 -> / w
D @: M14x1,5x47
+ CORTECO Nr: 80000203 / 1 - 80001266
> 8D-X-199 999 /
D @: M14x1,5x47 / M8x16
1.9 DI AFN, AVG 10/95 - 11/00| -> 8D-1-200 000 4PK | 3+4 80000203 028 105 243 Q
+5PK ’
+ CORTECO Nr: 80000203 / - 80001265
8D-X-200 001 -> / W
D @: M14x1,5x47
+ CORTECO Nr: 80000203 / - 80001266

30




o

¢
2

I

OE

AUDI - A4 | / Avant

01/95 - 09/01

1.9 TDI AFF 12/95 - 11/00| -> 8D-1-200 000 4PK | 3+4 80000203 | 028 105 243 Q
+5PK
+ CORTECO Nr: 80000203 / N 80001265
8D-X-200 001 -> / ““
D @: M14x1,5x47
+ CORTECO Nr: 80000203 / B 80001266
> 8DX-199 999 /
D @: M14x1,5x47 / M8x16
1.9 TDI 1Z, AHH, AHU 02/96 - 09/01| -> 8D-1-200 000 4PK | 344 80000203 | 028 105 243 Q
+5PK ’
+ CORTECO Nr: 80000203 / B 80001265
8D-X-200 001 -> / w
D @: M14x1,5x47
+ CORTECO Nr: 80000203 / B 80001266
> 8DX-199 999 /
D @: M14x1,5x47 / M8x16
1.9 TDI AFN, AVG 02/96 - 09/01| -> 8D-1-200 000 4PK | 3+4 80000203 | 028 105 243 Q
+5PK '
+ CORTECO Nr: 80000203 / N 80001265
8D-X-200 001 -> / ““
D @: M14x1,5x47
+ CORTECO Nr: 80000203 / . 80001266
> 8DX-199 999 /
D @: M14x1,5x47 / M8x16
1.9 TDI AFF 03/96 - 09/01| -> 8D-1-200 000 4PK | 344 80000203 | 028 105 243 Q
+5PK ’
+ CORTECO Nr: 80000203 / B 80001265
8D-X-200 001 -> / w
D @: M14x1,5x47
+ CORTECO Nr: 80000203 / N 80001266
> 8DX-199 999 /
D @: M14x1,5x47 / M8x16
1.9 TDI AIM 03/00 - 09/01| 8D-X-200 001 -> 4PK | 3+4 80000395 | 038 105 243 F
5P ‘
1.9 TDI quattro AFN, AVG 09/96 - 09/01| -> 8D-1-200 000 4PK | 314 80000203 | 028 105 243 Q
+5PK ‘
+ CORTECO Nr: 80000203 / B 80001265
8D-X-200 001 -> / w
D @: M14x1,5x47
+ CORTECO Nr: 80000203 / B 80001266
> 8DX-199 999 /
D @: M14x1,5x47 / M8x16
1.9 TDI quatiro AIM, ATJ 03/00 - 09/01] 8D-X-200 001 -> 4PK | 3+4 80000395| 038 105 243 F
+5PK ‘
2.5 TDI AFB, AKN 09/97 - 09/01] -> 8D-1-200 000 / A @: 192 4PK | 345 80000200 | 059 105 251 M...
2.5 TDI quaftro AFB, AKN 09/97 - 09/07| 8D-X-200 007 -> 8D-1-200 000/ | +6PK
AQ: 192
+ CORTECO Nr: 80000200 / B 80001261
8D-Y-100 718 -> /
D @: M18x1,5x98,3 / M8x16
+ CORTECO Nr: 80000200 / B 80001262
> 8DY-100 717 /
D @: M18x1,5x110 / M8x16

31




8E-1-000 001 -> 8E-5-400 000 /

o ] i Al € OE
AUDI - A4 |/ Avant 01/95 - 09/01
2.8 AAH, ACK, AHA, ALG, 09/95 - 09/01 6PK | 5 80001079 | 078 105 251 R...
AMX, APR, AQD
2.8 quattro AAH, ACK, AHA, ALG, 01/95 - 09/01
AMX, APR, AQD
RS4 quattro ASJ, AZR 05/00 - 09/01
S4 quattro AGB, AZB 09/97 - 09/01
AUDI - A4 Ava 00 04
1.8T AVJ, BEX, BFB 11/00 - 12/04) A @: 143 6PK | 5 80001118| 06B 105 243 F..
1.8 T quattro AVJ, BEX, BFB 11/00 - 12/04 e
+ Start & Stop
1.9 TDI AVB, AVF, AWX 11/00 - 12/04) -> 8E-3-410 000 4PK | 3+4 80000395 038 105 243 F
spi ‘
8E-3-410 001 -> 8E-5-400 000 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
8E-3-410 001 -> 8E-5-400 000 6PK | 5 Q 80004922 | 03G 105 243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
1.9 TDI BKE 06/04 - 12/04| -> 8E-3-410 000 4PK | 3+4 80000395| 038 105243 F
5P ‘
8E-3-410 001 -> 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
8E-3-410 001 -> 6PK | 5 80004922 | 03G 105 243 C...
+ Start & Stop
+ CORTECO Nr: 80000395 / - - 80001260
D @: M16x1,5x59 / M8x20
“‘“
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N
1.9 TDI quattro AVF 11/01 - 12/04| -> 8E-3-410 000 4PK | 3+4 80000395| 038 105243 F
+5PK °
8E-3-410 001 -> 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
8E-3-410 001 -> 6PK | 5 80004922 | 03G 105 243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N
2.0 ALT 11/00 - 12/04| A &: 143 6PK | 5 80001118| 06B 105243 F..
2.0 FSI AWA 07/02 - 12/04 e
+ Start & Stop
2.5 TDI AYM 08/01 - 07/02| 8E-1-000 001 -> 8E-5-400 000/ | 4PK | 3+5 80000200 | 059 105 251 M...
AQD: 192 +6PK Q
+ CORTECO Nr: 80000200 / - - 80001261
D @: M18x1,5x98,3 / M8x16 ‘
2.5 TDI BCZ, BDG, BFC 07/02 - 12/04| 8E-1-000 001 -> 8E-5-565 000/ | 4PK | 3+5 80000200 | 059 105 251 M...
AD:192 +6PK Q

A@:192

32




- B a : il O
AUDI - A4 Il / Avant 11/00 - 12/04
2.5 TDI BCZ, BDG, BFC 07/02 - 12/04] + CORTECO Nr: 80000200 / - - 80001261
D @: M18x1,5x98,3 / M8x16 ‘ ;
2.5 TDI quattro AKE, BAU, BDH 11/00 - 12/04} 8E-1-000 001 -> 8E-5-400 000/ | 4PK | 3+5 80000200 | 059 105 251 M...
AD:192 +6PK Q
+ CORTECO Nr: 80000200 / - - 80001261
D @: M18x1,5x98,3 / M8x16 ‘
3.0 ASN, AVK, BBJ 11/00 - 12/04 6PK | 5 80001079 | 078 105 251 R...
3.0 quattro ASN, AVK, BBJ 11/00 - 12/04 ’

AUDI - A4 Il Cabriolet

04/02 - 03/09

18T BFB 07/02 - 03/09| A &: 143 80001118 | 06B 105243 F..
1.8 T quattro BFB 05/03 - 03/09
2.0 ALT 09/04 - 12/05
+ Start & Stop
2.0 TFSI 16V BWE, BWT 01/06 - 03/09| A @: 143 6PK | 5 e 80001122 06F 105243 J...
2.57TDI BCZ, BDG, BFC 08/02 - 12/05| A @: 192 4PK | 3+5 80000200 | 059 105 251 M...
+erK Q
+ CORTECO Nr: 80000200 / - - 80001261
D @: M18x1,5x98,3 / M8x16 ‘
2.7 TDI BPP 06/06 - 03/09 6PK | 5 O 80004350 | 059 105251 S...
+ Start & Stop
3.0 ASN 04/02 - 12/05 6PK | 5 80001079 | 078 105 251 R...
3.0 quatiro ASN 05/03 - 12/05 ‘
3.0 TDI quattro ASB, BKN 01/06 - 03/09 6PK | 5 Q 80004350 | 059 105 251 S...
+ Start & Stop
3.2 FSI AUK 01/06 - 03/09| A &: 166.7 6PK | 5 80001121 | 06E 105251 C...
3.2 FSI quattro AUK 01/06 - 03/09
S4 quattro BBK 03/04 - 03/09| A ©&: 204 5PK | 4 ‘ 80001695 079 105 251 N...
AUD A4 Ava 04 - 06/08
18T BFB 11/04 - 06/08| A @: 143 6PK | 5 80001118 | 06B 105243 F..
1.8 T quattro BFB 11/04 - 06/08 e
+ Start & Stop
1.9 TDI BKE, BRB 11/04 - 06/08| -> 8E-3-410 000 4PK | 3+4 80000395, 038 105243 F
+5PK ‘
8E-3-410 001 -> 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
8E-3-410 001 -> 6PK | 5 80004922 | 03G 105243 C...

+ Start & Stop

+ CORTECO Nr: 80000395 / - - 80001260
D @: M16x1,5x59 / M8x20

ll‘“
+ CORTECO Nr: 80000543 / - - 80004916

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

£
o=
%




AUDI - A4 IV / Avant

1

1/07 - 12/15

1.8 TFSI CABA, CABB, CDHA, 11/07 - 12/15| A &: 143 6PK | 5 80001120| 06H 105 243 K...
CDHB

+ Start & Stop

2.0 TDI CAGB, CJCB, CSUB 11/07 - 12/15 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop

6PK | 5 80000678 | 038 105 243 M...

6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop

6PK | 5 80004925| 03G 105243 C...

. & i Mkl OE
AUDI - A4 Il / Avant 11/04 - 06/08
2.0 ALT 11/04 - 06/08| A @: 143 6PK | 5 e 80001118| 06B 105 243 F..
+ Start & Stop
2.0 DI BNA, BRD, BRF 11/04 - 06/08 6PK | 5 80000543 | 03G 105 243 C...
2.07DI 16V BLB, BRE 11/04 - 06/08
2.0 TDI quaftro BPW, BRD 01/06 - 06/08
+ Start & Stop
6K | 5 & 80004922 | 03G 105 243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 ‘“
2.0 TFSI BGB, BPJ, BUL, BWE, BYK |11/04 - 06/08| A ©: 143 6PK | 5 80001122 | O6F 105 243 J...
2.0 TFSI quatiro BGB, BUL, BWE, BWT | 11/04 - 06/08 e
2.5 TDI BDG 11/04 - 05/06| MC: BCZ / MC: BDG / 4PK | 345 80000200 | 059 105 251 M...
8E-1-000 001 -> / A @: 192 +6PK Q
+ CORTECO Nr: 80000200 / - 80001261
D @: M18x1,5x98,3 / M8x16 ‘
2.7 1Di BSG 11/05 - 03/08 6PK | 5 80004350 | 059 105 251 S...
2.77DI BPP BSG 11/05 - 06/08 ’
+ Start & Stop
3.0 BBJ 11/04 - 05/06 6PK | 5 80001079 | 078 105 251 R...
3.0 quaftro BBJ 11/04 - 07/06 ‘
3.0 TDI quattro BKN 11/04 - 06/08| 8E-5-400 001 -> 6PK | 5 ‘ 80000202 | 059 105 251 5...
6K | 5 ’ 80004350 059 105 251 S...
+ Start & Stop
3.0 TDI quaftro ASB 01/06 - 06/08 6PK | 5 O 80004350 059 105 251 S...
+ Start & Stop
3.2 FSi AUK 01/05 - 06/08| A @: 166.7 6PK | 5 80001121| OBE 105 251 C...
3.2 FSI quattro AUK 01/05 - 06/08
S4 quafiro BBK 11/04 - 06/08| A @: 204 5PK | 4 ‘ 80001695 079 105 251 N...

- Start & Stop

34



o 2 g i il € OE
AUDI - A4 IV / Avant 11/07 - 12/15
2.0 TDI CAGB, CJCB, CSUB 11/07 - 12/15) + CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 %
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 \
- - 80005272
2.0 TDI CAGA, CJCA, CMEA, 11/07 - 12/15 6PK | 5 80000543 | 03G 105243 C...
CMFA °
+ Start & Stop
6PK | 5 a 80000678 | 038 105 243 M...
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004925| 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N
- - 80005272
2.0 TDI CAGB, CJCB, CSUB 04/08 - 12/15 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI CAGA, CJCA, CMEA, 04/08 - 12/15 6PK | 5 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI CAGC, CJCC 06/08 - 12/15 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI CAHB, CGLD, CNHC 08/08 - 12/15 6PK | 5 a 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI CGLC, CJCD, CMFB, 11/11-12/15 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

35



o ] VI o OE
AUDI - A4 IV / Avant 11/07 - 12/15

2.0 TDI quattro CAGA, CICA 04/08 - 12/15 6PK a 80000678 | 038 105 243 M...
- 80005272

2.0 TDI quattro CAHB, CGLD, CNHC 04/09 6PK a 80000678 | 038 105 243 M...
- 80005272

2.0 TDI quattro CAGB, CJCB, CSUB 09/09 6PK a 80000678 | 038 105 243 M...
- 80005272

2.0 TDI quattro CAGA, CICA 09/09 6PK a 80000678 | 038 105 243 M...
- 80005272

2.0 TDI quattro CGLC, CICD, CSUA 11/11 6PK a 80000678 | 038 105 243 M...
- 80005272

2.0 TFSI CAEA, CAEB, CDNB, 06/08 - 12/15| A &: 143 6PK 80001120| 06H 105 243 K...

CDNC, CFKA e

+ Start & Stop

2.7 TDI CAMA, CGKA 11/07 - 03/12| A ©@: 192 6PK 80001009 | 059 105 251 AS...

6PK Q 80004350| 059 105 251 S...
+ Start & Stop

2.7 TDI CAMA, CAMB, CGKA, 04/08 - 03/12 6PK 80004350| 059 105 251 S...

CGKB Q

+ Start & Stop

3.0 TDI quattro CAPA, CCLA, CCWA 11/07 - 03/12| A &: 192 6PK 80001009 | 059 105 251 AS...

AD: 192 6PK e 80001134 | 059 105 251 AT...
+ Start & Stop

6PK Q 80004350| 059 105 251 S...
+ Start & Stop

3.0 TDI quattro CAPA, CCLA, CCWA 04/08 - 03/12| A @: 192 6PK e 80001134 | 059 105 251 AT...
+ Start & Stop

6PK Q 80004350 | 059 105 251 S...
+ Start & Stop

3.0 TDI quattro CCWA, CCWB 06/08 6PK Q 80004350| 059 105 251 S...
; Start & Stop

36



o ] i VI o] OE
AUDI - A4 IV /Avant 11/07 - 12/15
3.0 TFSI quattro CMUA, CRED 02/12 - 12/15| A &: 166.7 6PK | 5+6 80001125| O06E 105251 F..
+7PK
+ Start & Stop
3.2 FSI quattro CALA 11/07 - 03/12| A DB: 166.7 6PK | 5 80001121 | 06E 105251 C...
S4 quattro CAKA, CCBA, CGWC, 11/08 - 12/15| A @: 166.7 6PK | 5+6 80001125| 06E 105251 F..
CGXC, CREC, CTUB +7PK
AUDI - A5 06/07 -
1.8 TFSI CABD, CDHB, CJEB 80001120| 06H 105 243 K...
+ Start & Stop
2.0 TDI CAHB, CGLD 08/08 6PK | 5 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI CAHA 08/08 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0TDI CGLC 10/11 6PK | 5 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI quattro CAHA 08/08 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D &: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 TDI quattro CGLC 12/11 6PK | 5 80000678 | 038 105 243 M...
- - 80005272
2.0 TFSI CDNB, CDNC, CNCD 06/08 AD: 143 6PK | 5 80001120 | 06H 105 243 K...
2.0 TFSI quattro CAEB, CAED, CDNC, 06/08
CNCD, CPMB
+ Start & Stop
2.7 TDI CAMA, CGKA 06/07 AD:192 6PK | 5 80001009 | 059 105 251 AS...
6PK | 5 Q 80004350 | 059 105251 S...
; Start & Stop

37



o & g il € OF
AUDI - A5 06/07 -
2.7 TDI CAMB, CGKB 09/07 6PK | 5 80004350| 059 105 251 S...
+ Start & Stop
3.0 TDI quattro CAPA, CCWA 06/07 A@:192 6PK | 5 80001009 | 059 105 251 AS...
6PK | 5 80004350 | 059 105 251 S...
+ Start & Stop
3.0 TDI quattro CCwB 03/08 6PK | 5 80004350 | 059 105 251 S...
+ Start & Stop
3.0 TFSI quattro CMUA 12/11 AD:166.7 6PK | 5+6 80001125| 06E 105251 F..
+7PK
+ Start & Stop
3.2 FSI quattro CALA 06/07 AQD:166.7 6PK | 5 80001121 | 06E 105251 C...
S5 quattro CAUA 06/07 A D: 204 5PK | 4 80001695| 079 105 251 N...
S5 quattro CAKA, CGWC, CGXC, 10/11 AD:166.7 6PK | 5+6 80001125| 06E 105251 F..
CREC, CTDA, CTUB +7PK

AUDI - A5 Cabriolet

03/09 -

CGXC, CREC, CTDA,
CTUB

+ Start & Stop

1.8 TFSI CABD, CDHB, CJEB 09/09 AD: 143 6PK | 5 80001120| O06H 105 243 K...
+ Start & Stop
2.0 TDI CAHA 05/09 6PK | 5 80000543 | 03G 105 243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105 243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 ‘
2.0 TDI CAHB, CGLD 05/09 6PK | 5 a 80000678 038 105 243 M...
-1 - 80005272
2.0 TDI CGLC, CICA, CJCD 10/11 6PK | 5 80000678 038 105 243 M...
2.0 TDI quattro CGLC 01/12 a
-1 - 80005272
2.0 TFSI CAEA, CAEB, CAED, 03/09 AD: 143 6PK | 5 80001120| O06H 105 243 K...
CDNB, CDNC, CNCD e
2.0 TFSI quatt CAEB, CDNC, CNCD,  |03/09
e o /
2.7 TDI CGKA 03/09 6PK | 5 80004350| 059 105 251 S...
3.0 TDI quattro CCWA 03/09 Q
+ Start & Stop
3.0 TFSI quattro CMUA T1/11 AD:166.7 6PK | 5+6 80001125| O6E 105 251 F...
S5 quattro CAKA, CCBA, CGWC, 06/09 +7PK '

38




o

B oo

OE

AUDI - A5 Sportback  09/09 -

1.8 TFSI CDHB, CJEB 11/09 AD: 143 6PK | 5 e 80001120 | 06H 105 243 K...
+ Start & Stop
2.0 TDI CAGA, CICA, CMEA, 09/09 6PK | 5 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI CAHA 09/09 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
6PK | 5 Q 80004922 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 TDI CAHB, CGLD 09/09 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI CGLC, CICD 10/11 6PK | 5 80000678 | 038 105 243 M...
2.0 TDI quattro CGLC 12/11 a
- - 80005272
2.0 TFSI CDNB, CDNC, CNCD 09/09 AD: 143 6PK | 5 80001120| 06H 105 243 K...
2.0 TFSI quattro CDNC, CNCD 09/09 e
+ Start & Stop
2.7 TDI CGKA 09/09 6PK | 5 80004350 | 059 105 251 S...
3.0 TDI quattro CCWA 09/09 Q
+ Start & Stop
3.0 TFSI quattro CMUA 12/11 AD:166.7 6PK | 5+6 80001125| 06E 105 251 F..
S5 quattro CAKA, CGWC, CGXC, 01/10 +7PK
CREC, CTDA, CTUB
AUD AO 06/94 9
1.8 ADR 12/95-12/97) A B: 143 4PK | 3+4 80001117 | 058 105251 E...
1.8 quatiro ADR 12/95 - 12/97 +5PK ’
1.9 TDI 1Z, AHU 06/94 -12/97 6PK | 5 (0 80000204 | 028 105 243 T...
6PK | 5 . 80004333| 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘%3
2.5TDI AAT, AEL 06/94 - 12/97| A D: 192 6PK | 5 Q 21652976 074 105251 T..
6PK | 5 80001157 21652976
e + 80001156
+ CORTECO Nr: 21652976 / - - 80001249
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x25 “ “

39



o E g i i € OF
AUDI - A6 | / Avant 06/94 - 12/97

2.5TDI AAT, AEL 06/94 - 12/97 - - 80001156 074105193
2.8 AAH, AEJ, AFC 06/94 - 12/97| 4A-S-026 715 -> 6PK | 5 ‘ 80001079 | 078 105 251 R...
2.8 ACK 12/95-12/97 6PK | 5 ‘ 80001079 078 105 251 R...
2.8 quattro AAH, AEJ 06/94 - 12/97| 4A-S-026 715 -> 6PK | 5 ‘ 80001079 | 078 105 251 R...
2.8 quattro ACK 12/95 - 12/97 6PK | 5 ‘ 80001079 078 105 251 R...

AUDI - A6 Il / Avant  01/97 - 01/05
1.8 AFY 05/97 - 01/05) ex. AC 5PK | 4 80001537 | 058 105251 D

D @: M18x1,5x98,3 / M8x16

@
1.8 AJR ANQ, AQE, ARH 07/97 - 01/05| A @: 143 4PK | 3+4 80001124 06B 105 243 D
+5PK
18 AFY 02/98 - 01/05| ex. AC 5PK | 4 @ 80001537| 058 105 251 D
\ ‘
18T AEB, ANB, APU, ARK, AWL,|01/97 - 01/05] -> 4B-Y-045 000 / A @: 143 4PK | 314 80001117| 058 105 251 E...
AWT +5PK
1.8 T quatiro AEB, ANB, APU, ARK, AWT [02/97 - 01/05
AD: 143 4PK | 3+4 80001124 08B 105 243 D
+5PK
1.9 DI AFN, AVG 04/97 - 04/01 4PK | 314 80000203 | 028 105 243 Q
+5PK ‘
+ CORTECO Nr: 80000203 / 1 - 80001266
D @: M14x1,5x47 / M8x16 “..
1.9 DI AJM 07/00 - 01/05| -> 12/01 4PK | 3+4 80000395 038 105 243 F
48P ‘
1.9 DI AVE, AWX 08/01 - 01/05| -> 12/04 4PK | 314 80000395| 038 105 243 F
+5PK °
2.0 ALT 08/01 - 01/05| A @: 143 6PK | 5 e 80001118| 06B 105 243 F...
- Start & Stop
2.5 DI AFB, AKN 07/97 - 01/05| A @: 192 4PK | 3+5 80000200 059 105 251 M...
+ CORTECO Nr: 80000200 / -1 - 80001262
D @: M18x1,5x110 / M8x16 =|I
2.5 DI AKE, BAU, BDH 02/00 - 01/05| -> 4B-5-050 000 / A @: 192 4PK | 3+5 80000200 059 105 251 M...
6Pk °
+ CORTECO Nr: 80000200 / - I 80001261




o | i il € OE
AUDI - A6 Il / Avant 01/97 - 01/05
2.5TDI AYM 08/01 - 01/05| -> 4B-5-050 000 / A @: 192 4PK | 3+5 80000200 059 105 251 M...
+6PK
+ CORTECO Nr: 80000200 / - - 80001261
D &: M18x1,5x98,3 / M8x16
2.5 TDI BCZ, BDG, BFC 07/02 - 01/05| -> 4B-5-050 000 / A @: 192 4PK | 3+5 80000200 | 059 105251 M...
+6PK
+ CORTECO Nr: 80000200 / - - 80001261
D &: M18x1,5x98,3 / M8x16
2.5 TDI quattro AFB, AKN 07/97 - 01/05| A @: 192 4PK | 3+5 80000200 | 059 105251 M...
+6PK
+ CORTECO Nr: 80000200 / - - 80001262
D &: M18x1,5x110 / M8x16
2.5 TDI quattro AKE, BAU, BDH 02/00 - 01/05| -> 4B-5-050 000 / A @: 192 4PK | 3+5 80000200 | 059 105 251 M...
+6PK
+ CORTECO Nr: 80000200 / - - 80001261
D &: M18x1,5x98,3 / M8x16
27T AJK 02/99 - 01/05 6PK | 5 80001079 | 078 105 251 R...
2.7 T quattro AJK, ARE, AZA, BES 12/97 - 01/05
2.8 ACK, AGE, AHA, ALG, 02/97 - 01/05
AMX, APR, AQD, ATX
2.8 quattro ACK, AHA, ALG, AMX, 02/97 - 01/05
APR, AQD
3.0 ASN 08/01 - 01/05
3.0 quattro ASN 08/01 - 01/05

AUDI - A6 Ill / Avant 05/04 - 08/11

2.0 TDI BLB, BNA, BRE, BRF, CAGB |07/04 - 03/11 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...

+ Start & Stop

+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 TFSI BPJ, BYK 06/05 - 08/11| A @: 143 6PK | 5 80001122 06F 105243 J...
2.7 TDI BPP 11/04 - 10/08] 4F-5-000 001 -> 4F-5-137 100 6PK | 5 80000202 | 059 105251 S...
6PK| 5 80004350 | 059 105251 S...
+ Start & Stop
2.7 TDI BSG, CANB 11/04 - 03/11| 4F-5-000 001 -> 4F-5-137 100 6PK | 5 80000202 | 059 105 251S...

0000 <ol 0+-0+0¢0¢0

MC: CANB / MC: CAND / A @: 192| 6PK | 5 80001009 | 059 105 251 AS...

6PK | 5 Q 80004350 | 059 105251 S...
- Start & Stop

41



o ] i VI o OE
AUDI - A6 Ill/ Avant  05/04 - 08/11

2.7 TDI BSG, CANB 03/05 - 08/11} 4F-5-000 001 -> 4F-5-137 100 6PK | 5

80000202 | 059 105 251 S...

MC: CAND / MC: CANB /A @: 192/ 6PK | 5 80001009 | 059 105 251 AS...

80004350 | 059 105251 S...

6PK | 5 Q
; Start & Stop
2.7 TDI BPP 03/05 - 10/08 6PK | 5 Q 80004350| 059 105 251 S...

2.7 TDI CANA 10/08 - 08/11| A @: 192 6PK | 5 80001009 | 059 105 251 AS...
6PK | 5 Q 80004350 | 059 105 251 S...
+ Start & Stop
2.7 TDI quattro BPP 11/04 - 10/08 6PK | 5 Q 80004350 | 059 105 251 S...
+ Start & Stop
2.7 TDI quattro BSG, CAND 06/05 - 08/11) MC: CAND / MC: CANB / A @: 192| 6PK | 5 80001009 | 059 105 251 AS...

6PK | 5 Q 80004350| 059 105 251 S...
- Start & Stop

2.7 TDI quattro CANC 10/08 - 08/11) A @: 192 6PK | 5 80001009 | 059 105 251 AS...

6PK | 5 80004350 | 059 105251 S...

+ Start & Stop
80001121 | 06E 105251 C...

2.8 FSI CCDA, CCEA 10/08 - 08/11} A @: 166.7 6PK | 5

2.8 FSI quattro CCDA, CCEA 10/08 - 08/11

3.0 quattro BBJ 05/04 - 05/06 6PK | 5 80001079 | 078 105 251 R...

3.0 TDI quattro BMK 05/04 - 05/06| 4F-5-000 001 -> 6PK | 5 80000202 | 059 105251 S...

6PK | 5 ’ 80004350| 059 105 251 S...
- Start & Stop

3.0 TDI quattro BNG, CDYB 05/04 - 08/11) 4F-5-000 001 -> 6PK | 5 80000202 | 059 105 251 S...

AD:192 6PK | 5 80001134 | 059 105251 AT...

+ Start & Stop
80004350| 059 105 251 S...

6PK | 5

+ Start & Stop

3.0 TDI quattro BMK 03/05 - 05/06| 4F-5-000 001 -> 6PK | 5 80000202 | 059 105251 S...

6PK | 5 80004350 | 059 105251 S...

; Start & Stop

42



o

AUDI - Aé lll / Avant

¢
2

05/04 - 08/11

B oo

OE

AUDI - A6 Ill Allroad 05/06 - 08/11

3.0 TDI quattro ASB 06/06 - 10/08 6PK | 5 80004350| 059 105 251 S...
+ Start & Stop
3.0 TDI quattro CDYA, CDYC 10/08 - 08/11) A &: 192 6PK | 5 e 80001134 | 059 105 251 AT...
+ Start & Stop
6PK | 5 Q 80004350 | 059 105 251 S...
+ Start & Stop
3.0 TFSI quattro CAJA 10/08 - 08/11| A D: 166.7 6PK | 5+6 80001125| 06E 105251 F..
+ Start & Stop
3.2 FSI AUK, BKH 05/04 - 05/09) A @: 166.7 6PK | 5 80001121 | 06E 105251 C...
3.2 FSI quattro AUK, BKH 05/04 - 10/08
4.2 quattro BAT 05/04 - 05/06| A @: 204 5PK | 4 ‘ 80001695| 079 105 251 N...
RS6 quattro BUH 09/08 - 08/10| A &: 167.5 5PK | 4 . 80001123 | 07L 105251 T..

2.7 TDI quattro BSG, CAND 05/06 - 08/11 80001009 | 059 105 251 AS...
6PK | 5 80004350 | 059 105 251 S...
+ Start & Stop
2.7 TDI quattro BPP 05/06 - 10/08 6PK | 5 80004350| 059 105 251 S...
+ Start & Stop
2.7 TDI quattro CANC 10/08 - 08/11| A @: 192 6PK | 5 80001009 | 059 105 251 AS...
6PK | 5 Q 80004350 | 059 105 251 S...
+ Start & Stop
3.0 TDI quattro ASB 05/06 - 10/08) A @: 192 6PK | 5 e 80001134 | 059 105 251 AT...
+ Start & Stop
6PK | 5 Q 80004350 | 059 105251 S...
+ Start & Stop
3.0 TDI quattro BNG, CDYB 05/06 - 08/11| A D: 192 6PK | 5 e 80001134 | 059 105 251 AT...
+ Start & Stop
6PK | 5 Q 80004350| 059 105 251 S...
+ Start & Stop
3.0 TDI quattro CDYA, CDYC 10/08 - 08/11|A @: 192 6PK | 5 e 80001134 | 059 105 251 AT...
+ Start & Stop
3.0 TFSI quattro CAJA 10/08 - 08/11} A @: 166.7 6PK | 5+6 80001125| 06E 105 251 F..
+ Start & Stop
4.2 FS| quattro BVJ 05/06 - 12/10| A &: 204 5PK | 4 ‘ 80001695| 079 105 251 N...

43



o E i VI o] OE
AUDI - A6 IV / Avant  11/10 -
2.0 TDI CGLC, CGLD, CGLE, 03/11 6PK | 5 80000678 | 038 105 243 M...
CMGB, CSUE
- - 80005272
2.0 TFSI CAEB, CAED, CDNB 03/11 AD: 143 6PK | 5 80001120 | 06H 105 243 K...
2.0 TFSI hybrid CHIJA 11/11
2.0 TFSI quattro CAEB, CAED 05/12
+ Start & Stop
3.0 TDI CLAB 11/10 6PK | 5 80004350 | 059 105 251 S...
3.0 TDI quattro CDUC, CDUD, CKVB, 03/11
CKVC, CLAA
+ Start & Stop
3.0 TFSI quattro CGWB, CGWD, CGXB, 11/10 AD:166.7 6PK | 5+6 80001125| 06E 105251 F..
CTUA +7PK

AUDI - A7 Sportback

1

80004350

+ Start & Stop

80004350

+ Start & Stop

80004350

+ Start & Stop

AUDI - A8 1

3.0 TDI CLAB 11/10 6PK | 5

3.0 TDI quattro CDUC, CDUD, CKVB, 10/10 6PK | 5
CKVC

3.0 TDI quattro CLAA 12/10 6PK | 5

3.0 TFSI quattro CGWB, CGWD, CGXB, 10/10 AD:166.7 6PK | 5+6
CHMA, CTTA, CTUA +7PK

80001125

80001120

+ Start & Stop

80004350

+ Start & Stop

80001125

+ Start & Stop

AUDI - A8 |

03/94 - 09/02

2.0 TFSI hybrid CHJA 02/12 A D: 143 6PK | 5
3.0 TDI CLAB 09/11 6PK | 5
3.0 TDI quattro CDTA, CDTC, CMHA 07/10
3.0 TFSI quattro CGWA, CGWD, CGXA, 06/10 AQD:166.7 6PK | 5+6
CGXC, CMDA, CREA, +7PK
CREC, CREG, CTDA,
CTUB
4.2 TDI quattro CDSB 11/09 02/10 -> 6PK | 5

80005052

059 105 251 S...

059 105 251 S...

059 105 251 S...

06E 105 251 F..

06H 105 243 K...

059 105 251 S...

06E 105 251 F..

057 105251 T..

-> 4D-Y-011 000 /
D @: M18x1,5x110 / M8x16

2.5 TDI AFB, AKN 01/97 - 04/00| 4D-X-005 001 -> / A @: 192 80000200 | 059 105 251 M...
+6PK
+ CORTECO Nr: 80000200 / - - 80001261
4D-Y-011 001 -> /
D @: M18x1,5x98,3 / M8x16
+ CORTECO Nr: 80000200 / - - 80001262
-> 4D-Y-011 000 /
D @: M18x1,5x110 / M8x16
2.5 TDI AKE 09/00 - 09/02] 4D-X-005 001 -> / A @: 192 4PK | 345 80000200 | 059 105 251 M...
+6PK
+ CORTECO Nr: 80000200 / - - 80001261
4D-Y-011 001 -> /
D @: M18x1,5x98,3 / M8x16
+ CORTECO Nr: 80000200 / - - 80001262

+-otrcolo@ec|ecee|ece:o

44



ca B i il OE
AUDI - A8 1 03/94 - 09/02
2.5 TDI quattro AFB, AKN 07/97 - 04/00] -> 4D-3-004 999 / A &: 192 4PK | 3+5 80000200 | 059 105 251 M...
4D-X-005 001 -> 4D-3-004 999 / |+6PK
AD: 192
+ CORTECO Nr: 80000200 / - - 80001261
4D-Y-011 001 -> /
D @: M18x1,5x98,3 / M8x16
+ CORTECO Nr: 80000200 / - - 80001262
-> 4D-Y-011 000 /
D @: M18x1,5x110 / M8x16
2.5 TDI quattro AKE 09/00 - 09/02] 4D-X-005 001 -> 4D-3-004 999 / | 4PK | 3+5 80000200 | 059 105 251 M...
AD: 192 +6PK
+ CORTECO Nr: 80000200 / - - 80001261
4D-Y-011 001 -> /
D @: M18x1,5x98,3 / M8x16
+ CORTECO Nr: 80000200 / - - 80001262
-> 4D-Y-011 000 /
D @: M18x1,5x110 / M8x16
2.8 AAH, AEJ 03/94 - 03/96] 4D-5-000 497 -> 6PK | 5 80001079 | 078 105251 R...
2.8 ACK, ALG, AMX, APR, 04/96 - 09/02 6PK 5 80001079 | 078 105 251 R...
AQD
2.8 quattro AAH, AEJ 03/94 - 03/96] 4D-S-000 496 -> 6PK 5 80001079 078 105251 R...
2.8 quattro ACK, AMX, APR, AQD 04/96 - 09/02] 4D-S-000 496 -> / MC: ACK / 6PK 80001079 | 078 105251 R...

AUDI - A8 Il

10/02 - 07/10

MC: ALG

0000000000000+ ¢0¢¢0

2.8 FSI BDX 08/07 - 07/10 80001121 | 06E 105251 C...
3.0 ASN, BBJ 07/03 - 05/06 6PK | 5 80001079 078 105 251 R...
3.0 TDI quattro ASB 08/03 - 07/10| 4E-3-000 001 -> 6PK | 5 80000202 | 059 105 251 S...
6PK | 5 80004350 | 059 105 251 S...
+ Start & Stop
3.0 TDI quattro BNG 11/03 - 07/10 6PK | 5 80004350 | 059 105251 S...
+ Start & Stop
3.2 FSI BPK 06/05 - 07/10| A @: 166.7 6PK | 5 80001121 | 06E 105 251 C...
3.2 FSI quattro BPK 06/05 - 07/10
3.7 quattro BFL 10/02 - 05/06| A &: 166.5 7PK | 6 80001126| 077 105251 N
4.0 TDI quattro ASE 05/03 - 07/05| 4E-3-000 001 -> 6PK | 5 80000201 057105251 D
4.2 FSI quatiro BVJ 06/06 - 07/10 A @: 204 5PK | 4 80001695 079 105 251 N...

45



o

AUDI - Allroad 05/00 - 08/05

OE

i M €© o

2.5 TDI quattro AKE, BAU 05/00 - 08/05] 80000200 | 059 105 251 M...
+6PK °
+ CORTECO Nr: 80000200 / - - 80001261
D @: M18x1,5x98,3 / M8x16 ‘
2.5 TDI quattro BCZ 05/03 - 08/05| A @: 192 4PK | 3+5 80000200 | 059 105251 M...
+ CORTECO Nr: 80000200 / - - 80001261
D @: M18x1,5x98,3 / M8x16 ‘ :
2.7 T quattro ARE, BES 05/00 - 08/05 6PK | 5 ‘ 80001079 | 078 105 251 R...
AUDI - Cabriolet 11/92 - 08/00
1.8 ADR 01/97 - 08/00| AC / A &: 143 80001117 | 058 105251 E...
+5PK ’
ex. AC 5PK | 4 80001537 | 058 105251 D
3
\
1.9 TDI 1Z, AHU 06/95 - 08/00 6PK | 5 (0 80000204 | 028 105243 T...
6PK | 5 . 80004333 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘%3
2.8 AAH 11/92 - 08/00] 8G-S-001 303 -> 6PK 5 ‘ 80001079 | 078 105 251 R...
AUD oupe 08/9 96
2.8 AAH 09/91 - 12/96| 8B-S-000 545 -> 6PK | 5 80001079 | 078 105 251 R...
2.8 quatiro AAH 08/91-12/96 ‘
AUD @ 06
2.0 TDI CFFA, CFFB, CLIA 09/11 6PK | 5 80000678 | 038 105 243 M...
2.0 TDI quattro CFFB, CFGC, CFGD, CLLB|06/11 e
- - 80005272
2.0 TFSI quattro CCZC, CPSA 06/11 AD: 143 6PK | 5 e 80001120 | 06H 105 243 K...
+ Start & Stop
AUDI-Q5 11/08 -
2.0 TDI CJCA, CJCB, CICD, 11/10 80000678 | 038 105 243 M...
CSUA, CSUB
2.0 TDI quattro CAHB, CGLA, CGLD, 11/08
CNHC
- - 80005272
2.0 TDI quattro CAHA, CGLB, CMGA 11/08 6PK 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 e 80000678 | 038 105 243 M...

46




o

AUDI- Q5 11/08 -

¢
2

B oo

OE

2.0 TDI quattro CAHA, CGLB, CMGA 11/08 6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004925| 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37
- - 80005272
2.0 TDI quattro CAGA, CICA 08/09 6PK | 5 a 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI quattro CAGB, CGLC, CICB, 08/09 6PK | 5 80000678 | 038 105 243 M...
CJCD, CMGB, CSUA,
CSuUB
- - 80005272
2.0 TFSI hybrid quattro CHIA 06/11 A D: 143 6PK | 5 80001120 06H 105 243 K...
2.0 TFSI quattro CAEB, CDNB, CDNC, 11/08 e
CNCB, CNCD, CPMA,
S
3.0 TDI quattro CCWA, CPNB 11/08 AD:192 6PK | 5 80001009 | 059 105 251 AS...
6PK | 5 Q 80004350 | 059 105251 S...
+ Start & Stop
3.0 TFSI quattro CTUC, CTVA 06/12 AQD:166.7 6PK | 5+6 80001125| 06E 105251 F..
SQ5 TFSI quattro CTUD, CTXA 05/13 +7PK '
AUDI - Q7 03/06 - 08/15
3.0 TDI BUG 03/06 - 05/08 08/06 -> 6PK | 5 O 80004350| 059 105 251 S...
+ Start & Stop
3.0 TDI BUN, CASB 03/06 - 05/10f 08/06 -> 6PK | 5 O 80004350| 059 105 251 S...
+ Start & Stop
3.0 TDI CASA, CCMA, CIGA, 11/07 - 08/15| A ©@: 192 6PK | 5 80001134 | 059 105 251 AT...
CNRB e
+ Start & Stop
6PK | 5 Q 80004350| 059 105 251 S...
+ Start & Stop
3.0 TDI CATA, CIGD, CLZB, CRCA |06/09 - 08/15 6PK | 5 ’ 80004350 | 059 105 251 S...
+ Start & Stop
3.0 TFSI CJTB, CJTC, CJWB, CIWC,|05/10 - 08/15| A @: 166.7 6PK | 5+6 80001125| 06E 105 251 F..
CJWE, CNAA, CTWA, +7PK
CTwWB
; Start & Stop

47



o

3

OE

AUDI - Q7 03/06 - 08/15

4.2 FSI

BAR

AUDI-TT | 10/98 - 06/06

03/06 - 05/10| A @: 204

5PK

80001695

079 105 251 N...

AUDI - TT | Roadster
1.8T

10/99 - 06/06

AJQ, APE ATC, AUM,

10/99 - 06/06

18T AJQ, APR, ATC, AUM, 10/98 - 06/06| A &: 143 80001118 | 06B 105243 F..
AUQ, BVF, BVR
1.8 T quattro AlQ, ARY, AUQ 10/98 - 06/06
+ Start & Stop
1.8 T quattro APX, BAM, BFV 10/98 - 06/06| A @: 143 6PK 80001119 | 06A 105243 F
1.8 T quattro BVR 09/05 - 06/06) A &: 143 6PK 80001118 | 06B 105243 F..

80001118

06B 105 243 F..

AUDI - TT Il 08/06 - 06/14

AUQ), BVP BVR
+ Start & Stop
1.8 T quattro APX, BAM 10/99 - 06/06) A B: 143 6PK 80001119| 06A 105243 F
1.8 T quattro AJQ, ARY, AUQ, BVR 02/00 - 06/06| A &: 143 6PK 80001118 | 06B 105243 F..

AUDI - TT Il Roadster

03/07 - 06/14

1.8 TFSI CDAA 06/08 - 06/14) A D: 143 6PK 80001120 | 06H 105 243 K...
+ Start & Stop
2.0 TDI quattro CBBB, CFGB 06/08 - 06/14 6PK 80000678 | 038 105 243 M...
- 80005273
2.0 TFSI BPY, BWA, CCTA 08/06 - 06/10| A &: 143 6PK 80001122 | O06F 105 243 J...
2.0 TTS quattro CDLB 05/08 - 06/14
2.0 TTS quattro CDLA, CDMA 05/08 - 06/14| A @: 143 6PK 80001120| 06H 105 243 K...

2.0 TTS quattro

116d

CDLB

BMW - 1-Series (E81, E87) 11/03 - 09/12

N47 D20 A, N47 D20 C

05/08 - 06/14

11/08 - 09/12| A @: 182

6PK

1.8 TFSI CDAA 06/08 - 06/14| A &: 143 6PK 80001120| 06H 105 243 K...
+ Start & Stop

2.0 TDI quattro CBBB, CFGB 06/08 - 06/14 6PK 80000678 | 038 105 243 M...
- 80005273

2.0 TFSI BPY, BWA, CCTA 03/07 - 06/10| A @: 143 6PK 80001122 | 06F 105243 J...

80000936

- Start & Stop

AQ: 182

6PK

G= G=
[ 4 [ 4

[ 3 @ |
‘« | ‘\

80004879

; Start & Stop

48

11237823191...

11237823191...




o Z g i VI o] OE

BMW - 1-Series (E81, E87) 11/03 - 09/12

116 d N47 D20 A, N47 D20 C |11/08 - 09/12| + CORTECO Nr: 80000936 / - 80004878
D @: M10x65 l ‘ l

80001699 | 11237 548 003

116 N43 B16 A, N45B16 A |03/07 - 09/12| A @: 141 6PK | 5
° + Start & Stop

80001699 | 11237 548 003

116 N43 B20 A 11/08 - 09/12| MC: N 45N/ A D: 141 6PK | 5
° + Start & Stop

AQ@: 144 7PK | 6 80001700 | 11237551308

+ Start & Stop

118d M47 D20 (204D4), 11/03 - 09/12| A &: 192 4PK | 3+5 80000374 | 11 23 7 805 696...
N47 D20 A, N47 D20 C +6PK
- Start & Stop
AD: 192 4PK | 3+5 80001996 | 11 23 7 805 69%6...
+6PK
‘ - Start & Stop

D @: M18x1,5x85 - - 80001267

118d N47 D20 A, N47 D20 C |09/06 - 09/12| A @: 182 6PK | 5 g 80000936 | 11237823 191...

+ Start & Stop
AD:182 6PK | 5 80004879 | 11237823 191...

+ Start & Stop

+ CORTECO Nr: 80000936 / - - 80004878
D @: M10x65 l ‘ l
118 N43 B20 A 09/06 - 09/12) A &: 144 7PK | 6 80001700 11237 551308
+ Start & Stop
120d N47 D20 A, N47 D20 C |09/06 - 09/12) A @: 182 6PK | 5 g 80000936 | 11237823 191...
+ Start & Stop
AD:182 6PK | 5 80004879 | 11237823 191...
+ Start & Stop
+ CORTECO Nr: 80000936 / - - 80004878
D @: M10x65 l‘ll
120d N47 D20 A, N47 D20 C |03/07 - 09/12) A ©@: 192 4PK | 3+5 80000374 | 11 23 7 805 696...
+6PK
+ Start & Stop
MC: N 47 /A @: 182 6PK | 5 e 80000936 | 11237823 191...
+ Start & Stop
AD:192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK
‘ + Start & Stop
MC: N 47 /A D: 182 6PK | 5 80004879 | 11237823 191...

+ Start & Stop

+ CORTECO Nr: 80000374 / - - 80001267
D @: M18x1,5x85 ‘ =

MC: N 47 / - - 80004878
+ CORTECO Nr: 80000936 / l‘l

D @: M10x65




o Z g i VI o] OE

BMW - 1-Series (E81, E87) 11/03 - 09/12

120 i N46 B20 B, N46 B20 C  |09/06 - 09/12) MC: N 46 N/ A @: 141 6PK | 5 80001699 | 11237 548 003
+ Start & Stop

120 i N43 B20 A 09/06 - 09/12) A D: 144 7PK | 6 80001700| 11237551308
+ Start & Stop

130 i N52 B30 A, N52 B30 AF, |03/05 - 09/12| AUT 6PK | 5 80004704 | 11 237 564 969...

N52 B30 B, N52 B30 BF

BMW - 1-Series Coupé (E82) 10/07 - 10/13

120d N47 D20 A, N47 D20 C |10/07 - 10/13] A @: 182 6PK | 5 80000936 | 11237823 191...
+ Start & Stop
A@: 182 6PK | 5 80004879 | 11237823 191...

0 0)€

+ Start & Stop

+ CORTECO Nr: 80000936 / - - 80004878
D @: M10x65 l‘ll
1201 N43 B20 A 10/07 - 10/13| MC: N 46 N/ A @: 141 6PK | 5 80001699 | 11237 548 003
+ Start & Stop
AQD: 144 7PK | 6 80001700| 11237551308
+ Start & Stop
1251 N52 B30 A 10/07 - 10/13] AUT 6PK | 5 80004704 | 11 237 564 969...

BMW - 1-Series Cabriolet (E88) 03/08 - 12/13

118d N47 D20 A, N47 D20 C |{09/08 - 12/13| A @: 182 6PK | 5 80000936 | 11237823 191...
+ Start & Stop
AQD: 182 6PK | 5 80004879 | 11237823 191...

06|e00

- Start & Stop

+ CORTECO Nr: 80000936 / - - 80004878
D @: M10x65 l‘ll
1181 N43 B20 A 03/08 - 12/13| MC: N 46 N/ A &: 141 6PK | 5 80001699 | 11237 548003
° _ Start & Stop
MC: N 43 /A D: 144 7PK | 6 80001700 | 11237551308
e
120d N47 D20 A, N47 D20 C |03/08 - 12/13] A ©: 182 6PK | 5 e 80000936 | 11237823 191...
- Start & Stop
AQD: 182 6PK | 5 ! 80004879 | 11237823 191...

+ Start & Stop

+ CORTECO Nr: 80000936 / - 80004878
D @: M10x65 1"‘
120 N43 B20 A 03/08 - 12/13|MC: N 46 N/ A @ 141 6PK | 5 80001699 | 1123 7 548 003
+ Start & Stop
AQ: 144 7PK | 6 80001700 | 11237 551 308

- Start & Stop

50



BMW - 1-Series Cabriolet (E88) 03/08 - 12/13

i il € OE

120 N43 B20 A 03/08 - 12/13| MC: N 43 / A @: 144 7PK |6 80001700 11237 551 308
+ Start & Stop
125 | N52 B30 A 03/08 - 12/13| AUT 6PK | 5 80004704 11 23 7 564 969...
B eries (E36) 09/91 - 02/98
3251d M51 D25 (256T1) 09/91 - 02/98] ex. AC 5PK | 4 80000025 | 1123 2 246 511...
3251ds M51 D25 (256T1) 05/93 - 02/98
ex. AC 5PK | 4 @ 80001991 11232246511
+ CORTECO Nr: 80000025 / 1 - &b, | 80001268
D @: M18x1,5x76,5 / M8x31 “;i‘

BMW - 3-Series Cabriolet (E36) 12/93 - 04/99
320 M50 B20 (206S2), 12/93 - 04/99|09/98 -> / MC: M52 / A@: 194 | 5PK | 4+5
M52 B20 (206S3) +6PK

80001100 | 1123 1438 995...

323 M52 B25 (256S3) 06/95 - 04/99|09/98 -> / A B: 194 5PK | 4+5
328 M52 B28 (286S1) 03/95 - 04/99 +6PK

80001100 | 11 23 1438 995...

BMW - 3-Series Compact (E36) 08/97 - 08/00
323 ti M52 B25 (25653) 08/97 - 08/00§ 09/98 -> / A D: 194 5PK | 445
+6PK

80001100 | 1123 1438 995...

BMW - 3-Series Coupé (E36) 03/92 - 04/99

320 M50 B20 (206S1), 03/92 - 04/99) 09/98 -> / A @: 194 80001100 | 1123 1 438 995...
M50 B20 (20652), +6PK
M52 B20 (20653)

323 M52 B25 (25653) 03/95 - 04/99

328 M52 B28 (28651) 01/95 - 04/99

B eries To g 6 01/9 0/99

320 M52 B20 (20653) 01/95 - 10/99] 09/98 -> / A @: 194 5PK | 445 80001100 | 1123 1 438 995...

323 M52 B25 (25653) 09/95 - 10/99 +6PK

325 tds M51 D25 (256T1) 01/95 - 10/99] ex. AC 5PK | 4 80000025 | 1123 2 246 511...

ex. AC 5PK | 4 80001991 11232 246511

0 0] 0ojoj0 0

+ CORTECO Nr: 80000025 / - -
D @: M18x1,5x76,5 / M8x31

80001268

328 i M52 B28 (28651) 01/95 - 10/99] 09/98 -> / A @: 194 5PK | 4+5
+6PK

80001100 | 1123 1 438 995...

BMW - 3-Series (E46) 04/98 - 02/05

318d M47 D20 (204D1) 09/01 - 03/03] MC: M 47 / A D: 155 21653131 | 1123 2 247 565
+5PK
MC: M 47 /A D: 155 5PK | 8 80001990 | 1123 2 247 565
+5PK
+ CORTECO Nr: 21653131/ - - 80001250
D @: M18x1,5x102 / 19,3x40x5
318d M47 D20 (204D4) 03/03 - 02/05) A @: 192 4PK | 3+5 80000374 | 11 23 7 805 69%6...
+6PK

- Start & Stop

51



o

BMW - 3-Series (E46)

¢
2

04/98 - 02/05

OE

318d M47 D20 (204D4) 03/03 - 02/05| A @: 192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK
‘ + Start & Stop
+ CORTECO Nr: 80000374 / - - 80001267
D @: M18x1,5x85 ‘°
320d M47 D20 (204D1) 04/98 - 09/01| A @: 155 5PK | 8 21653131 11232247 565
+5PK .
A@: 155 5PK | 8 80001990 11 23 2 247 565
+5PK '
+ CORTECO Nr: 21653131/ - - 80001250
D @: M18x1,5x102 / 19,3x40x5 /
320d M47 D20 (204D4) 09/01 - 02/05| A @: 192 4PK | 345 80000374 | 11 23 7 805 696...
+6PK
+ Start & Stop
AD: 192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK
‘ + Start & Stop
+ CORTECO Nr: 80000374 / - - 80001267
D @: M18x1,5x85 ‘°
320 M54 B22 (22651) 09/00 - 02/05| -> 09/02 / A @: 194 5PK | 445 80001100 1123 1 438 995...
325 M54 B25 (25655) 09/00 - 02/05 +6PK
325 xi M54 B25 (25655) 09/00 - 02/05
09/02 -> /A D: 194 4PK | 3+5 80001101 11237513862
+6PK 0
330d M57 D30 (306D1) 10/99 - 02/05 5PK | 8 21653130 11 23 2 247 890...
+5PK '
5PK | 8 80004988 11 23 2 247 890...
+ CORTECO Nr: 21653130 / - - 80004865
D @: M10x86 ',l‘
330d M57 D30 (306D2) 03/03 - 02/05| A @: 192 4PK | 345 80001103 11238511 371...
+6PK Q
AD: 192 4PK | 3+5 80004866 | 11238511 371...
+ CORTECO Nr: 80001103/ - - 80004865
D @: M10x86 "l‘
3301 M54 B30 (306S3) 06/00 - 02/05| -> 09/02 / A @: 194 5PK | 445 80001100 1123 1 438 995...
+6PK 0
09/02 -> /A D: 194 4PK | 3+5 80001101 11237513862
fyt Q
330 xd M57 D30 (306D1) 06/00 - 02/05 5PK | 8 21653130 11 23 2 247 890...
+5PK '
5PK | 8 80004988 11 23 2 247 890...

52




o = i Mkl OE
BMW - 3-Series (E46) 04/98 - 02/05
330 xd M57 D30 (306D1) 06/00 - 02/05| + CORTECO Nr: 21653130 / -] - 80004865
D @: M10x86 ',l‘
330 xd M57 D30 (306D2) 03/03 - 02/05| A @: 192 4PK | 3+5 80001103 | 11238511 371...
A Q
AD:192 4PK 345 80004866 11238511 371...
+ CORTECO Nr: 80001103 / R 80004865
D @: M10x86 "I‘
330 xi M54 B30 (30653) 06/00 - 02/05| -> 09/02 / A @: 194 5PK | 4+5 80001100 11 23 1 438 995...
+6PK @
09/02 -> /A D: 194 4PK | 3+5 80001101 11237 513 862
fyt Q
BMW - 3-Series Cabriolet (E46) 06/00 - 12/07
318 Ci N42 B20 A, N46 B20 A, |09/01 - 12/07] 05/06 -> / A @: 141 6PK | 5 80001699 | 1123 7 548 003
N46 B20 B °
+ Start & Stop
AD: 141 6PK | 5 80001699 | 1123 7 548 003
° + Start & Stop
320 Cd M47 D20 (204D4) 02/05 - 12/07| A ©: 192 4PK | 3+5 80000374 | 11 23 7 805 696...
fyt 0
+ Start & Stop
AD:192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK
‘ + Start & Stop
+ CORTECO Nr: 80000374 / - 80001267
D @: M18x1,5x85 ‘E
320 Ci M54 B22 (22651) 09/00 - 12/07| -> 09/02 / A @: 194 5PK | 4+5 80001100 11 23 1 438 995...
325G M54 B25 (25655) 09/00 - 12/07 +6PK O
09/02 > / A @: 194 4PK [ 3+5 80001101 11237 513 862
Lok O
330 Cd M57 D30 (306D2) 08/05 - 12/07| A @: 192 4PK | 3+5 80001103 11238511 371...
16K Q
AD:192 4PK | 3+5 80004866 11238511 371...
e
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ,'l‘
330 Ci M54 B30 (30653) 06/00 - 12/07| -> 09/02 / A - 194 5PK | 4+5 80001100 11 23 1 438 995...
+6PK @
09/02 > /A D: 194 4PK | 3+5 80001101 11237 513 862
Lok O
B erie ompa 46 06/0 02/0
318 1d M47 D20 (204D4) 03/03 - 02/05| A @: 192 4PK | 3+5 80000374 | 11 23 7 805 696...
3201d M47 D20 (204D4) 09/01 - 02/05 +6PK a
; Start & Stop

53



o = g i Ml €3 OE
B erie ompa 46 06/0 02/0
318 td M47 D20 (204D4) 03/03 - 02/05| A @: 192 4PK | 345 80001996 | 11 23 7 805 696...
320 td M47 D20 (204D4) 09/01 - 02/05 +6PK
‘ + Start & Stop
+ CORTECO Nr: 80000374 / - - 80001267
D @: M18x1,5x85 ‘°
325t M54 B25 (256S5) 06/01 - 02/05) -> 09/02 / A @: 194 5PK | 445 g 80001100| 11 23 1438 995...
+6PK @
09/02 -> / AQD: 194 4PK | 345 80001101 | 11237513862
+6PK 0
BMW - 3-Series Coupé (E46) 06/00 - 07/06
316 Ci N45B16 A 06/02 - 07/06| 05/06 -> / A @: 141 6PK | 5 80001699 | 11237 548 003
° + Start & Stop
318 Ci N42 B20 A, N46 B20 A |09/01 - 07/06] 05/06 -> / A @: 141 6PK 5 80001699 | 11237 548 003
° + Start & Stop
AQ: 141 6PK | 5 80001699 | 11237 548 003
° + Start & Stop
320 Cd M47 D20 (204D4) 11/03 - 07/06) A @: 192 4PK | 3+5 80000374 | 11 23 7 805 696...
iy a
+ Start & Stop
AD:192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK
‘ + Start & Stop
+ CORTECO Nr: 80000374 / - - 80001267
D @: M18x1,5x85 ‘H
320 Ci M54 B22 (226S1) 09/00 - 07/06| -> 09/02 / A &: 194 5PK | 445 80001100 | 11 23 1438 995...
+6PK @
09/02 -> /A QD: 194 4PK | 3+5 80001101 | 11237513862
epc O
325 Ci M54 B25 (256S5) 09/00 - 07/06| -> 09/02 / A &: 194 5PK | 445 80001100| 11 23 1438 995...
+6PK O
330 Cd M57 D30 (306D2) 03/03 - 07/06| A @: 192 4PK | 3+5 80001103 | 11238511 371...
i Q
AD: 192 4PK | 345 80004866 | 11238511 371...
e
+ CORTECO Nr: 80001103 / - - 80004865
D ©: M10x86 ,"‘
330 xi M54 B30 (306S3) 06/00 - 07/06] -> 09/02 / A @: 194 5PK | 445 80001100| 11 23 1438 995...
+6PK @
09/02 -> / AD: 194 4PK | 3+5 80001101 | 11237513862
Jep O
BMW - 3-Series Touring (E46) 10/99 - 02/05
318d M47 D20 (204D1) 03/02 - 02/05| MC: M 47 / A &: 155 5PK | 8 . 21653131 | 11232247 565
+5PK

54



o E g i VI o] OE

BMW - 3-Series Touring (E46) 10/99 - 02/05

318d M47 D20 (204D1) 03/02 - 02/05) MC: M 47 / A @: 155 5PK | 8
+5PK

80001990 | 11232247 565

+ CORTECO Nr: 21653131/ - - 80001250

D @: M18x1,5x102 / 19,3x40x5

318d M47 D20 (204D4) 03/03 - 02/05| A @: 192 4PK | 3+5 80000374 | 11 23 7 805 69%6...
+6PK
+ Start & Stop
AD:192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK

+ Start & Stop
80001267

+ CORTECO Nr: 80000374 / - -
D @: M18x1,5x85

320d M47 D20 (204D1) 03/00 - 09/01} A D: 155 5PK | 8 21653131 | 1123 2 247 565

+5PK

+5PK

+ CORTECO Nr: 21653131/ - - 80001250

D @: M18x1,5x102 / 19,3x40x5

A@: 155 5PK | 8 ' 80001990 | 11232247 565

320d M47 D20 (204D4) 09/01 - 02/05| A @: 192 4PK | 3+5 80000374 | 11 23 7 805 69%6...
+6PK
+ Start & Stop
AD:192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK

+ Start & Stop
80001267

+ CORTECO Nr: 80000374 / - -
D @: M18x1,5x85

320 M54 B22 (22651) 09/00 - 02/05| -> 09/02 / A @: 194 5PK | 445 80001100 1123 1 438 995...
3251 M54 B25 (25655) 09/00 - 02/05 +6PK
325 xi M54 B25 (25655) 09/00 - 02/05
09/02 > /A D: 194 4PK 345 80001101 11237513 862
+6PK
330 M57 D30 (306D1) 10/99 - 02/05 5PK | 8 21653130 1123 2 247 890...
+5PK
5PK | 8 80004988 | 11 23 2 247 890...
+5PK
+ CORTECO Nr: 21653130/ - 80004865
D @: M10x86 ,"‘
330 M57 D30 (306D2) 03/03 - 02/05| A @: 192 4PK | 345 80001103 | 11238511 371...
L6pK Q
AD: 192 4PK 345 80004866 11238511 371...
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ,'I‘
3301 M54 B30 (30653) 06/00 - 02/05| -> 09/02 / A @: 194 5PK | 445 80001100 1123 1 438 995...
+6PK @

55



o B g i VI o OE
BMW - 3-Series Touring (E46) 10/99 - 02/05
330 M54 B30 (306S3) 06/00 - 02/05

09/02 -> /A D: 194 80001101 | 11237513862

+6PK

330 xd M57 D30 (306D1) 06/00 - 02/05 5PK | 8 21653130 | 11 23 2 247 890...
+5PK
5PK | 8 80004988 | 11 23 2 247 890...
+5PK

+ CORTECO Nr: 21653130 / - -
D @: M10x86

80004865

330 xd M57 D30 (306D2) 03/03 - 02/05) A @: 192 4PK | 3+5 80001103 | 11238511 371...

+6PK

A@:192 4PK | 3+5 80004866 | 11238511 371...
e

+ CORTECO Nr: 80001103 / - - 80004865
D @: M10x86

330 xi M54 B30 (306S3) 06/00 - 02/05) -> 09/02 / A@: 194 5PK | 4+5
+6PK

80001100 | 1123 1438 995...

09/02 -> /A @: 194 4PK | 3+5
+6PK

BMW - 3-Series (E90) 01/05 - 12/11
316d N47 D20 C 07/09 - 12/11| A &: 182 6PK | 5 ‘ 80001698 | 11238512072
+ Start & Stop

80001699 | 11237 548 003

80001101 | 11237513862

3161 N45B16 A 02/06 - 12/11f MC: N 45 / 05/06 -> / A @: 141 6PK | 5
MC: N 45N /A@: 141

+ Start & Stop

3161 N43 B16 A 09/07 - 12/11|A D: 144 7PK | 6 80001700| 11237551308
e ; Start & Stop

318d M47 D20 (204D4) 09/05 - 12/11|A ©@: 192 4PK | 3+5 80000374 | 11 23 7 805 696...
+6PK
+ Start & Stop
AD:192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK

- Start & Stop

80001267

+ CORTECO Nr: 80000374 / - -
D @: M18x1,5x85

318d N47 D20 A, N47 D20 C |09/05 - 12/11| A @: 182 6PK | 5 e 80000936 | 11237823 191...

- Start & Stop

MC: N47N / A @: 182 6PK | 5 80001698 | 11238512072

+ Start & Stop
AD: 182 6PK | 5 80004879 | 11237823 191...

+ Start & Stop
80004878

+ CORTECO Nr: 80000936 / - -
D @: M10x65

Dt
Qs
[y
[ eend

56



o 2] g i VI o OE
BMW - 3-Series (E90) 01/05 - 12/11
318 N46 B20 B 09/05 - 03/07]05/06 -> / A &: 141 6PK 5 80001699 | 11237 548 003
° + Start & Stop
318i N43 B20 A 09/07 - 12/11|A B: 144 7PK | 6 80001700 11237 551308
+ Start & Stop
MC: N 43/A@: 144 7PK | 6 80001700| 11237551308
+ Start & Stop
320d M47 D20 (204D4), 01/05-12/11|A D: 192 4PK | 3+5 80000374 | 11 23 7 805 696...
N47 D20 C +6PK
+ Start & Stop
AQD: 192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK
‘ + Start & Stop
+ CORTECO Nr: 80000374 / - - 80001267
D @: M18x1,5x85 ‘°
320d N47 D20 A, N47 D20 C |09/07 - 12/11}A ©@: 182 6PK | 5 a 80000936 | 11237823 191...
+ Start & Stop
MC: N47N /A @: 182 6PK | 5 ’ 80001698 | 11238512072
+ Start & Stop
AD: 182 6PK | 5 g 80004879 | 11237823 191...
+ Start & Stop
+ CORTECO Nr: 80000936 / - - 80004878
D @: M10x65 l‘ll
320d N47 D20 C 01/10-12/11|A D: 182 6PK | 5 ‘ 80001698 | 11238512072
+ Start & Stop
320 d xDrive N47 D20 C 01/10 - 12/11| MC: N47N / A ©@: 182 6PK | 5 ° 80001698 | 11238512072
+ Start & Stop
AQD: 182 6PK | 5 ’ 80001698 | 11238512072
+ Start & Stop
3201 N46 B20 A, N46 B20 B, |01/05 - 03/07) 05/06 -> / A @: 141 6PK | 5 80001699 | 11237 548 003
N46 B20 C °
+ Start & Stop
3201 N43 B20 A 09/07 - 12/11|A @: 144 7PK | 6 80001700| 11237551308
° + Start & Stop
320 si N45 B20 A 05/06 - 12/11| A @: 141 6PK | 5 80001699 | 11237 548 003
° + Start & Stop
320 xd N47 D20 C 09/07 - 12/11| A &: 182 6PK | 5 e 80000936 | 11237823 191...
+ Start & Stop
AQ: 182 6PK | 5 ! 80004879 | 11237823 191...
+ Start & Stop
+ CORTECO Nr: 80000936 / - - 80004878
D @: M10x65 1"‘

57



. 2 g i Ml € OE
BMW - 3-Series (E90) 01/05 - 12/11
325d M57 D30 (306D3) 09/06 - 12/11|A @: 192 4PK | 345 Q 80001103 | 11238511 371...

+6PK

AD: 192 4PK 345 80004866 | 11238511 371...
+ CORTECO Nr: 80001103/ - 80004865
D @: M10x86 ,'l‘

325i N53 B30 A 09/07 - 12/11) AUT 6PK | 5 80004704 | 11 237 564 969...
325 xi N53 B30 A 09/07 - 12/11
330d M57 D30 (306D3) 09/05 - 12/11|AD: 192 4PK | 3+5 80001103 | 11238511 371...
+6pK Q
Code: LCI / A @: 194 6PK | 5 80001418 | 11237800 385

AD: 192 4PK (345 80004866 | 11238511 371..
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 "I‘

3301 N52 B30 A, N52 B30 B, [01/05 - 12/11} AUT 6PK | 5 80004704 | 11 237 564 969...
N52 B30 BF, N53 B30 A

330 xd M57 D30 (306D3) 09/05-12/11|AD: 192 4PK | 3+5 80001103 | 11238511 371...
+6p Q
Code: LCI / A @: 194 6PK | 5 80001418 | 11237800 385

AD: 192 4PK [ 345 80004866 | 11238511 371...
+ CORTECO Nr: 80001103 / B 80004865
D @: M10x86 ,'I‘

330 xi N52 B30 A, N53 B30 A |01/05 - 12/11| AUT 6PK | 5 80004704 | 1123 7 564 969...
335d M57 D30 (306D5) 09/06 - 12/11| A @: 192 4PK | 3+5 Q 80001103 | 11238511 371..,
+6PK

AD: 192 4PK [ 345 80004866 | 11238511 371...
+ CORTECO Nr: 80001103 / N 80004865
D @: M10x86 ,,l‘

BMW - 3-Series Touring (E91) 09/05 - 06/12

316 N43 B16 A 05/08 - 05/12| A @: 144 7PK | 6 80001700| 11237551308
° ; Start & Stop

318d M47 D20 (204D4) 09/05 - 06/12) A D: 192 4PK | 3+5
+6PK

80000374 | 11 23 7 805 69%6...

- Start & Stop

58



o E g i VI o] OE

BMW - 3-Series Touring (E91) 09/05 - 06/12

318d M47 D20 (204D4) 09/05 - 06/12| A @: 192 4PK | 3+5 80001996 | 11 23 7 805 696...

+6PK

+ Start & Stop
80001267

D @: M18x1,5x85 - -

318d N47 D20 A, N47 D20 C |09/07 - 06/12| A @: 182 6PK | 5 80000936 | 11237823 191...

+ Start & Stop

MC: N47N / A @: 182 6PK | 5 ’ 80001698 | 11238512072

|

+ Start & Stop
80004879 | 11237823 191...

AQ:182 6PK | 5

|

+ Start & Stop

+ CORTECO Nr: 80000936 / - 80004878
D @: M10x65 l‘ll
3181 N46 B20 B 01/06 - 06/12] 05/06 -> / A ©: 141 6PK | 5 80001699 | 1123 7 548 003

+ Start & Stop
80001699 | 11237 548 003

318 N43 B20 A 09/07 - 06/12) MC: N 46,N 46 N / A @: 141 6PK | 5

+ Start & Stop

AD: 144 7PK | 6 80001700| 11237551308
c - Start & Stop

MC: N 43 /A @: 144 7PK | 6 80001700 | 11237551308

80000374 | 11 23 7 805 696...

320d M47 D20 (204D4), 09/05 - 06/12f MC: M 47 N/ A D: 192 4PK | 3+5
N47 D20 C +6PK

+ Start & Stop
80001996 | 11 23 7 805 696...

MC:M47N/A@: 192 4PK | 3+5
+6PK

|

+ Start & Stop

+ CORTECO Nr: 80000374 / - - 80001267
D @: M18x1,5x85 ‘ =

320d M47 D20 (204D4) 09/05 - 06/12) A D: 192 4PK | 3+5 80000374 | 11 23 7 805 696...
+6PK
- Start & Stop
AD: 192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK

+ Start & Stop
80001267

D @: M18x1,5x85 - -

320d N47 D20 A, N47 D20 C |09/07 - 06/12| A @: 182 6PK | 5 a 80000936 | 11237823 191...

+ Start & Stop
MC: N47N /A @: 182 6PK | 5 80001698 | 11238512072

+ Start & Stop
AQ: 182 6PK | 5 80004879 | 11237823 191...

+ Start & Stop
+ CORTECO Nr: 80000936 / - - l‘l 80004878

D @: M10x65

59



. = g i Ml € OE
BMW - 3-Series Touring (E91) 09/05 - 06/12
320 d xDrive N47 D20 C 09/08 - 06/12] MC: N47N / A @: 182 6PK | 5 80001698 | 11238512072
+ Start & Stop
320 N46 B20 A, N46 B20 C  |09/05 - 06/12] 05/06 -> / A @: 141 6PK| 5 80001699 | 1123 7 548 003
+ Start & Stop
320 N43 B20 A 09/07 - 06/12| MC: N 46 N/ A @: 141 6PK| 5 80001699 | 1123 7 548 003
° + Start & Stop
AQ: 144 7PK | 6 80001700 | 11 23 7 551 308
e + Start & Stop
325d M57 D30 (306D3) 09/06 - 06/12| A @: 192 4PK | 3+5 80001103 | 11238511 371...
Lepk Q
AQ: 192 4PK | 3+5 80004866 | 11238511 371...
Y-
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ,"‘
325i N53 B30 A 09/07 - 06/12| AUT 6PK | 5 80004704 | 11 23 7 564 969...
325xi N53 B30 A 09/07 - 06/12 é
330 d M57 D30 (306D3) 09/05 - 06/12| A @: 192 4PK | 3+5 80001103 | 11238511 371...
i Q
Code: LCI /A @: 194 &PK | 5 . 80001418 11 23 7 800 385
AD: 192 4PK [ 3+45 80004866 | 11238511 371...
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ,,I‘
3301 N52 B30 A, N53 B30 A |09/05 - 06/12| AUT 6PK | 5 I 80004704 | 11 23 7 564 969...
330 xd M57 D30 (306D3) 09/05 - 06/12| A @: 192 4PK | 3+5 80001103 | 11238511 371...
+6PK Q
Code: LCI /A @: 194 &PK | 5 . 80001418 11 23 7 800 385
AQ: 192 4PK | 3+5 80004866 11238511 371...
-
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ""
335d M57 D30 (306D5) 09/06 - 06/12| A @: 192 4PK | 3+5 80001103 | 11238511 371...
16K Q
AQ: 192 4PK | 3+5 80004866 1123 8511371...

60




o | g i M € OE
BMW - 3-Series Touring (E91) 09/05 - 06/12
335d M57 D30 (306D5) 09/06 - 06/12| + CORTECO Nr: 80001103 / - - ',l‘ 80004865

D @: M10x86

BMW - 3-Series Coupé (E92) 09/06 - 12/13

320d N47 D20 A 03/07 - 12/13| A &: 182 6PK | 5 e 80000936 | 11237823 191...
- Start & Stop

AQ@:182 6PK | 5 80004879 | 11237823 191...

+ Start & Stop

+ CORTECO Nr: 80000936 / - - 80004878
D @: M10x65 l ‘ l
320d N47 D20 C 01/10 - 12/13| A &: 182 6PK | 5 80001698 | 11238512072
320 d xDrive N47 D20 C 01/10 - 12/13
+ Start & Stop
3201 N46 B20 A 11/06 - 06/07| MC: N 46 N / A @: 141 6PK | 5 80001699 | 11237 548 003
° + Start & Stop
AQD: 141 6PK | 5 80001699 | 11237 548 003
° + Start & Stop
3201 N43 B20 A 03/07 - 12/13| A @: 144 7PK | 6 80001700| 11237551308
a + Start & Stop
320 xd N47 D20 A 03/07 - 12/13| A @: 182 6PK | 5 e 80000936 | 11237823 191...
+ Start & Stop
AD: 182 6PK | 5 ! 80004879 | 11237823 191...

+ Start & Stop

+ CORTECO Nr: 80000936 / - 80004878
D @: M10x65 "ll
3254 M57 D30 (306D3) 03/07 - 12/13| A@: 192 4PK | 345 80001103 | 11238511 371...
+6PK Q
AD: 192 4PK 345 80004866 | 11238511 371...
+ CORTECO Nr: 80001103 / N 80004865
D @: M10x86 "I‘
3251 N53 B30 A 09/07 - 12/13| AUT 6PK | 5 80004704 | 11 23 7 564 969...
325 i xDrive N53 B30 A 09/08 - 12/13
325xi N53 B30 A 09/07 - 12/13
330 d M57 D30 (306D3) 09/06 - 12/13| A@: 192 4PK | 345 80001103 | 11238511 371...
+6PK Q
AD: 192 4PK 345 80004866 | 11238511 371...
+ CORTECO Nr: 80001103 / N 80004865
D @: M10x86 ,,I‘
330d N57 D30 A 01/09 - 12/13| MC: N 57 / A @: 194 6PK | 5 80001418 1123 7 800 385

61



o E g i VI o] OE

BMW - 3-Series Coupé (E92) 09/06 - 12/13

3301 N52 B30 A, N52 B30 AF. |09/06 - 12/13| AUT 6PK | 5 80004704 | 11 23 7 564 969...
N52 B30 B, N52 B30 BF
330 xDrive N53 B30 A 09/08 - 12/13
330 xd N57 D30 A 01/09 - 12/13| AD: 194 6K | 5 . 80001418 1123 7 800 385
330x N52 B30 A 09/06 - 12/13| AUT 6PK | 5 I 80004704 | 11 23 7 564 969...
335d M57 D30 (306D5) 09/06 - 12/13| A : 192 4PK | 345 80001103 | 11238511 371...
L6pK Q
AG: 192 APK [3+5 80004866 | 11238511 371..
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ',l‘

BMW - 3-Series Cabriolet (E93) 03/07 - 12/13

320d N47 D20 A, N47 D20 C |03/07 - 12/13| A @: 182 6PK | 5 e 80000936 | 11237823 191...
+ Start & Stop
AQ: 182 6PK | 5 g 80004879 | 11237823 191...

+ Start & Stop

+ CORTECO Nr: 80000936 / - - 80004878
D @: M10x65 1"‘
320d N47 D20 C 01/10 - 12/13| A @: 182 6PK | 5 ‘ 80001698 | 11238512072
+ Start & Stop
3201 N43 B20 A 03/07 - 12/13| MC: N 46 N / A @: 141 6PK | 5 80001699 | 11237 548 003
° + Start & Stop
AQD: 141 6PK | 5 80001699 | 11237 548 003
° + Start & Stop
AQD: 144 7PK 6 80001700| 11237551308
° + Start & Stop
325d M57 D30 (306D3) 03/07 - 12/13| A &: 192 4PK | 3+5 80001103 | 11238511 371...
+oPK @
AD: 192 4PK | 3+5 80004866 | 11238511 371...
e
+ CORTECO Nr: 80001103 / - - 80004865
D @: M10x86 ""
3251 N53 B30 A 03/07 - 12/13| AUT 6PK 5 I 80004704 | 11 237 564 969...
330d M57 D30 (306D3) 03/07 - 12/13| A &: 192 4PK | 3+5 80001103 | 11238511 371...
+oPK @
AD: 192 4PK | 3+5 80004866 | 11238511 371...
e

62



o = i Ml €8 OE
BMW - 3-Series Cabriolet (E93) 03/07 - 12/13
330 d M57 D30 (306D3) 03/07 - 12/13| + CORTECO Nr: 80001103 / -] - 80004865
D @: M10x86 ',l‘
330d N57 D30 A 01/09 - 12/13| MC: N 57 / A ©: 194 6PK | 5 . 80001418 1123 7 800 385
330 i N52 B30 A, N52N B30 B, 03/07 - 12/13| AUT 6PK | 5 80004704 | 11 23 7 564 969...
N53 B30 A é
B 0) 80 0
318d N47 D20 C 02/12 AD: 182 6PK | 5 80001698 | 11238512 072
318 d xDrive N47 D20 C 11/12 ‘
+ Start & Stop
340 i B58 B30 A 07/15 6PK | 5 79 11238 638 534
340 i xDrive B58 B30 A 07/15 e 19374722
: A o A . Q/0 . Q/0
525 id M51 D25 (256T1) 04/93 - 09/95| ex. AC 5PK | 4 80000025 | 11 23 2 246 511...
525 tds M51 D25 (256T1) 09/91 - 09/95 ’
ox. AC 5PK | 4 H 80001991 | 11232246511
+ CORTECO Nr: 80000025 / - &b, | 80001268
D @: M18x1,5x76,5 / M8x31 “51
B eries To 4 91 -01/9
525 1d M51 D25 (256T1) 03/93 - 01/97] ex. AC 5PK | 4 80000025 | 11 23 2 246 511...
525 1ds M51 D25 (256T1) 12/91-01/97
ox. AC 5PK | 4 a 80001991 11232 246511
+ CORTECO Nr: 80000025 / - &b, | 80001268
D @: M18x1,5x76,5 / M8x31 ‘;:
BMW - 5-Series (E39) 11/95 - 06/03
520 d M47 D20 (204D1) 02/00 - 06/03| A @: 155 5PK | 8 21653131 1123 2 247 565
457K ‘
AD: 155 5PK | 8 80001990 11 23 2 247 565
+5PK Q
+ CORTECO Nr: 21653131/ B - 80001250
D @: M18x1,5x102 / 19,3x40x5 /
520 i M52 B20 (20653) 01/96 - 09/00] 09/98 -> / A @: 194 5PK | 4+5 80001100 11 23 1 438 995...
+6PK @
520 M54 B22 (22651) 09/00 - 06/03| -> 09/02 / A @: 194 5PK | 4+5 80001100 1123 1 438 995...
+6PK 0
09/02 -> /A @: 194 4PK | 345 80001101 11237 513 862
Lok O
523 M52 B25 (25653) 11/95 - 09/00] 09/98 -> / A @: 194 5PK | 445 80001100 1123 1 438 995...
+6PK @

63



o

BMW - 5-Series (E39)

¢
2

11/95 - 06/03

OE

525 d M57 D25 (256D1) 02/00 - 06/03 5PK | 8 21653130 | 11 23 2 247 890...
+5PK '
5PK | 8 80004988 | 11 23 2 247 890...
+5PK
+ CORTECO Nr: 21653130 / - 80004865
D @: M10x86 ,'l‘
5251 M54 B25 (25655) 09/00 - 06/03| -> 09/02 / A @: 194 5PK | 445 80001100 | 11 23 1 438 995...
+6PK e
09/02 -> /A @: 194 4PK [345 80001101 11237513 862
+6PK
525 1d M51 D25 (256T1) 01/97 - 06/03| ex. AC 5PK | 4 80000025 | 11 23 2 246 511...
ox. AC 5PK | 4 a 80001991 | 11232246511
+ CORTECO Nr: 80000025 / - &b, | 80001268
D @: M18x1,5x76,5 / M8x31 “;1
525 ids M51 D25 (256T1) 01/96 - 06/03] ex. AC / MAN 5PK | 4 80000025 | 11 23 2 246 511...
ox. AC / MAN 5PK | 4 @ 80001991 | 11232246511
+ CORTECO Nr: 80000025 / - &b, | 80001268
D @: M18x1,5x76,5 / M8x31 “;bs
528 M52 B28 (28651), 11/95 - 09/00] 09/98 -> / A @: 194 5PK | 445 80001100 | 11 23 1 438 995...
M52 B28 (28652) +6PK @
530 d M57 D30 (306D1) 08/98 - 06/03 5PK | 8 21653130 | 11 23 2 247 890...
+5PK '
5PK | 8 80004988 | 11 23 2 247 890...
+5PK
+ CORTECO Nr: 21653130 / - 80004865
D @: M10x86
5301 M54 B30 (30653) 09/00 - 06/03| -> 09/02 / A @: 194 5PK | 445 80001100 11 23 1 438 995...
+6PK
09/02 > /A @: 194 4PK 345 80001101 11237 513 862
+6PK
5351 M62 B35 (35851), 04/96 - 06/03| A @: 200 7PK | 644 80001294 | 11231741773
Mé2 B35 (35852) +5PK
540 M&2 B44 (44851), 04/96 - 06/03
M62 B44 (44852)
BMW - 5-Series Touring (E39) 01/97 - 05/04
M47 D20 (204D1) 02/00 - 09/03 21653131 1123 2 247 565

64



BMW - 5-Series Touring (E39) 01/97 - 05/04

i il € OE

520 d M47 D20 (204D1) 02/00 - 09/03| A @: 155 5PK | 8 80001990 1123 2 247 565
+5PK '
+ CORTECO Nr: 21653131/ - 80001250
D @: M18x1,5x102 / 19,3x40x5 (
5201 M52 B20 (20653) 01/97 - 09/00| 09/98 -> / A @: 194 5PK | 445 80001100 1123 1438 995...
+6PK @
5201 M54 B22 (22651) 09/00 - 05/04] -> 09/02 / A @: 194 SPK | 415 80001100 1123 1438 995...
+6PK 0
09/02 > /A D: 194 4PK 345 80001101 11237513 862
fyt ‘
523 i M52 B25 (25653) 01/97 - 09/00| 09/98 -> / A @: 194 5PK | 445 80001100 1123 1 438 995...
+6PK 6
525 d M57 D25 (256D1) 02/00 - 05/04 5PK | 8 21653130 11 23 2 247 890...
+5PK '
5PK | 8 80004988 | 11 23 2 247 890...
+ CORTECO Nr: 21653130/ - 80004865
D @: M10x86 ,ll‘
525 i M54 B25 (25655) 09/00 - 05/04] -> 09/02 / A @: 194 5PK | 445 80001100 1123 1 438 995...
+6PK e
09/02 > /AD: 194 4PK 345 80007707| 11237513 862
+6PK O
525 tds M51 D25 (256T1) 03/97 - 05/04] ex. AC / MAN 5PK | 4 0 80000025 | 1123 2 246 511...
ox. AC / MAN 5PK | 4 @ 80001991 | 11232 246 511
+ CORTECO Nr: 80000025 / - e, | 80001268
D ©: M18x1,5x76,5 / M8x31 Pee ]
o'
5281 M52 B28 (28651), 01/97 - 09/00| 09/98 -> / A @: 194 SPK | 445 80001100 1123 1438 995...
M52 B28 (28652) +6PK O
530 d M57 D30 (306D1) 08/98 - 05/04 SPK | 8 21653130 | 11 23 2 247 890...
+5PK '
5K 8 80004988 | 1123 2 247 890...
+5PK
+ CORTECO Nr: 21653130 / - 80004865
D @: M10x86 "l‘
530 i M54 B30 (30653) 09/00 - 05/04] -> 09/02/ A @: 194 5PK | 445 80001100 1123 1 438 995...
+6PK @
09/02 > /A D: 194 4PK 345 80001101 11237513 862
+6PK

65



o

BMW - 5-Series Touring (E39)

¢
2

01/97 - 05/04

&

B oo

OE

540 M62 B44 (448S1), 01/97 - 05/04| A &: 200 7PK | 6+4 80001294 | 11231741773
M62 B44 (448S2) +5PK
BMW - 5-Series (E60) 07/03 - 03/10
520d M47 D20 (204D4), 07/05 - 03/10 80000374 | 11 23 7 805 696...
N47 D20 A, N47 D20 C
+ Start & Stop
MC: N 47 /A QD: 182 6PK | 5 80000936 | 11237823 191...
+ Start & Stop
AD: 192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK
‘ + Start & Stop
MC: N 47 /A QD: 182 6PK | 5 80004879 | 11237823 191...
+ Start & Stop
+ CORTECO Nr: 80000374 / - - 80001267
D @: M18x1,5x85 ‘n
MC: N 47/ - - 80004878
+ CORTECO Nr: 80000936 / ,
D @: M10x65
520d N47 D20 A, N47 D20 C |09/07 - 03/10] MC: N 47 / A &: 182 6PK | 5 e 80000936 | 11237823 191...
+ Start & Stop
MC: N 47 /A QD: 182 6PK | 5 80004879 | 11237823 191...
+ Start & Stop
MC: N 47/ - - 80004878
+ CORTECO Nr: 80000936 / ’
D @: M10x65
520 M54 B22 (22651) 07/03 - 03/10| A @: 194 4PK | 345 80001101 | 11237513862
+6PK
520 i N43 B20 A 09/07 - 03/10| MC: N 46 N / A @: 141 6PK | 5 80001699 | 11237 548 003
° + Start & Stop
AQD: 141 6PK | 5 80001699 | 11237 548 003
° + Start & Stop
AD: 144 7PK | 6 80001700 | 11237551308
e + Start & Stop
525d M57 D25 (256D1), 06/04 - 03/10| A @: 192 4PK | 345 80001103 | 11238511 371...
M57 D25 (256D2), +6PK
M57 D30 (306D3)
AQD: 192 4PK | 345 80004866 | 11238511 371...
+ CORTECO Nr: 80001103 / - - 80004865
D ©: M10x86 "I‘
525 M54 B25 (25655) 09/03 - 03/10| A @: 194 4PK | 345 80001101 | 11237513862
Zepi ‘
530d M57 D30 (306D3) 07/03 - 03/10} A &: 192 4PK | 345 Q 80001103 | 11238511 371...
+6PK

66



o ] g i VI o] OE

BMW - 5-Series (E60) 07/03 - 03/10

530 d M57 D30 (306D3) 07/03 - 03/10| A @: 192 4PK | 3+5 80004866 | 11238511 371...
+6PK
+ CORTECO Nr: 80001103/ - 80004865
D @: M10x86
5301 M54 B30 (30653) 07/03 - 03/10| A @: 194 4PK | 345 80001101 11237513 862
+6PK
5301 N52 B30 A 07/05 - 03/10| AUT 6PK | 5 80004704 | 1123 7 564 969...
530 i xDrive N53 B30 A 09/08 - 03/10
530 xd M57 D30 (306D3) 07/05 - 03/10| A@: 192 4PK | 345 80001103 | 11238511 371..
L6k Q
AD: 192 4PK (345 80004866 | 11238511 371..
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 "I‘
530 xi N52 B30 A 07/05 - 03/10| AUT 6PK | 5 80004704 | 1123 7 564 969...
535d M57 D30 (306D4), 09/04 - 03/10| A@: 192 4PK | 345 80001103 | 11238511 371..
M57 D30 (306D5) +6PK Q
AD: 192 4PK (345 80004866 | 11238511 371..
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 "I‘
5401 N62 B40 A 07/05 - 03/10| AD: 174 4PK | 345 80001102 | 1123 7 568 345...
5451 NG62 B44 A 09/03 - 03/10 +6PK
5501 NG62 B48 A, N62 B48 B [07/05 - 03/10

BMW - 5-Series Touring (E61) 06/04 - 12/10

—_
—_

237 805 696...

- Start & Stop

80000936 | 11237823 191...

MC: N 47 /A@: 182 6PK | 5

520d M47 D20 (204D4), 07/05 - 12/10) A D: 192 4PK | 3+5 80000374
N47 D20 A, N47 D20 C +6PK Q

- Start & Stop

AQD: 192 4PK | 345 80001996 | 11 23 7 805 696...
+6PK
‘ _ Start & Stop
MC: N 47 /A QD: 182 6PK | 5 80004879 | 11237823 191...

+ Start & Stop

+ CORTECO Nr: 80000374 / - -

80001267
D &: M18x1,5x85 ‘:

MC: N 47/ - - 80004878
+ CORTECO Nr: 80000936 / ’
D @: M10x65
520d N47 D20 A, N47 D20 C |09/07 - 12/10) A @: 182 6PK | 5 e 80000936 | 11237823 191...

- Start & Stop
67



i VI o OF
BMW - 5-Series Touring (E61) 06/04 - 12/10

520d N47 D20 A, N47 D20 C |09/07 - 12/10) A @: 182 6PK | 5

80004879 | 11237823 191...

+ Start & Stop

+ CORTECO Nr: 80000936 / - 80004878
D @: M10x65
5201 N43 B20 A 09/07 - 12/10| A ©: 144 7K | 6 80001700| 11237 551 308
+ Start & Stop
525 d M57 D25 (256D2), 06/04 - 12/10| A@: 192 4PK | 345 80001103 | 11238511 371...
M57 D30 (306D3), +6PK
M57N 256 D4
AD: 192 4PK 345 80004866 11238511371...
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ,"‘
525 i M54 B25 (25655) 06/04 - 12/10| A @ 194 4PK | 345 80001101| 11237513 862
+6PK
525 xd M57 D30 (306D3) 01/07 - 12/10| AD: 192 4PK | 345 80001103 | 11238511 371...
530 d M57 D30 (306D2), 06/04 -12/10 +6PK
M57 D30 (306D3)
AD: 192 4PK 345 80004866 11238511 371...
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ,,I‘
530 i N53 B30 A 01/07 - 12/10| AUT 6PK | 5 80004704 | 1123 7 564 969...
530 i xDrive N53 B30 A 09/08 - 12/10
530 xd M57 D30 (306D3) 07/05 - 12/10| A@: 192 4PK | 345 80001103 | 11238511 371...
+6PK Q
AD: 192 4PK 345 80004866 11238511 371...
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ,,I‘
530 xi N52 B30 A 07/05 - 12/10| AUT 6PK | 5 80004704 | 1123 7 564 969...
535 d M57 D30 (306D4), 09/04 - 12/10| A@: 192 4PK | 345 80001103 | 11238511 371...
M57 D30 (306D5) +6PK Q
AD: 192 4PK (345 80004866 11238511 371...
+ CORTECO Nr: 80001103 / - 80004865
D @: M10x86 ,,I‘
545 | N62 B44 A 06/04 - 12/10| AD: 174 4PK | 345 80001102 1123 7 568 345...
550 N62 B48 A, N62 B48 B [07/05 - 12/10 +6PK e

68



. 2 il € OE
BMW - 5-Series GT (FO7) 10/09 -
530d N57 D30 A 10/09 AD: 194 7PK | 6 80001419 | 11237800 026
530 d xDrive N57 D30 A 09/10
535d N57 D30 B 09/10
535 d xDrive N57 D30 B 09/10
550 i N63 B44 A, N63 B44B  |[10/09 - - 80005008 | 11237570263
550 i xDrive Né63 B44 A, N63 B44 B 09/10

BMW - 5-Series (F10) 1

2/09 -

+ Start & Stop

520d N47 D20 C 03/10 AD:182 6PK | 5 80001698 | 11238512072
+ Start & Stop
525d N57 D30 A 02/10 AD: 194 7PK | 6 80001419 | 11237800026
- Start & Stop
MC: N 47 6PK | 5 80001827 | 11238513 539
530d N57 D30 A 12/09 AD: 194 7PK | 6 80001419 | 11237800 026
- Start & Stop
MC: N 57 N 6PK | 5 80001826| 11238511 321
+ Start & Stop
535d N57 D30 B 08/10 AD: 194 7PK | 6 80001419 | 11237800026
+ Start & Stop
MC: N 57 Z 6PK | 5 80001828 | 11238515002
550 N63 B44 A, N63 B44 B |02/10 - - 80005008 | 11237570263
550 i xDrive N63 B44 A, N63 B44B 1 08/10

BMW - 5-Series Touring (F11)

09/10 -

520d N47 D20 C 09/10 AD:182 6PK | 5 80001698 | 11238512072
+ Start & Stop

525d N57 D30 A 09/10 AD: 194 7PK | 6 80001419 | 11237800026
- Start & Stop

MC: N 47 6PK | 5 80001827 | 11238513539

530d N57 D30 A 09/10 AQD: 194 7PK | 6 80001419 | 11237 800 026
_ Start & Stop

MC: N 57 N 6PK | 5 80001826 | 11238511 321
+ Start & Stop

535d N57 D30 B 09/10 AD: 194 7PK | 6 80001419 | 11237800026
+ Start & Stop

MC: N 57 Z 6PK | 5 80001828 | 11238515002

550 N63 B44 A, N63 B44 B |09/10 - - 80005008 | 11237570263

+
%)
g
3
R0
@
)
o

; Start & Stop




o E| i I o] OF
BMW - 6-Series (E63) 01/04 - 07/10
6301 N52 B30 A, N53 B30 A |09/04 - 07/10] AUT 6PK | 5 80004704 | 1123 7 564 969...
635d M57 D30 (306D5) 07/07 - 07/10) A @: 192 4PK | 3+5 80001103 | 11238511 371..,
+6PK
AD:192 4PK [ 3+5 80004866 | 11238511371..,
+6PK
+ CORTECO Nr: 80001103 / - 80004865

D @: M10x86

645 Ci N62 B44 A 01/04 - 08/05| A @: 174 4PK | 3+5
650 Né62 B48 B 07/05 - 07/10 +6PK

80001102 | 11237 568 345...

BMW - 6-Series Cabriolet (E64) 04/04 - 07/10
N52 B30 A, N53 B30 A

80004704 237 564 969...

635d M57 D30 (306D5) 07/07 - 07/10) A @: 192 4PK | 3+5
+6PK

80001103 | 11238511 371...

A@:192 4PK | 3+5 80004866 | 11238511 371...
+6PK
+ CORTECO Nr: 80001103 / - - 80004865
D @: M10x86
645 Ci N62 B44 A 04/04 - 08/05| A @: 174 4PK | 3+5 80001102 | 11 23 7 568 345...
650 Né62 B48 B 07/05 - 07/10 +6PK

650 i Né63 B44 A, N63 B44 B 03/11 - - 80005008 | 11237570263
650 i xDrive Né63 B44 A, N63 B44 B 06/11

B 6-Serie a oupe (FO6

650 i N63 B44 B 11/11 - - 80005008 | 11237 570263
650 i xDrive Né63 B44 B 11/11

BMW - 7-Series (E38) 08/95 - 11/01
725 tds M51 D25 (256T1) 04/96 - 11/01 80000025 | 11232246 511...

ex. AC / MAN 5PK | 4 80001991 | 11232246511

+ CORTECO Nr: 80000025 / - - 80001268

D @: M18x1,5x76,5 / M8x31

728 i M52 B28 (28651), 08/95 - 11/01]09/98 -> / A @: 194 5PK | 445 80001100 | 1123 1 438 995...
M52 B28 (28652) +6PK

i M52 B28 (28651), 08/95 - 11/01
M52 B28 (28652)

iL M62 B35 (35851), 01/96 - 11/01| A @: 200 7PK | 6+4 80001294 | 11231741773
M62 B44 (448S1), +5PK
M62 B44 (44852)

735 M62 B35 (35851) 01/96 - 11/01

740 M62 B44 (448S1), 01/96 - 11/01

M62 B44 (44852)

BMW - 7-Series (E65, E66) 11/01 - 12/09
730d M57 D30 (306D2) 10/02 - 07/08) A @: 192 4PK | 3+5
+6PK

80001103 | 11238511 371...

70



BMW - 7-Series (E65, E66) 11/01 - 12/09

i il € OE

730d M57 D30 (306D2) 10/02 - 07/08| A @: 192 4PK | 3+5 80004866 | 11238511 371...
TR
+ CORTECO Nr: 80001103 / - . 80004865
D @: M10x86 ,"‘
730 M54 B30 (30653) 03/03 - 07/08| A @: 194 4PK | 345 80001101 | 11237513 862
L M54 B30 (30653) 03/03 - 07/08 +6PK
730 N52 B30 A 03/05 - 07/08| AUT 6PK | 5 80004704 | 11 23 7 564 969...
Li N52 B30 A 03/05 - 07/08 é
730 Ld M57 D30 (306D3) 07/05 - 12/09| A @: 192 4PK | 3+5 80001103 | 1123 8511 371...
6Pk Q
AD: 192 4PK [ 345 80004866 | 11238511 371...
+ CORTECO Nr: 80001103 / - - 80004865
D @: M10x86 "I‘
Li N62 B36 A, N62 B40 A, |11/01 - 07/08| A @: 174 4PK | 3+5 80001102 | 11 23 7 568 345...
N62 B44 A, N62 B48 B +6PK
7351 N62 B36 A 11/01 - 02/05
740 N62 B40 A 07/05 - 07/08
745 i N62 B44 A 11/01 - 07/08
750 i N62 B48 B 07/05 - 07/08
Li N73 B60 A 01/03 - 07/08| A @: 180 6PK | 3+5 80001104 | 11237 504 527
760 N73 B60 A 01/03 - 07/08 +4PK
BMW - 7-Series (FO1, FO2, FO3, FO4) 10/08 - 12/15
730 d N57 D30 A 10/08 - 12/15| A @: 194 80001419 11 23 7 800 026
740d N57 D30 B 09/09 - 12/15
740 d xDrive N57 D30 B 09/09 - 12/15
+ Start & Stop
740 i N54 B30 A 10/08 - 12/15| OE Nr: 1123 7 564511 /11237 | 8PK | 7 80001107 | 11 23 7 566 301...
570107 / A @: 170
+ Start & Stop
750 i N63 B44 A, N63 B44 B [10/08 - 12/15 - - 80005008 | 11237 570 263
750 i xDrive N63 B44 A, N63 B44 B |09/09 - 12/15

BMW - 8-Series (E31) 01/96 - 12/99
840 Ci M62 B44 (44851)

01/96 - 12/99) A @: 200 7PK | 6+4
+5PK

80001294 | 11231741773

BMW - X1 (E84) 10/09 - 06/15

sDrive 18 d N47 D20 C 10/09 - 06/15| A ©: 182 80000936 | 1123 7 823 191...
sDrive 20 N47 D20 C 10/09 - 06/15
«Drive 18 d N47 D20 C 10/09 - 06/15
*Drive 20 d N47 D20 C 10/09 - 06/15 + Start & Stop
AQ: 182 6PK | 5 80004879 | 11237 823 191...

+
%)
g
3
R0
&
)
o

+ Start & Stop

+ CORTECO Nr: 80000936 / - 80004878
D @: M10x65 l‘ll
*Drive 25 i N52 B30 A 01/10 - 06/15| AUT 6PK | 5 80004704 | 11 23 7 564 969...

xDrive 28 i N52 B30 A 10/09 - 06/15

BMW - X3 (E83) 01/04 - 12/10
2.0d M47 D20 (204D4) 10/04 - 12/10) A @: 192 4PK | 345

80000374 | 11 23 7 805 69%6...

9|€

- Start & Stop

71



o Z i Ml €8 OE
BMW - X3 (E83) 01/04 - 12/10
2.0d M47 D20 (204D4) 10/04 - 12/10| A @: 192 4PK | 3+5 80001996 | 11 23 7 805 696...
+6PK
‘ + Start & Stop
+ CORTECO Nr: 80000374 / - - 80001267
D @: M18x1,5x85 ‘°
2.0d N47 D20 A, N47 D20 C |09/07 - 03/09| A @: 182 6PK | 5 g 80000936 | 11237823 191...
+ Start & Stop
AD: 182 6PK | 5 ! 80004879 | 11237823 191...
- Start & Stop
+ CORTECO Nr: 80000936 / - - 80004878
D @: M10x65 l‘ll
2.0i N46 B20 B 07/05 - 08/08| 05/06 -> / A @: 141 6PK | 5 80001699 | 11237 548 003
° - Start & Stop
AD: 141 6PK | 5 80001699 | 11 237 548 003
° + Start & Stop
2.5i M54 B25 (25655) 01/04 - 08/06| A @: 194 4PK | 345 80001101 11237513862
Lok O
2.5si N52 B25 A 09/06 - 08/08| AUT 6PK | 5 I 80004704 | 11 23 7 564 969...
3.0d M57 D30 (306D2), 01/04 - 08/08| A @: 192 4PK | 345 80001103 11238511 371...
M57 D30 (306D3) +6PK Q
AD: 192 4PK | 3+5 80004866 | 11238511 371...
T2
+ CORTECO Nr: 80001103/ - - 80004865
D @: M10x86 ,"‘
3.0 i xDrive M54 B30 (30653) 01/04 - 08/06| A @: 194 4PK | 3+5 80001101 11237513862
+6PK 0
3.0sd M57 D30 (306D5) 09/06 - 08/08| A @: 192 4PK | 3+5 80001103 | 11238511 371...
+6PK Q
AD: 192 4PK | 3+5 80004866 | 11238511 371...
+ CORTECO Nr: 80001103 / - - 80004865
D @: M10x86 "l‘
3.0si N52 B30 A 09/06 - 08/08| AUT 6PK | 5 I 80004704 | 1123 7 564 969...
BMW - X3 (F25) 09/10 -
xDrive 20 d N47 D20 C 09/10 AD: 182 6PK | 5 ‘ 80001698 11238512072
+ Start & Stop
xDrive 30 d N57 D30 A 05/11 6PK | 5 g 80001826 11238511 321
; Start & Stop

72



[®

i il € OE

BMW - X5 (E53) 05/00 - 12/06
3.0d M57 D30 (306D1) 05/01 - 12/03| MC: M 57 D 30 21653130 | 11 23 2 247 890...
+5PK '
MC: M 57D 30 5PK | 8 80004988 | 11 23 2 247 890...
MC: M 57 D 30/ N 80004865
+ CORTECO Nr: 21653130 /
D @: M10x86
304 M57 D30 (306D2) 12/03 - 12/06| A @: 192 4PK | 345 80001103 | 11238511 371...
LepK Q
AD: 192 4PK 345 80004866 | 11238511 371...
il
+ CORTECO Nr: 80001103 / . 80004865
D @: M10x86 ,'l‘
30 M54 B30 (30653) 05/00 - 12/06| -> 09/02 / A @: 194 5PK | 445 80001100 | 11 23 1 438 995...
+6PK e
09/02 > /A @: 194 4PK 345 80001101 11237 513 862
i Q
44 M62 B44 (44852) 05/00 - 12/03| A @: 200 7PK | 614 80001294 | 11231741773
+5PK '
44 N62 B44, N62 BA4 A |12/03 - 09/06| A @: 174 4PK | 345 80001102 | 11 23 7 568 345...
48is N62 B48 A 04/04 - 09/06 +6PK e
B 0) 02/07 - 06
3.0d M57 D30 (306D3) 02/07 - 09/08| A @: 192 4PK | 345 80001103 | 11238511 371...
3.0sd M57 D30 (306D5) 09/07 - 02/09 +6PK Q
AD: 192 4PK | 345 80004866 | 11238511 371...
+ CORTECO Nr: 80001103 / N 80004865
D @: M10x86 "I‘
3.0 si N52 B30 A 02/07 - 09/08] AC / Code: Adapfive Drive 7PK | 643 I 80001616 11237 561312
AUT 6PK | 5 I 80004704 | 11 23 7 564 969...
4.8 1 xDrive N62 B48 B 02/07 - 09/08| A @: 174 4PK | 316 80001105 | 1123 7 567 055
7P ’
*Drive 30 d N57 D30 A 09/08 - 06/13| A @: 194 7PK | 6 80001419 | 1123 7 800 026
«Drive 40 d N57 D30 B 09/10 - 06/13 Q
= + Start & Stop
*Drive 50 i N63 B44 A 06/10 - 06/13 A a 80005008 | 11 23 7 570 263
+ Start & Stop
BMW - X5 (F15) 07/13 -
xDrive 50 i N63 B44 B 07/13 A 0 80005008 | 1123 7 570 263
; Start & Stop

73



o ] g i I o] OE
B 6 05/08 - 06/14
30d M57 D30 (306D3) 05/08 - 08/08| A &: 192 4PK | 345 80001103 | 11238511 371...
35d M57 D30 (306D5) 05/08 - 08/08 +6PK Q
AD:192 4PK | 345 80004866 | 11238511 371...
e
+ CORTECO Nr: 80001103 / - - 80004865
D @: M10x86 ""
50i Né63 B44 A 05/08 - 06/14 - - 80005008 | 11237570263
ActiveHybrid N63 B44 A 10/10 - 06/14
+ Start & Stop
xDrive 30 d N57 D30 A 09/08 - 06/14| A B: 194 7PK | 6 80001419 | 11237800026
xDrive 40 d N57 D30 B 10/10 - 06/14
+ Start & Stop
xDrive 50 i Né63 B44 A 09/08 - 06/14 - - 80005008 | 11237570263

BMW - Z3 Coupé

BMW - Z3 04/97 - 06/00

M52 B28 (28651)

07/97 - 06/00
M52 B28 (28651)

04/97 - 06/00

07/97 - 06/00

03/98 -> / A@: 194

03/98 -> /A D: 194

+6PK

+6PK

80001100

80001100

1123 1438995...

1123 1438995...

BMW -7 (G11, G12)

09/15 -

¢l€|C000|0j0]06

BMW - 74 (E85) 02/03 - 02/09
2.0i N46 B20 A, N46 B20 B |03/05 - 02/09] 05/06 -> / A @: 141 80001699 | 11237 548 003
+ Start & Stop
AD: 141 6PK | 5 80001699 | 11237 548 003
+ Start & Stop
2.2 M54 B22 (22651) 10/03 - 10/05| A @: 194 4PK | 3+5 80001101 | 11237513862
2.51i M54 B25 (256S5) 02/03 - 12/05 +6PK
3.0i M54 B30 (306S3) 02/03 - 10/05
3.0si N52 B30 A 01/06 - 12/08) AUT 6PK | 5 80004704 | 11 23 7 564 969...
BMW - 74 (E89) 05/09 -
sDrive 30 i N52 B30 A 05/09 AUT 6PK | 5 80004704 | 11 23 7 564 969...
BMW - Z4 Coupé 03/06 - 01/09
3.0si N52 B30 A 03/06 - 01/09) AUT 6PK | 5 80004704 | 11 23 7 564 969...

730 d B57 D30 A 09/15 6PK | 5 79 11238571269

730 d xDr!ve B57 D30 A 09/15 49374679

740 d xDrive B57 D30 B /15

7401 B58 B30 A 09/15 6PK | 5 1123 8 638 534
e 49374722

B o) 0 0

340 i B58 B30 A 07/15 6PK | 5 1123 8 638 534

340 i xDrive B58 B30 A 07/15 e 4937472

74



o

CHEVROLET - Aveo 09/03 -

B oo

OE

CHEVROLET - Kalos 03/05 -

49367373

1.2 B1251, F1253, LY4 01/04 - 05/08 4PK| 6 T 96563902..
4Pk 49367383

12 B12D1, LMU 01/08 K| 6 96416271...
+4PK 49367371

12 F1253 10/08 K| 6 96563902...
+4PK 49367383

T2PG B12D1, LMU 04/08 K| 6 96416271...
+4PK 49367371

14 A 14 XER, F14D3, F14D4, |03/06 6K | 5 96897424...
L14,LOT 49367373

15 F1553, LX6 05/05 6PK | 5 96336264
49367387

6 09/03 6K | 5 T 96897424..

CHEVROLET - Lacetti  03/05 -

1.2 F1253 03/05 4PK | 6 96563902...
4Pk 49367383

1.4 F1453 03/05 6PK | 5 96336264
49367387

1416V F14D3 03/05 6PK | 5 T 96897424..

€0 €0 €6 0010060000

1.6

0.8

CHEVROLET - Spark 0

F16D3, LXT

F8CV

08/03

09/00

+4PK

49367389

1.4 F14D3 03/05 - 03/13 6PK | 5 s, 96897424...
1.4 16V F14D3 03/05 49367373
1.6 F16D3 03/05
1.6 LPG F16D3 06/09 - 12/11
1.8 F18D3 08/05 6PK | 5 96853690
49367379

NO, a 03/0
0.8 F8CV 03/05 3PK | 3+2 96592001
0.8 LPG F8CV 03/05 +4PK 49367389
1.0 B10S, B10S1, LA2 03/05 4PK | 6 96563902...
1.0 LPG B10S1 03/05 +4PK 49367383

NO. bira 01/0
1.4 F14D3 01/05 6PK| 5 96897424...
1.6 F16D3 03/05 49367373
1.8 F18D3 08/05 6PK | 5 ﬁ 96853690

) W

CHEVROLET - Optra 08/03 - 12/08

96897424...

96592001

75



o

B oo

OE

CHEVROLET - Spark  09/00 -

1.0 SX B10S, B10S1, LA2 05/05 4K | 6 T 96563902...
+4PK 49367383
CITROEN - AX 07/86 - 12/98
1.3 Sport M4A 04/87 - 12/88 2PK | 1 80004366 |  97522360...
1.4 GTi KFY (TU3FJ2), 06/91 - 12/96] ex. AC 2PK | 1 80004366 |  97522360...
KFZ (TU3FJ2)
AC/ZBG /A Q: 128 5PK | 4 80004368 0515 L2...
10 C1A, CDY (TU9M), 07/86 - 12/98| ex. AC 2PK | 1 80004366 |  97522360...
CDZ (TU9M)
T0E C3A 12/86 - 12/88
11 H1A, H1B, HDZ (TUTM) |09/86 - 12/97
11 4x4 HIA 06/91 - 07/92
1 KAT HAZ (TU1CP) 09/88 - 12/89
14 K1F, K2A, K2B, 12/86 - 04/97] ex. AC 2PK | 1 80004366 |  97522360...
KAY (TU3CP),
KDX (TU3M/Z),
KDY (TU3FM),
KDY (TU3M), AC/ZBG /A @: 128 5PK | 4 80004368 0515 L2...
KDZ (TU3M/Z)
14 4x4 KDX (TU3M/Z), 08/91 - 12/96| ex. AC / ZBG / 05278 -> 2PK | 1 80004366  97522360...
KDY (TU3FM),
KDY (TU3M),
KDZ (TU3M/Z)
15D VIY (TUD5), VIZ (TUD5)  |08/94 - 12/97] 07666 -> / A @: 142 5PK | 4 80000351 0515 L6
07666 -> /A D: 142 5PK | 4 80001994 0515 L6

CITROEN - Berlingo (M_MF) 07/96 - 10/05

IBE HDZ (TUTM), HFX (TU1JP) [07/96 ex. AC 2PK | 1 80004366 |  97522360...
AC/AD: 128 5PK | 4 80004368 0515 L2...
AC / MC: TU3JP 4K 3 80004370 0515 L5...

1.4i KFW (TU3JP), KFX (TU3JP) [07/96 AQD: 146 6PK | 5 80000931 | 9653771880...

+ Start & Stop

ex. AC 2PK | 1 80004366 |  97522360...
AC/AD: 128 5PK | 4 80004368 0515 L2...
AC 4PK | 3 80004370 0515 L5...
AQ: 146 6PK | 5 80004883 | 9653771880...

©O000000JI90000 000 0]

o

76

- Start & Stop




o

07/96 - 10/05

I

OE

CITROEN - Berlingo (M_MF)

1.4i KFW (TU3JP), KFX (TU3JP) |07/96 + CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O 40
1.4 KFW (TU3JP), KFX (TU3JP) |07/96 ex. AC 2PK 1 o 80004366 97522360...
AC/AD: 128 5PK | 4 ° 80004368 0515 L2...
AC 4PK | 3 0 80004370 0515 L5...
1.6 16V NFU (TU5JP4) 10/00 4PK | 3 e 80004370 0515 L5...
1.6 HDI 110 9HZ (DV6TED4) 08/05 6PK | 5 ) . 80000682 0515 T3
@ + Start & Stop
6PK | 5 i 80004330 0515 T3
+ Start & Stop
1.6 HDI 75 9HW (DV6BTED4), DV6B 07/05 6PK | 5 \ 80000682 0515 T3
@ + Start & Stop
6PK | 5 = 80004330 0515 T3
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 ‘
1.6 HDI 90 9HX (DV6ATEDA4) 07/05 10563 -> 6PK | 5 N 80000682 0515 T3
@ + Start & Stop
10563 -> 6PK | 5 = 80004330 0515T3
+ Start & Stop
1.6 HDI 90 9HX (DV6ATED4) 07/05 -> 10562 6PK | 5 ‘ 80000597 0515 V8...
- Start & Stop
10563 -> 6PK | 5 \ 80000682 0515 T3
@ - Start & Stop
-> 10562 6PK | 5 80001812 0515 V8...
+ Start & Stop
10563 -> 6PK | 5 = 80004330 0515 T3
+ Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50 ‘
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 *
1.8D A9A (XUD7) 07/96 AQD: 156 6PK | 5 ° 80000352 0515 G3
AD: 156 6PK | 5 80001995 0515 G3




o ] g i VI o] OE

CITROEN - Berlingo (M_MF) 07/96 - 10/05

D @: M14x1,5x70

1.8i LFX (XU7JB) 05/97 6PK | 5 ° 80004364 0515 GO

19D DJY (XUD9A) 07/96 A@: 156 6PK | 5 ° 80000352 0515 G3

1.8D A9A (XUD7) 07/96 + CORTECO Nr: 80000352 / - - / 80001240

A@: 156 6PK | 5 80001995 0515 G3

+ CORTECO Nr: 80000352 / - -
D @: M14x1,5x70

80001240

DJY (XUD9A)

MC: XUD9A / A @: 156 6PK | 5 80001995 0515 G3

+ CORTECO Nr: 80000352 / - -
D @: M14x1,5x70

80001240

19D D9B (XUD9A/L), 07/96 MC: XUD9A / A @: 156 6PK | 5 ° 80000352 0515 G3

1.9D WJY (DW8B), WJZ (DW8) |07/98 - 10/05| MC: DW8 / 09154 -> 6PK | 5 80000707 0515 Q6...
MC: DW8 / -> 09858 / ex. AC
MC: DW8 / -> 09376 / AC
MC: DW8B / -> 09153

MC: DW8B / ex. AC /09154 ->
09904

MC: DW8B /09154 -> /AC / 6PK | 5
AD: 162

MC: DW8/ 09377 -> /AC /
AD: 162

MC: DW8 / 09895 -> / ex. AC / 6PK | 5 80001007 0515 R5
AD: 156
MC: DW8B / 09905 -> / ex. AC /

80000873 0515 Vé...

AD: 156
MC: DW8B /09154 -> / AC / 6PK | 5
AD: 162

MC: DW8 / 09377 -> / AC/
AD: 162

MC: DW8 / 09154 -> 6PK | 5
MC: DW8 / -> 09858 / ex. AC
MC: DW8 / -> 09376 / AC
MC: DW8B / -> 09153

MC: DW8B / ex. AC /09154 -> o
09904

+ CORTECO Nr: 80000873 / - 80001240
MC: DW8 / D @: M14x1,5x70 /

80001811 0515 Vé...

80004334 0515 Q6

+ CORTECO Nr: 80000707 / - - 80001252
MC: DW8 / -> 08147 / Sso

D @: M14x1,5x70 / 14,5x39,7x8 / Oéd
M6x20
MC: DW8 / 08148 -> / - - 80001254
+ CORTECO Nr: 80000707 / Of

D @: M14x1,5x70 / 14,5x39,7x8 /

M6x20

1.9D70 WIJY (DW8B), WIZ (DW8) |04/99 MC: DW8/ 09154 -> 6PK | 5 80000707 0515 Q6...

MC: DW8 / -> 09858 / ex. AC
MC: DW8 / -> 09376 / AC
MC: DW8B / -> 09153

MC: DW8B / ex. AC/ 09154 ->
09904

09154 -> /09377 -> / AC/ 6PK | 5 80000873 0515 Vé...
A@D: 162 °

78



o ] g i VI o] OE

CITROEN - Berlingo (M_MF) 07/96 - 10/05

1.9D 70 WJY (DW8B), WJZ (DW8) |04/99 MC: DW8 / 09895 -> /ex. AC/ | 6PK | 5 80001007 0515 R5
AD: 156
MC: DW8B / 09905 -> / ex. AC /
AQ: 156
09154 -> /09377 -> / AC/ &PK | 5 80001811 0515 Vé6...
AD: 162
MC: DW8 / 09154 -> 6PK | 5 80004334 0515 Q6
MC: DW8 / -> 09858 / ex. AC
MC: DW8 / -> 09376 / AC
MC: DW8B / -> 09153
MC: DW8B / ex. AC/ 09154 ->
09904
+ CORTECO Nr: 80000873 / B 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000707 / P 80001252
> 08147 /
D @: M14x1,5x70 / 14,5x39,7x8 / (o7 ¥ )
M6x20
+ CORTECO Nr: 80000707 / - 80001254
08148 -> / Of »
D @: M14x1,5x70 / 14,5x39,7x8 / ° 1Y)
M6x20
2.0 HDI 90 RHY (DW10TD) 12/99 10180 -> /A @: 158 6PK | 5 ‘ 80000598 0515 S4...
> 10179 /A @: 162 6PK | 5 ° 80000873 0515 Vé6...
> 10179 /A @: 162 6PK | 5 l 80001811 0515 V6...
10180 -> /A @: 158 6PK | 5 I 80004328 0515 S4...
D @: M14x1,5x70 N g | 80001240
2.0 HDI 90 RHY (DW10TD) 12/99 10180 -> /A @: 158 6PK | 5 ’ 80000598 0515 S4...
> 10179 /A @: 162 6PK | 5 c 80000873 0515 V6...
> 10179 /A @: 162 &PK | 5 I 80001811 0515 V6...
10180 -> /A @: 158 6PK | 5 I 80004328 0515 S4...
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70 /
CITROEN - Berlingo (B9) 04/08 -
1.6 NFU (TU5JP4) 04/08 AQ: 146 6PK | 5 @ 80000931 | 9653771880...
— - Start & Stop
4PK | 3 0 80004370 0515 L5...
AQ: 146 6PK | 5 80004883 | 9653771880...
Q.

; Start & Stop

79



. 2 g i il € OE
CITROEN - Berlingo (B9) 04/08 -
1.6 NFU (TU5JP4) 04/08 + CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O 40
1.6 BlueHDi 75 9HN (DV6ETED), 04/15 6PK | 5 | 80000682 0515 T3
BHW (DV6FE)
1.6 HDi 110 9HL (DV6C), 9HR (DV6C), |04/08
9HZ (DV6TEDA4) astartieastop
T.6HDi 115 9HR (DV6C) 07/10 6PK 5 80004330 051573
1.6 HDi 75 9HT (DV6BTED4) 04/08 Q
+ Start & Stop
1.6 HDi 90 9HP (DV6DTED), 04/08 6PK | 5 || 80000682 0515 T3
9HX (DV6ATEDA) @
6PK | 5 = 80004330 0515 T3
+ Start & Stop
D @: M12x1,5x50 - - . 80001247
1.6 HDi 90 9HF (DV6DTED) 07/10 6PK | 5 || 80000682 0515 T3
@ - Start & Stop
6PK | 5 = 80004330 0515 T3
- Start & Stop
1.6 HDi 90 16V 9HS (DV6TED4BU), 04/08 -> 10562 6PK | 5 80000597 0515 V8...
9HX (DV6ATED4) ‘
+ Start & Stop
10563 -> 6PK | 5 .| 80000682 0515 T3
@ + Start & Stop
6PK | 5 , | | 80000682 0515 T3
@ + Start & Stop
-> 10562 6PK | 5 80001812 0515 V8...
+ Start & Stop
10563 -> 6PK | 5 = 80004330 0515 T3
+ Start & Stop
6PK | 5 = 80004330 0515 T3
+ Start & Stop
D @: M12x1,5x50 - - . 80001247
1.6 VTi 120 5FS (EP6C) 11/09 A@:138.2 6PK | 5 ° 80001196 | V763855180...
CITROEN - BX / Break 10/82 - 12/94
1.8D 161 (XUD7) 10/85 - 09/93 ’ 80000384 0515 K9
5PK | 4 80001997 0515 K9
+ CORTECO Nr: 80000384 / - - 80001240
D @: M14x1,5x70 /=

80



. 2 i Ml €3 OE
CITROEN - BX / Break 10/82 - 12/94
14 K1H (TU3A), KDY (TU3M), |01/89 - 02/93| 05440 -> / ZBG 2PK | 1 80004366|  97522360...
KDZ (TU3M/Z)
T4E T50A, 150C, 150F K1G | 10/82 - 02/93
18D 161A (XUD7) 10/85 - 09/93 5PK | 4 80000384 0515 K9
9D 162 (XUD9), D9A (XUD9), [09/83 - 12/94
D9B (XUD9A/U),
DJZ (XUD9Y)
5PK | 4 80001997 0515 K9
+ CORTECO Nr: 80000384 / -1 - 80001240

CITROEN - C 1

D @: M14x1,5x70

06/05

1.4 HDi 8HT (DV4TD) 06/05 6PK | 5 ‘ 80000597 0515V8...
+ Start & Stop
6PK | 5 80001812 0515V8...
+ Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50 .
NO, 09/0
1.1 HFX (TU1JP) 09/03 AD: 146 6PK | 5 80000931 9653771880...
1.4 KFV (TU3JP) 09/03 @
— + Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
@
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D &: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (- ¥
1.4 16V KFU (ET3J4) 06/06 AD: 152 6PK | 5 80005064 0515 R4...
1.4 HDi 8HX (DV4TD), 09/03 -> 10415 6PK | 5 80000597 0515V8...
8HZ (DVATD) ‘
+ Start & Stop
10416 -> 6PK | 5 \ 80000682 0515T3
@ + Start & Stop
-> 10415 6PK | 5 80001812 0515V8...
+ Start & Stop
10416 -> 6PK | 5 = 80004330 0515T3
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 .
+ CORTECO Nr: 80000597 / - - 80001247
D &: M12x1,5x50 .
1.6 NFU (TU5JP4) 09/03 AD: 146 6PK | 5 @ 80000931 9653771880...
— + Start & Stop
AD: 152 6PK | 5 80005064 0515 R4...

81




CITROEN - C2 09/03 -

i il € OE

1.6 NFU (TU5JP4) 09/03 AD: 146 6PK | 5 80004883 | 9653771880...
K~ )
° © + Start & Stop
+ CORTECO Nr: 80000931 / - 80004882
M8x125x20 o
1.6 HD 9HZ (DVGTED4) 09/05 6PK | 5 80000682 051513

\

+ Start & Stop
80004330 0515 T3

6PK | 5

(&)
1.6 VTS NFS (TU5JP4S) 01/05 AD: 146 6PK | 5 @
Q.

+ Start & Stop
80000931 9653771880...

D @: M14x1,5x70 / M14x35,8x5 /
o®

+ Start & Stop
80005064 0515 R4...

A@D: 152 6PK | 5

AQD: 146 6PK | 5 80004883 | 9653771880...

© - Start & Stop

+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (-}
CITROEN - C 2 Enterprise  04/09 -
1.4 HDi 8HX (DV4TD) 04/09 10416 -> 6PK| 5 N 80000682 0515 T3
@ - Start & Stop
10416 -> 6PK | 5 = 80004330 0515 T3

CITROEN - C 3 02/02

1.1 HFX (TUTA), HFX (TU1JP) |02/02 AD: 146 6PK | 5 @ 80000931 9653771880...
- Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
Q)
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (- ) P
1.416V KFU (ET3J4) 12/03 AD: 146 6PK | 5 @ 80000931 9653771880...
- Start & Stop
AD: 152 6PK | 5 80005064 0515 R4...
1.4 16V HDi 8HY (DV4TED4) 02/02 6PK | 5 ‘ 80000597 0515V8...
- Start & Stop
6PK | 5 80001812 0515V8...
+ Start & Stop
1.4 HDi 8HX (DV4TD) 02/02 -> 10415 6PK | 5 ‘ 80000597 0515V8...
+ Start & Stop
10416 -> 6PK | 5 \ 80000682 0515T3
@ + Start & Stop

|

82



. Z g i Ml €3 OE
CITROEN - C 3 02/02 -
1.4 HDi 8HX (DV4TD) 02/02 -> 10415 6PK 5 80001812 0515V8...

+ Start & Stop
80004330 0515T3

10416 -> 6PK | 5

+ Start & Stop
80001247

+ CORTECO Nr: 80000597 / - -
+ CORTECO Nr: 80000682 /
D @: M12x1,5x50

009

1.4i KFV (TU3A), KFV (TU3JP) |02/02 AD: 146 6PK | 5 80000931 9653771880...
1.4 i Bivalent KFV (TU3JP) 02/02
- Start & Stop
AD: 146 6PK | 5 80004883 9653771880...
e e
° ° + Start & Stop
+ CORTECO Nr: 80000931 / - B 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (- ) PO
1.6 16V NFU (TU5JP4) 02/02 -> 11613 /A D: 146 6PK | 5 @ 80000931 9653771880...
- - Start & Stop
11614 -> / AD: 152 6PK | 5 80005064 0515 R4...
AD: 146 6PK | 5 80004883 9653771880...
e e
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (-}
1.6 16V HDi 9HZ (DV6TEDA4) 09/05 -> 10555 6PK | 5 80000597 0515V8...
+ Start & Stop
10556 -> 6PK | 5 80000682 0515 T3
+ Start & Stop
-> 10555 6PK | 5 80001812 0515V8...
+ Start & Stop
10556 -> 6PK| 5 80004330 0515 T3

+ Start & Stop

+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50
+ CORTECO Nr: 80000682 / - - 80001247

D @: M12x1,5x50

1.6 16V HDi 9HX (DV6ATED4) 10/05 -> 10555 6PK | 5 80000597 0515V8...
+ Start & Stop
10556 -> 6PK | 5 80000682 0515T3
+ Start & Stop
-> 10555 6PK | 5 80001812 0515V8...
+ Start & Stop
10556 -> 6PK | 5 80004330 0515T3

0000550900

|

+ Start & Stop

8

w



o

¢
2

CITROEN - C3 02/02 -

I

N oo OE

1.6 16V HDi 9HX (DV6ATEDA4) 10/05 + CORTECO Nr: 80000682 / 80001247
+ CORTECO Nr: 80000597 /
D @: M12x1,5x50
CITROEN -C 31l 11/09 -
1.2THP 110 HNZ (EB2DT) 10/14 79 9808058180...
+3PK ‘ 49374729
1.4 HDi 70 8HR (DV4C), 8HZ (DVATD)|11/09 > 10415 6PK | 5 ‘ 80000597 0515 V8...
+ Start & Stop
MC: DV4C / -> 13895 6PK | 5 || 80000682 051513
MC: DVATD / 10416 -> @
+ Start & Stop
> 10415 6PK | 5 80001812 0515 V8...
- Start & Stop
MC: DV4C / -> 13895 6PK | 5 80004330 051513
MC: DV4TD / 10416 -> Q
_ Start & Stop
+ CORTECO Nr: 80000597 / - 80001247
+ CORTECO Nr: 80000682 /
D @: M12x1,5x50
1.4 VTi 95 8FP (EP3) 11/09 AQ:138.2 6PK | 5 80001196 | V763855180...
e + Start & Stop
1.6 BlueHDi 100 BHY (DV6FD) 07/14 > 13894 6PK | 5 || 80000682 0515 T3
7.6 BlueHD; 75 BHW (DV6FE) 04/15 @
+ Start & Stop
> 13894 &PK | 5 i 80004330 051513
+ Start & Stop
1.6 HDi 9HP (DV6DTED) 11/09 6PK | 5 || 80000682 0515 T3
1.6 HDi 110 9HR (DV6C) 11/09
1T6HDI115 9HD (DV6C) 09/12 S
1.6 HDi 90 9HX (DVGATEDA4) 11/09 SLLoR
6PK | 5 = 80004330 051513
+ Start & Stop
1.6 VTi 120 5FS (EP6C) 11/09 AQ:138.2 6PK | 5 80001196 | V763855180...
a + Start & Stop
CITROEN - C 3 Picasso
1.2 THP 110 HNZ (EB2DT) 01/15 6PK | 5+2 7 9808058180...
+3PK ‘ 49374729
1.6 HDi 9HX (DV6ATEDA4), 02/09 6PK | 5 || 80000682 051513
9HZ (DV6TEDA4)
T.6HDI 110 9HR (DV6C) 05/10
T.6HDI 115 9HD (DV6C) 01/13 staSlsion
6PK | 5 E 80004330 0515713
+ Start & Stop
1.6 HDI 90 9HP (DV6DTED) 07/10 6PK | 5 || 80000682 0515 T3
@ + Start & Stop
6PK | 5 i 80004330 051513
+ Start & Stop
D @: M12x1,5x50 - . 80001247

84



o = i Ml €8 OE
CITROEN - C 3 Pluriel 05/03 -
1.4 KFV (TU3JP) 05/03 MAN / A @: 146 6PK | 5 @ 80000931 9653771880...
- + Start & Stop
MAN /A @: 146 6PK| 5 80004883 | 9653771880...
O e
° + Start & Stop
MAN / - - 80004882
+ CORTECO Nr: 80000931 /
D @: M14x1,5x70 / M14x35,8x5 / OAn®
M8x125x20
1.4 HDi 8HX (DV4TD) 04/04 -> 10555 6PK | 5 80000597 0515 V8...
- Start & Stop
10556 -> 6PK| 5 | | 80000682 0515 T3
@ + Start & Stop
-> 10555 6PK | 5 80001812 0515 V8.
+ Start & Stop
10556 -> 6PK| 5 H 80004330 0515 T3
+ Start & Stop
+ CORTECO Nr: 80000597 / . . 80001247
D @: M12x1,5x50 *
+ CORTECO Nr: 80000682 / R . 80001247
D @: M12x1,5x50 ‘
1.6 NFU (TU5JP4) 05/03 AD: 146 6PK | 5 @ 80000931 9653771880...
- + Start & Stop
AD: 146 6PK| 5 80004883 | 9653771880...
=)
© + Start & Stop
+ CORTECO Nr: 80000931 / B . 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (-} Q3
RO 4 04 - 0
1.4 16V KFU (ET3J4) 11/04 - 07/11|A @: 146 6PK | 5 80000931 9653771880...
1.6 16V NFU (TU5JP4) 11/04 - 07/11 @
- + Start & Stop
AQ: 152 6PK| 5 80005064 0515 R4...
AQ: 146 6PK | 5 80004883 9653771880...
(=)
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 OAn®
1.6 16V Bio-Flex NFU (TU5JP4) 09/07 - 07/08| A @: 152 6PK | 5 80005064 0515 RA4...
1.6 HDi 9HX (DV6ATEDA4), 11/04 - 07/11| -> 10555 6PK | 5 80000597 0515 V8...
9HY (DV6TEDA4),
9HZ (DV6TEDA4) ——
al op
10556 -> 6PK| 5 | | 80000682 0515 T3
@ + Start & Stop
-> 10555 6PK| 5 80001812 0515 V8...

- Start & Stop




. 2 i Ml € OE
CITROEN-C 4 11/04 - 07/11
1.6 HDi 9HX (DVGATEDA), 11/04 - 07/11] 10556 -> 6PK | 5 80004330 0515 T3
9HY (DV6TEDA),
9HZ (DV6TEDA4)
+ Start & Stop
+ CORTECO Nr: 80000597 / 1 - 80001247
D @: M12x1,5x50 ‘
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 ‘
1.6 HDi 9HY (DV6TEDA), 07/06 - 07/11 6PK| 5 || 80000682 0515 T3
9HZ (DV6TEDA) @
+ Start & Stop
6PK | 5 E 80004330 051513
+ Start & Stop
1.6 THP 150 5FX (EP6DT) 07/08 - 07/11| A @: 138.2 6PK| 5 80001196| V763855180...
T.6VTi 120 5FW (EP6) 07/08 - 07/11 e
+ Start & Stop
2.0 16V RFK (EW10J4S) 11/04 - 07/08 6PK| 5 ‘ 80004378 0515 R7
+ CORTECO Nr: 80004378 / -1 - 80001240
D @: M14x1,5x70 /=
2.0 16V RFJ (EW10A), 11/04 - 07/11 6PK| 5 80001556 0515 R1
RFN (EW10J4)
2.0 HDi RHF (DW10BTED4), 11/04 - 07/11 6PK| 5 80004382 0515 V9...
RHR (DW10BTED4) °
6PK | 5 ‘ ﬁ 0515 V9...
T 19363329
[-]
+ CORTECO Nr: 80004382 / -1 - 80001240
D @: M14x1,5x70 /
RO oupe 04 0)
1.4 16V KFU (ET3J4) 11/04 - 07/11| A @: 146 6PK | 5 80000931 | 9653771880...
1616V NFU (TU5JP4) 11/04 - 07/11 @
- + Start & Stop
AD: 146 &PK | 5 80004883 | 9653771880...
S
by © + Start & Stop
+ CORTECO Nr: 80000931 / -1 - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O 40
1.6 HDi 9HX (DVATEDA), 11/04 - 07/11] -> 10555 6PK | 5 80000597 0515 V8...
9HY (DV6TEDA),
9HZ (DV6TEDA4)
+ Start & Stop
10556 -> 6PK | 5 | 80000682 0515 13
@ + Start & Stop
> 10555 &PK | 5 80001812 0515 V8...
- Start & Stop
10556 -> 6PK | 5 = 80004330 0515 T3
; Start & Stop

86



o

¢
2

11/04 - 07/11

3

I

OE

CITROEN - C 4 Coupé
1.6 HDi

9HX (DV6ATEDA),
9HY (DV6TEDA),
9HZ (DV6TEDA)

11/04 - 07/11

+ CORTECO Nr: 80000597 /
D @: M12x1,5x50

80001247

+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 ‘
1.6 THP 150 5FX (EP6DT) 07/08 - 07/11| A @: 138.2 6PK | 5 80001196 | V763855180...
1.6 VTi 120 5FW (EPS) 07/08 - 07/11 °
+ Start & Stop
2016V RFN (EW10J4) 11/04 - 07/07 6PK | 5 ’ 80001556 0515 R1
2016V RFK (EW10J45) 11/04 - 12/10 6PK | 5 ‘ 80004378 0515 R7
+ CORTECO Nr: 80004378 / - 80001240
D @: M14x1,5x70 /=
2.0 HDi RHF (DW10BTED4), 11/04 - 07/11 6PK| 5 80004382  0515V9...
RHR (DW10BTED4) Q
6PK | 5 ‘ ﬁ 0515 V9...
T 19363329
(<]
+ CORTECO Nr: 80004382 / - 80001240

CITROEN - C 4 Grand Picasso

10/06 -

D @: M14x1,5x70

1.6 HDi 9HY (DV6TEDA), 10/06 6PK | 5 80000682 051513
9HZ (DV6TEDA4) @
+ Start & Stop
6K | 5 i 80004330 051513
- Start & Stop
+ CORTECO Nr: 80000682 / -1 - 80001247
D @: M12x1,5x50 *
1.6 HDi 110 9HL (DV6C), 9HR (DV6C) |09/10 > 13453 6PK| 5 || 80000682 0515 T3
@ - Start & Stop
> 13453 6PK | 5 H 80004330 051513
+ Start & Stop
D @: M12x1,5x50 - . 80001247
2.0 HDi 138 RHJ (DW10BTED4), 10/06 6PK | 5 80004382 0515 V9...
RHR (DW10BTEDA4)
2.0 HDi 150 RHE (DW10CTEDA4) 07/09
2.0 HDi 165 RHH (DW10CTED4) 09/10
6PK | 5 ‘ Ty 0515V9.
T 19363329
)
+ CORTECO Nr: 80004382 / 1 - / 80001240

CITROEN - C 4 Picasso

1.6 16V

02/07 - 08/13
5FX (EP6DT)

07/08 - 08/13

D @: M14x1,5x70

A@:138.2

6PK | 5

80001196

; Start & Stop

V763855180...

87



o & g i il € OF
CITROEN - C 4 Picasso 02/07 - 08/13
1.6 HDi 9HY (DV6TEDA), 02/07 - 08/13 6PK | 5 || 80000682 0515 T3
9HZ (DV6TEDA4) @
+ Start & Stop
6PK | 5 E 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 *
1.6 HDi 110 9HR (DV6C) 09/10 - 08/13| -> 13453 6PK | 5 | | 80000682 051513
@ + Start & Stop
> 13453 6PK| 5 = 80004330 0515 13
+ Start & Stop
+ CORTECO Nr: 80000682 / B 80001247
D @: M12x1,5x50 ‘
18116V 6FY (EW7A) 02/07 - 12/11] MAN 6PK | 5 ’ 80001556 0515 R1
2.0 HDi 138 RHJ (DW10BTEDA), 02/07 - 08/13 6PK | 5 80004382 0515 V9...
RHR (DW10BTED4) °
6PK | 5 ’ ﬁ 0515 V9...
T8 19363329
(<]
+ CORTECO Nr: 80004382 / - - 80001240
D @: M14x1,5x70 /
2.0 HDi 150 RHE (DW10CTEDA) 07/09 - 08/13 6PK | 5 Q 80004382 0515 V9...
6PK | 5 . ﬁ 0515 V9...
T 19363329
[-]
+ CORTECO Nr: 800004382 / - 80001240
D @: M14x1,5x70 /
2.0 HDi 165 RHH (DW10CTED4) 09/10 - 08/13 6PK | 5 80004382 0515 V9...
6PK | 5 7y 0515V9.
49363329
+ CORTECO Nr: 80004382 / -1 - 80001240
D @: M14x1,5x70
2.0i 16V RFJ (EW10A) 02/07 - 08/13] MAN / 11683 -> 6PK| 5 80001556 0515 R1
AUT
CITROEN - C 5 1 / Break 03/01 - 08/04
1.8 16V 6FZ (EW7.4) 03/01 - 08/04] AUT / M: 0971075 -> 80001556 0515 R1
MAN/ M: 0822888 ->
AUT/ -> M: 0971074 6PK | 5 80004372 0515 N7
MAN /-> M: 0822887

88




o

¢
2

CITROEN - C 51/ Break 03/01 - 08/04

g

I

OE

2.0 16V RFN (EW10J4) 03/01 - 08/04] MAN / M: 0822888 -> 6PK 80001556 0515 R1
AUT / M: 0961750 ->
AUT/ -> M: 0961749 &PK 80004376 0515 S6
MAN / -> M: 0822887 °
2.0 16V RFN (EW10J4) 06/01 - 08/04] MAN / M: 0822888 -> 6PK 80001556 0515 R1
AUT/ M: 0961750 -> ’
2.0 16V HPi RLZ (EW10D) 03/01 - 08/04] MAN / M: 0822888 -> 6PK ’ 80001556 0515 R1
MAN/ -> M: 0822887 &PK ° 80004376 0515 S6
2.0 16V HPi RLZ (EW10D) 06/01 - 08/04] MAN / M: 0822888 -> 6PK ’ 80001556 0515 R1
2.0 HDi RHY (DW10TD) 03/01 - 08/04] 09338 -> / A @: 158 6PK 80000598 0515 S4...
09366 -> /
Catalytic Converter Type: DPF /
AUT/ A @: 158
-> 09337 /A QD: 162 6PK 80000873 0515 Vé...
> 09365/
Catalytic Converter Type: DPF /
AUT /A @: 162
> 09337 /AQ: 162 &PK 80001811 0515 Vé...
-> 09365/
Catalytic Converter Type: DPF /
AUT /A @: 162
09338 -> /A D: 158 &PK 80004328 0515 S4...
09366 -> /
Catalytic Converter Type: DPF /
AUT /A @: 158
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000598 / - 80001240
D @: M14x1,5x70 /
2.0 HDi RHZ (DW10ATED) 03/01 - 08/04] 09338 -> / MAN / A @: 158 6PK 80000598 0515 S4...
09336 -> /AUT /A D: 158 ‘
> 09337 / MAN /A @ 162 6PK 80000873 0515 V6...
> 09365 /AUT/ A @: 162 °
> 09337 / MAN /A @: 162 6PK 80001811 0515 V6...
> 09365/ AUT/ A @: 162 Q
09338 -> / MAN / A @: 158 &PK 80004328 0515 S4...
09336 -> /AUT /A O: 158 ‘
+ CORTECO Nr: 80000598 / - 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70 /=
2.0 HDi RHS (DW10ATED), 06/01 - 08/04] 09338 -> / MAN / A @: 158 6PK 80000598 0515 S4...
RHZ (DW10ATED) 09366 -> /AUT/ A @: 158 '
> 09337 / MAN /A @: 162 6PK e 80000873 0515 Vé...

-> 09365 /AUT /A D: 162

89



o

CITROEN - C 51/ Break 03/01 - 08/04

g

I

OE

RHS (DW10ATED), 06/01 - 08/04| -> 09337 / MAN / A @: 162 80001811 0515 Vé...
RHZ (DW10ATED) > 09365 /AUT/ A B: 162 O
09338 -> / MAN /A Q: 158 6PK | 5 80004328 0515 54...
09366 > /AUT/ A @: 158 ‘
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70 /I
+ CORTECO Nr: 80000598 / - - 80001240
D @: M14x1,5x70 /=
2.0 HDi RHY (DW10TD) 06/01 - 08/04] 09338 -> / A D: 158 6PK | 5 80000598 0515 S4...
09366 -> /
Catalytic Converter Type: DPF /
AUT /A @: 158
-> 09337 /AQ: 162 6PK | 5 80000873 0515 Vé...
-> 09365/
Catalytic Converter Type: DPF /
AUT /A D: 162
-> 09337 /AD: 162 6PK | 5 80001811 0515 Vé...
-> 09365/
Catalytic Converter Type: DPF /
AUT /A @D: 162
09338 -> /A ©: 158 6PK | 5 80004328 0515 54...
09366 -> /
Catalytic Converter Type: DPF /
AUT /A QD: 158
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70 /:
+ CORTECO Nr: 80000598 / - - 80001240
D @: M14x1,5x70 /I
2.2 HDi 4HX (DW12TED4/FAP) 03/01 - 08/04| A @: 162 6PK | 5 c 80000873 0515 Vé...
AD: 162 6PK | 5 I 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70 /
R . . @)
1.2THP 110 HNZ (EB2DT) 02/15 6PK | 542 9808058180...
1.2 THP 130 HNY (EB2DTYS) 04/14 +3PK ‘ 49374729
1.6 BlueHDi 100 BHY (DV6FD) 07/14 -> 13894 6PK | 5 \ 80000682 0515 T3
@ + Start & Stop
-> 13894 6PK | 5 = 80004330 0515 T3
+ Start & Stop
1.6 BlueHDi 115 BHX (DV6FC) 08/14 MAN / -> 13894 6PK | 5 \ 80000682 0515 T3
7.6 BlueHD; 120 BHZ (DV6FQ) 02/15 @
+ Start & Stop
MAN / -> 13894 6PK | 5 = 80004330 0515 T3
- Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 *
1.6 HDi 110 9HR (DV6C) 11/09 -> 10555 6PK | 5 ‘ 80000597 0515 V8...
- Start & Stop

90




o ] g i VI o] OE

CITROEN - C 41l 11/09 -

1.6 HDi 110 9HR (DV6C) 11/09 6PK | 5 80000682 0515T3
+ Start & Stop

10556 -> 6PK | 5 80000682 0515T3
+ Start & Stop

-> 10555 6PK | 5 80001812 0515V8...

+ Start & Stop

6PK | 5 80004330 0515T3
+ Start & Stop

10556 -> 6PK | 5 80004330 0515T3

+ Start & Stop

D @: M12x1,5x50 - - 80001247

1.6 HDi 115 9HD (DV6C), 9HR (DV6C) (07/12 6PK | 5 80000682 0515 T3
- Start & Stop

6PK | 5 80004330 0515T3
- Start & Stop

1.6 HDi 90 9HP (DV6DTED) 11/09 6PK | 5 80000682 0515T3
+ Start & Stop

6PK | 5 80004330 0515T3

+ Start & Stop
80001247

D @: M12x1,5x50 - -

0490004500000

2.0 BlueHDi 150 RHE (DW10CTED4) 11/09 6PK | 5 80004382 0515 V9...
6PK | 5 ﬁ 0515 V9...
49363329
-
+ CORTECO Nr: 80004382 / - - 80001240

D @: M14x1,5x70

o\

CITROEN - C 5 Il / Break 09/04 -

80000597 0515V8...

1.6 HDi 9HY (DV6TEDA), 09/04 -> 10555 6PK | 5
9HZ (DV6TEDA)

+ Start & Stop

10556 -> 6PK | 5 80000682 0515T3
+ Start & Stop

-> 10555 6PK | 5 80001812 0515V8...
+ Start & Stop

10556 -> 6PK | 5 80004330 0515 T3

+ Start & Stop

+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50
+ CORTECO Nr: 80000682 / - - 80001247

D @: M12x1,5x50

*%0000

91



o E i VI o] OE
CITROEN - C 511 / Break 09/04 -
1.8 16V 6FY (EW7A), 6FZ (EW7J4) |09/04 MAN 6PK | 5 80001556 0515 R1
2.0 16V RFJ (EW10A) 09/04 6PK | 5 80001556 0515 RI
2.0 HDi RHR (DW10BTED4) 09/04 6PK | 5 80004382 0515 V9...
6PK | 5 ﬁ 0515 V9...
49363329
+ CORTECO Nr: 80004382 / - - 80001240
D @: M14x1,5x70
2.2 HDi 4HT (DW12BTED4) 04/06 AQ: 158 6PK | 5 80001238 0515 V3...
A©:158 6PK | 5 ﬁ 0515T7...
49359583
+ CORTECO Nr: 80001238/ - - 80001240

CITROEN - C4 Grand Pi

09/13 -

casso |l

D @: M14x1,5x70

1.2 THP 130 HNY (EB2DTS) 04/14 6PK | 542 7 9808058180...
+3PK ‘ 49374729
1.6 BlueHDi 120 BHZ (DV6FC) 07/14 MAN / -> 13894 6PK | 5 A 80000682 0515 T3
@ + Start & Stop
MAN / -> 13894 6PK | 5 = 80004330 0515 T3
- Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 *
1.6 HDi / BlueHDi 115 9HC (DV6C), BHX (DV6FC) 09/13 6PK | 5 N 80000682 0515 T3
@ - Start & Stop
6PK | 5 ! 80004330 0515 T3
+ Start & Stop
1.6 HDi 90 9HP (DV6DTED) 09/13 6PK | 5 . 80000682 0515T3
@ + Start & Stop
6PK | 5 = 80004330 0515T3
+ Start & Stop
D @: M12x1,5x50 - - . 80001247
CITROEN - C 5 Il / Break 02/08 -
1.6 HDi 9HZ (DV6TEDA4) 02/08 6PK | 5 N 80000682 0515T3
1.6 HDi 110 9HL (DV6C), 9HR (DV6C) |07/10 ‘
1.6 HDi 115 9HL (DV6C), 9HR (DV6C) |01/12
+ Start & Stop
6PK | 5 = 80004330 0515 T3

; Start & Stop

92



o= 2 3 i Al € OF
CITROEN - C 51l / Break 02/08 -
1.6 THP 155 5FV (EP6CDT) 04/09 A@:138.2 6PK | 5 80001196 V763855180...
T6VTi 120 5FS (EP6C) 07/10 °
+ Start & Stop
1.816V 6FY (EW7A) 02/08 MAN 6PK | 5 80001556 0515 R1
2.0 16V RFJ (EW10A) 02/08 6PK | 5 80001556 0515 R1
2.0 HDi RHF (DW10BTED4), 02/08 6PK | 5 80004382 0515 V9...
RHR (DW10BTED4)
2.0 HDi 165 RHH (DW10CTED4) 04/09
6PK| 5 . ﬁ 0515 V9...
T 19363329
()]
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70 /
2.2 HDi 4HT (DW12BTED4) 02/08 AQ: 158 6PK | 5 e 80001238 0515 V3...
A@: 158 6PK | 5 @/ ﬁ 0515T7...
@; 49359583
+ CORTECO Nr: 80001238 / - 80001240
D @: M14x1,5x70 /
2.2 HDi 165 4HP (DW12BTED4) 02/08 A©Q: 158 6PK | 5 80001238 0515 V3...
AQ:158 6PK | 5 ~ 0515T7...

©
8

49359583

2.7 HDi

DT17ED4

02/08

3.0 HDi 240

CITROEN - C4 Picasso |l
1.2 THP 130

DT20C

02/13 -
HNY (EB2DTS)

04/09

04/14

6PK

6PK
+3PK

5

+

2

80004338

e,
49374729

0515Ré6

9808058180...

1.6 BlueHDi 120

BHZ (DV6FC)

07/14

MAN / -> 13894

6PK

80000682

+ Start & Stop

0515T3

F“l.‘

+ Start & Stop

MAN / -> 13894 6PK | 5 = 80004330 0515 T3
- Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 *
1.6 HDi / BlueHDi 115 9HC (DV6C), BHX (DV6FC) 02/13 6PK | 5 X 80000682 0515 T3
@ - Start & Stop
6PK | 5 = 80004330 0515 T3
- Start & Stop
1.6 HDi 90 9HP (DV6DTED) 02/13 6PK | 5 @ 80000682 0515 T3

|

93



ca
CITROEN - C4 Picasso |l
1.6 HDi 90

CITROEN - C 6 09/05

02/13 -

9HP (DV6DTED)

4HT (DW12BTED4)

06/06

6PK

5

B oo

80004330

+ Start & Stop

D @: M12x1,5x50

MAN /A @: 158

80001247

80001238

OE

0515T3

0515V3...

MAN /A @: 158 6PK | 5 ﬁ 0515T7...
49359583
MAN / - 80001240
+ CORTECO Nr: 80001238 /
D @: M14x1,5¢70 °
2.2 HDi 4HP (DW12BTEDA4) 06/06 AQ: 158 6PK | 5 80001238| 0515 V3...
AQ:158 6K | 5 i, ICEES
%
@ 49359583
2.7 HDi DT17ED4, 09/05 6PK | 5 80004338 0515 R6
UHZ (DT17BTED4) °
N@ 4 A o 04
1.6 HDi 115 9HL (DV6C) 04/12 6PK | 5 80000682 051513
1.6 HDi 115 AWC 9HL (DV6C) 05/12 @
+ Start & Stop
6PK | 5 E 80004330 051513
+ Start & Stop
CITROEN - C8 07/02
2.0 RFN (EW104) 07/02 MAN / M: 0822888 -> 6PK | 5 80001556 0515 R1
AUT/ M: 0961750 -> ’
AUT/ -> M: 0961749 GPK | 5 80004376 0515 56
MAN /-> M: 0822887 ‘
2.0 16V RFJ (EW10A) 09/05 6PK | 5 ’ 80001556 0515 R1
2.0 HDi RHM (DW10ATED4), 07/02 09520 -> /A @: 158 6PK | 5 80000598 | 0515 S4...
RHT (DW10ATED4) ‘
> 09519 /A @: 162 6PK | 5 ° 80000873 | 0515 Vé6...
> 09519 /A 0: 162 6PK | 5 l 80001811 0515 V6...
09520 -> /A @: 158 6K | 5 l 80004328 | 0515 S4...
+ CORTECO Nr: 80000873 / B 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000598 / B 80001240
D @: M14x1,5¢70 /=

94




& E J i il € OF
CITROEN-C 8 07/02 -
2.0 HDi RHK (DW10UTEDA4) 02/07 6PK | 5
2.0 HDi 135 RHD (DW10CB), 03/06
RHD (DW10CTED4),
RHR (DW10BTEDA4)

2.0 HDi 165 RHE (DW10CTED4), 03/06 6PK | 5
RHH (DW10CTED4)

80004382 0515 V9...

ﬁ 0515 V9...

49363329
+ CORTECO Nr: 80004382 / - - 80001240
D @: M14x1,5x70
2.2 3FZ (EW12J4) 07/02 MAN / M: 0822888 -> 6PK | 5 80001556 0515 R1
MAN / -> M: 0822887 6PK | 5 80004376 0515 S6
2.2 HDi 4HW (DW12TED4) 07/02 10248 -> /A D: 158 6PK | 5 80000598 051554...
-> 10247 / AD: 162 6PK | 5 80000873 0515 Vé...
-> 10247 / AD: 162 6PK | 5 80001811 0515 Vé...
10248 -> /A @: 158 6PK | 5 80004328 051554...

+ CORTECO Nr: 80000598 / - - 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000873 / - - 80001240

D @: M14x1,5x70

2.2 HDi 4HT (DW12BTED4) 06/06 AQ: 158 6PK | 5 80001238 0515 V3...
A©:158 6PK | 5 ﬁ 0515T7...
49359583
+ CORTECO Nr: 80001238 / - - 80001240
D @: M14x1,5x70
2.2 HDi 4HP (DW12BTED4), 06/07 AQ: 158 6PK | 5 80001238 0515 V3...

4HR (DW12BTED4)

AD: 158 6K | 5 ~7H 051517
%
@ 49359583
CITROEN - C4 Cactus  09/14 -
T2 THP 110 HNZ (EB2DT) 09/14 6PK | 5+2 7 9808058180..
+3PK ‘ 49374729
1.6 BlueHDi 100 BHY (DV6FD) 09/14 K| 5 | [ 8000065 051513
7.6 HDi 90 9HP (DV6DTED) 09/14 @
+ Start & Stop

6PK | 5 80004330 051513

; Start & Stop

0

95



o

¢
2

B oo

OE

CITROEN-C 15 10/84 - 12/05

1.1 109K, ETA, HDZ (TUTM) |10/84 - 12/96| 04222 -> 2PK | 1 80004366 |  97522360...

T HDZ (TUTM) 07/88 - 12/96

1.4 150D (XY7), K1H (TU3A), |05/87 - 12/96

KDY (TU3M)

T4E 150D (XY7) 05/87 - 12/96

T4 KDY (TU3FM), KDY (TU3M)[05/91 - 12/96

1.8D 161A (XUD7) 07/86 - 12/00! 5PK | 4 80000384 0515 K9

5PK | 4 80001997 0515 K9

+ CORTECO Nr: 80000384 / - - 80001240
D @: M14x1,5x70

1.9D WJX (DW8B) 12/00 - 12/05| -> 09894 6PK | 5 80000707 0515 Q6...
09895 -> /A D: 156 6PK | 5 80001007 0515 R5

CITROEN - C-Crosser

2.2 HDi

2.2 HDi

CITROEN - C-Elysee 1

1.6 HDI 92

02/07 -
4HN (DW12MTED4)

CITROEN - C-Crosser Enterprise  01/09 -

4HN (DW12MTED4)

9HJ (DV6DTEDM),
9HP (DV6DTED)

02/07

01/09

11/12

CITROEN - C 25 07/87 - 02/94
1.9D D9B (XUD9A/U) 07/87 - 02/94 5PK | 4 80000384 0515 K9

5PK | 4

80001997

0515 K9

+ CORTECO Nr: 80000384 /
D @: M14x1,5x70

80001240

90|60, 90 O

MAN / 6PK | 5 80001238 0515 V3...
Catalytic Converter Type: DPF /

A@: 158

MAN'/ 6PK | 5 ﬁ 0515T7...

Catalytic Converter Type: DPF /
AQD: 158

49359583

MAN /

Catalytic Converter Type: DPF /
+ CORTECO Nr: 80001238 /
D @: M14x1,5x70

A@: 158

6PK | 5

80001240

80001238

0515 V3...

A@: 158

6PK | 5

6PK | 5

~

49359583

80000682

+ Start & Stop

6PK | 5

80004330

0515T7...

0515T3

051513

CITROEN -DS 3 11/09 - 07/15

1.2 THP 110 HNZ (EB2DT) 10/14 - 03/15 6PK | 5+2 T3 9808058180..
+3PK 49374729

1.4 HDi 70 8HR (DVAC) 04/10 - 07/15| -> 13895 6PK | 5 80000682 051513

96




CITROEN - DS3 Cabriolet

1.2THP 110

01/13 - 07/15
HNZ (EB2DT)

10/14 - 07/15

6PK
+3PK

5+2

49374729

9808058180...

o T i VI o OE
CITROEN -DS3 11/09 -07/15
1.4 HDi 70 8HR (DV4C) 04/10 - 07/15) -> 13895 6PK | 5 = 80004330 0515T3
+ Start & Stop
1.4 VTi 95 8FP (EP3) 04/10 - 07/15) A @: 138.2 6PK | 5 80001196 | V763855180...
e + Start & Stop
1.6 BlueHDi 100 BHY (DV6FD) 07/14 - 07/15] MAN / G: BE4R 6PK | 5 . 80000682 0515T3
@ + Start & Stop
MAN / G: BE4R 6PK | 5 80004330 0515T3
@
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 ‘
1.6 BlueHDi 120 BHZ (DV6FC) 10/13 - 07/15 6PK | 5 N 80000682 0515T3
@ + Start & Stop
6PK | 5 = 80004330 0515T3
+ Start & Stop
1.6 BlueHDi 75 BHW (DV6FE) 03/15 - 07/15) -> 13894 6PK | 5 . 80000682 0515T3
@ + Start & Stop
-> 13894 6PK | 5 = 80004330 0515T3
+ Start & Stop
1.6 HDi 110 9HR (DV6C) 11/09 - 07/15 6PK | 5 N 80000682 0515T3
1.6 HDi 115 9HD (DV6C), 9HL (DV6C) |08/12 - 07/15 @
- Start & Stop
6PK | 5 = 80004330 0515T3
- Start & Stop
1.6 HDi 115 BHX (DVé6FC) 10/13 - 07/15) MAN 6PK | 5 \ 80000682 0515T3
@ + Start & Stop
MAN 6PK | 5 = 80004330 0515T3
- Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 *
1.6 HDi 90 9HP (DV6DTED) 11/09 - 07/15 6PK | 5 y . 80000682 0515T3
@ - Start & Stop
6PK | 5 = 80004330 0515T3
+ Start & Stop
D @: M12x1,5x50 - - ' 80001247
1.6 VTi 120 5FS (EP6C) 04/10 - 07/15) A @: 138.2 6PK | 5 e 80001196 | V763855180...

97



o | i M € OE
CITROEN - DS3 Cabriolet 01/13 - 07/15
1.6 BlueHDi 100 BHY (DV6FD) 07/14 - 07/15] MAN / G: BE4R 6PK | 5 80000682 0515 T3
+ Start & Stop
MAN / G: BE4R 6PK | 5 80004330 0515T3
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50
1.6 BlueHDi 115 BHX (DV6FC) 10/13 - 07/15] MAN 6PK | 5 80000682 0515T3
+ Start & Stop
MAN 6PK | 5 80004330 0515T3
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50
1.6 BlueHDi 120 BHZ (DV6FC) 07/14 - 07/15 6PK | 5 80000682 0515 T3
- Start & Stop
6PK | 5 80004330 0515T3
- Start & Stop
1.6 HDi 90 9HP (DV6DTED) 01/13 -07/15 6PK | 5 80000682 0515T3
+ Start & Stop
6PK | 5 80004330 0515T3

+ Start & Stop

D @: M12x1,5x50

80001247

CITROEN - DS 4 04/11 - 07/15
1.2 THP 130 HNY (EB2DTS) 07/14 - 07/15 6PK | 542 7P 9808058180...
3K 49374729
1.6 BlueHDi 115 BHX (DV6FC) 08/14 - 07/15| -> 13894 / MAN 6PK | 5 80000682 0515 T3
+ Start & Stop
-> 13894 / MAN 6PK | 5 80004330 0515 T3
- Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50
1.6 BlueHDi 120 BHZ (DV6FC) 07/14 - 07/15| -> 13894 / MAN 6PK | 5 80000682 0515 T3
- Start & Stop
-> 13894 / MAN 6PK | 5 80004330 0515 T3
+ Start & Stop
1.6 HDi 110 9HR (DV6C) 04/11 - 07/15 6PK | 5 80000682 0515 T3
1.6 HDi 115 9HD (DV6C), 9HL (DV6C) (08/12 - 07/15
- Start & Stop
6PK | 5 80004330 0515 T3

0000500049000 +00400

|

+ Start & Stop

98



o = i Mkl OE
CITROEN -DS 4 04/11 - 07/15
1.6 HDi 90 9HP (DV6DTED) 05/11 - 07/15 6PK | 5 || 80000682 0515 T3
@ + Start & Stop
6PK | 5 E 80004330 051513
+ Start & Stop
D @: M12x1,5x50 B . 80001247
RO D 0
1.6 BlueHDi 120 BHZ (DV&FC) 07/14 - 07/15| MAN 6PK | 5 | 80000682 0515 13
1.6 HDi BHX (DV6FQ) 11/13-07/15 @
+ Start & Stop
MAN 6PK | 5 = 80004330 051513
- Start & Stop
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 ‘
1.6 HDi 110 9HR (DV6C) 1111 -07/15 6PK | 5 780000682 051513
16 HDi 115 9HD (DV6C) 06/12 -07/15 @
_ Start & Stop
6K | 5 i 80004330 051573
+ Start & Stop
2.0 HDi 165 RHH (DW10CTEDA4) 1/11-07/15 6PK | 5 g 80004382 | 0515 V9...
6PK | 5 . ﬁ 0515 V9...
T 19363329
[-]
+ CORTECO Nr: 80004382 / N 80001240
D @: M14x1,5x70 /
CITROEN - Evasion 06/94 - 07/02
1.8 LFZ (XU7JP) 05/97 - 07/02| 5-MAN 6PK | 5 80001048 0515 H6
191D D8B (XUD9TF) 10/95 - 12/98| A @: 156 6PK | 5 ° 80000352 0515 G3
AQ:156 6K | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / N 80001240
D @: M14x1,5x70 /
2.0 RFU (XU10J2/C) 06/94 - 07/02 6PK | 5 ‘ 80004364 0515 GO
2.0 16V RFV (XUT0J4R) 05/98 - 04/00 6PK | 5 @ 80001726 0515 K6
2016V RFN (EW104) 05/00 - 07/02 6PK | 5 ° 80004376 0515 56
2.0 HDI RHZ (DW10ATED) 08/99 - 07/02| A @: 162 6PK | 5 c 80000873 | 0515 Vé...




o

CITROEN - Evasion

06/94 - 07/02

g

OE

2.0 HDI RHZ (DW10ATED) 08/99 - 07/02| A @: 162 6PK 80001811 0515 V6.
+ CORTECO Nr: 80000873 / . 80001240
D @: M14x1,5x70

2.0 Turbo C.T. RGX (XU10J2TE) 06/94 - 07/02 6PK 80004364 0515 GO

217D P8C (XUD11BTE) 05/96 - 07/02| MAN 6PK 80000385 0515 J9
MAN 6PK 80001998 0515 19
+ CORTECO Nr: 80000385 / B 80001240
D @: M14x1,5x70

CITROEN - Jumper |  02/94 - 04/02

1.9D D9B (XUD9A/U) 02/94 - 04/02] ex. Servo / A @: 156 6PK 80000352 0515 G3
10/96 -> / Servo / A @: 156 6PK 80000708 0515 K4
->10/96 / Servo / A @: 156 6PK ‘ 80000709 0515 H7
ex. Servo / A @: 156 6PK 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /

19D D9B (XUD9A/U) 01/99 - 04/02] ex. Servo / A @: 156 6PK ° 80000352 0515 G3
Servo / A @: 156 6PK 80000708 0515 K4
ex. Servo / A @: 156 6PK 80001995 0515 G3
+ CORTECO Nr: 80000352 / . 80001240
D @: M14x1,5x70 /=

1.9TD D8C (XUD9UTF), 02/94 - 04/02] ex. Servo / A @: 156 6PK 80000352 0515 G3

DHX (XUD9TF/BTF) °

10/96 -> / Servo / A @: 156 6PK 80000708 0515 K4
->10/96 / Servo / A @: 156 6PK ‘ 80000709 0515 H7
ex. Servo / A @: 156 6PK 80001995 0515 G3
+ CORTECO Nr: 80000352 / B 80001240
D @: M14x1,5x70 /=

100



o

¢
2

B oo

OE

CITROEN - Jumper |

02/94 - 04/02

2.0 RFW (XU10J2U) 02/94 - 04/02 6PK | 5+3 80004374 0515 K3...
2.0 4x4 RFW (XU10J2U) 08/96 - 04/02 +4PK
25D T9A (DJ5) 03/94 - 04/02 6PK | 5 80001019 0515 H3
257D T8A (DJ5T) 03/94 - 04/02
2.5 TDi THX (DJ5TED) 12/96 - 04/02
2.8 HDi 8140.435 09/00 - 04/02| ex. AC 6PK | 5 80000918 0515 P9...
2.8 HDi 4x4 8140.435 09/00 - 04/02
AC 5PK | 4+5 80001146 0515 T4...
+6PK
NO) pe 02/0
2.0 XU10J2 04/02 6PK [ 5+3 80004374 0515K3...
2.0 bivalent XU10J2 02/03 +4PK
2.0 HDi RHV (DW10TD), 04/02 MC: DW10TD / -> 04/04 / AC 6PK | 5 80000684 0515 S8...
RHV (DW10UTD) MC: DW10TD / 04/04 ->
MC: DW10TD / ex. AC / -> 04/04 /| 6PK | 5 80000873 0515 V6...
AD: 162
MC: DW10TD / ex. AC / -> 04/04 /| 6PK | 5 80001811 0515 V6...
AD: 162
+ CORTECO Nr: 80000873 / - 80001240
MC: DW10TD / D @: M14x1,5x70
2.2 HDi 4HY (DW12UTED) 04/02 ex. AC/AD: 162 6PK | 5 80000873 0515 V6...
ex. AC/AD: 162 6PK | 5 80001811 0515 V6.
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70
2.8 HDi 8140.43N, 8140.435 04/02 ex. AC 6PK | 5 80000918 0515 P9...
2.8 HDi 4x4 8140.43S, F28TDCR 02/02
AC 5PK | 4+5 80001146 0515 T4...
+6PK
CITROEN - Jumper lll  04/06 -
2.2 HDi 100 4HV (P22DTE) 04/06 -] - 80004468 0515 59
2.2 HDi 120 4HU (P22DTE) 04/06 A@: 167 9PK | 8 80000834 | 9806722380...
AQ: 167 9PK | 8 80004874 9806722380...
+ CORTECO Nr: 80000834 / - 80004873
D @: M12x75
3.0 HDi 145 F1CE3481N 07/10 4PK | 345 80000932 0515 T5
3.0 HDi 155 F1CE0481D (F30DT) 07/10 +6PK
3.0 HDi 160 F1CE0481D (F30DT) 09/06
3.0 HDi 180 F1CE0481D (F30DT) 07/11

101




o & g i Mkl OE

CITROEN - Jumpy | 10/95 - 12/06

1.9D D9B (XUD9A/U) 10/95 - 04/98] MC: XUD9A / A @: 156 6PK | 5 80000352 0515 G3
MC: XUD9A / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70

19D 70 WJY (DWSB), WiZ (DW8) |04/98 MC: DW8B / 10178 -> / AC / 6PK | 5 80000598 0515 S4...
A@: 158
MC: DW8 &PK | 5 80000707 | 0515 Q6...
MC: DW8B / ex. AC / -> 09894
MC: DW8B /-> 10177 /AC / 6K | 5 80000873 0515 V6...
AD: 162
09895 -> / ox. AC / A @: 156 6PK | 5 80001007 0515 R5
MC: DW8B /-> 10177 /AC/ 6PK | 5 80001811 0515 Vé...
AQ: 162
MC: DW8B /10178 -> /AC / 6K | 5 80004328 0515 S4...
A@: 158
MC: DW8 GPK | 5 80004334 0515 Q6
MC: DWBSB / ex. AC / -> 09894
+ CORTECO Nr: 80000598 / - 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000707 / - 80001252
> 08147 /
D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20
+ CORTECO Nr: 80000707 / - 80001254
08148 -> / OR »
D @: M14x1,5x70 / 14,5x39,7x8 / ©Odr
M6x20

1.91D DHX (XUD9TF/BTF) 10/95 MC: XUD9TF / MC: XUD9BTF / 6PK | 5 80000352 0515 G3
AQ: 156 °
MC: XUDSTF / MC: XUD9BTF / GPK | 5 80001995 0515 G3
AD: 156 ‘
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /

1.9 D8B (XUD9TF) 04/96 AD: 156 6PK | 5 ° 80000352 0515 G3
AD: 156 &PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5¢70 /=

102




o Bl g i Mkl OE
CITROEN - Jumpy | 10/95 - 12/06
1.9TD D8B (XUD9TF) 10/99 MC: XUD9TF / A @: 156 6PK | 5 Q 80000352 0515 G3
MC: XUD9TF / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /
2.0 RFN (EW1014) 04/00 - 12/06] MAN / M: 0822888 -> 6PK | 5 80001556 0515 R1
AUT/ M: 0961750 -> ’
AUT/ -> M: 0961749 6PK | 5 80004376 0515 S6
MAN/ -> M: 0822887 °
2.0 HDi 110 RHZ (DW10ATED) 03/00 MC: DW10ATED4 / 09520 -> / 6PK | 5 80000598 0515 S4...
AQ: 158 ’
MC: DWIOATED / A @: 162 6PK | 5 80000873 0515 V6...
MC: DW1O0ATED4 / -> 09519 /
AD: 162
MC: DW10ATED / A @: 162 6PK | 5 80001811 0515 V6...
MC: DWTO0ATED4 / -> 09519 /
AD: 162
MC: DW10ATED4 / 09520 -> / 6PK | 5 80004328 0515 S4...
AD: 158 Q
+ CORTECO Nr: 80000873 / - 80001240
+ CORTECO Nr: 80000598 /
D @: M14x1,5x70 °
2.0 HDi 95 RHX (DW10BTED) 10/99 MC: DW10BTED / 09520 -> / 6PK | 5 80000598 0515 S4...
AD: 158 ’
MC: DWTOBTED / -> 09519 / 6PK | 5 80000873 0515 V6...
AD: 162 °
MC: DWT0BTED / -> 09519 / 6PK | 5 80001811 0515 V6...
AD: 162 Q
MC: DW10BTED / 09520 -> / 6PK | 5 80004328 0515 S4...
AD: 158 ‘
+ CORTECO Nr: 80000873 / 1 - 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000598 / - 80001240
MC: DW10BTED /
D @: M14x1,5x70 °
+ CORTECO Nr: 80000598 / - 80001240
D @: M14x1,5x70 /=
20116V RFN (EW10J4) 03/00 MAN / M: 0822888 -> 6PK| 5 80001556 0515 R1
AUT/ M: 0961750 -> ’
CITROEN - Jumpy Il 01/07 -
1.6 HDi 90 16V 9HU (DV6UTED4) 01/07 6PK | 5 | 80000682 0515 T3
4
@ - Start & Stop
6PK | 5 i 80004330 051513
; Start & Stop

103



o = i il € OE
CITROEN - Jumpy Il 01/07 -

1.6 HDi 90 16V 9HU (DV6UTEDA) 01/07 + CORTECO Nr: 80000682 /
D @: M12x1,5x50

80001247

D @: M14x1,5x70

1.6 HDi 90 8V 9HH (DV6DUM), 01/07 6PK | 5 || 80000682 0515 T3
9HM (DV6UC) @
+ Start & Stop
6PK| 5 H 80004330 051513
+ Start & Stop
2.0 HDi 120 RHK (DW10UTED4) 01/07 6PK | 5 80004382 0515 V9...
2.0 HDi 140 RHR (DW10BTEDA4) 01/07
2.0 HDi 165 RHH (DW10CTED4) 07/10
6PK [ 5 ‘ ﬁ 0515 V9...
T8 19363329
(-]
+ CORTECO Nr: 80004382 / -1 - / 80001240

CITROEN - Nemo 02/08 -

1.4 KFV (TU3A) 02/08 AD: 146 6PK | 5 80000931 9653771880...
+ Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...

+ Start & Stop

+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20
1.4 HDi 8HS (DVATED) 02/08 6PK | 5 80000682 0515 T3

+ Start & Stop
80004330 0515T3

6PK | 5

CITROEN - Saxo 02/96 - 09/03

1.0X CDZ (TU9M) 05/96 - 11/98 2PK | 1 80004366 97522360...
1.1X HDZ (TUTM) 05/96 - 09/03] -> 08161 / ex. Servo / ex. AC 2PK | 1 80004366 97522360...
SX HDZ (TUTM) 05/96 - 09/03| 08162 -> / ex. AC

Servo /AC/-> 08161 /A@:128 | 5PK | 4
AC /08162 ->/AD: 128

80004368 0515 L2...

1.1X HDZ (TUTM), HFX (TU1JP) |05/96 - 09/03] MC: TUTM / -> 08161 / ex. AC / 2PK | 1
SX HDZ (TUTM), HFX (TU1JP) |05/96 - 09/03| ex. Servo
MC: TUTM /08162 -> / ex. AC

80004366 97522360...

Servo /AC/-> 08161/ 5PK | 4
MC: TUIM/A@:128

AC /08162 ->/MC: TUIM/
AD:128

1.4 VTS KFW (TU3JP), KFX (TU3JP) |05/96 - 06/03] AUT / ex. AC 2PK | 1
MAN / ex. AC / 08162 ->

80004368 0515 L2...

80004366 97522360...

AUT/AC/AQD:128 5PK | 4
MAN /AC /08162 -> /A @: 128

80004368 0515 L2...

1.5D VIJY (TUD5), VIZ (TUD5)  |09/96 - 09/03| A @: 142 5PK | 4 80000351 0515 L6

20000000j9¢6 00

104



ca 2 g i Ml €3 OE
CITROEN - Saxo 02/96 - 09/03
1.5D VJY (TUD5), VJZ (TUD5)  [09/96 - 09/03| A @: 142 5PK | 4 80001994 0515 L6
+ CORTECO Nr: 80000351 / R . 80001255
-> 07428/ (7]
D @: M14x1,5x70 / 14,5x39,7x8 / B
M8x16
1.6 NFZ (TU5JP) 02/96 - 06/03| AUT / ex. AC 2PK | 1 80004366  97522360...
1.6 VL NFZ (TU5JP) 05/96 - 06/03
VIR NFZ (TU5JP) 05/96 - 06/03
AUT/AC/A@: 128 5PK | 4 o 80004368 0515 L2...
CITROEN - Xantia | / Break 03/93 - 01/98
1.6i BFZ (XU5JP) 03/93 - 01/98 6PK | 5 ’ 80004364 0515 GO
1.8i LFZ (XU7JP) 03/93 - 01/98 6PK | 5 @ 80001048 0515 Hé
1.8 LFX (XU7JB) 04/97 - 01/98 6PK | 5 ° 80004364 0515 GO
1.8i16V LFY (XU7JP4) 06/95 - 01/98| MAN 6PK | 5 @ 80001726 0515 Ké
1.9D DJZ (XUDY9Y) 06/94 - 01/98| MC: XUD9 / A @: 156 6PK | 5 ° 80000352 0515 G3
MC: XUD9 /A @: 156 6PK| 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / . . 80001240
D @: M14x1,5x70 /
19D D9B (XUD9A/L) 06/94 - 01/98| MC: XUD9A / A @: 156 6PK | 5 O 80000352 0515 G3
MC: XUD9A / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / B . 80001240
D @: M14x1,5x70 /=
1.9SD DHW (XUD9SD) 02/96 - 01/98| A @: 156 6PK | 5 ° 80000352 0515 G3
AD: 156 6PK| 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / . . 80001240
D @: M14x1,5x70 /
1.9 Turbo D D8B (XUD9TF), 10/94 - 01/98| MC: XUD9TE / A @: 156 6PK | 5 § 80000352 0515 G3
DHX (XUD9TF/BTF),
DHY (XUD9TE/Y)
MC: XUD9TE / A @: 156 6PK| 5 80001995 0515 G3

105



o i Ml €8 OE
CITROEN - Xantia | / Break 03/93 - 01/98
1.9 Turbo D D8B (XUD9TF), 10/94 - 01/98| + CORTECO Nr: 80000352 / -] - 80001240
DHX (XUD9TF/BTF), D @: M14x1,5x70 /
DHY (XUD9TE/Y) °
201 RFX (XU10J2C) 03/93 - 01/98| MC: XU10J2 6PK | 5 @ 80001048 0515 Hé
20116V RFV (XUT0J4R) 06/95 - 01/98 6PK | 5 @ 80001726 0515 K6
2.0 Turbo RGX (XU10J2TE) 06/95 - 01/98] MAN 6PK | 5 80001048 0515 Hé
2.1 Turbo D 12V P8C (XUD11BTE) 06/95 - 01/98| MAN 6PK | 5 @ 80000385 051519
MAN 6PK | 5 I 80001998 051519
+ CORTECO Nr: 80000385 / - 80001240
D @: M14x1,5x70 /=
CITROEN - Xantia Il / Break 01/98 - 04/03
1.8 LFX (XU7.B) 01/98 - 04/03 6PK | 5 ‘ 80004364 0515 GO
18116V LFY (XU71P4) 01/98 - 04/03| MAN 6PK | 5 @ 80001726 0515 K6
1.95D DHW (XUD9SD) 01/98 - 04/03| A @: 156 6PK | 5 O 80000352 0515 G3
AD: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /=
1.9 Turbo D DHX (XUD9TF/BTF), 01/98 - 04/03] MC: XUD9TE / MAN /A @: 156 | 6PK | 5 80000352 0515 G3
DHY (XUD9TE/Y) > 08210 /AUT/AD: 156 °
MC: XUDSTE / MAN /A @: 156 | 6PK | 5 80000352 0515 G3
MC: XUD9TE / -> 08210 / AUT /
AD: 156
MC: XUD9TE / MAN /A @: 156 | 6PK | 5 80001995 0515 G3
MC: XUD9TE / -> 08210/ AUT /
AD: 156
MC: XUDSTE / MAN /A @: 156 | 6PK | 5 80001995 0515 G3
> 08210/ AUT/A O: 156 .
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /
2.0 HDI 109 RHZ (DW10ATED) 02/99 - 04/03| MAN / A O: 162 6PK | 5 ° 80000873 0515 Vé...
ox. AC/MAN/A @: 162 6PK | 5 ° 80000873 0515 Vé...

106




o

CITROEN - Xantia Il / Break 01/98 - 04/03

B oo

OE

2.0 HDI 109 RHZ (DW10ATED) 02/99 - 04/03] MAN / A @: 162 6PK | 5 80001811 0515 Vé...
ex. AC/MAN /A QD: 162 6PK | 5 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70
2.0 HDI 90 RHY (DW10TD) 03/99 - 04/03] MC: DW10TD / MAN / A @: 162 6PK 5 80000873 0515 Vé...
ex. AC/MAN /A @: 162 6PK | 5 80000873 0515 Vé...
MC: DW10TD / MAN / A @: 162 6PK | 5 80001811 0515 Vé...
ex. AC/MAN /A QD: 162 6PK 5 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70
2.01 RFX (XU10J2C) 01/98 - 04/03] MC: XU10J2 / AUT 6PK | 5 80001048 0515 H6
2.0i16V RFV (XU10J4R) 01/98 - 04/03 6PK 5 80001726 0515 Ké6
2.0 Turbo RGX (XU10J2TE) 01/98 - 04/03 6PK | 5 80001048 0515 H6
2.1 Turbo D 12V P8C (XUD11BTE) 01/98 - 02/99 6PK | 5 80000385 0515 J9
6PK | 5 80001998 0515 J9
+ CORTECO Nr: 80000385 / - - 80001240
D @: M14x1,5x70
CITROEN - XM | / Break 05/89 - 06/94
P9A (XUD11A) 05/89 - 06/94] 05874 -> / AD: 156 5PK | 4 80000685 0515 G7
052728 -> / AUT / ex. AC /
AD: 156
05876 -> /AUT /AC /A @: 156
2.1D12v P9A (XUD11A) 11/91 - 04/94) 05874 -> / A D: 156 5PK | 4 80000685 0515 G7
2.1TD 12V P8A (XUD11ATE), 05/89 - 06/94] 05728 -> / AUT / ex. AC /
P8C (XUD11BTE), AD: 156
PHZ (XUD11ATE), 05876 -> / AUT /AC / A D: 156
PJZ (XUD11ATE)
CITROEN - XM Il / Break 05/94 - 10/00
2.0i16V RFV (XU10J4R) 05/94 - 10/00 6PK 5 @ 80001726 0515 Ké6
2.1 D12 P9A (XUD11A) 07/94 - 06/96| -> 07083 / MAN / A &: 156 5PK | 4 ‘ 80000685 0515 G7
2.1TD 12V P8A (XUD11ATE), 05/94 - 10/00] MC: XUD11ATE / MC: XUD11BTE/ | 6PK | 5 80000385 0515 J9
P8C (XUD11BTE), 06779 -> / MAN
PHZ (XUD11ATE), MC: XUD11ATE / 06779 ->
PJZ (XUD11ATE) 07237 / AUT
MC: XUD11BTE / AUT

107



. B i il OE
CITROEN - XM Il / Break 05/94 - 10/00
2.1TD 12V P8A (XUD11ATE), 05/94 - 10/00] MC: XUD11ATE / -> 06778 / 5PK 4 80000685 0515 G7

P8C (XUD11BTE), AD: 156

PHZ (XUD11ATE), MC: XUDT1BTE / -> 06778 /
PJZ (XUD11ATE) MAN / A &: 156

MC: XUD11ATE / MC: XUDT1BTE/ | 6PK | 5
06779 -> / MAN

MC: XUD11ATE / 06779 ->
07237 / AUT

MC: XUD11BTE / AUT

+ CORTECO Nr: 80000385 / - -
D @: M14x1,5x70

80001998 05151J9

80001240

2.5TD THY (DK5ATE) 05/94 - 10/00 6PK | 5

80001019 0515 H3

CITROEN - Xsara / Break 04/97 - 08/05

1.4 HDi 8HX (DV4TD) 01/03 - 08/05 6PK | 5 80000597 0515V8...
+ Start & Stop
6PK | 5 80001812 0515V8...

+ Start & Stop
80001247

+ CORTECO Nr: 80000597 / - -
D @: M12x1,5x50

090000+ 90]0., 0

1.4i KFW (TU3JP), KFX (TU3JP) |04/97 - 08/05] ex. AC 2PK | 1 80004366 97522360...
AC/AD: 128 5PK | 4 80004368 0515 L2...
AC 4PK | 3 80004370 0515 L5...
1.5D VJZ (TUD5) 04/97 - 09/00| A @: 142 5PK | 4 80000351 0515 L6
AQD: 142 5PK | 4 80001994 0515 L6
1.6 16V NFU (TU5JP4) 09/00 - 08/05| A @: 146 6PK | 5 80000931 9653771880...
+ Start & Stop
AD: 146 6PK | 5 80004883 9653771880...
=
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O A0
1.6i NFZ (TU5JP) 04/97 - 09/00f AUT / ex. AC 2PK | 1 ° 80004366 97522360...
AUT/AC/AQD: 128 5PK | 4 80004368 0515 L2...
MAN /A D: 128 o
AC / AUT 4PK | 3 80004370 0515 L5...
1.8D 161A (XUD7), A9A (XUD7)|04/97 - 09/00| A @: 156 6PK | 5 Q 80000352 0515 G3

108



. 2 i Ml € OE
CITROEN - Xsara / Break 04/97 - 08/05
1.8D 161A (XUD7), A9A (XUD7)|04/97 - 09/00| A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - . 80001240
D @: M14x1,5x70 /c
1.8 LFX (XU7JB) 04/97 - 09/00! 6PK | 5 ‘ 80004364 0515 GO
1.8116V LFY (XU7JP4) 04/97 - 09/00] MAN 6PK | 5 @ 80001726 0515 Ké
1.8 1 Aut. LFZ (XU7JP) 04/97 - 09/00! 6PK | 5 @ 80001048 0515 Hé
1.9D DHV (XUD9BSD), 04/97 - 09/00) A @: 156 6PK | 5 N 80000352 0515 G3
DJY (XUD9A) °
AQ: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70 /c
1.9D WJY (DW8B), WJZ (DW8) |07/98 - 08/05| MC: DW8 6PK | 5 80000707 0515 Q6...
MC: DW8B / ex. AC / -> 09894
MC: DW8B /AC /-> 09519
MC: DW8B / 09520 -> / AC / 6PK | 5 80000873 0515 Vé6...
AQ: 162 °
09895 -> /ex. AC/A @: 156 6PK | 5 Q 80001007 0515 R5
MC: DW8B /09520 -> / AC / 6PK | 5 80001811 0515 V6...
AD: 162 Q
MC: DW8 6PK | 5 80004334 0515 Q6
MC: DW8B / ex. AC / -> 09894
MC: DW8B / AC/ -> 09519
[=]
+ CORTECO Nr: 80000873 / - . 80001240
D @: M14x1,5x70 /
+ CORTECO Nr: 80000707 / - . 80001252
-> 08147 / MC: DW8 / Sso
D @: M14x1,5x70 / 14,5x39,7x8 / (o7 ¥ )
M6x20
+ CORTECO Nr: 80000707 / - - 80001254
08148 -> / MC: DW8 /
D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20 °° 1::
MC: DW8B /
D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20
1.9SD DHV (XUD9BSD) 01/98 - 09/00) A @: 156 6PK | 5 ° 80000352 0515 G3
AQ: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70 /

109



CITROEN - Xsara / Break 04/97 - 08/05

i il € OE

1.9TD DHY (XUD9TE/Y) 04/97 - 09/00| MC: XUD9TE / A @: 156 6PK | 5 80000352 0515 G3
MC: XUD9TE / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70

2.016V RFS (XUT0J4RS), 04/97 - 09/00 6PK | 5 80001726 0515 K6

RFV (XU10J4R)

2.0 16V RFN (EW10J4) 09/00 - 08/05| MAN / M: 0822888 -> 6PK | 5 80001556 0515R1
AUT / M: 0961750 ->
AUT / -> M: 0961749 6PK | 5 80004376 0515 S6

MAN / -> M: 0822887

2.0 HDi 109 RHZ (DW10ATED) 05/01 - 08/05| A @: 162 6PK | 5 80000873 0515 Vé...
AD:162 6PK | 5 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - - 80001240

D @: M14x1,5x70

2.0 HDi 90 RHY (DW10TD) 02/99 - 03/05) MAN / A @: 162 6PK | 5 80000873 0515 Vé...
2.0 HDI 90 RHY (DW10TD) 02/99 - 08/05
MAN /A @: 162 6PK | 5 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - - 80001240

OE Nr: 0501K7 / D @: M14x1,5x70

*90,00000C. 00

CITROEN - Xsara Coupé 02/98 - 03/05

1.4 HDi 8HX (DV4TD) 01/03 - 03/05 6PK | 5 80000597 0515V8...
+ Start & Stop
6PK | 5 80001812 0515V8...

+ Start & Stop
80001247

+ CORTECO Nr: 80000597 / - .
D @: M12x1,5x50

1.4 KFW (TU3JP), KFX (TU3JP) |03/98 - 03/05] ex. AC 2PK | 1 80004366 97522360...
AC/AD:128 5PK | 4 80004368 0515 L2...
AC 4PK | 3 80004370 0515 L5...

1.6 16V NFU (TU5JP4) 09/00 - 03/05) A @: 146 6PK | 5 80000931 | 9653771880...

0000 +90

- Start & Stop

110



o = i Mkl OE
CITROEN - Xsara Coupé 02/98 - 03/05
1.6 16V NFU (TU5JP4) 09/00 - 03/05| A @: 146 6PK | 5 80004883 | 9653771880...
S
° © + Start & Stop
+ CORTECO Nr: 80000931 / - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (- ) P
T8 LFX (XU7JB) 02/98 - 09/00 6PK | 5 80004364 0515 GO
18116V LFY (XU7JP4) 02/98 - 09/00] MAN 6PK | 5 @ 80001726 0515 K6
19D DJY (XUD9A) 02/98 - 09/00| A @: 156 6PK | 5 ° 80000352 0515 G3
AQ: 156 6K | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /
19D WY (DW8B), WIZ (DW8) |02/99 - 03/05| MC: DW8B / AC / -> 09519 6PK | 5 80000707 | 0515 Q6...
MC: DWBSB / ex. AC / -> 09894 °
09520 -> / MC: DW8B / AC / &PK | 5 80000873| 0515 Vé...
AD: 162 °
09895 -> / ex. AC/ A @: 156 &PK | 5 Q 80001007 0515 R5
09520 -> / MC: DW8B / AC / 6K | 5 80001811 0515 Vé...
AD: 162 O
MC: DW8B / AC / -> 09519 &PK | 5 80004334 0515 Q6
MC: DW8B / ex. AC / -> 09894 g
o
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000707 / - 80001252
-> 08147 / MC: DW8 / [ - 9
D @: M14x1,5x70 / 14,5x39,7x8 / Ooéd
M6x20
+ CORTECO Nr: 80000707 / - 80001254
08148 -> / MC: DW8 /
D @: M14x1,5¢70 / 14,5x39,7x8 /
M6x20 °° ‘ ':
MC: DW8B / b
D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20
1.91D DHY (XUD9TE/Y) 02/98 - 09/00| MC: XUD9TE / A @: 156 6PK | 5 ° 80000352 0515 G3
MC: XUDSTE / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /
2.0 16V RFN (EW10J4) 09/00 - 03/05| M: 0961750 -> / AUT 6PK | 5 80001556 0515 R
M: 0822888 -> / MAN

111




o ] i sl € OE
CITROEN - Xsara Coupé 02/98 - 03/05
2.0 16V RFN (EW10J4) 09/00 - 03/05| AUT / -> M: 0961749 6PK | 5 80004376 0515 S6
MAN / -> M: 0822887
2.0 HDi 109 RHZ (DW10ATED) 05/01 - 03/05| A &: 162 6PK | 5 80000873 0515 Vé...
AD: 162 6PK | 5 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70
2.0 HDI 90 RHY (DW10TD) 02/99 - 03/05| MAN / A &: 162 6PK | 5 80000873 0515 Vé...
MAN /A @: 162 6PK | 5 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - - 80001240
OE Nr: 0501K7 / D @: M14x1,5x70
2.0i16V RFS (XUT0J4RS) 02/98 - 03/05 6PK | 5 80001726 0515 K6
CITROEN - Xsara Picasso  12/99 -
1.6 NFV (TU5JP) 12/99 AD: 146 6PK | 5 80000931 9653771880...
+ Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
+ Start & Stop
D @: M14x1,5x70 / M14x35,8x5 / - - 80004882
M8x125x20
1.6 NFZ (TU5JP) 12/99 MAN /A @: 146 6PK | 5 80000931 9653771880...
+ Start & Stop
MAN / A &: 146 6PK | 5 80004883 | 9653771880...
+ Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20
1.6 16V NFU (TU5JP4) 09/05 AD: 146 6PK | 5 80000931 9653771880...
+ Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
+ Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 OAn®
1.6 HDi 9HY (DV6TED4), 05/04 -> 10569 6PK | 5 80000597 0515 V8...
9HZ (DV6TED4) ‘
10570 -> 6PK | 5 N 80000682 0515T3
@ - Start & Stop

112




o i Ml €8 OE
CITROEN - Xsara Picasso  12/99 -
1.6 HDi 9HY (DV6TEDA), -> 10569 6PK | 5 80001812 0515 V8...
9HZ (DV6TEDA) ’,
+ Start & Stop
10570 -> 6PK | 5 = 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000597 / R 80001247
D @: M12x1,5x50 ‘
1.6 HDi 9HX (DV6ATED4) 09/05 6PK | 5 || 80000682 051513
@ + Start & Stop
6PK | 5 i 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000682 / N - 80001247
D @: M12x1,5x50 ‘
1.8 16V 6FZ (EW7.4) 02/00 MAN / M: 0822888 -> / 6PK | 5 80001556 0515 R1
MC: EW7J4 ’
MAN 6PK | 5 @ 80001726 0515 Ké
MC: EW7J4 / -> M: 0822887 6PK | 5 ° 80004372 0515 N7
2.0 16V RFN (EW10J4) 01/03 MAN / M: 0822888 -> 6PK | 5 80001556 0515 RI
AUT/ M: 0981750 -> ’
2.0 HDi RHY (DW10TD) 12/99 MAN /A @: 162 6PK | 5 ° 80000873 0515 Vé6...
MAN /A @: 162 6PK | 5 l 80001811 0515 V6...
+ CORTECO Nr: 80000873 / B - / 80001240

CITROEN - ZX / Break

D @: M14x1,5x70

03/91 - 02/98

1.1 HDZ (TUTM) 03/91 - 06/97] ex. Servo / ex. AC 2PK | 1 80004366 97522360...
=
AC / Servo / A@: 128 5PK | 4 0 80004368 0515 L2...
AC / Servo 4PK | 3 0 80004370 0515 L5...
1.4 KDZ (TU3M/Z) 03/91 - 06/97) MC: TU3M / ex. AC / ex. Servo 2PK |1 ° 80004366 97522360...
AC / Servo / MC: TUSM /A @: 128 | 5PK | 4 0 80004368 0515 L2...
AC / Servo / MC: TU3M 4PK | 3 0 80004370 0515 L5...

113



CITROEN - ZX / Break 03/91 - 02/98

i il € OE

141 KDX (TU3M/Z), 03/91 - 10/97] MC: TU3M / ex. Servo / ex. AC 2PK | 1 80004366|  97522360...
KDY (TU3M), MC: TU3JP / ex. AC
KDZ (TU3M/2),
KFX (TU3JP)

MC: TUSM /AC / Servo / A @: 128 | 5PK | 4 80004368 0515 12...

MC: TU3JP /AC /A @: 128 0

MC: TU3M / AC / Servo K| 3 80004370 0515 5...

MC: TU3JP / AC 0
161 BDY (XU5M), BFZ (XU5JP) |03/91 - 06/97| MC: XU5JP 6PK | 5 ‘ 80004364 0515 GO
18D T61A (XUD7) 06/93 - 10/97| A @: 156 6PK | 5 0 80000352 0515 G3

AD: 156 &K | 5 80001995 0515 G3

+ CORTECO Nr: 80000352 / - 80001240

D @: M14x1,5x70 /=
181 LFZ (XU7JP) 07/92 - 10/97 6PK | 5 80001048 0515 H6
18116V LFY (XU71P4) 01/96 - 02/98| MAN 6PK | 5 @ 80001726 0515 K6
19D D9B (XUD9A/U), 03/91 - 10/97| A @: 156 6PK | 5 | 80000352 0515 G3

DJY (XUD9A),
DJZ (XUD9Y)

AD: 156 6PK | 5 80001995 0515 G3

+ CORTECO Nr: 80000352 / - 80001240

D @: M14x1,5x70 /=
1.97D DHY (XUDYTE/Y) 07/92 - 10/97| MC: XUD9TE / A @: 156 6PK | 5 ° 80000352 0515 G3

MC: XUDSTE / A @: 156 6PK | 5 80001995 0515 G3

+ CORTECO Nr: 80000352 / - 80001240

D @: M14x1,5x70 /
20i RFX (XUT10J2C) 07/92 - 06/97] MAN / MC: XUT0J2 / 06049 -> | 6PK | 5 80001048 0515 Hé

AUT / MC: XU10J2 @

MC: XUT0J2 / MAN / -> 06048 | 6PK | 5 ° 80004364 0515 GO
20116V RFS (XUT0J4RS) 05/96 - 06/97 6PK | 5 @ 80001726 0515 K6
DACIA - Dokker 11/12 -
1.5dCi K9K 612 11/12 5PK | 4 g 80000600 | 82 00 477 938...

114



DACIA - Duster

04/10

o E g i i € OF

DACIA - Dokker 11/12 -

1.5dCi K9K 612 11/12 5PK | 4 e 80000600 | 8200477 938...
AD: 155 6PK | 5 I 80005275 12 30 332 45R

1.5dCi K9K 612 12/12 5PK | 4 g 80000600 | 82 00477 938...
11/10-> /A D: 155 6PK | 5 I 80005275 12 30 332 45R

1.5 dCi K9K 612 12/12 5PK | 4 e 80000600 | 82 00477 938...

1.5dCi K9K 796, K9K 830 04/10 80000600 | 82 00477 938...
AD: 155 6PK | 5 80001299 | 82 00 699 517...
+ Start & Stop
11/09 -> /AC /A D: 155 6PK | 5 l 80005275| 1230332 45R
1.5 dCi K9K 896 06/10 11/10 -> 5PK | 4 e 80000600 | 82 00 477 938...
A@: 155 6PK | 5 l 80005275| 1230332 45R
1.5 dCi K9K 884, K9K 892 10/10 5PK | 4 e 80000600 | 82 00 477 938...
A@: 155 6PK | 5 l 80005275| 1230332 45R
1.5 dCi 4x4 K9K 898 06/10 5PK | 4 e 80000600 | 82 00 477 938...
1.5 dCi 4x4 K9K 884, K9K 894 10/10 5PK | 4 80000600 | 82 00 477 938...
1.6 16V K4M 690, K4M 696 04/10 g
A@: 155 6PK | 5 80005275| 1230332 45R
1.6 16V 4x4 K4M 606 06/10 5PK | 4 g 80000600 | 82 00 477 938...
A@: 155 6PK | 5 80001299 | 82 00 699 517...
‘ — + Start & Stop
AD: 155 6PK | 5 80005275| 1230 332 45R
1.6 16V Hi-Flex K4M 696 08/10 5PK | 4 80000600 | 82 00477 938...
1.6 16V LPG K4M 696 04/11 e
11/09 -> /AC/AD: 155 6PK | 5 80005275| 12 30332 45R

115



o

¢
2

DACIA - Lodgy 03/12 -

OE

1.5 dCi K9K 612, K9K 846 03/12 5PK | 4 e 80000600 | 82 00 477 938...
AD: 155 6PK | 5 l 80005275 12 30 332 45R
DACIA - Logan 09/05 -
1.2 16V D4F 732 02/06 Servo 3PK | 243 80004386 | 8200036 888
+4PK O
1.2 16V LPG DA4F 734 02/06 3PK | 243 80004386 | 82 00036 888
+4PK o
1.5 dCi K9K 892 05/10 5PK | 4 e 80000600 | 82 00477 938...
11/09 -> /AC /A D: 155 6PK | 5 l 80005275 12 30 332 45R
1.5dCi K9K 892 05/10 5PK | 4 e 80000600 82 00477 938...
AD: 155 6PK | 5 l 80005275 12 30 332 45R
1.5dCi K9K 790, K9K 792 09/05 5PK | 4 e 80000600 | 8200477 938...
11/09 -> /AC /A D: 155 6PK | 5 l 80005275 12 30 332 45R
1.5 dCi K9K 796 09/07 5PK | 4 e 80000600 | 82 00477 938...
AD: 155 6PK | 5 I 80005275 12 30 332 45R
1.6 16V K4M 690, K4M 696 02/06 10/09 -> 5PK | 4 e 80000600 82 00477 938...
AD: 155 6PK | 5 I 80005275 12 30 332 45R
1.6 16V Flexifuel K4M 696 07/10 5PK | 4 e 80000600 | 82 00477 938...
AD: 155 6PK | 5 I 80005275 12 30 332 45R
DACIA - Logan Express
1.5dCi K9K 792, K9K 796, 03/09 5PK | 4 80000600 | 82 00477 938...
K9K 892 g
A QD: 155 6PK | 5 I 80005275 12 30 332 45R
DACIA - Logan MCV  02/07 -
1.5 dCi K9K 892 05/10 5PK | 4 g 80000600 | 82 00 477 938...

116



i VI o] OE
DACIA - Logan MCV  02/07 -

1.5 dCi K9K 892 05/10 11/09 -> /AC /A @: 155 6PK | 5 80005275| 1230332 45R

1.5 dCi K9K 792 02/07 5PK | 4 80000600 | 82 00 477 938...
A@: 155 6PK | 5 80005275| 1230332 45R
1.5 dCi K9K 796 09/07 5PK | 4 80000600 | 82 00 477 938...
11/09 -> /AC /A @: 155 6PK | 5 80005275| 1230332 45R
1.6 16V K4M 690, K4M 696 02/07 10/09 -> 5PK | 4 80000600 | 82 00 477 938...
A@: 155 6PK | 5 80005275 1230332 45R
1.6 16V Hi-Flex K4M 690, K4M 694 11/09 5PK | 4 80000600 | 82 00 477 938...
A@: 155 6PK | 5 80005275| 1230332 45R

DACIA - Logan Pick-up

000]|008]00]000000000

1.5dCi K9K 792, K9K 796, 03/08 5PK | 4 80000600 | 82 00 477 938...
K9K 892
A@: 155 6PK | 5 80005275 12 30 332 45R
DACIA oga 0
1.2 DA4F 732 10/12 Servo 3PK | 2+3 80004386 | 82 00 036 888
1.2 LPG D4F 734 10/12 +4PK
1.5 dCi K9K 612, K9K 830 10/12 5PK | 4 80000600 | 82 00477 938...
DACIA andero 08
1.2 16V D4F 732 11/08 Servo 3PK | 2+3 80004386 | 82 00 036 888
1.2 16V LPG D4F 732 11/08 +4PK
1.5dCi K9K 792, K9K 796 11/08 5PK | 4 80000600 | 82 00 477 938...
A@: 155 6PK | 5 80001299 | 8200 699 517...
— + Start & Stop
AQD: 155 6PK | 5 80005275 12 30 332 45R
1.5dCi K9K 892 05/10 5PK | 4 80000600 | 82 00 477 938...
1.6 16V K4M 690 07/11
1.6 16V Bifuel K4M 690, K4M 694, 01/11
K4M 696
AQD: 155 6PK | 5 80005275 12 30 332 45R

117



DA A andero 0)

1.2 DAF 732 10/12 Servo 3PK | 2+3 80004386 | 82 00 036 888
T.21PG D4F 732 10/12 +4PK e

1.5 dCi K9K 612, K9K 830 10/12 5PK | 4 80000600 | 82 00 477 938...

DAEWOO - Kalos

09/02 -

A155MS

05/97

DAEWOO - Matiz

AT16DMS

09/98 -

05/97

1.2 B1251, F1253 04/03 4PK | 6 T 96563902...
+4PK 49367383

14 F1453 09/02 6PK | 5 96336264

49367387

14 F14D3 05/03 - 12/04 6PK | 5 T 96897424

1476V F14D3 04/03 49367373

DA 0]®) ace 02/04

1.4 F14D3 02/04 6PK | 5 96897424...

1.6 F16D3 02/04

DAEWQOO - Lanos 05/97 -
1.4 A14SMS 05/97 5PK 4 Né‘p” 96351111

49367373

49367381

DAEWOO - Nubira Wagon 05/97 -

0.8 F8CV 09/98 3PK | 3+2 T 96592001
+4PK 49367389

1.0 B10S 01/03 WPK| 6 96563902...
+4PK 49367383

DA OO b 05/9

1.4 F14D3 10/03 - 12/04 6PK | 5 96897424...

6 F16D3 07/03 49367373

1616V AT6DMS 05/97 6PK | 5 T® 96182652

06]06]0 ¢

1.6 F16D3 07/03 6PK | 5 ey, 96897424...
49367373
1.6 16V A16DMS, A16SMS 05/97 6PK | 5 W 96182652
49367375
FIAT - 500 10/07 -
1.2 169 A4.000 10/07 AC 5PK | 4 = \ 80000926 55217836...
()
e + Start & Stop
4PK | 3 80000930 55192966...
1.3 D Multijet 169 A1.000 10/07 6PK | 5 80001143 55200498...
+ Start & Stop
1.4 169 A3.000 10/07 AC 5PK | 4 80000926 55217836...
- Start & Stop
4PK | 3 80000930 55192966...

118



o

FIAT - Barchetta

OE

1.8 16V

04/95 - 05/05

183 A1.000, 188 A6.000

6PK | 5

80000917

60815976...

FIAT - Brava | 10/95 - 12/02
1.2 16V 80 182 B2.000 12/98 - 12/02| ex. AC 80000924 7778028...
apK e
1.8 GT 16V 182 A2.000 10/95 - 10/01 6PK | 5 ' 80000917 60815976...
1.9 JTD 182 B9.000 09/00 - 10/01 6PK | 5 80001159 73501275...
1.9JTD 105 182 B4.000 12/98-10/01
1.9TD 100 S 182 A7.000 03/96 - 10/01 \
197D 755 182 A8.000 03/96 - 10/01 + Start & Stop
6PK | 5 Q 80004910 73501275...
N + Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50 olm
FIAT - Bravo | 10/95 - 10/01
1.2 16V 80 182 B2.000 12/98 - 10/00] ex. AC 3PK | 2+3 80000924 7778028...
4P @
1.8GT 182 A2.000 10/95 - 10/01 6PK | 5 Q 80000917 60815976...
1.9JTD 182 B9.000 09/00 - 10/01 6PK | 5 80001159 73501275...
1.9JTD 105 182 B4.000 12/98-10/01
1.9TD 100 S 182 A7.000 03/96 - 10/01 A\
1.9TD75S 182 A8.000 03/96 - 10/01 ity Start & Stop
6PK | 5 “ 80004910 73501275...
N + Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50 ol%
2.0 HGT 20V 182 A1.000, 182 B7.000 [10/95 - 10/01 6PK | 5 80000921 7787889...

FIAT - Bravo Il

04/07 -

®

1.4 192 B2.000 04/07 5PK | 4 80000926 55217836...
+ Start & Stop
ex. AC 4PK | 3 80000930 55192966...
1.4 T-Jet 198 A1.000, 198 A4.000 09/07 5PK | 4 80000926 55217836...
+ Start & Stop
1.6 D Multijet 198 A2.000, 198 A3.000, 09/07 6PK 5 80001159 73501275...
844 A3.000
+ Start & Stop
6PK | 5 80004910 73501275...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
1.9 D Multijet 192 A8.000, 937 A5.000 |04/07 AC 6PK | 5 80001159 73501275...

; Start & Stop

119



o

B oo

OE

FIAT - Bravo Il  04/07 -
1.9 D Multijet 192 A8.000, 937 A5.000 04/07 6PK | 5 80004910 73501275...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
FIAT - Coupé 03/96 - 08/00
1.8 16V 183 A1.000 03/96 - 08/00 6PK | 5 80000917 60815976...
2.0 20V 182 A1.000, 182 B3.000 |08/96 - 08/00 6PK | 5 80000921 7787889...

2.0 20V Turbo

175 A3.000

08/96 - 08/00

FIAT - Croma Il 06/05
1.9 D Multijet 939 A1.000 06/05 M: 5452805 -> 6PK | 5 80001159 |  73501275...
+ Start & Stop
6PK | 5 & 80004910|  73501275...
N + Start & Stop
+ CORTECO Nr: 80001159 / - 80004886
D @: M16x1,5x70 / M8x26 oll‘“
1.9 D Multijet 939 A2.000 06/05 6PK | 5 80001159 |  73501275...
+ Start & Stop
&PK | 5 “ 80004910 |  73501275...
N + Start & Stop
+ CORTECO Nr: 80001159 / - 80004886
D @: M16x1,5x70 / M8x26 oll‘“
2.4 D Multijet 939 A3.000 06/05 6PK | 5 80001142| 7174779...

FIAT - Doblo 03/01 -

1.2 223 A5.000 03/01 ->M: 1731672/ Servo / ex. AC | 3PK | 2+3 80000924 | 7778028...
4P @
ox AC/ ex Servo / -> M: 1731672 4PK | 3 80000925 73502725...
"> M: 2533528 / ex. AC/ ex. Servo| 4PK | 3 80000928 | 73502725...
ox. Servo / ex. AC / M: 2533528 -> | 4PK | 3 @ 80000930 55192966...
M: 1731672 > / ex. AC /Servo | 3PK | 2+3 80001148 71720588...
AC/Servo K| 3 @ 80001425 55181190
1.3 D Multiet 199 A2.000, 223 A9.000 |10/05 4K 3+5 80001145 55182506
+6PK <
]
4 350 A1.000 10/05 ox. AC 3PK | 2+3 80001148 71720588...
+4PK

120




o

FIAT - Doblo 03/01 -

I M € OE

)
[

1.4 350 A1.000 10/05 AC 3PK | 2+4 = 80001150 55181200...
+5PK @
19D 223 A6.000 03/01 M: 2235206 -> / ex. AC 6PK | 5 @ 80001144 55190581...
AC 6PK | 5 80001159 73501275...
@ + Start & Stop
AC 6PK | 5 Q 80004910 73501275...
N + Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D &: M16x1,5x70 / M8x50 olm
1.9 D Multijet 186 A9.000 10/05 M: 5344781 -> 6PK | 5 Q 80001159 73501275...
) + Start & Stop
M: 5344781 -> 6PK | 5 a 80004910 73501275...
o + Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50 Ol%
1.9JTD 223 A7.000, 223 B1.000 |07/03 M: 5344781 -> 6PK | 5 Q 80001159 73501275...
‘\ + Start & Stop
M: 5344781 -> 6PK | 5 O 80001159 73501275...
) + Start & Stop
M: 5344781 -> 6PK | 5 “ 80004910 73501275...
N + Start & Stop
M: 5344781 -> 6PK | 5 a 80004910 73501275...
). Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50 Olm
1.9JTD 182 B9.000, 223 B2.000 |10/01 M: 5344781 -> 6PK | 5 Q 80001159 73501275...
A + Start & Stop
M: 5344781 -> 6PK | 5 & 80004910 73501275...
N + Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50 Ol%
FIAT - Ducato Il 02/98 - 04/02
1.9D D9B, D9B (XUD9A), DJY |04/98 - 04/02| ex. Servo / A &: 156 6PK | 5 80000352 9608938980
ex. Servo / A @: 156 6PK | 5 80001995 9608938980
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70

121



. & g i VI o] OE

FIAT - Ducato Il 02/98 - 04/02

1.9TD DHX (XUD9TF/L) 04/98 - 04/02| ex. Servo / A @: 156 6PK | 5 80000352 9608938980
ex. Servo / A @: 156 6PK | 5 80001995 9608938980
+ CORTECO Nr: 80000352 / - . 80001240

D @: M14x1,5x70

2.0J1D RHV (DW10) 10/01 - 04/02| ex. AC/ A D: 162 6PK | 5 80000873 | 9681761480...
ex. AC/A@: 162 6PK | 5 80001811 | 9681761480...
+ CORTECO Nr: 80000873 / - - 80001240

D @: M14x1,5x70

2.8D 8140.63 02/98 - 04/02] ex. AC 6PK | 5 80000918|  99461230...
2.8 D 4x4 8140.63 08/98 - 04/02
2.8 JTD 8140.435 11/00 - 04/02
2.8 17D 4x4 8140.435 11/00 - 04/02
AC 5PK | 4+5 80001146|  99462683...
+6PK

FIAT - Ducato IV 04/02 -

2.0JTD RHV (DW10) 04/02 ex. AC/A@: 162 6PK | 5 80000873 | 9681761480...
ex. AC/A@: 162 6PK | 5 80001811 | 9681761480...
+ CORTECO Nr: 80000873 / - - 80001240

D @: M14x1,5x70

2.3JTD F1AE0481C 04/02 ex. AC TPK | 6 | g | 80000919  504078435...
AC 4PK [ 3+6 80001147 | 504076697...
+7PK
2.8 JTD 8140.435 04/02 ex. AC 6PK | 5 — 80000918|  99461230...
2.8 JTD 4x4 8140.435 07/02
AC 5PK | 4+5 80001146|  99462683...
+6PK

A Ducato 07/06

3D F1AE0481D 07/06 ex. AC 7PK | 6 g 80000919 504078435...
120 Multijet 2 F1AE0481D 07/06
AC 4PK | 3+6 - 80001147 504076697...
+7PK
160 Multijet 3 F1CE0481D, F1ICE3481M |07/06 4PK | 3+5 80000932 504048057
0D F1CE0481D, F1CE3481M |07/06 +6PK

FIAT - Fiorino Il 11/07
1.3 D Multijet 199 A2.000, 199 A9.000 [11/07 4PK | 3+5 80001145 55182506

+6PK @

122



o

FIAT - Grande Punto

10/05 -

B oo

OE

1.2 199 A4.000 10/05 5PK | 4 80000926 55217836...
+ Start & Stop

ex. AC 4PK | 3 80000930 55192966...

1.3 D Multijet 199 A2.000, 199 A3.000 10/05 6PK | 5 80001143 55200498...
- Start & Stop

1.4 350 A1.000 10/05 5PK | 4 80000926 55217836...
- Start & Stop

ex. AC 4PK | 3 80000930 55192966...

1.416V 199 A6.000 10/05 AC 5PK | 4 80000926 55217836...
_ Start & Stop

ex. AC 4PK | 3 80000930 55192966...

1.4 T-Jet 198 A4.000 09/07 5PK | 4 80000926 55217836...
- Start & Stop

1.9 D Multijet 199 A5.000, 939 A1.000 |10/05 M: 5452805 -> 6PK | 5 80001159 73501275...
+ Start & Stop

M: 5452805 -> 6PK | 5 80004910 73501275...

FIAT - Idea 01/04 -

+ Start & Stop

+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50

80004884

|

1.2 16V 188 A5.000 01/04 5PK | 4 80000926 55217836...
- Start & Stop

ex. AC 4PK | 3 80000928 73502725...

1.3 D Multijet 199 A3.000 10/05 6PK | 5 80001143 55200498...

1.3J1D 188 A9.000 01/04 °

- Start & Stop

1.4 350 A1.000 10/05 5PK | 4 80000926 55217836...
+ Start & Stop

ex. AC 4PK | 3 80000930 55192966...

1.4 16V 843 A1.000 01/04 AC 5PK | 4 80000926 55217836...
+ Start & Stop

ex. AC 4PK | 3 80000930 55192966...

1.9J1D 188 B2.000 01/04 6PK | 5 80001159 73501275...
+ Start & Stop

6PK | 5 80004910 73501275...

I° ; Start & Stop

123



- Z a i il € OF
FIAT - Idea 01/04 -
1.9 JTD 188 B2.000 01/04 + CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50 olw
FIAT - Linea 06/07 -
1.3 D Multijet 199 A3.000 06/07 4PK | 345 80001145 55182506
+6PK <
1.4 350 A1.000 06/07 ex. AC 3PK | 243 80001148 71720588...
+4PK
AC 3PK | 2+4 = 80001150 55181200...
+5PK

FIAT - Marea / Weekend

09/96 - 02/03

1.2 16V 182 B2.000 10/98 - 05/02| ex. AC 3PK | 2+3 80001148 71720588...
+4PK
1.811516V 182 A2.000 09/96 - 05/02 6PK | 5 80000917 60815976...
1.9 JTD 105 182 B4.000 04/99 - 05/02 6PK | 5 80001159 73501275...
1.9JTD 110 186 A6.000 01/01 - 05/02
1.9TD 100 182 A7.000, 182 B9.000 |09/96 - 05/02
1.9TD 75 182 A8.000 09/96 - 05/02 + Start & Stop
6PK | 5 80004910 73501275...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
2.0 150 20V 182 A1.000, 185 A8.000 |09/96 - 05/02 6PK | 5 80000921 7787889...
2.0 155 20V 182 B7.000 04/99 - 02/03
2.4 JTD 130 185 A6.000, 839 A5.000 |04/99 - 05/02 6PK | 5 80001142 71747796...
2.4TD 125 185 A2.000 09/96 - 04/99 6PK | 5 80001142 71747796...

FIAT - Multipla

04/99 - 06/10

186 A9.000

04/02 - 06/10

M: 5344781 ->

80001159

+ Start & Stop

73501275...

M: 5344781 -> 6PK | 5 80004910 73501275...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
1.9 JTD 105 182 B4.000 04/99 - 06/10 6PK | 5 80001159 73501275...
1.9JTD 110 186 A6.000 03/01 - 07/02
+ Start & Stop
6PK | 5 80004910 73501275...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
1.9JID 115 186 A8.000 07/02 - 06/10f M: 5344781 -> 6PK | 5 80001159 73501275...

- Start & Stop

124




o

04/99 -

06/10

OE

FIAT - Multipla

1.9JTD 115

FIAT - Palio / Weekend

186 A8.000

04/96 - 02/01
178 B5.000

07/02 - 06/10

04/96 - 02/01

M: 5344781 ->

6PK

+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50

Servo / ex. AC

3PK

2+3

80004910

+ Start & Stop

80004884

80000924

73501275...

7778028...

+4PK
ex. Servo / ex. AC 4PK | 3 80000925 73502725...
1.2 178 C4.066, 188 A4.000 |02/01 ex. Servo 4PK | 3 80000922 46744318
Servo / ex. AC 6PK | 5 80000923 55184019...
ex. Servo / ex. AC 4PK | 3 80000925 73502725...
ex. AC / ex. Servo / -> 07/04 4PK | 3 80000928 73502725...
1.9D 223 A6.000 03/01 M: 2346957 -> / ex. AC 6PK | 5 80001144 55190581...
@
AC 6PK | 5 O 80001159 73501275...
N + Start & Stop
AC 6PK | 5 80004910 73501275...
8,

FIAT - Panda Il

09/03 -

+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50

+ Start & Stop

80004884

1.1 187 A1.000 09/03 M: 1707351 -> / AC/ 5PK | 4 80000929 55181186...
-> M: 2533528
ex. AC / M: 2533528 -> M: 4PK | 3 80000930 55192966...
2888158
ex. AC / M: 2888158 -> 4PK | 3 80000933 55202554
M: 2888158 -> / AC 5PK | 4 80000934 55205471...
1.2 188 A4.000 09/03 -> M: 2533528 / ex. AC 4PK | 3 80000928 73502725...
AC/-> M: 2533528 5PK | 4 80000929 55181186...
ex. AC 4PK | 3 80000933 55202554
AC 5PK | 4 80000934 55205471...

125



o Z g i I o] OE
FIAT - Panda Il  09/03 -
1.3 D Multijet 188 A8.000, 188 A9.000 09/03 6PK | 5 80001143 55200498...
1.3 D Multijet 4x4 188 A8.000, 188 A9.000 [10/04
+ Start & Stop
1.4 169 A3.000 10/06 5PK | 4 80000926 55217836...

FIAT - Punto | Cabriolet

04/94 - 06/00

FIAT - Punto | 09/93 - 09/99
1.2 16V 176 B9.000 04/97 - 09/99] Servo / ex. AC 3PK | 2+3 80000924 7778028...
4Pk @

551.1 176 A6.000, 176 B2.000 [09/93 - 09/99] ex. Servo / ex. AC 4PK | 3 80000925 73502725...
601.2 176 A7.000 01/94 - 09/99
60 1.2 176 B1.000, 176 B4.000 |03/94 - 09/99| Servo / ex. AC 3PK | 2+3 80000924 7778028...
751.2 176 A8.000 10/93 - 09/99 +4PK e

ex. Servo / ex. AC 4PK | 3 80000925 73502725...

FIAT - Punto Il
1.2 16V 80

FIAT - Punto | Van

09/99 -

04/96 - 02/00

176 B2.000

188 A5.000

ex. Servo / ex. AC

. AC/-> M: 0804022

80000925

80000925

60 1.2 176 A7.000 04/94 - 06/00 4PK | 3 80000925 73502725...

60 1.2 176 B1.000, 176 B4.000 |05/95 - 06/00| Servo / ex. AC 3PK | 243 80000924 7778028...
+4PK

ex. Servo / ex. AC 4PK | 3 80000925 73502725...

73502725...

73502725...

ex. AC / M: 0804022 -> 4PK | 3 80000928 73502725...
AC / Driver Position: RHD / 4PK | 3 80001425 55181190
M: 0804022 ->

1.2 60 188 A4.000 09/99 -> M: 1715697 / ex. AC 4PK | 3 80000925 73502725...
M: 1715697 -> / ex. AC 4PK | 3 80000928 73502725...
AC/-> M: 2533528 5PK | 4 80000929 55181186...
AC / M: 2935743 -> 5PK | 4 80000934 55205471...
AC / Driver Position: RHD / 4PK | 3 80001425 55181190
M: 1715697 ->

1.2 Natural Power 188 A4.000 09/03 ex. AC / M: 2935743 -> 4PK | 3 80000933 55202554

126




= Z a i il € OF
FIAT - Punto Il  09/99 -
1.2 Natural Power 188 A4.000 09/03 AC / Driver Position: RHD / 4PK | 3 80001425 55181190
M: 1715697 ->
1.4 843 A1.000 09/03 5PK | 4 80000926 55217836...
+ Start & Stop
ex. AC 4PK | 3 80000930 55192966...
1.8 130 HGT 183 A1.000, 188 A6.000 09/99 6PK | 5 80000917 60815976...
1.9 DS 60 188 A3.000 09/99 6PK | 5 80001144 55190581...
1.9JTD 188 A7.000 10/01 6PK | 5 80001159 73501275...
1.9 JTD 80 188 A2.000 09/99
+ Start & Stop
6PK | 5 80004910 73501275...

FIAT - Punto Il Van

02/00 - 10/09

+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50

+ Start & Stop
80004884

1.2 60 188 A4.000 02/00 - 10/09] -> M: 1715697 / ex. AC 4PK | 3 80000925 |  73502725...
M: 1715697 -> / ex. AC 4PK | 3 80000928 |  73502725...
AC/-> M: 2533528 5PK | 4 @ 80000929 | 55181186...
AC / Driver Position: RHD / 4K | 3 80001425 55181190
M: 1715697 -> @
1.9D 60 188 A3.000 02/00 - 10/09 6PK | 5 @ 80001144 |  55190581...
1.9 JTD 188 A7.000 02/00 - 10/09 6PK | 5 Q 80001159 |  73501275...
\ + Start & Stop
&PK | 5 Q 80004910  73501275...
N + Start & Stop
+ CORTECO Nr: 80001159 / - 80004884
D @: M16x1,5x70 / M8x50 olw
FIAT - Scudo | 02/96 - 12/06
1.9D D98 02/96 - 12/06| A @: 156 80000352 | 9608938980

A@: 156

6PK

80001995

9608938980

+ CORTECO Nr: 80000352 /
D @: M14x1,5x70

opo

80001240

127



o Bl g i Mkl OE
FIAT - Scudo |  02/96 - 12/06
19D WJY (DW8B), WJZ (DW8) |04/98 - 12/06 6PK | 5 e 80000707 | 9637218980...
6PK | 5 0 80004334 | 9637218980...
o

+ CORTECO Nr: 80000707 / - 80001254
D @: M14x1,5x70 / 14,5x39,7x8 / ORf »
Méx20 ° 11}

1.9TD D8B, DHX (XUD9TF/L)  |02/96 - 12/06| A @: 156 6PK | 5 ~'80000352| 9608938980

1.9 7D Eco DHX (XUD9TF/L) 02/96 - 12/06 °
AD: 156 6PK | 5 80001995 9608938980
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /=

2.0 JTD RHX 12/99 - 12/06| 12/04 -> / A @: 158 6PK | 5 ‘ 80000598 | 9651770980...
>11/04/AD: 162 6PK | 5 c 80000873 | 9681761480...
S11/04 /A D: 162 &PK | 5 I 80001811| 9681761480...
12/04 > /A @: 158 &PK | 5 I 80004328 | 9651770980...
+ CORTECO Nr: 80000873 / - 80001240
+ CORTECO Nr: 80000598 /
D @: M14x1,5x70 °

2.0JTD RHZ 12/99 - 12/06| 12/04 -> / A @: 158 6PK | 5 ‘ 80000598 | 9651770980...
S11/04/AD: 162 6PK | 5 ° 80000873 | 9681761480...
S 11/04/AD: 162 6PK | 5 l 80001811| 9681761480...
12/04 > /A @: 158 6PK | 5 l 80004328 9651770980...
+ CORTECO Nr: 80000598 / 1 - 80001240
+ CORTECO Nr: 80000873 /
D @: M14x1,5x70 °

2.0 JTD RHZ 12/02 - 12/06| 12/04 -> / A @: 158 6PK | 5 ‘ 80000598 | 9651770980...
S 11/04/AD: 162 6PK | 5 ° 80000873 | 9681761480...
S11/04/AD: 162 &PK | 5 I 80001811| 9681761480...
12/04 > /A @: 158 6PK | 5 I 80004328 | 9651770980...

128




o

FIAT - Scudo |

2.0JTD

1.6 D Multijet

FIAT - Sedici

FIAT - Stilo

FIAT - Scudo Il

1.9 D Multijet 4x4

01/07 -

06/06 -

10/01 - 11

02/96 - 12/06

RHZ

9HO7 (DV6UC),
9HM (DV6UC), 9HU

188 A5.000

3

12/02 - 12/06

02/02 - 11/06

I

+ CORTECO Nr: 80000598 /
+ CORTECO Nr: 80000873 /
D @: M14x1,5x70

B oo

80001240

80000682

+ Start & Stop

6PK

80004330

80001159

+ Start & Stop

-> M: 5452963

6PK

80004910

+ Start & Stop

M: 5452964 ->

6PK

80004910

+ Start & Stop

9654961080

OE

73501275...

73501275...

73501275...

-> M: 5452963 / - 80004884
+ CORTECO Nr: 80001159 /

D @: M16x1,5x70 / M8x50

M: 5452964 -> / - 80004886

+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26

-> M: 0804022 / ex. AC

80000925

73502725...

ex. AC / M: 0804022 -> 4PK 80000928 73502725...
1.4 16V 192 B2.000, 843 A1.000 |01/04 - 11/06 5PK 80000926 55217836...
+ Start & Stop
ex. AC 4PK @ 80000930 55192966...
1.8 16V 192 A4.000 10/01 - 11/06 6PK ’ 80000917 60815976...
1.9 D Multijet 192 A8.000, 192 A9.000, |09/05 - 11/06] AC 6PK 80001159 73501275...
937 A5.000 O
: + Start & Stop
AC 6PK Q 80004910 73501275...
N + Start & Stop
+ CORTECO Nr: 80001159 / - 80004884
D @: M16x1,5x70 / M8x50 olm
1.9JTD 192 A5.000 01/04 - 11/06 6PK 80001159 73501275...
@ + Start & Stop
6PK 80004910 73501275...
X )

+ Start & Stop

+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50

o
Qe
&

80004884

129



o

¢
2

3

B oo

OE

FIAT - Stilo  10/01 - 11/06
1.9 JTD 192 A1.000, 192 A3.000, 110/01 - 11/06] AC 6PK 5 80001159 73501275...
937 A7.000
+ Start & Stop
AC 6PK | 5 80004910 73501275...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
2.4 20V 192 A2.000 10/01 - 11/06 6PK | 5 80000921 7787889...

FIAT - Stilo Multi Wagon

01/03 - 08/08

1.4 16V 192 B2.000, 843 A1.000 |01/04 - 08/08 5PK | 4 80000926 55217836...
+ Start & Stop
ex. AC 4PK | 3 80000930 55192966...
1.9 D Multijet 192 A8.000, 192 A9.000, 09/05 - 08/08| AC 6PK | 5 80001159 73501275...
937 A5.000
1.9JTD 192 A1.000, 192 A3.000, |01/03 - 08/08
937 A7.000 + Start & Stop
AC 6PK | 5 80004910 73501275...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
1.9 JTD 192 A5.000 01/04 - 08/08 6PK | 5 80001159 73501275...
+ Start & Stop
6PK | 5 “ 80004910 73501275...
N + Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50 olm
FIAT - Strada 06/99 -
1.2 178 B5.000 06/99 -> M: 1715697 / Servo / ex. AC 3PK | 243 80000924 7778028...
oK @
ex. AC / ex. Servo / -> M: 1715697 | 4PK | 3 80000925 73502725...
M: 1715697 -> / ex. AC / 4PK | 3 80000928 73502725...
ex. Servo / -> M: 2546254
-> M: 2935743 / ex. Servo / 4PK | 3 80000930 55192966...
M: 2546254 -> / ex. AC @
ex. AC / M: 2935743 -> / ex. Servo | 4PK | 3 9 80000933 55202554
-> M: 2935743 / Servo / ex. AC 3PK | 243 80001148 71720588...
M: 2935743 -> / Servo / AC 3PK | 243 @ 80001149 55203502
+4PK

130




P Z a ; Tl € O
FIAT - Strada 06/99 -
1.2 178 B5.000 06/99 AC / M: 1715697 -> M: 2935743 | 4PK | 3 80001425 55181190
1.2 188 A4.000 04/03 -> 07/04 / ex. Servo 4PK | 3 80000922 46744318
-> 07/04 / Servo / ex. AC 6PK | 5 80000923 55184019...
M: 1715697 -> / ex. AC / ex. Servo | 4PK | 3 80000928 73502725...
ex. Servo / ex. AC 4PK | 3 80000930 55192966...
07/04 -> / AC / Servo 4PK | 3 80001425 55181190
1.3 D Multijet 223 A9.000 05/06 4PK | 345 80001145 55182506
+6PK
S/
1.9D 223 A6.000 12/00 6PK | 5 80001159 73501275...
1.9JTD 188 A2.000 04/03
+ Start & Stop
6PK | 5 “ 80004910 73501275...
N - Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50 olm
FIAT - Ulysse | 02/95 - 08/02
1.9TD DHX (XUD9TF/L) 02/95 - 08/02| A @: 156 6PK | 5 ° 80000352 9608938980
AD: 156 6PK | 5 80001995 9608938980
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70 /
2.0JTD RHZ 10/99 - 08/02| A @: 162 6PK | 5 ° 80000873 9681761480...
AD: 162 6PK | 5 I 80001811 9681761480...
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70 /=

FIAT - Ulysse Il
2.0JTD

08/02 - 06/11
RHW (DW10ATED4)

08/02 - 08/06

12/04 -> /A @: 158 6PK | 5 80000598 | 9651770980...
->11/04/AQD: 162 6PK | 5 80000873 | 9681761480...
->11/04/AQD: 162 6PK | 5 80001811 | 9681761480...

131



i il € OE

FIAT - Ulysse Il 08/02 - 06/11

2.0 JTD RHW (DW10ATEDA) 08/02 - 08/06| 12/04 -> / A @: 158 6PK| 5 l 80004328| 9651770980...
+ CORTECO Nr: 80000873 / R 80001240
D @: M14x1,5x70 /
+ CORTECO Nr: 80000598 / N 80001240
D @: M14x1,5x70 /
2.2 D Mulfijet 4HS, 4HT (DW12BTED4) |03/08 - 06/11|A @: 158 6PK | 5 80001238

AD: 158 6PK | 5 @ P ﬁ
@; 49359583
2.2 JTD 4HW (DW12ATED4) 08/02 - 08/06| 12/04 -> / A @: 158 6PK | 5 Q 80000598 | 9651770980...
> 11/04 /A D: 162 6PK | 5 c 80000873 | 9681761480...
> 11/04/AD: 162 6PK | 5 I 80001811 | 9681761480...
12/04 -> /A @: 158 6PK | 5 I 80004328 9651770980...
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000598 / - - 80001240
D @: M14x1,5x70 /=
2.2 JTD 4HP, 4HR 03/08 - 06/11| A @: 158 6PK | 5 80001238

A@:158 6PK | 5 ﬁ
49359583
ORD - B-Ma 0
1.5 TDCi UGJC, XVJA, XVIC 10/12 6PK | 5 80000682 | AVQ6 6B319 AA...
1.6 TDCi T3JB 10/12
+ Start & Stop
6PK| 5 80004330 | AVQ6 6B319 AA...

FORD - C-Max 02/07

1.6 TDCi G8DC, MTDA 02/07 - 09/10 6PK | 5 80000597 | 3M5Q 6B319 CC...
+ Start & Stop

12/09 -> 6PK | 5 80000682 | AVQ6 6B319 AA...
+ Start & Stop

6PK | 5 80001812 | 3M5Q 6B319 CC...
+ Start & Stop

12/09 -> 6PK | 5 80004330 | AVQ6 6B319 AA...

0000900

- Start & Stop

132



o ] i VI o OE
FORD - C-Max 02/07 - 09/10

1.6 TDCi G8DC, MTDA 02/07 - 09/10] + CORTECO Nr: 80000682 / - -
+ CORTECO Nr: 80000597 /
D @: M12x1,5x50

80001247

1.6 TDCi G8DA, G8DB, G8DD, 02/07 - 09/10 6PK | 5
GPDA, HHDA, HHDB

80000597 | 3M5Q 6B319 CC...

- Start & Stop

80000682 | AVQ6 6B319 AA...

- Start & Stop

80001812 | 3M5Q 6B319 CC...

12/09 -> 6PK | 5

6PK | 5

+ Start & Stop

80004330 | AVQ6 6B319 AA...

|

12/09 -> 6PK | 5

+ Start & Stop
80001247

+ CORTECO Nr: 80000597 / - -
+ CORTECO Nr: 80000682 /
D @: M12x1,5x50

1.8 QQDA, QQDB, QQDC  |02/07 - 09/10 5PK | 445 80005278 5227821...
1.8 Flexifuel Q7DA 02/07 - 09/10 +6PK
1.8 TDCi KKDA 02/07 - 09/10| A @: 146 6PK 5 80001292 | 4M5Q 6B319 EA...

2.0 AODA, AODB, AODE, 02/07 - 09/10 5PK | 445 . 80005278 5227821...
SYDA +6PK

2.0 CNG SYDA 04/09 - 09/10

2.0 LPG SYDA 06/08 - 09/10

6PK | 5 ﬁ 9M5Q 6B319 AA...
49363329

2.0 DCi G6DA, G6DB, G6DD, _|02/07 - 09/10 oK | 5 80004382 | IM5Q 68319 AA...
G6DG, IXDA °
~e

+ CORTECO Nr: 80004382 / N 80001240
D @: M14x1,5x70 /

FORD - C-Max Il 12/1
1.0 EcoBoost M1DA, M2DA, SFDA 10/12 6PK | 5 80005014 | CM5G 6316 HB...

1.5 TDCi XWDA, XWDB, XXDA 03/15 6PK | 5
1.5 TDCi ECOnetic AEDA 03/15

80000682 | AVQ6 6B319 AA...

80004330 | AVQ6 6B319 AA...

6PK | 5

+ Start & Stop

)
1.6 EcoBoost JQDA, JQDB, JTDA, JTDB [12/10 AQ: 87 6PK | 5 Q 80001112 | 8A6G 6B321 AC...
; Start & Stop
Q@

1.6 TDCi T1DA, T1DB 12/10 6PK | 5 80000682 | AVQ6 6B319 AA...

+ Start & Stop
80004330 | AVQ6 6B319 AA...

6PK | 5

+ Start & Stop
80001247

+ CORTECO Nr: 80000682 / - -
D @: M12x1,5x50

133



o ] i Ml € OE
FORD - C-Max Il 12/10 -

1.6 TDCi T3DA, T3DB 12/10 6PK 5 \ 80000682 | AVQ6 6B319 AA...
@ + Start & Stop

6PK | 5 Q 80004330 | AVQ6 6B319 AA...
+ Start & Stop

1.6Ti IQDA, IQDB, PNDA, XTDA[12/10 AQ: 87 6PK 5 80001112 | 8A6G 6B321 AC...
+ Start & Stop

2.0 TDCi TXDB, TYDA, UFDB 12/10 6PK 5 80004382 | 9M5Q 6B319 AA...

FORD - Cougar
2.0 16V

FORD - Ecosport
1.5 TDCi

10/1

08/98 - 12/01

EDBA, EDBB, EDBC, EDBD

UGIJE, XVID

08/98 - 12/01

10/13

6PK | 5

49363329

ﬁ I9M5Q 6B319 AA...

+ CORTECO Nr: 80004382 / - -

D @: M14x1,5x70

6PK | 5

6PK | 5

80001240

80001290

80000682

o6

+ Start & Stop

FORD - L 200 04/00 -
1.8 DI

RTN, RTP RTQ

04/00 - 01/02

6PK | 5

80004330

9

+ Start & Stop
FORD - Escort VI / Turnier 09/92 - 01/95

1.6i16V L1E, L1K 09/92 - 01/95 6PK | 5 80001290
1.8 16V XR3i RQB 09/92 - 01/95
1.8i16V RDA, RQB 09/92 - 01/95

ORD o) abriole 9 01/9
1.6 16V XR3i L1E 12/92 - 01/95 6PK| 5 80001290
1.8 16V XR3i RQB 12/92 - 01/95
FORD - Escort VII / Turnier 01/95 - 02/99
1.6 16V L1E 01/95 - 02/99 6PK | 5 80001290
1.6 16V L1E, L1K 01/95 - 02/99
1.8 16V RDA 01/95 - 08/95

ORD o) abriole 02/9 08/00
1.6 16V XR3i L1E 02/95 - 09/99 6PK | 5 80001290
1.8 16V XR3i RKC, RQB 02/95 - 08/00

928M 6B320 DF..

AVQ6 6B319 AA...

AVQ6 6B319 AA...

928M 6B320 DF..

928M 6B320 DF..

928M 6B320 DF..

928M 6B320 DF..

FORD - Fiesta Il 03/89 - 12/95

1.6 LUH 03/89 - 12/92
1.8 16V RDB 02/92 - 12/95
1.8 XR2i 16V RQC 02/92 - 12/95

6PK | 5 80001133 | XS4Q 6B319 FD...
6PK | 5 80004903 | XS4Q 6B319 FD...
+ CORTECO Nr: 80001133 / - - 80004902

D @: M14x1,5x85

0]/00]016]16]6

80001290

928M 6B320 DF..

134



i il € OE

80001133 | XS4Q 6B319 FD...

FORD - Fiesta IV 03/00 - 08/03
TD 1.8 RTN, RTP RTQ 03/00 - 08/03, 6PK | 5

6PK | 5 80004903 | XS4Q 6B319 FD...

+ CORTECO Nr: 80001133 / - -
D @: M14x1,5x85

80004902

/00

ORD esta 0 06/08
1.25 16V FUJA, FUJB, M7JA, M7JB |05/02 - 06/08 6PK | 5 80001428 | 2S6G 6B321 AA...
1.4 16V FXJA, FXJB 11/01 - 06/08
1.4 TDCi F6JA, F6JB 11/01 - 06/08 6PK | 5 80000597 | 3M5Q 6B319 CC...
+ Start & Stop
6PK | 5 80001812 | 3M5Q 6B319 CC...
+ Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50
1.6 16V FYJA, FYJB 11/01 - 06/08 6PK | 5 80001428 | 256G 6B321 AA...
1.6 TDCi HHIA, HHJB 11/04 - 06/08 6PK | 5 80000597 | 3M5Q 6B319 CC...

+ Start & Stop
80001812 | 3M5Q 6B319 CC...

6PK | 5

+ Start & Stop
80001247

+ CORTECO Nr: 80000597 / - -
D @: M12x1,5x50

»00

FORD - Fiesta VI 06/08 -

1.25 SNJA, SNJB, SNJC, SNJD, |06/08 AQ: 87 80001112 | 8A6G 6B321 AC...
STIA, STIB Q
1.4 SPJA, SPJC 06/08
1.4 LPG RTJA, RTJB 01/09
1.4 TDCi F6JB 01/09 6PK | 5 ‘ 80000597 | 3M5Q 6B319 CC...
_ Start & Stop
12/09 -> 6PK | 5 . 80000682 | AVQ6 6B319 AA...
@ - Start & Stop
6PK | 5 80001812 | 3M5Q 6B319 CC...
+ Start & Stop
12/09 -> 6PK | 5 = 80004330 | AVQ6 6B319 AA...
+ Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247
+ CORTECO Nr: 80000682 /
D @: M12x1,5x50
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 ‘
1.4 TDCi F6JD, KVJA 07/10 6PK | 5 \ 80000682 | AVQ6 6B319 AA...
1.5 TDCi UGIJC, XVIB, XVIJC 09/12 @

; Start & Stop

135



o ] g i VI o OE
ORD esta 06/08
1.4 TDCi F6JD, KVIA 07/10 6PK | 5 80004330 | AVQ6 6B319 AA...
1.5TDCi UGIJC, XVIJB, XVIC 09/12 Q
+ Start & Stop
1.6 TDCi HHJF, UBJA 06/08 12/09 -> 6PK | 5 \ 80000682 | AVQ6 6B319 AA...
@ + Start & Stop
12/09 -> 6PK | 5 = 80004330 | AVQ6 6B319 AA...
- Start & Stop
D @: M12x1,5x50 - - . 80001247
1.6 TDCi HHJC, HHID, HHJE 06/08 6PK | 5 ‘ 80000597 | 3M5Q 6B319 CC...
- Start & Stop
12/09 -> 6PK | 5 . 80000682 | AVQ6 6B319 AA...
@ - Start & Stop
6PK | 5 80001812 | 3M5Q 6B319 CC...
+ Start & Stop
12/09 -> 6PK | 5 = 80004330 | AVQ6 6B319 AA...
+ Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247
+ CORTECO Nr: 80000682 /
D @: M12x1,5x50
1.6 TDCi HHJC, HHJD, HHJE 01/09 12/09 -> 6PK 5 \ 80000682 | AVQ6 6B319 AA...
@ - Start & Stop
12/09 -> 6PK | 5 = 80004330 | AVQ6 6B319 AA...
_ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 ‘
1.6 TDCi T3JA, TZJA, TZIB 02/10 6PK | 5 \ 80000682 | AVQ6 6B319 AA...
@ + Start & Stop
6PK | 5 s 80004330 | AVQ6 6B319 AA...
+ Start & Stop
1.6Ti HXJA, HXJB 06/08 A©@: 87 6PK | 5 Q 80001112 | 8A6G 6B321 AC...
FORD - Focus C-MAX 10/03 - 03/07
1.6 TDCi G8DA, G8DB, HHDA, 10/03 - 03/07 80000597 | 3M5Q 6B319 CC...
HHDB ‘
+ Start & Stop
1.8 CSDA, CSDB, Q7DA, 10/03 - 03/07 5PK | 445 80005278 5227821...
QQDA, QQDB, QQADC +6PK 0
1.8 Flexifuel Q7DA 01/06 - 03/07
1.8 TDCi KKDA 01/05 - 03/07| A @: 146 6PK | 5 @ 80001292 | 4M5Q 6B319 EA...
2.0 AODA, AODB, SYDA 03/04 - 03/07 5PK | 445 . 80005278 5227821...
+6PK O

136



o

FORD - Focus C-MAX

¢
2

10/03 - 03/07

OE

2.0 TDCi

FORD - Focus | / Turnier
1.4 16V

G6DA, G6DB, G6DD,
G6DG

10/98 - 11/04
FXDA, FXDB, FXDC, FXDD

10/03 - 03/07

10/98 - 11/04

6PK | 5

80004382 | 9M5Q 6B319 AA...

6PK | 5

ﬁ IM5Q 6B319 AA...

49363329

+ CORTECO Nr: 80004382 /
D @: M14x1,5x70

03/02 ->

80001240

80001428 | 256G 6B321 AA...

FORD - Focus Il / Turnier 07/04 - 09/12
1.4

ASDA, ASDB

07/04 - 09/12

12/07 -> /A @: 138

80001195

4M5G 6B321 ZB...

1.6 HWDA, HWDB, SHDA, 07/04 - 09/12 +6PK
SHDB, SHDC
1.6 TDCi G8DC, MTDA 07/04 - 09/12} 12/09 -> 6PK | 5 80000682 | AVQ6 6B319 AA...
+ Start & Stop
12/09 -> 6PK | 5 80004330 | AVQ6 6B319 AA...
- Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D &: M12x1,5x50
1.6 TDCi GPDA, GPDC, HHDA, 07/04 - 09/12 6PK | 5 80000597 | 3M5Q 6B319 CC...

HHDB

T.616V FYDA, FYDB, FYDC, FYDD, 10/98 - 11/04
FYDH
1816V EYDB, EYDC, EYDD, EYDE, 10/98 - 11/04 6PK | 5 80001290 | 928M 6B320 DF...
EYDF, EYDG, EYDI, EYDJ,
EYDL
1.8 DI/ TDDi BHDA, BHDB 08/99 - 11/04 6PK | 5 ‘ 80001133 | X54Q 6B319 FD...
6PK | 5 ' 80004903 | X54Q 6B319 FD...
+ CORTECO Nr: 80001133 / - 80004902
D @: M14x1,5x85 \
1.8 TDCi FODA, F9DB, FFDA 03/01 - 11/04]-> 01/04 / A @: 153 7PK | 6 ' 80000833 | 154Q 6B319 AF...
03/04 -> / A D: 146 6PK | 5 @ 80001292 | 4M5Q) 6B319 EA...
1.8 Turbo DI / TDDi C9DA, C9DB, C9DC 10/98 - 11/04 6PK | 5 ‘ 80001133 | X54Q 6B319 FD...
6PK | 5 . 80004903 | X54Q 6B319 FD...
+ CORTECO Nr: 80001133 / - 80004902
D @: M14x1,5x85 \
1.8 Turbo DI / TDDi C9DA, C9DB, C9DC 02/99 - 11/04 6PK | 5 ‘ 80001133 | XS4Q 6B319 FD...
(2)

- Start & Stop

137



o E g i VI o] OE

FORD - Focus Il / Turnier 07/04 - 09/12

1.6 TDCi GPDA, GPDC, HHDA, 07/04 - 09/12} 12/09 -> 6PK | 5 80000682 | AVQ6 6B319 AA...
HHDB
+ Start & Stop
6PK | 5 80001812 | 3M5Q 6B319 CC...
+ Start & Stop
12/09 -> 6PK | 5 80004330 | AVQ6 6B319 AA...

+ Start & Stop
80001247

+ CORTECO Nr: 80000597 / - -
+ CORTECO Nr: 80000682 /
D @: M12x1,5x50

1.6 TDCi G8DA, G8DB, G8DD, 07/04 - 09/12 6PK | 5 80000597 | 3M5Q 6B319 CC...
G8DE, G8DF
+ Start & Stop
12/09 -> 6PK | 5 80000682 | AVQ6 6B319 AA...
+ Start & Stop
6PK | 5 80001812 | 3M5Q 6B319 CC...
- Start & Stop
->12/09 6PK | 5 80004330 | AVQ6 6B319 AA...
_ Start & Stop
12/09 -> 6PK | 5 80004330 | AVQ6 6B319 AA...

+ Start & Stop
80001247

+ CORTECO Nr: 80000597 / - -
+ CORTECO Nr: 80000682 /
D @: M12x1,5x50

1.6 TDCi G8DA, G8DB, G8DD,  |01/05 - 09/12 6PK | 5
G8DE, G8DF, GPDA,
GPDB, GPDC, HHDA,

80000597 | 3M5Q 6B319 CC...

HHDB + Start & Stop
12/09 -> 6PK | 5 80000682 | AVQ6 6B319 AA...
+ Start & Stop
6PK | 5 80001812 | 3M5Q 6B319 CC...
+ Start & Stop
12/09 -> 6PK | 5 80004330 | AVQ6 6B319 AA...
+ Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247
+ CORTECO Nr: 80000682 /
D @: M12x1,5x50
1.6 TDCi G8DA, G8DC, MTDA 04/05 - 09/12}12/09 -> 6PK | 5 80000682 | AVQ6 6B319 AA...
+ Start & Stop
12/09 -> 6PK | 5 80004330 | AVQ6 6B319 AA...
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D &: M12x1,5x50
1.6Ti HXDA, HXDB 07/04 - 09/12}12/07 -> / AD: 138 5PK | 445 80001195 | 4M5G 6B321 ZB...
+6PK
1.8 Q7DA, QQDB 03/06 - 09/12 5PK | 445 80005278 5227821...
1.8 Flexifuel Q7DA 12/05 - 09/12 +6PK

cBr¥00+00004+000004,000

138



o E g i VI o] OE

FORD - Focus Il / Turnier 07/04 - 09/12

1.8 TDCi KKDA, KKDB 07/04 - 09/12| A @: 146 6PK | 5 80001292 | 4M5Q 6B319 EA...
2.0 AODA, AODB, AODE,  |07/04 5PK | 445 80005278 5227821...
SYDA +6PK
2.0 CNG SYDA 04/09 - 07/11
2.0 Flex 10/08
2.0 LPG SYDA 06/08 - 07/11
2.0 TDGi G6DA, G6DB, G6DD,  |07/04 - 09/12 6PK | 5 80004382 | 9M5Q 6B319 AA...
G6DE, G6DF, IXDA
6PK | 5 ﬁ 9M5Q 6B319 AA...
49363329
+ CORTECO Nr: 80004382 / - - 80001240
D @: M14x1,5x70
FORD - Focus Il Cabriolet 10/06 - 07/11
1.6 HWDA, HWDB, SHDA,  |10/06 - 07/11| A @: 138 5PK | 4+5 80001195 | 4M5G 6B321 ZB...
SHDB, SHDC +6PK e
2.0 AODA, AODB 10/06 - 07/11 5PK | 445 . 80005278 5227821...
+6PK '
2.0 TDCi G6DA, G6DB, G6DD 10/06 - 07/11 6PK | 5 ° 80004382 | IM5Q 6B319 AA...
6PK | 5 ‘ T IM5Q 6B319 AA...
T 19363329
[-]
+ CORTECO Nr: 80004382 / - - 80001240
D @: M14x1,5x70 /=
FORD - Focus lll / Turnier 07/10 -
1.0 EcoBoost M1DA, M2DA 02/12 6PK | 5 i 80005014 | CM5G 6316 HB...
1.5 TDCi XWDA, XWDB, X\WDC,  |09/14 6PK | 5 80000682 | AVQ6 6B319 AA...
XWDD, XXDA, XXDC )
1.5 TDCi ECOneic XXDB 09/14
+ Start & Stop
6PK | 5 H 80004330 | AVQ6 6B319 AA...
+ Start & Stop
1.6 EcoBoost JTDA, JTDB 07/10 AQD: 87 6PK | 5 Q 80001112 | 8A6G 6B321 AC...
+ Start & Stop
1.6 TDCi TI1DA, T1DB 07/10 6PK | 5 N 80000682 | AVQ6 6B319 AA...
@ + Start & Stop
6PK | 5 H 80004330 | AVQ6 6B319 AA...
+ Start & Stop
+ CORTECO Nr: 8000682 / - - 80001247
D @: M12x1,5x50 ‘
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 *
1.6 TDCi NGDA, NGDB, T3DA,  |07/10 6PK | 5 N 80000682 | AVQ6 6B319 AA...
T3DB
1.6 TDCi ECOnetic NGDA, NGDB 05/12 @
; Start & Stop

139



ca 2 g i Ml €3 OE
FORD - Focus Ill / Turnier 07/10 -
1.6 TDCi NGDA, NGDB, T3DA, 07/10 6PK | 5 80004330 | AVQ6 6B319 AA...

T3DB
1.6 TDCi ECOnetic NGDA, NGDB 05/12

1.6Ti IQDB, PNDA, XTDA 07/10 A@: 87 6PK | 5 80001112 | 8A6G 6B321 AC...

+ Start & Stop

+ Start & Stop

2.0 TDCi TXDB, TYDA, UFDB 07/10 6PK | 5 80004382 | IM5Q 6B319 AA...
6PK | 5 ﬁ 9M5Q 6B319 AA...

49363329

+ CORTECO Nr: 80004382 / - - 80001240

D @: M14x1,5x70

ORD on 08/0
1.25 FUJA, FUJB 08/04 - 12/12 6PK | 5 80001428 | 256G 6B321 AA...
14 FXJA, FXJB, FXIC 08/02 - 12/12
1.4 TDCi F6JA, F6IB 08/02 - 07/05 6PK | 5 ‘ 80000597 | 3M5Q 6B319 CC...
+ Start & Stop
6PK | 5 80001812 | 3M5Q 6B319 CC...
+ Start & Stop
+ CORTECO Nr: 80000597 / : - 80001247
D @: M12x1,5x50 *
1.6 FYJA, FYJB, FYJC 08/02 - 11/08 6PK | 5 80001428 | 256G 6B321 AA...
1.6 TDCi HHJA, HHJB 11/04 - 12/12 6PK | 5 80000597 | 3M5Q 6B319 CC...

+ Start & Stop
80001812 | 3M5Q 6B319 CC...

6PK | 5

+ Start & Stop
80001247

+ CORTECO Nr: 80000597 / - -
D @: M12x1,5x50

FORD - Galaxy | 03/95 - 05/06
1.9 TDI 1Z, AHU, ANU 03/95 - 05/06| -> 03/00 6PK| 5

80000204 | 95VW 6B321 CB...

04/00 -> 08/03 6PK | 5 80000394 | YM21 6B320 AA...

08/03 -> 6PK | 5 80000543 | 3M21 6B320 AA...

+ Start & Stop

->03/00 6PK | 5 . 80004333 | 95VW 6B321 CB...

08/03 -> 6PK | 5 80004922 | 3M21 6B320 AA...

+ Start & Stop
80004980 | YM21 6B320 AA...

->08/03 6PK | 5

140



o

I

OE

FORD - Galaxy | 03/95 - 05/06
1.9 TDI 1Z, AHU, ANU 03/95 - 05/06| + CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 A£.¥A
+ CORTECO Nr: 80000543 / - - 80004916
08/03 -> /
D @: M16x1,5x59 / M8x16 / N
M8x20 / M8x37
+ CORTECO Nr: 80000394 / - - 80004920
-> 08/03/
D @: M16x1,5x54 / M8x37 \
1.9 TDI AFN, AVG 08/97 - 04/00 6PK | 5 @ 80000204 | 95VW 6B321 CB...
6PK | 5 @ 80004333 | 95VW 6B321 CB...
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 4£‘¥£
1.9 TDI ASZ, AUY 04/00 - 05/06| -> 08/03 6PK | 5 ‘ 80000394 | YM21 6B320 AA...
08/03 -> 6PK | 5 ° 80000543 | 3M21 6B320 AA...
+ Start & Stop
6PK | 5 80004922 | 3M21 6B320 AA...
+ Start & Stop
-> 08/03 6PK | 5 g 80004980 | YM21 6B320 AA...
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 %
1.9 TDI BTB 05/05 - 05/06 6PK | 5 ° 80000543 | 3M21 6B320 AA...
+ Start & Stop
6PK | 5 80004922 | 3M21 6B320 AA...
- Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916

FORD - Galaxy Il

05/06 - 06/15

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

1.6 TDCi TIWA, TTWB 02/11 - 06/15 6PK | 5 \ 80000682 | AVQ6 6B319 AA...
@ - Start & Stop
6PK | 5 ’ 80004330 | AVQ6 6B319 AA...
+ Start & Stop
1.8 TDCi FFWA, QYWA 05/06 - 06/15| A &: 153 7PK | 6 ’ 80000833 | 154Q 6B319 AF..
2.0 AOWA, AOWB 05/06 - 06/15| A @: 146 6PK | 5 80001237 5227815...
2.0 EcoBoost TNWA 03/10 - 06/15 6PK | 5 80004336 | AG9G 6B319 AD...

141



= & 3 i i € OF
FORD - Galaxy Il 05/06 - 06/15
2.0 TDGi AZWA, AZWC, KLWA,  |05/06 - 06/15 6PK 80004382 | IM5Q 6B319 AA...
QXWA, QXWB, QXWC,
TXWA, TYWA, UFWA,
UKWA
6PK ‘ ﬁ IM5Q 6B319 AA...
ﬂ 49363329
(-]
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70 /
2.2 TDCi Q4BA, Q4WA 03/08 - 12/12| A @: 158 6PK 80001238
A©:158 6PK @ P ﬁ
© | 49359583
2.3 SEWA 09/07 - 06/15| A @: 163 5PK ) 80001701| 7G9G 6316 BA...
FORD - Grand C-Max 12/10 -
1.0 EcoBoost M1DA, M2DA, SFDA 10/12 6PK g 80005014 CM5G 6316 HB...
1.6 EcoBoost JQDA, JQDB, JTDA, JTDB [12/10 AD: 87 6PK Q 80001112 8A6G 6B321 AC...
- Start & Stop
1.6 TDCi T1DA, T1DB 12/10 6PK | | 80000682 AVQG6 6B319 AA...
@ - Start & Stop
6PK = 80004330 | AVQ6 6B319 AA...
+ Start & Stop
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 *
1.6Ti IQDA, IQDB, PNDA 12/10 AQ: 87 6PK Q 80001112 8A6G 6B321 AC...
- Start & Stop
2.0 TDGi TXDB, TYDA, UFDB, UKDB [12/10 6PK e 80004382 | IM5Q 6B319 AA...
6PK ‘ ﬁ 9M5Q 6B319 AA...
T 19363329
(-}
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70 /
FORD - Kuga 03/08 - 11/12
2.0 TDCi G6DG, UFDA, UKDA 03/08 - 11/12 80004382 | IM5Q 6B319 AA...
2.0 TDCi 4x4 G6DG, TXDA, UFDA, 03/08 - 11/12
UKDA
6PK ' ﬁ 9M5Q 6B319 AA...
T 19363329
(-]
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70 /=
FORD - Maverick Il 02/01 -
2.0 16V YF 02/01 . 80001290 | 928M 6B320 DF...




a g i Ml €3 OE
FORD - Mondeo | / Turnier 02/93 - 08/96

1.6 16V L1F 02/93 - 08/96 6PK | 5 80001290 | 928M 6B320 DF..

1.8i116V RKA 02/93 - 08/96

1.81 16V 4x4 RKA 02/93 - 08/96

2.0i16V NGA 02/93 - 08/96

FORD - Mondeo Il / Turnier 08/96 - 09/00

1.6i L1J 08/96 - 09/00 80001290 | 928M 6B320 DF...
1.8i RKB, RKF, RKH, RKJ, RKK  |08/96 - 09/00

2.0i NGA, NGB, NGC, NGD |08/96 - 09/00

FORD - Mondeo Il / Turnier 10/00 - 03/07

1.8 16V CGBA, CGBB, CHBA, 10/00 - 03/07) A @: 146 .| 80001237 5227815...
CHBB 3 p 3

2.0 16V CJBA, CJBB 10/00 - 03/07

2.0 16V DI/ TDDi / TDCi |D5BA, SDBA 10/00 - 03/07 6PK | 5 80001201 | 4C1Q 6B319 DC...

2.0 16V TDDi / TDCi D6BA, HIBA, HIBB, HIBC |10/00 - 03/07

2.0 TDCi FMBA, N7BA 10/01 - 03/07

2.2 TDCi QJBA, QJBB 09/04 - 03/07

6PK | 5 80004868 | 4C1Q 6B319 DC...

+ CORTECO Nr: 80001201 / - -
D @: M12x80

80004867

FORD - Mondeo IV / Turnier 03/07 - 09/14

1.6 TDCi T1BA, T1BB, TIBC 12/10 - 09/14 6PK | 5 | N 80000682 | AVQ6 6B319 AA...
@ + Start & Stop
6PK | 5 = 80004330 | AVQ6 6B319 AA...
+ Start & Stop
1.6Ti KGBA, PNBA, RHBA 03/07 - 09/14| A @: 87 6PK | 5 Q 80001112 | 8A6G 6B321 AC...
+ Start & Stop
1.8 TDCi FFBA 03/07 - 09/14| A @: 153 7PK | 6 ’ 80000833 | 154Q 6B319 AF..
2.0 AOBA, AOBC, TBBA 03/07 - 09/14| A @: 146 6PK | 5 80001237 5227815...
2.0 EcoBoost TPBA 07/10 - 09/14 6PK | 5 80004336 | AG9G 6B319 AD...
2.0 SCTi TNBA 03/10 - 09/14 0
2.0 TDCi AZBA, AZBC, KLBA, LPBA, |03/07 - 09/14 6PK | 5 80004382 | 9M5Q 6B319 AA...
QXBA, QXBB, TXBA, TXBB,
TYBA, UFBA, UFBB, UKBA,
UKBB
6PK | 5 ' ﬁ 9M5Q 6B319 AA...
T 9363329
(-]
+ CORTECO Nr: 80004382 / -] - 80001240
D @: M14x1,5x70 /=
2.2 TDCi Q4BA 03/08 - 10/10} A @: 158 6PK | 5 80001238
AQ:158 6PK | 5 ~
%
g 49359583
2.3 SEBA 07/07 - 09/14] 6-AUT / A @: 163 5PK | 4 80001701 | 7G9G 6316 BA...

143



o & g i Mkl
ORD ondeo e 09/14
1.5 TDCi UGCC, XUCA 03/15 6PK | 5 || 80000682
1.6 7DCi NGCA, U3CA 09/14 @
+ Start & Stop
6PK | 5 80004330
ORD - Orio 01/9 9
16116V L1E, L1K 07/92 - 12/93 6PK | 5 80001290
18116V RDA, RQB 01/92 - 12/93

OE

AVQ6 6B319 AA...

AVQ6 6B319 AA...

928M 6B320 DF..

FORD - Puma 06/99 - 06/02
ST 160 06/99 - 06/02 6PK | 5 80000682 | AVQ6 6B319 AA...
+ Start & Stop
6PK | 5 80004330 | AVQ6 6B319 AA...
ORD Nelglel= 04
2.2 TDCi GBVAJPF, GBVAIQW 04/11 09/11 -> 7PK | 6 80001806 | 9C1Q 6B319 AB...
2.2 TDCi 4x4 GBVAIQJ, GBVAIQW 04/11
3.2 TDCi 4x4 SAFA 04/11 7PK | 6 m BB3Q 6B319 BA...
49374731

FORD - S-Max

05/06 -

©90]100]90]0)9

1.6 TDCi TIWA, TIWB 02/11 6PK | 5 80000682 | AVQ6 6B319 AA...
+ Start & Stop
6PK | 5 80004330 | AVQ6 6B319 AA...
+ Start & Stop
1.8 TDCi QYWA 05/06 AQ: 153 7PK | 6 80000833 | 154Q 6B319 AF..
2.0 AOWA, AOWB 05/06 AQ: 146 6PK | 5 80001237 5227815...
2.0 EcoBoost TNWA, TPWA 03/10 6PK | 5 0 80004336 | AG9G 6B319 AD...
2.0 TDCi AZWA, AZWC, KLWA,  |05/06 6PK | 5 80004382 | IM5Q 6B319 AA...
QXWA, QXWB, QXWC,
TXWA, TYWA, UFWA,
UKWA
6PK | 5 ' ﬁ 9M5Q 6B319 AA...
T8 19363329
(-
+ CORTECO Nr: 80004382 / - - 80001240
D @: M14x1,5x70 /=
2.2 TDCi Q4WA 03/08 AQ: 158 6PK | 5 e 80001238
AQ: 158 6PK | 5 ~
%
@ 49359583
2.3 SEWA 07/07 AD: 163 5PK | 4 80001701 | 7G9G 6316 BA...

144



i Ml €3 OE
FORD - Tourneo Connect 06/02 - 12/13

1.0 EcoBoost M2GA, M2GB 11/13 6PK | 5 80005014 | CM5G 6316 HB...

1.5 TDCi UGCA, UGCB, XUCC, 02/14 6PK | 5
XUCD, XUGA, XVCA,
XVCB, XVCC, XVGA,

XVGB, XVGC, XWGA,

80000682 | AVQ6 6B319 AA...

+ Start & Stop

XWGB 6PK | 5 80004330 | AVQ6 6B319 AA...
1.6 TDCi T1GA, T3CA, T3CB, 09/13
T3CC, TZGA, TZGB,
UBGA + Start & Stop
1.8 TDCi HCPA, HCPB, P9PA, P9PB, [06/02 - 12/13] A @: 146 6PK | 5 80001292 | 4M5Q 6B319 EA...
P9PC, P9PD, R3PA, RWPE,
RWPF
1.8 TDCi /TDDi /DI BHPA, P7PA, P7PB, R2PA  |06/02 - 12/13] A @: 153 7PK | 6 80000833 | 1S4Q 6B319 AF..

FORD - Transit 1994- Tourneo 10/08 - 08/14

2.2 TDCi SRFA, SRFB, SRFC, SRFD, |10/08 - 08/14} A @: 167 9PK | 8 80000834 | BK2Q 6B319 BA...
SRFE
A@: 167 9PK | 8 80004874 | BK2Q 6B319 BA...
ORD a 000 01/00 - 05/06
2.0 DI ABFA 08/00 - 05/06 6PK | 5 80001201 | 4C1Q 6B319 DC...
2.0 TDCi FIFA 08/02 - 05/06
6PK | 5 80004868 | 4C1Q 6B319 DC...

+ CORTECO Nr: 80001201 / - - 80004867
D @: M12x80
2.4 DI D2FA, D2FB, D2FE, D4FA, |01/00 - 05/06 7PK | 6 80001806 | 9C1Q 6B319 AB...
FAFA
2.4 DI [RWD] D4FA, F4FA 01/00 - 05/06
2.4 TDCi H9FA 03/04 - 05/06
2.4 TDE DOFA, FXFA 07/01 - 05/06
FORD - Transit Courier 02/14 -
1.5 TDCi UGCA, UGCB, XUCC, 02/14 6PK | 5 80000682 | AVQ6 6B319 AA...
XUCD, XVCA, XVCB, XVCC
1.6 TDCi T3CA, T3CB, T3CC 02/14

+ Start & Stop
80004330 | AVQ6 6B319 AA...

6PK | 5

FORD - Transit Connect 06/02 - 12/13
1.0 EcoBoost M2GA 02/13 6PK | 5

80005014 | CM5G 6316 HB...

1.5TDCi XUGA, XVGA, XVGB, 05/15 6PK | 5 80000682 | AVQ6 6B319 AA...

XVGC, XWGA, XWGB

+ Start & Stop

80004330 | AVQ6 6B319 AA...

6PK | 5

+ Start & Stop

1.6 TDCi T1GA, TZGA, TZGB, 02/13 09/13 -> 6PK | 5 80000682 | AVQ6 6B319 AA...
UBGA
- Start & Stop
09/13 -> 6PK | 5 80004330 | AVQ6 6B319 AA...

00000|00| 0=00]00]0€ 090 ©

; Start & Stop

145



FORD - Transit Connect

06/02 - 12/13

I

B oo

OE

1.6 TDCi T1GA, TZGA, TZGB, 02/13 + CORTECO Nr: 80000682 / - 80001247
UBGA D @: M12x1,5x50
1.8 16V EYPA, EYPC, EYPD 06/02 - 12/13 6PK 80001290 | 928M 6B320 DF...
1.8 Di BHPA, P7PA, P7PB, R2PA  |06/02 - 12/13| A &: 146 6PK 80001292 | 4M5Q 6B319 EA...
1.8 TDCi HCPA, HCPB, P9PA, P9PB, [06/02 - 12/13
P9PC, P9PD, R3PA, RWPA,
RWPC, RWPD, RWPE,
RWPF
FORD - Transit 2006- 04/06 - 08/14
2.2 TDCi P8FA, P8FB, QVFA 04/06 - 08/14 - 80004468 | BU3Q 6B319 AA...
2.2 TDCi QWFA 04/06 - 08/14| A @: 167 9PK 80000834 | BK2Q 6B319 BA...
AD: 167 9PK 80004874 | BK2Q 6B319 BA...
+ CORTECO Nr: 80000834 / - 80004873
D @: M12x75
2.2 TDCi SRFA, SRFB, SRFC, SRFD, 10/08 - 08/14| A ©: 167 9PK 80000834 | BK2Q 6B319 BA...
SRFE
AD: 167 9PK 80004874 | BK2Q 6B319 BA...
2.2 TDCi CYFA, CYFB, CYFC, CYFD [10/11 - 08/14} A @: 167 9PK 80004874 | BK2Q 6B319 BA...
2.2 TDCi [RWD] CVRA, CVRB, CVRC 10/11 - 08/14| A @: 167 7PK 80000835 | BK3Q 6B319 CB...
7PK 80004877 | BK3Q 6B319 CB...
D @: M12x80 - 80004876
2.4 TDCi PHFA, PHFC 04/06 - 08/14| A @: 167 7PK 80000835 | BK3Q 6B319 CB...
-> 04/10 7PK 80004875 | BK3Q 6B319 CB...
05/10 -> 7PK 80004877 | BK3Q 6B319 CB...
->04/10/ - 80004873
+ CORTECO Nr: 80000835 /
D @: M12x75
05/10 ->/ - 80004876
+ CORTECO Nr: 80000835 /
D @: M12x80
2.4 TDCi H9FD 04/06 - 08/14] MC: H9FB / A @: 167 7PK 80000835 | BK3Q 6B319 CB...

146



o ] g i VI o] OE

FORD - Transit 2006- 04/06 - 08/14

2.4 TDCi H9FD 04/06 - 08/14| -> 04/10 7PK | 6 80004875 | BK3Q 6B319 CB...
05/10 -> 7PK | 6 80004877 | BK3Q 6B319 CB...
-> 04/10/ - - 80004873
+ CORTECO Nr: 80000835 /
D @: M12x75
05/10 -> / - - 80004876
+ CORTECO Nr: 80000835 /
D @: M12x80
2.4 TDCi JXFA, JXFC 04/06 - 08/14| A @: 167 7PK | 6 80000835 | BK3Q 6B319 CB...
2.4 TDCi [RWD] JXFA, IXFC 04/06 - 08/14

-> 04/10 7PK | 6 Q 80004875 | BK3Q 6B319 CB...
05/10 -> 7PK | 6 Q 80004877 | BK3Q 6B319 CB...

-> 04/10/ - - 80004873
+ CORTECO Nr: 80000835 /
D @: M12x75
05/10 -> / - - 80004876
+ CORTECO Nr: 80000835 / l
D @: M12x80
2.4 TDCi [RWD] PHFA, PHFC 04/06 - 08/14| A B: 167 7PK | 6 80000835 | BK3Q 6B319 CB...

->04/10 7PK | 6 Q 80004875 | BK3Q 6B319 CB...

05/10 -> 7PK | 6 Q 80004877 | BK3Q 6B319 CB...
-> 04/10/ - - 80004873
+ CORTECO Nr: 80000835 /

D @: M12x75

05/10 -> / - - 80004876
+ CORTECO Nr: 80000835 / t
D @: M12x80
2.4 TDCi [RWD] H9FD 04/06 - 08/14| MC: H9FB / A @: 167 7PK | 6 80000835 | BK3Q 6B319 CB...

->04/10 7PK | 6 Q 80004875 | BK3Q 6B319 CB...
05/10 -> 7PK | 6 Q 80004877 | BK3Q 6B319 CB...

-> 04/10/ - - 80004873
+ CORTECO Nr: 80000835 / 1

D @: M12x75

05/10 -> / - - 80004876
+ CORTECO Nr: 80000835 / l

D @: M12x80 1 l

147



o i Ml €3 OE
HONDA - Accord VIII  09/02 - 05/08
2.0 K20A6 02/03 - 05/08 7PK | 6 80005105 | 13810-RRA-A02...
2.0 Allrad K20A6 02/03 - 05/08
2.4 K24A, K24A3 02/03 - 05/08
2.4 Viec E K24A2, K24A4 09/02 - 01/08

HONDA - Accord VIl To

HONDA - Civic VII

HONDA - CR-V IlI
2.0 4WD

HONDA - FRV 01/07
1.8

urer

09/05 -

01/07 -

R20A2

R18A1

04/03 - 05/08

01/07

01/07

IVECO - DAILY llI Pritsche/Fahrgestell

HONDA - Jazz Il 03/02 - 12/08

1.2 L12A1 03/02 - 07/08
1.3 L13A1 03/02 - 07/08
1.4 04/05 - 07/08
1.4 Flex 12/06 - 10/08
1.5 02/05 - 12/08

05/99 - 04/06

Number of Doors: 5

A@: 156

7PK | 6

80005105

80005092

80000862

80000861

80005092

HONDA - Stream 05/01 -
2.0 16V K20A1 05/01 7PK | 6 80005105 | 13810-RRA-A02...

13810-RRA-A02...

13810-PWA-013...

13810-PWA-013...

13810-RZP-003

13810-RNA-A02

IVECO - DAILY IV Pritsch

e/Fahrgestell

05/06 - 08/11

29L10 F1AEO481FA 05/06 - 08/11
29L12 F1AE0481GA 05/06 - 08/11
29L14 F1AE0481HA 05/06 - 08/11
35510 F1AEO481FA 05/06 - 08/11
35C10 F1AEO481FA 05/06 - 08/11
35512 F1AE0481GA 05/06 - 08/11
35C12 F1AE0481GA 05/06 - 08/11

OE Nr: 504078435 /
OE Nr: 504017415

29L10 FTAE0481A 09/02 - 04/06| OE Nr: 504078435 / 80000919 504078435...
29L12 F1AE0481B 09/02 - 04/06| OE Nr: 504017415

29L14 FTAE048TM 11/05 - 04/06

35C 10V FTAEQ481A 09/02 - 04/06

35510V FTAE0481A 09/02 - 04/06

35512 FTAE0481B 09/02 - 04/06

35C12 F1AE0481B 09/02 - 04/06

35C15 8140.43N 11/01 - 04/06 7PK | 6 80001140 500332296

35C 11 8140.43C 05/99 - 04/06

35511 8140.43C 05/99 - 04/06

35513 8140.43S 05/99 - 04/06

35C 13 8140.43S 05/99 - 04/06] AC 9PK | 8 80001141 500332830...
50C 11 8140.43C 05/99 - 04/06

50C 13 8140.43S 05/99 - 04/06

50C 15 8140.43N 01/01 - 04/06

65C 15 8140.43N 11/01 - 04/06

IVECO - DAILY Il Kasten/Kombi 05/99 - 07/07

29L10V FTAEQ481A 09/02 - 07/07| OE Nr: 504078435 / 7PK | 6 80000919 504078435...
29L12V F1AE0481B 09/02 - 07/07| OE Nr: 504017415

35C12V F1AE0481B 09/02 - 07/07

35512V F1AE0481B 09/02 - 07/07

35510 F1AEQ481A 09/02 - 07/07

35C11V 8140.43C 05/99 - 07/07 7PK | 6 80001140 500332296

35511V 8140.43C 05/99 - 07/07

35513V 8140.43S 05/99 - 07/07

35C13V 8140.43S 05/99 - 07/07

35515V 8140.43N 11/02 - 07/07) AC 9PK | 8 80001141 500332830...
35C15V 8140.43N 11/02 - 07/07

3559V 8140.63. 05/99 - 07/07

35C9V 8140.63. 05/99 - 07/07

50C 11 8140.43C 05/99 - 07/07

50C 13 8140.43S 05/99 - 07/07

80000919

504078435...

148



o

¢
2

I

B oo

OE

IVECO - DAILY IV Pritsche/Fahrgestell

05/06 - 08/11

LANCIA - Delta Il
1.8i.e. 16V GT

LANCIA - Delta lll

03/96 - 08/99

09/08 - 08/14

183 A1.000

198 A1.000, 198 A4.000

35514 F1AEO481HA 05/06 - 08/11| OE Nr: 504078435 / 7PK | 6 80000919 504078435...
35514 /P F1AEO048T1HA 05/06 - 08/11| OE Nr: 504017415
35C14 F1AEO481HA 05/06 - 08/11
40C10 F1AEO481FA 05/06 - 08/11
IVECO - DAILY IV Kasten/Kombi 05/06 - 08/11
29L10V F1AEO481FA 05/06 - 08/11| OE Nr: 504078435 / 80000919 504078435...
29L12 V/P FTAE0481GA 05/06 - 08/11| OE Nr: 504017415
29L12V F1AE0481GA 05/06 - 08/11
29L14V F1AEO481HA 05/06 - 08/11
29L14 C F1AEO048THA 05/06 - 08/11
29L14 V/P F1AEO481HA 05/06 - 08/11
29L14 C/P FTAEO48T1HA 05/06 - 08/11
35510 F1AEO481FA 05/06 - 08/11
35C10 FTAEO481FA 05/06 - 08/11
35512V F1AEO0481GA 05/06 - 08/11
35512 V/P FTAE0481GA 05/06 - 08/11
35C12V F1AE0481GA 05/06 - 08/11
35C12 V/P FTAE0481GA 05/06 - 08/11
A AR pe 0 09
2.0D FMBA, FMBB, R4-X404 07/03 - 11/09 6PK | 5 80001201
22D LI46G 10/05 - 11/09
6PK | 5 80004868
A AR pe 02/04 09
2.0D FMBA, FMBB, R4-X404 02/04 - 12/09 6PK | 5 80001201
22D LI46G 10/05 - 12/09
6PK | 5 80004868
P ompa 0
2.2 CRD ENE 05/11 6PK | 5 651 030 06 03
2.2 CRD 4x4 ENE, OM 651.925 12/10 49362585

80000917

80000926

+ Start & Stop

60815976...

55217836...

+ CORTECO Nr: 80001159 / -

D @: M16x1,5x70 / M8x26

1.6 D Multijet 198 A2.000 09/08 - 08/14| AC 6PK | 5 80001159 93183257...
+ Start & Stop
AC 6PK | 5 80004910 93183257...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004886
D @: M16x1,5x70 / M8x26
1.9 D Multijet 844 A1.000 01/09 - 08/14 6PK | 5 80001159 93183257...
+ Start & Stop
6PK | 5 80004910 93183257...

+ Start & Stop
80004886

149



- Z a i il OF
LANCIA - Delta Il 09/08 - 08/14
2.0 D Multijet 198 A5.000, 198 A8.000 |09/08 - 08/14] AC 6PK 80001159 93183257...
+ Start & Stop
AC 6PK “ 80004910 93183257...
N + Start & Stop
+ CORTECO Nr: 80001159 / - 80004886
D @: M16x1,5x70 / M8x26 oll‘“
LANCIA - Kappa 08/94 - 10/01
2.0 20V 838 A1.000, 838 A6.000 [10/94 - 10/01 6PK 80000921 7787889...
2.0 20V Turbo 175 A3.000 06/98 - 10/01
2.4 20V 838 A2.000, 838 A2.027 08/94 - 10/01
2.4 JTD 838 A8.000 06/98 - 10/01 6PK C 80001142 71747796...
3.0 24V 838 B.000 08/94 - 10/01 6PK Q 80001138 60813309...
LANCIA - Kappa Coupé 07/96 - 03/01
2.0 20V 838 A6.000 07/96 - 03/01 6PK 80000921 7787889...
2.0 20V Turbo 175 A3.000 06/98 - 03/01
2.4 20V 838 A2.000 11/96 - 03/01
3.0 24V 838 B.000 11/96 - 03/01 6PK @ 80001138 60813309...
LANCIA - Kappa SW  07/96 - 10/01
2.0 20V 838 A6.000 07/96 - 10/01 6PK 80000921 7787889...
2.0 20V Turbo 175 A3.000 06/98 - 10/01
2.4 20V 838 A2.000 07/96 - 10/01
2.4 JTD 838 A8.000 06/98 - 10/01 6PK 80001142 71747796...
3.0 24V 838 B.000 07/96 - 10/01 6PK 80001138 60813309...

LANCIA - Lybra SW

07/99 - 10/05

] EUE

1.8 16V 839 A4.000, 839 A7.000 07/99 - 10/05 6PK 80000917 60815976...
1.9J1D 937 A2.000, AR 32302, |07/99 - 10/05 6PK 80001159 93183257...
AR 37101

+ Start & Stop
6PK 80004910 93183257...

+ Start & Stop

+ CORTECO Nr: 80001159 / - 80004884

D @: M16x1,5x70 / M8x50 olw

2.0 20V 182 B7.000, 185 A8.000 |07/99 - 10/05 6PK 80000921 7787889...
2.4 JTD 839 A5.000, 839 A6.000, |10/99 - 10/05 6PK 80001142 71747796...

LANCIA - Musa
1.3 D Multijet

10/04

841 C.000, AR 32501

188 A9.000, 199 A3.000

10/04 - 09/12

6PK

80001143

55200498...

0106

; Start & Stop

150



o T i VI o] OE
LANCIA - Musa 10/04 - 09/12
1.4 350 A1.000, 843 A 1.000 |10/04 - 09/12 5PK | 4 80000926 55217836...
+ Start & Stop
1.6 D Multijet 350 A2.000 07/08 - 09/12] AC 6PK | 5 80001159 93183257...
+ Start & Stop
AC 6PK | 5 80004910 93183257...
+ Start & Stop
+ CORTECO Nr: 80001159 / - - 80004884
D @: M16x1,5x70 / M8x50
1.9 D Multijet 188 B2.000 10/04 - 09/12 6PK | 5 80001159 93183257...
+ Start & Stop
6PK | 5 80004910 93183257...

LANCIA - Phedra

09/02 -11/10

+ Start & Stop

+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50

80004884

2.0 JTD RHW (DW10ATED4) 09/02 - 11/10] 12/04 -> / A @: 158 6PK | 5 ' 80000598 | 9651770980...
ST1/04/AD: 162 K| 5 ° 80000873 | 9681761480,
ST1/04/AB: 162 K| 5 I 80001811 9681761480...
12/04 > /A ©: 158 K| 5 I 80004328 9651770980...
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000598 / B 80001240
D @: M14x1,5x70 /=
2.2 D Multijet aHs, 4HT 03/08 - 11/10| A @: 158 6Pk | 5 80001238
221D 4HP 4FR 04/06 -11/10
AD: 158 K| 5
% 7
@ 49359583
221D 4HW (DW12ATED4) 09/02 -11/10| 12/04 -> / AD: 158 6K | 5 ‘ 80000598 | 9651770980...
ST1/04/AB: 162 K| 5 c 80000873 | 9681761480...
S 11/04/AD: 162 K| 5 I 80001811 9681761480..
12/04 > /A ©: 158 K| 5 I 80004328 | 9651770980...

151



o 5 < i sl € OE
LANCIA - Phedra 09/02 - 11/10
2.2 J1D 4HW (DW12ATED4) 09/02 - 11/10| + CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000598 / - - 80001240
D @: M14x1,5x70
ANCIA - The 02 - 07/09
2.0 Turbo 841 E.000 07/02 - 07/09 6PK | 5 80000921 7787889...
2.4 841 D.000 07/02 - 07/09
2.4J7D 841 C.000, 841 G.000 |07/02 - 07/09, 6PK | 5 80001142 71747796...
3.0Vé 841 A.000 07/02 - 07/09 6PK | 5 80001138 60813309...
3.2 V6 841 L.000 05/03 - 07/09 6PK | 5 80001139 60802008...
LANCIA-Y 11/95-09/03
1.1 176 B2.000 11/95 - 09/03 4PK | 3 80000925 73502725...
1.2 188 A4.000, 840 A3.000 03/96 - 09/03| ex. AC / Servo 3PK | 2+3 80000924 7778028...
ex. AC / -> M: 1731472 +4PK
ex. Servo / ex. AC 4PK | 3 80000925 73502725...
AC / -> M: 2533528 5PK | 4 80000929 55181186...
ex. AC / M: 1731472 -> 3PK | 2+3 80001148 71720588...
+4PK
1.2 16V 176 B9.000 04/97 - 09/03| Servo / ex. AC 3PK | 243 80000924 7778028...
+4PK
1.2 16V 188 A5.000 10/00 - 09/03| ex. AC / -> M: 0804022 3PK | 243 80000924 7778028...
+4PK
M: 0804022 -> 3PK | 243 80001148 71720588...
+4PK

LANCIA - Ypsilon
1.2

10/03 - 12/11

188 A4.000 10/03 - 12/11) -> M: 2533528 / ex. AC 4PK | 3 80000928 73502725...
ex. AC / M: 2533528 -> M: 4PK | 3 80000930 55192966...
2935743
ex. AC / M: 2935743 -> 4PK | 3 80000933 55202554
AC/ M: 2935743 -> 5PK | 4 80000934 55205471...
1.2 188 A5.000 10/03 - 12/11} ex. AC / -> M: 0804022 4PK | 3 80000925 73502725...

152




o

I

B oo

OE

LANCIA - Ypsilon 10/03 - 12/11
1.2 188 A5.000 10/03 - 12/11| ex. AC / M: 0804022 -> 4PK | 3 80000928 73502725...
1.3 D Multijet 199 A3.000 09/06 - 12/11 6PK | 5 80001143 55200498...
1.3J1D 188 A9.000 10/03 - 12/11

+ Start & Stop
1.4 16V 843 A 1.000 10/03 - 12/11 5PK | 4 80000926 55217836...

+ Start & Stop

ex. AC 4PK | 3 80000930 55192966...

LANCIA - Zeta
2.0 JTD 16V

LANCIA - Pajero Pinin

09/99 - 09/02

RHW (DW10ATEDA4)

07/99 - 10/05

09/99 - 09/02

D @: M14x1,5x70

80000873 | 9681761480...
AQD: 162 6PK | 5 80001811 | 9681761480...
+ CORTECO Nr: 80000873 / - - 80001240

LAND ROVER - Defende
2.4 Td4 4x4

LAND ROVER - Freeland
2.0 Td4 4x4

LAND ROVER - Freeland
2.0 Si4 4x4

841 C.000, AR 32501

Z5D-424

erl 11/00 - 10/06
204D3, M 47

10/11 - 10/14

erll
204PT

05/07

11/00 - 10/06

10/11-10/14

7PK

1.8 16V 839 A4.000, 839 A7.000, |07/99 - 10/05 6PK | 5 80000917 |  60815976...
839 A9.000 ‘
1.9 71D 937 A2.000, AR 32302, |07/99 - 10/05 6PK | 5 80001159 |  93183257...
AR 37101 Q
\ + Start & Stop
6PK | 5 & 80004910  93183257...
N + Start & Stop
+ CORTECO Nr: 80001159 / - 80004884
D @: M16x1,5x70 / M8x50 olm
2.0 20V 182 B7.000, 185 A8.000 |07/99 - 10/05 6PK | 5 80000921 7787889...
2.4 11D 839 A5.000, 839 A6.000, 07/99 - 10/05 6PK | 5 80001142 |  71747796...

80001806

LRO29988...

90]0100®

CA000001 ->

6PK

Fl

A@: 155 5PK | 8 80000366 LHG100750L
+5PK
5PK | 8 80005020 LHG100750L
+5PK

D @: M18x1,5x76,5 / 19,3x40x5 - - 80005025 LHG100750L

80004336

LR0O68885...

153



o E i VI o OE
LAND ROVER - Range Rover Ill  03/02 - 08/12
4.4 4x4 448PN, M62 B44 03/02 - 08/12) MC: M 62 B44 / A @: 180 6PK | 5+4 80001106 LHG000090

+5PK

LAND ROVER - Range Rover IV 06/11 -

2.0 4x4 204PT 06/11 80004336 LR0O68885...

MAZDA -2 10/07 - 06/15

1.3 ZJ-VE 10/07 - 06/15 6PK | 5 80005093 Z)J3811400
1.4 MZR-CD Y404 01/08 - 06/15} 05/10 -> 6PK | 5 80000682 Y66211401
+ Start & Stop
05/10 -> 6PK | 5 80004330
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247

D @: M12x1,5x50

1.5 ZY-DE, ZY-VE 10/07 - 06/15 6PK | 5 80005093 Z)3811400
1.6 MZ-CD Y406, Y646 10/08 - 06/15) -> 03/10 / MC: Y401 6PK | 5 80000597 Y60311401
+ Start & Stop
04/10 -> 6PK | 5 80000682 Y66211401
+ Start & Stop
->03/10 / MC: Y401 6PK | 5 80001812 Y60311401
+ Start & Stop
04/10 -> 6PK | 5 80004330
+ Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247

+ CORTECO Nr: 80000682 /
D @: M12x1,5x50

1.6 MZ-CD Y655, Y661 06/11 - 06/15 6PK | 5 80000682 Y66211401
+ Start & Stop
6PK | 5 80004330
AZDA 0/0 06/09
1.6 B6ZE, 26 10/03 - 06/09 6PK | 5 80005106 | ZY08114008B...
1.6 MZR z6 06/09
1.6 MZR CD Y601, Y642 12/08 MAN /12/10 -> 6PK | 5 80000682 Y66211401
+ Start & Stop
MAN /12/10 -> 6PK | 5 80004330
- Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247

D @: M12x1,5x50

80000682 Y66211401

- Start & Stop

1.6 MZR CD Y650, Y655 11/10 6PK | 5

0¥000]90+9000060+906

154



)
[

o I VI o OE
MAZDA - 3 10/03 - 06/09

1.6 MZR CD Y650, Y655 11/10 6PK | 5 80004330

0

+ Start & Stop

2.0 LF17 10/03 - 06/09 6PK | 5+4 80005101 LF50114008...
+5PK

2.0 09/11 5PK | 445 80005096 LF2L11400A
2.0 MZR LF17, LF5H, LF-DE 06/09 +6PK
2.0 MZR DISI LF5H, LF5W 06/09
+ Start & Stop
5PK | 4+5 80005097 LFR511400...
+6PK '
2.3 L3-VE 10/03 - 06/09 6PK | 5 80005098 L3K911400
2.3 DiSi Turbo MPS L3YH 06/06 - 06/09
2.3 MPS Turbo L3KG, L3N9, L3-VDT 12/06
2.3 MZR L3-VE 03/04 - 03/09

MAZDA - 5 03/05 -
1.6 CD Y650, Y655 09/10 6PK | 5 80000682 Y66211401

+ Start & Stop

O

6PK | 5 = 80004330
+ Start & Stop
1.8 1823 03/05 6PK | 5+4 80005101 LF50114008...
1.8 MZR L850 09/10 5PK | 445 80005096 LF2L11400A
2.0 LF5H, LFZB 09/10 +6PK '
+ Start & Stop
5PK | 445 80005097 LFR511400...
+6PK ’
MAZDA - 6 06/02 - 08/07
1.8 L813, L823, L828 08/02 - 08/07| -> 02/05 6PK | 5 e 80005094 L323114008...
03/05 -> 6PK | 5 c 80005095 LF9411400
+ Start & Stop
1.8 MZR L813 08/07 6PK | 5 ‘ 80005095 LF9411400
+ Start & Stop
2.0 LF17,LF18 06/02 - 08/07) -> 02/05 6PK | 5 ° 80005094 | L323114008...
03/05 -> 6PK | 5 c 80005095 LF9411400
+ Start & Stop
2.0 LFF7 03/05 - 08/07 6PK | 5 80005095 LF9411400
2.0 MZR LF17, LF-DE 08/07 °
+ Start & Stop
2.3 L3C1 06/02 - 08/07) -> 02/05 6PK | 5 ° 80005094 | L323114008...
03/05 -> 6PK | 5 ‘ 80005095 LF9411400

- Start & Stop

155



. & Mhasel o OE
MAZDA - 6 06/02 - 08/07
23 L3C1 03/05 - 07/07 6PK | 5 ‘ 80005095|  LF9411400
+ Start & Stop
2.3 AWD 09/05 - 12/06 6PK | 5 80005095|  LF9411400
2.3 MPS Turbo [3KG 12/05 - 08/07 ‘
+ Start & Stop
6K | 5 e 80005098 | L3K911400
AVADY-: 6 Spo 08/0
1.8 MZR 1813 08/07 6PK | 5 80005095 |  LF9411400
2.0 MZR LF17, LF-DE 08/07 c
AZDA - 6 Spo omb 02/08
1.8 MZR 1813 02/08 6PK | 5 80005095 |  LF9411400
2.0 MZR LF17, LF-DE 02/08 c
AVAD)- 6 atio ago 08/0 08/0
1.8 1813 08/02 - 08/07] -> 02/05 6PK | 5 80005094 |  L323114008...
2.0 LF17, (F18 08/02 - 08/07 e
03/05 > 6K | 5 e 80005095  LF9411400
+ Start & Stop
2.0 LFF7 03/05 - 08/07 6PK | 5 c 80005095 | LF9411400
+ Start & Stop
23 [3C1 08/02 - 08/07| -> 02/05 6PK | 5 80005094 | L32311400B...
2.3 AWD 3C1 11/02 - 08/07 0
03/05 > 6K | 5 ‘ 80005095  LF9411400
+ Start & Stop
MAZDA - CX-7 06/06 -
2.3 06/06 - 12/12 6PK | 5 80005098 |  L3K911400
2.3 AWD B3VDT 06/06 -12/12
23Dl 3Y7 01/12
2.3 MZR DISI Turbo 3VDT 10/07
MAZDA - MPV Il 07/02 - 02/06
2.3 13 07/02 - 02/06 6PK | 5 Q 80005094 |  L323114008...
AZDA 03/0
1.8 1828, L8-DE 03/05 6PK | 5 80005095 |  LF9411400
2.0 LF62, LF-DE 09/05 ‘
+ Start & Stop
MERCEDES-BENZ - A-Class (W168) 07/97 - 08/04
A 140 M 166.960 01/01 - 08/04] MAN 5PK | 4 Q 80000544 | 166 030 03 03
MAN 5PK | 4 i 80004326 166 030 03 03
+ CORTECO Nr: 80000544 / - 80001257
D @: M16x1,5x60 r
A 160 M 166.960 07/97 - 08/04| MAN 5PK | 4 0 80000544 166 030 03 03

156



o

MERCEDES-BENZ - A-Class (W168)

g

07/97 - 08/04

B oo

OE

A 160 M 166.960 07/97 - 08/04] MAN 5PK | 4 i 80004326 | 166 030 03 03
+ CORTECO Nr: 80000544 / N 80001257
D @: M16x1,5x60 r
A 160 CDI OM 668.940, 07/98 - 08/04 5PK | 4 80000544 | 166 030 03 03
OM 668.941
A 170 CDI OM 668.940, 07/98 - 08/04
OM 668.942
A 190 M 166.990 03/99 - 08/04 5PK | 4 80004326 166 030 03 03
A210 M 166.995 03/02 - 08/04 O
+ CORTECO Nr: 80000544 / B 80001257
D @: M16x1,5%60 r
MERCEDES-BENZ - A-Class (W169) 09/04 - 06/12
A 160 CDI OM 640.942 09/04 - 06/12] M: 30097586 -> / A @: 165 5PK | 4 80001111 640 030 05 03
A 180 CDI OM 640.940 09/04 - 06/12
A 200 CDI OM 640.941 09/04 - 06/12
MERCEDES-BENZ - A-Class (W176)
A 180 M 270.910 06/12 5PK | 4 80005055 | 270 030 05 03...
A 200 M 270.910 06/12
A 250 M 270.920 06/12
A 250 4-mafic M 270.920 06/12 art & Stop
R D B B 0 4
B 180 CDI OM 640.940 03/05 - 11/11| M: 30097586 -> / A @: 165 5PK | 4 80001111 640 030 05 03
B 200 CDI OM 640.941 03/05 - 11/11 @
MERCEDES-BENZ - B-Class (W246)
B 180 M 270.910 /1 5PK | 4 80005055 | 270 030 05 03...
B 200 M 270.910 T1/11
B 250 M 270.920 05/12
RCEDES.B s 0 00
C 200 CDI OM 611.960 03/98 - 05/00] Code: 170/N60 / A @: 216 6PK | 5 80000822 | 611 030 14 03...
€220 CDI OM 611.960 09/97 - 05/00 6
ox. Code: Code:170/N60 / 6K | 5 80001108 | 646 030 09 03...
AD: 192 e
+ Start & Stop
AD: 192 6PK | 5 I 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80001108 A ! 80001258
C 240 M112.910 06/97 - 05/00 6PK | 5 80000363 | 112 035 14 00...
C280 M112.920 06/97 - 05/00
C 43 AMG M 113.944 08/97 - 05/00
R D B a ode 9 03/0
C 2007 CDI OM 611.960 03/98 - 03/01] Code: 170/N60 / A @: 216 6PK | 5 80000822 | 611 030 14 03...
C 2207 CDI OM 611.960 09/97 - 03/01 6
ox. Code: Code:170/N60 / 6PK | 5 80001108 | 646 030 09 03...
AQ: 192 e
+ Start & Stop
AD: 192 6PK | 5 80004793 | 646 030 09 03...
I!O

+ Start & Stop

+ CORTECO Nr: 80001108

80001258

157



o ] g i I o] OF
MERCEDES-BENZ - C-Class T-Model (5202) 06/97 - 03/01
C240T M112.910,M 112.915 |06/97 - 03/01 6PK | 5 80000363 | 112 035 14 00...
Cc280T M 112.920 06/97 - 03/01
C 43 AMG M 113.944 08/97 - 03/01
MERCEDES-BENZ - C-Class (W203) 05/00 - 02/07
C 180 Kompressor M 271.946 05/02 - 02/07) A @: 175 7PK | 6 80001110| 27103000 03
+ Start & Stop
C 200 CDI OM 611.962 09/00 - 02/07) 5-AUT / A @: 216 6PK | 5 Q 80000821 | 61103017 083...
MAN / A @: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
MAN / A @: 192 6PK | 5 ‘ 80004793 | 646 03009 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001269
D @: M18x1,5x50 l°
C 200 CDI OM 646.962 04/03 - 02/07] 5-AUT / -> M: 30562087 / 6PK | 5 80000821 | 61103017 03...
AD: 216 Q
MAN /A @: 192 6PK | 5 e 80001108 | 646 03009 03...
+ Start & Stop
MAN / A @: 192 6PK | 5 ‘ 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001258
M: 30562319 -> / °
M: 40008578 -> /
M: 30528521 ->
+ CORTECO Nr: 80001108
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 30528520 /
-> M: 40008577 / °
-> M: 30562318 /
D @: M18x1,5x50
C 200 CGI Kompressor M 271.942 07/03 - 02/07) A D: 175 7PK | 6 80001110| 27103000 03
C 200 Kompressor M 271.940 05/02 - 02/07
+ Start & Stop
C 220 CDI OM 611.962 05/00 - 02/07) MAN / A @: 192 6PK | 5 e 80001108 | 646 03009 03...
+ Start & Stop
MAN /A @: 192 6PK | 5 80004793 | 646 030 09 03...
!° + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001269
D @: M18x1,5x50 (°
C 220 CDI OM 646.963 02/03 - 02/07) -> 06/06 / 5-AUT / 6PK | 5 80000821 | 61103017 03...
> M: 30562087 / A @: 216 e
MAN /A @: 192 6PK | 5 e 80001108 | 646 03009 03...
+ Start & Stop
MAN / A &: 192 6PK | 5 ‘ 80004793 | 646 03009 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001258
M: 30562319 -> / °
M: 40008578 ->
+ CORTECO Nr: 80001108

158



o

05/00 - 02/07

I

B oo

OE

MERCEDES-BENZ - C-Class (W203)

C 220 CDI OM 646.963 02/03 - 02/07) + CORTECO Nr: 80000821 / - - 80001269
-> M: 30562318 /
-> M: 40008577 / °
D @: M18x1,5x50
C 230 M 272.920 01/05 - 02/07| A &: 160 6PK | 5 0 80000830 | 272 030 09 03...
+ Start & Stop
C 230 Kompressor M 271.948 02/04 - 02/07| A @: 175 7PK | 6 ® 80001110| 27103000 03
+ Start & Stop
C 240 M 112912 05/00 - 02/07 6PK | 5 80000363 | 112035 14 00...
C 240 4-matic M112.916 07/02 - 02/07| e
C 270 CDI OM 612.962 12/00 - 02/07) MAN / A &: 216 6PK | 5 e 80000821 | 61103017 03...
AUT/AQ@:217 6PK | 5 O 80001462 | 61203012 03...
M: 51184581 -> / - - 80001258
+ CORTECO Nr: 80000821 ° ‘
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 51184580 /
D @: M18x1,5x50 °
C 280 M 272.940 01/05 - 02/07| A @: 160 6PK | 5 80000830 | 272 030 09 03...
C 280 4-matic M 272.941 01/05 - 02/07 ®
+ Start & Stop
C 320 M 112.946 05/00 - 02/07| 6PK | 5 80000363 | 112035 14 00...
C 320 4-matic M 112.953 07/02 - 02/07 e
C 320 CDI OM 642.910 01/05 - 02/07| A @: 153 7PK | 6 e 80000819 | 642 030 04 03...
C 350 M 272.960 01/05 - 02/07 6PK | 5 80001427 | 273 030 03 03...
C 350 4-matic M 272.960, M 272.970 |01/05 - 02/07
R D) B a oupé 0 0 05/08
C 160 Kompressor M 271.921 05/02 - 05/08}{ A &: 175 7PK | 6 80001110| 27103000 03
C 180 Kompressor M 271.946 05/02 - 05/08 ®
+ Start & Stop
C 200 CDI OM 646.962 03/03 - 05/08| 5-AUT / A &: 216 6PK | 5 e 80000821 | 61103017 03...
MAN /A @: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
MAN /A @: 192 6PK | 5 H 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001258
M: 30562319 -> / °
M: 40008578 -> /
M: 30528521 ->
+ CORTECO Nr: 80001108
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 30528520 /
-> M: 40008577 / °
-> M: 30562318 /
D @: M18x1,5x50
C 200 CGI Kompressor M 271.942 03/03 - 05/08| A &: 175 7PK | 6 80001110| 27103000 03
C 200 Kompressor M 271.940 05/02 - 05/08

159



o 2] g i VI o OE
MERCEDES-BENZ - C-Class Coupé (CL203) 03/01 - 05/08
C 220 CDI OM 611.962 03/01 - 01/04| 5-AUT / A &: 216 6PK | 5 Q 80000821 | 61103017 03...
MAN / A &: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
MAN /A @: 192 6PK | 5 ‘ 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001269
D &: M18x1,5x50 lo
C 220 CDI OM 646.963 02/04 - 05/08| 5-AUT / A @: 216 6PK | 5 e 80000821 | 61103017 03...
MAN / A &: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
MAN / A &: 192 6PK | 5 80004793 | 646 030 09 03...
QO + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001258
M: 30562319 -> / =)
M: 40008578 ->
+ CORTECO Nr: 80001108
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 30562318 /
-> M: 40008577 / °
D @: M18x1,5x50
C 230 M 272.920 01/05 - 05/08] A &: 160 6PK | 5 ® 80000830 | 272 030 09 03...
+ Start & Stop
C 230 Kompressor M 271.948 05/02 - 05/08}{ A &: 175 7PK | 6 ® 80001110 271 0300003
+ Start & Stop
C 320 M 112.946 09/02 - 05/08 6PK | 5 e 80000363 | 112035 14 00...
C 350 M 272.960 01/05 - 05/08 6PK | 5 80001427 | 273 030 03 03...

MERCEDES-BENZ - C-C

lass T-Model (S203)

03/01 - 08/07

C 180 Kompressor M 271.946 05/02 - 08/07| A @: 175 7PK 6 ® 80001110| 271 030 00 03
+ Start & Stop
C 200 CDI OM 611.962 03/01 - 08/07| 5.AUT/ A ©: 216 6PK | 5 Q 80000821| 61103017 03...
MAN /A @: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
MAN /A @: 192 6K | 5 ! 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / - 80001269
D @: M18x1,5x50 l°
C 200 CDI OM 646.962 04/03 - 08/07| -> 06/06 / 5-AUT / 6PK | 5 80000821 61103017 03...
> M: 30562087 / A @: 216 O
M: 30528521 -> / - 80001258

M: 30562319 -> /
M: 40008578 -> /
+ CORTECO Nr: 80000821

160



o

03/01 - 08/07

I

OE

MERCEDES-BENZ - C-Class T-Model (5203)

C 200 CDI OM 646.962 04/03 - 08/07) + CORTECO Nr: 80000821 / - - 80001269
-> M: 30528520 /
-> M: 40008577 / °
-> M: 30562318 /
D @: M18x1,5x50
C 200 CGIl Kompressor M 271.942 07/03 - 08/07| A &: 175 7PK | 6 80001110| 27103000 03
C 200 Kompressor M 271.940 05/02 - 08/07
+ Start & Stop
C 220 CDI OM 611.962 03/01 - 08/07| 5-AUT / A &: 216 6PK | 5 Q 80000821 | 61103017 03...
MAN /A @: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
MAN / A &: 192 6PK | 5 H 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001269
D @: M18x1,5x50 l°
C 220 CDI OM 646.963 02/04 - 08/07) -> 06/06 / 5-AUT / 6PK | 5 80000821 | 61103017 03...
-> M: 30562087 / A @: 216 O
MAN / A &: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
MAN /A @: 192 6PK | 5 80004793 | 646 030 09 03...
!° + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001258
M: 30562319 -> °
M: 40008578 -> /
+ CORTECO Nr: 80001108
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 30562318 /
-> M: 40008577 / °
D @: M18x1,5x50
C 230 M 272.920 01/05 - 08/07| A &: 160 6PK | 5 0 80000830 | 272 030 09 03...
+ Start & Stop
C 230 Kompressor M 271.948 02/04 - 08/07| A @: 175 7PK | 6 ® 80001110| 27103000 03
+ Start & Stop
C 240 M 112912 03/01 - 08/07 6PK | 5 80000363 | 112035 14 00...
C 240 4-matic M112.916 07/02 - 08/07 e
C 270 CDI OM 612.962 03/01 - 08/07) MAN / A B: 216 6PK | 5 e 80000821 | 61103017 03...
AUT/AQ@:217 6PK | 5 O 80001462 | 612030 12 03...
M: 51184581 -> / - - 80001258
+ CORTECO Nr: 80000821 ° ‘
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 51184580 /
D @: M18x1,5x50 °
C 280 M 272.940 01/05 - 08/07| A &: 160 6PK | 5 80000830 | 272 030 09 03...
C 280 4-matic M 272.941 01/05 - 08/07 ®
+ Start & Stop
C 320 M 112.946 03/01 - 08/07| 6PK | 5 80000363 | 112 035 14 00...
C 320 4-matic M 112.953 07/02 - 08/07 e

161




o

MERCEDES-BENZ - C-Class T-Model (5203)

03/01 - 08/07

B oo

OE

C 320 CDI OM 642.910 06/05 - 08/07| A @: 153 7PK 6 80000819 | 642 030 04 03...
C 350 M 272.960 01/05 - 08/07 6PK | 5 80001427 | 273 030 03 03...
C 350 4-matic M 272.970 01/05 - 08/07
MERCEDES-BENZ - C-Class (W204) 01/07 - 01/14
C 180 CGlI M 274.910 80005058 | 274 030 12 03...
+ Start & Stop
C 180 Kompressor M 271.952 01/07 - 01/14|AD: 175 7PK | 6 80001110 271 03000 03
+ Start & Stop
C 200 CDI OM 646.811, 01/07 - 12/10} A @: 192 6PK | 5 80001108 | 646 030 09 03...
OM 646.812
+ Start & Stop
AD: 192 6PK | 5 80004793 | 646 030 09 03...
+ Start & Stop
+ CORTECO Nr: 80001108 - - 80001258
C 200 Kompressor M 271.950 01/07 - 01/14)|AD: 175 7PK | 6 80001110 271 030 00 03
+ Start & Stop
C 220 CDI OM 646.811 01/07 - 11/08}| A @: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AD: 192 6PK 5 80004793 | 646 030 09 03...
!° + Start & Stop
+ CORTECO Nr: 80001108 - - ’ 80001258
C 230 M 272.921 01/07 - 01/14| A @: 160 6PK | 5 80000830 | 272 030 09 03...
C 230 4-matic M 272911 07/07 - 01/14 ®
C 280 M 272.947 01/07 - 01/14
C 280 4-matic M 272.948 07/07 - 01/14
C 300 M 272.947 07/09 - 01/14
C 300 M 276.957 02/11-01/14 6PK | 5 80005011 276 030 09 03
C 300 4-mafic M 276.957 02/11-01/14 g
+ Start & Stop
C 300 4-matic M 272.948 07/07 - 01/14| A @: 160 6PK 5 0 80000830 | 272 030 09 03...
+ Start & Stop
C 350 M 272.961 01/07 - 01/14 6PK | 5 80001427 | 273 030 03 03...
+ Start & Stop
C 350 M 276.957 01/11-01/14 6PK | 5 80005011 276 030 09 03
+ Start & Stop
C 350 4-matic M 272.971 07/07 - 01/14 6PK | 5 80001427 | 273 030 03 03...
+ Start & Stop
C 350 4-matic M 276.957 01/11 -01/14 6PK 5 g 80005011 276 030 09 03
; Start & Stop

162




i il € OE

MERCEDES-BENZ - C-Class Coupé (C204) 06/11 -

C 180 M 274.910 01/13 5PK | 4 80005058 | 274 03012 03...
+ Start & Stop
C 350 M 276.957 06/11 6PK | 5 80005011 276 030 09 03

MERCEDES-BENZ - C-Class T-Model (5204) 08/07 - 08/14
C 180 Kompressor M 271.952 08/07 - 08/14 80001110| 27103000 03

+ Start & Stop

C 200 CDI OM 646.811 08/07 - 12/11|A ©: 192 6PK | 5 80001108 | 646 030 09 03...
+ Start & Stop
AD: 192 6PK | 5 80004793 | 646 030 09 03...

+ Start & Stop
80001258

+ CORTECO Nr: 80001108 - -

C 200 Kompressor M 271.950 08/07 - 08/14| A @: 175 7PK | 6 80001110| 27103000 03
+ Start & Stop

C 220 CDI OM 646.811 08/07 - 11/08] A &: 192 6PK | 5 80001108 | 646 030 09 03...
+ Start & Stop

AD:192 6PK | 5 80004793 | 646 030 09 03...

+ Start & Stop
80001258

+ CORTECO Nr: 80001108 - -

C 230 M 272.921 08/07 - 08/14) A &: 160 6PK | 5 80000830 | 272 030 09 03...
C 280 M 272.947 08/07 - 08/14
+ Start & Stop
C 350 M 272.961 08/07 - 08/14 6PK | 5 80001427 | 273 030 03 03...
+ Start & Stop
C 350 CClI M 276.957 06/11 - 08/14 6PK | 5 80005011 276 030 09 03
+ Start & Stop
MERCEDES-BENZ - CLA Coupe (C117) 01/13 -
CLA 180 M 270.910 01/13 5PK | 4 80005055 | 270030 05 03...
CLA 200 M 270.910 01/13
CLA 250 M 270.920 01/13

CLA 250 4-matic M 270.920

MERCEDES-BENZ - CLC-Class 05/08 - 06/11
CLC 230 M 272.920 05/08 - 06/11 80000830 | 272 030 09 03...

07/13

+ Start & Stop

CLC 350 M 272.960 05/08 - 06/11 6PK | 5 80001427 | 273 03003 03...
R D B 08 06/9 06/0
320 M 112.940 06/97 - 06/02 6PK | 5 80000363 | 112035 14 00...
430 M 113.943 07/98 - 06/02
R D B abriolet (A208 03/98 - 03/0
320 M 112.940 03/98 - 03/02 6PK | 5 80000363 | 112035 14 00...
430 M 113.943 09/98 - 03/02

163



o 2 g i sl € OE
R D) B 09 06/0 09
200 CGlI M 271.942 07/03 - 05/09| A &: 175 7PK | 6 80001110| 27103000 03
200 Kompressor M 271.940 09/02 - 05/09
+ Start & Stop
220 CDI OM 646.966 01/05 - 05/09| -> 06/06 / 5-AUT / 6PK | 5 80000821 | 61103017 03...
> M: 30562087 / A @: 216 Q
MAN / A &: 192 6PK | 5 0 80001108 | 646 030 09 03...
+ Start & Stop
AD: 192 6PK | 5 H 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / - - 80001258
M: 30562319 -> /
M: 40008578 ->
+ CORTECO Nr: 80001108
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 30562318 /
-> M: 40008577 /
D @: M18x1,5x50
240 M 112912 06/02 - 05/09 6PK | 5 80000363 | 112035 14 00...
270 CDI OM 612.962, 10/02 - 05/09| MAN / A &: 216 6PK | 5 80000821 | 61103017 03...
OM 612.967
AUT/AQ@:217 6PK | 5 80001462 | 612030 12 03...
M: 51184581 -> / - - 80001258
+ CORTECO Nr: 80000821
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 51184580 /
D @: M18x1,5x50
280 M 272.940 01/05 - 05/09| A @: 160 6PK | 5 80000830 | 272 030 09 03...
+ Start & Stop
320 M 112.955 06/02 - 05/09 6PK | 5 80000363 | 112035 14 00...
320 CDI OM 642.910 01/05 - 05/09| A @: 153 7PK | 6 80000819 | 642 030 04 03...
350 M 272.960 01/05 - 05/09 6PK | 5 80001427 | 273 030 03 03...
+ Start & Stop
500 M 113.968 06/02 - 05/09 6PK | 5 e 80000363 | 112035 14 00...
R D B abriolet (A209 0 0 0
CLK 200 CGI M 271.942 07/03 - 03/10} A @: 175 7PK | 6 80001110| 27103000 03
CLK 200 Kompressor M 271.940 02/03 - 03/10 ®
+ Start & Stop
CLK 240 M 112912 02/03 - 03/10 6PK | 5 e 80000363 | 112035 14 00...
CLK 280 M 272.940 01/05 - 03/10 A &: 160 6PK | 5 0 80000830 | 272 030 09 03...
; Start & Stop

164




o

MERCEDES-BENZ - CLK Cabriolet (A209)

¢
2

3

02/03 - 03/10

B oo

OE

MERCEDES-BENZ - CLS

HAVE

(X218)

CLK 320 M 112.955 02/03 - 03/10 6PK | 5 80000363 | 112035 14 00...

CLK 350 M 272.960 01/05 - 03/10 6PK | 5 80001427 | 273 030 03 03...
+ Start & Stop

CLK 500 M 113.968 02/03 - 03/10 6PK | 5 80000363 | 112035 14 00...

MERCEDES-BENZ - CLS (C218) 01/11 -
CLS 350 M 276.952 01/11 6PK | 5 80005011 | 27603009 03

CLS 350 M 276.952 10/12 80005011 276 030 09 03
R D B 9 0/04 0
CLS 280 M 272.943 07/08 - 12/10J A @: 160 6PK | 5 80000830 | 272 030 09 03...
CLS 300 M 272.943 04/09 - 12/10
+ Start & Stop
CLS 320 CDI OM 642.920 01/05 - 12/10J A @: 153 7PK | 6 80000819 | 642 030 04 03...
CLS 350 M 272.964, M 272.985 |10/04 - 12/10 6PK | 5 80001427 | 273 030 03 03...
+ Start & Stop
CLS 55 AMG M 113.990 01/05-12/10 8PK 80001291 113 03502 00...

MERCEDES-BENZ - E-Class Cabriolet (A207) 01/10 -
E 200 CGI M 271.820, M 271.860 |01/10 80001536 | 271030 02 03...
6PK 80004332 | 27103002 03...
D &: M18x1,5x50 - 80001270
E 250 M 274.920 06/13 5PK | 4 80005058 | 274 030 12 03...
+ Start & Stop
E 250 CGI M 271.860 01/10 6PK | 5 80001536 | 271030 02 03...
6PK | 5 80004332 | 27103002 03...
D &: M18x1,5x50 - - 80001270
E 300 M 276.957 04/11 6PK | 5 80005011 276 030 09 03
E 350 M 276.957 04/11
RCED B a 0 96 - 03/0
E 200 CDI OM 611.961 06/98 - 03/02| 5-AUT / A @: 216 6PK | 5 80000821 | 61103017 03...
E 220 CDI OM 611.961 06/98 - 03/02

165



o & g i Mkl OE
R D B a 0 26 - 03/0
E 200 CDI OM 611.961 06/98 - 03/02] MAN / A @: 192 6PK | 5 80001108 | 646 030 09 03...
E 220 CDI OM 611.961 06/98 - 03/02 e
+ Start & Stop
MAN /A @: 192 6PK | 5 ! 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / N 80001269
D @: M18x1,5x50 lo
E 240 M112.911, M112.914 |06/97 - 03/02 6PK | 5 Q 80000363 | 112 035 14 00...
E 270 CDI OM 612.961 07/99 - 03/02| MAN / A @: 216 6PK | 5 Q 80000821 611 030 17 03...
AUT/AD: 217 6PK | 5 ’ 80001462 | 612 030 12 03...
M: 51184581 -> / B 80001258
+ CORTECO Nr: 80000821 ° ‘
+ CORTECO Nr: 80000821 / N 80001269
> M: 51184580 /
D @: M18x1,5x50 °
E 280 M112.921 12/96 - 03/02 6PK | 5 80000363 | 112 035 14 00...
E 280 4-mafic M112.921 12/96 - 03/02
E 320 M112.941 06/97 - 03/02
E 320 4-mafic M112.941 06/97 - 03/02
E 430 M 113.940 06/97 - 03/02
E 430 4-matic M 113.940 05/99 - 03/02

MERCEDES-BENZ - E-CI

ass T-Model (5210)

12/96 - 03/03

E 220 T CDI OM 611.961 06/98 - 03/03] 5-AUT / A ©: 216 6PK | 5 e 80000821| 611030 17 03...
MAN /A @: 192 6K | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AQ: 192 6K | 5 ! 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80000821 / - 80001269
D @: M18x1,5x50 l°
E240T M112.911, M112.914 |06/97 - 03/03 6PK | 5 e 80000363 | 112 035 14 00...
E270 T CDI OM 612.961 07/99 - 03/03| MAN / A @: 216 6PK | 5 Q 80000821| 61103017 03...
AUT/AG: 217 6K | 5 O 80001462 | 61203012 03...
M: 51184581 -> / - 80001258
+ CORTECO Nr: 80000821 ° ‘
+ CORTECO Nr: 80000821 / - 80001269
> M: 51184580 /
D @: M18x1,5x50 °
E280T M112.921 12/96 - 03/03 6PK | 5 80000363 | 112 035 14 00...
E 280 T 4-matic M112.921 12/96 - 03/03
E320T M 112941 12/96 - 03/03
E320 T 4-matic M 112.947 12/96 - 03/03
E430T M 113.940 06/97 - 03/03

166



. Z g i Ml €3 OE
MERCEDES-BENZ - E-Class T-Model (5210) 12/96 - 03/03
E 55 T AMG 4-matic M 113.980 03/01 - 03/03 6PK | 5 e 80000363 | 112035 14 00...

MERCEDES-BENZ - E-Class (W211) 03/02 - 12/08
E 200 CDI OM 646.951 07/02 - 12/08) 06/03 -> / 5-AUT / 6PK | 5 80000821 | 61103017 03...

M: 30085732 -> /
M: 40006509 -> /A @: 216
06/03 -> 06/06 / 5-AUT /

-> M: 30562087 / A @: 216
+ CORTECO Nr: 80000821 / - . 80001258

M: 30528521 -> / °
M: 40008578 ->

+ CORTECO Nr: 80000821 / - -
-> M: 30528520 /
-> M: 40008577 /
D @: M18x1,5x50

80001269

E 200 CDI OM 646.820 04/06 - 12/08)| A @: 192 6PK | 5 80001108 | 646 030 09 03...
+ Start & Stop
AD:192 6PK | 5 80004793 | 646 030 09 03...

+ Start & Stop
80001258

+ CORTECO Nr: 80001108 - -

<6

E 200 Kompressor M 271.941 11/02 - 12/08) A @: 175 7PK | 6 80001110 2710300003

+ Start & Stop
80000821 | 61103017 03...

E 220 CDI OM 646.961 03/02 - 12/08| 06/03 -> / 5-AUT / M: 30085732 -| 6PK | 5
> M: 30562087 / A @: 216
M: 40006509 -> / 06/03 ->
06/06 / 5-AUT / A D: 216

M: 30038201 -> M: 30043357/ | 6PK | 5
MAN /A @: 192

80001108 | 646 03009 03...

+ Start & Stop
80004793 | 646 030 09 03...

M: 30038201 -> M: 30043357/ | 6PK | 5

MAN /A @: 192

+ Start & Stop
+ CORTECO Nr: 80000821 / - - 80001258
M: 30552319 -> /
M: 40008578 ->
+ CORTECO Nr: 80000821 / - - 80001269

-> M: 30562318 /
-> M: 40008577 /
D @: M18x1,5x50

E 220 CDI OM 646.821 04/06 - 12/08| A @: 192 6PK | 5 80001108 | 646 030 09 03...
+ Start & Stop
AD: 192 6PK | 5 80004793 | 646 03009 03...

+ Start & Stop
80001258

+ CORTECO Nr: 80001108 - -

E 230 M 272.922 09/07 - 12/08)| A &: 160 6PK | 5 80000830 | 272 030 09 03...
+ Start & Stop

E 240 M 112913, M112.917 |03/02 - 12/08 6PK | 5 80000363 | 112035 14 00...

E 240 4-matic M 112917 03/03 - 12/08

E 270 CDI OM 647.961 03/02 - 12/08| 07/03 -> / MAN / 6PK | 5 80000821 | 61103017 03...

M: 30070144 -> /A D: 216

GG U X

167



o

03/02 - 12/08

B oo

OE

MERCEDES-BENZ - E-Class (W211)

E 270 CDI OM 647.961 03/02 - 12/08) AUT / A @: 217 6PK | 5 80001462 | 61203012 03...
M: 51184581 -> / - - 80001258
+ CORTECO Nr: 80000821
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 51184580/
D @: M18x1,5x50
E 280 M 272.943 03/05 - 12/08| A &: 160 6PK | 5 80000830 272 030 09 03...
E 280 4-matic M 272.943 01/06 - 12/08
+ Start & Stop
E 280 CDI OM 642.920 03/05 - 12/08}| A @: 153 7PK | 6 80000819 | 642 030 04 03...
E 280 CDI OM 648.961 05/04 - 12/08| A @: 217 6PK | 5 80001091 | 648 030 02 03...
M: 30132834 -> / AD: 217 6PK | 5 80004795| 648 030 02 03...
-> M: 30132833 /A @: 217 6PK | 5 80004796 | 648 030 02 03...
M: 30132834 -> / - - 80001258
+ CORTECO Nr: 80001091
-> M: 30132833/ - - 80001269
+ CORTECO Nr: 80001091 /
D @: M18x1,5x50
E 280 CDI 4-matic OM 642.921 03/05 - 12/08] A &: 153 7PK | 6 80000819 | 642 030 04 03...
E 320 M 112.949 03/02 - 12/08 6PK | 5 80000363 | 112035 14 00...
E 320 4-matic M 112.954 03/03 - 12/08
E 320 CDI OM 642.920 03/05 - 12/08}| A @: 153 7PK | 6 80000819 | 642 030 04 03...
E 320 CDI OM 648.961 11/02 - 12/08) A @: 217 6PK | 5 80001091 | 648 030 02 03...
M: 30132834 -> / AD: 217 6PK | 5 80004795| 648 030 02 03...
-> M: 30132833 /A QD: 217 6PK | 5 80004796 | 648 030 02 03...
M: 30132834 -> / - - 80001258
+ CORTECO Nr: 80001091
-> M: 30132833/ - - 80001269
+ CORTECO Nr: 80001091 /
D @: M18x1,5x50
E 320 CDI 4-matic OM 642.910 03/05 - 12/08| A &: 153 7PK | 6 80000819 | 642 030 04 03...
E 350 M 272.964 03/05 - 12/08 6PK | 5 80001427 | 273 030 03 03...
E 350 4-matic M 272.972 03/05 - 12/08
E 350 CGI M 272.985 09/07 - 12/08
; Start & Stop

168




o

MERCEDES-BENZ - E-Class (W211)

¢
2

03/02 - 12/08

B oo

OE

E 420 CDI OM 629.910 01/06 - 12/08| A &: 163 8PK | 7 80000818 | 629 030 03 03
E 500 M 113.967 03/02 - 12/08 6PK | 5 80000363 | 112035 14 00...
E 500 4-matic M 113.969 10/03 - 12/08
E 55 AMG Kompressor M 113.990 10/02 - 12/08 8PK | 7+5 80001291 | 11303502 00...
+6PK
MERCEDES-BENZ - E-Class T-Model (5211) 03/03 - 07/09
350 CGl M 272.985 05/06 - 07/09 80001427 | 273 03003 03...
+ Start & Stop
E 200 CDI OM 646.821 04/06 - 07/09) A &: 192 6PK | 5 80001108 | 646 030 09 03...
+ Start & Stop
AD:192 6PK | 5 80004793 | 646 030 09 03...
+ Start & Stop
+ CORTECO Nr: 80001108 - - 80001258
E 200 T Kompressor M 271.941 03/03 - 07/09) A D: 175 7PK | 6 80001110| 27103000 03
+ Start & Stop
E 220 T CDI OM 646.961 03/03 - 07/09| 06/03 -> / 5-AUT / M: 30085732 - | 6PK | 5 80000821 | 61103017 03...
> M: 30562087 / A D: 216
M: 40006509 -> / 06/03 ->
06/06 / 5-AUT / A @: 216
M: 30038201 -> M: 30043357 / 6PK | 5 80001108 | 646 030 09 03...
MAN / A &: 192
+ Start & Stop
M: 30038201 -> M: 30043357 / 6PK | 5 80004793 | 646 030 09 03...
MAN /A @: 192
+ Start & Stop
+ CORTECO Nr: 80000821 / - - 80001258
M: 30562319 -> /
M: 40008578 ->
+ CORTECO Nr: 80001108
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 30562318 /
-> M: 40008577 /
D @: M18x1,5x50
E 220 T CDI OM 646.821 04/06 - 07/09| A @: 192 6PK | 5 80001108 | 646 030 09 03...
+ Start & Stop
AD:192 6PK | 5 80004793 | 646 030 09 03...
+ Start & Stop
+ CORTECO Nr: 800001108 - - 80001258
E230T M 272.922 05/07 - 07/09| A @: 160 6PK | 5 80000830 | 272 030 09 03...
+ Start & Stop
E240T M112.913 03/03 - 07/09 6PK | 5 80000363 | 112035 14 00...
E 240 T 4-matic M 112917 07/03 - 07/09
E 270 T CDI OM 647.961 03/03 - 07/09} 07/03 -> / MAN / 6PK | 5 80000821 | 61103017 03...
M: 30070144 -> /A D: 216

169



o E q i VI o] OE

MERCEDES-BENZ - E-Class T-Model (5211) 03/03 - 07/09
E 270 T CDI OM 647.961 03/03 - 07/09| AUT / A &: 217 6PK | 5

80001462 | 61203012 03...

M: 30562319 -> / - - 80001258
M: 40008578 -> /

+ CORTECO Nr: 80000821

+ CORTECO Nr: 80000821 / - - 80001269

-> M: 30562318 /
-> M: 40008577 /
D @: M18x1,5x50

E280T M 272.943 03/05 - 07/09) A &: 160 6PK | 5 80000830 | 272 030 09 03...
E 280 T 4-matic M 272.943 03/05 - 07/09
+ Start & Stop
E 280 T CDI OM 642.920 03/05 - 07/09) A @: 153 7PK | 6 80000819 | 642 030 04 03...
E 280 T CDI OM 648.961 05/04 - 07/09| A @: 217 6PK | 5 80001091 | 648 030 02 03...
M: 30132834 -> /A @: 217 6PK | 5 80004795| 648 030 02 03...
-> M: 30132833/ A@: 217 6PK | 5 80004796 | 648 030 02 03...

M: 30132834 -> / - - 80001258
+ CORTECO Nr: 80001091
-> M: 30132833/ - - 80001269

+ CORTECO Nr: 80001091 /
D @: M18x1,5x50

E 280 T CDI 4-matic OM 642.921 03/05 - 07/09) A @: 153 7PK | 6 80000819 | 642 030 04 03...

E320T M 112.949 03/03 - 07/09 6PK | 5 80000363 | 112035 14 00...

E 320 T 4-matic M 112.954 07/03 - 07/09

E 320 T CDI OM 648.961 03/03 - 07/09) A @: 217 6PK | 5 80001091 | 648 03002 03...
M: 30132834 -> / AD: 217 6PK | 5 80004795 | 648 030 02 03...
-> M: 30132833 /A ©@: 217 6PK | 5 80004796 | 648 030 02 03...

M: 30132834 -> / - - 80001258
+ CORTECO Nr: 80001091
-> M: 30132833/ - - 80001269

+ CORTECO Nr: 80001091 /
D @: M18x1,5x50

E 320 T CDI 4-matic OM 642.920 03/05 - 07/09| A @: 153 7PK | 6 80000819 | 642 030 04 03...
E350T M 272.964 03/05 - 07/09 6PK | 5 80001427 | 273 03003 03...
E 350 T 4-matic M 272.972 03/05 - 07/09

+ Start & Stop
E500T M 113.967 10/03 - 07/09 6PK | 5 80000363 | 112035 14 00...
E 500 T 4-matic M 113.969 10/03 - 07/09

170



o B q i VI o OE
MERCEDES-BENZ - E-Class T-Model (5211) 03/03 - 07/09

E 55 T AMG Kompressor M 113.990 07/03 - 07/09 8PK | 745
+6PK

80001291 | 11303502 00...

MERCEDES-BENZ - E-Class Coupé (W212) 01/09 -
E 200 CGlI M 271.820, M 271.860 |01/10 80001536 | 27103002 03...

6PK | 5 80004332 | 27103002 03...

D @: M18x1,5x50 - - 80001270

E 250 M 274.920 06/13 5PK | 4 80005058 | 274 030 12 03...
+ Start & Stop

E 250 CGI M 271.860 01/09 6PK | 5 80001536 | 271030 02 03...

6PK | 5 80004332 | 27103002 03...

D @: M18x1,5x50 - - 80001270

E 300 M 276.957 04/11 6PK | 5
E 350 M 276.957 04/11

80005011 | 276 03009 03

MERCEDES-BENZ - E-Class T-Model (S212) 11/09 -
E 200 CGI M 271.860 80001536 | 27103002 03...

6PK | 5 80004332 | 27103002 03...

D @: M18x1,5x50 - - 80001270

E 250 M 274.920 11/12 5PK | 4 80005058 | 274 03012 03...
+ Start & Stop

E 250 CGI M 271.860 11/09 6PK | 5 80001536 | 27103002 03...

6PK| 5 80004332 | 27103002 03...

D @: M18x1,5x50 —— 80001270
E 300 M 276.952 07/11 6PK | 5 80005011 276 030 09 03
E 300 4-mafic M 276.952 07/11

E350 M 276.952 09/11

E 350 4-mafic M 276.952 09/11

R D B a 46 04/09

G 280 CDI OM 642.884 04/09 6PK | 5+6 80004569 | 642 030 06 03
G 300 CDI OM 642.884 04/10 +7PK '

MERCEDES-BENZ - G-Class (W463) 06/04 -
IAMG G 65 M 279.982 06/15 7PK | 6 73 27503501 00...

171



o

MERCEDES-BENZ - G-Class (W463)

AMG G 65

M 279.982

06/04 -

06/15

B oo

49374727

OE

G 55 AMG

M 113.993

MERCEDES-BENZ - GL-Class (X164)

09/06 - 05/09

06/04

8PK
+6PK

7+5

80001291

113 03502 00...

MERCEDES-BENZ - M-C
ML 270 CDI

lass (W163)
OM 612.963

02/98 - 0

6/05
12/99 - 06/05

MAN / Code: -170/-N60 /

GL 320 CDI 4-matic OM 642.940 09/06 - 05/09) A @: 152 8PK | 7 80000820 | 642 030 05 03...
GL 420 CDI 4-matic OM 629.912 09/06 - 05/09| A @: 163 8PK | 7 80000818 | 629 030 03 03
GL 450 4-matic M 273.923 09/06 AD: 160 6PK | 5 80000937 | 273 030 08 03...
GL 500 4-matic M 273.963 09/06
RCED B a 04 06/08 - 04
280 4-matic M 272.948 06/08 - 06/09| A &: 160 6PK | 5 80000830 | 272 030 09 03...
300 4-matic M 272.948 07/09 - 04/11
+ Start & Stop
350 4-matic M 272.971 06/08 - 04/11 6PK | 5 80001427 | 273 030 03 03...
+ Start & Stop
350 4-matic M 276.957 06/08 6PK | 5 80005011 276 030 09 03

80000821

61103017 03...

RCED B R-Cla 01/06
R 280 CDI 4-matic OM 642.950 05/06 AD: 152
R 320 CDI 4-matic OM 642.950 01/06

8PK | 7

AD:216
AUT/AQ@:217 6PK | 5 80001462 | 61203012 03...
M: 51184581 -> / - - 80001258
+ CORTECO Nr: 80000821
+ CORTECO Nr: 80000821 / - - 80001269
-> M: 51184580 /
D @: M18x1,5x50
ML 320 M 112.942 02/98 - 08/02 6PK | 5 80000363 | 112035 14 00...
ML 350 M 112.970 08/02 - 06/05
ML 430 M 113.942 02/98 - 06/05
ML 500 M 113.964, M 113.965 |09/01 - 06/05
X D B a 64 07/0 09/09
ML 280 CDI 4-matic OM 642.940 07/05 - 07/09| A @: 152 8PK | 7 80000820 | 642 030 05 03...
ML 320 CDI 4-matic OM 642.940 07/05 - 07/09
ML 350 4-matic M 272.967 07/05 6PK | 5 80001427 | 273 030 03 03...
+ Start & Stop
ML 420 CDI 4-matic OM 629.912 02/06 - 09/09| A @: 163 8PK | 7 80000818 | 629 030 03 03

80000820

642 030 05 03...

172



MERCEDES-BENZ - R-Class (W251, V251) 01/06 -

i il € OE

R 350 M 272.967 01/07 6PK | 5 80001427 273 03003 03...
R 350 4-matic M 272.967 01/06

+ Start & Stop
R 350 CGI 4-matic M 276.958 01/06 6PK | 5 80005011 276 030 09 03

MERCEDES-BENZ - S-Class Coupé (C215) 03/99 - 03/06
M 113.960 80000363 | 112035 14 00...

CL 55 AMG Kompressor ~ |M 113.991 06/02 - 03/06 8PK | 7+5 80001291 113 03502 00...

MERCEDES-BENZ - S-Class Coupé (C216) 06/06 - 12/13
M 273.961 06/06 - 12/13 80000937 | 273 03008 03...

RCED B a 0 0/98 - 08/0

S 280 M 112.922 10/98 - 08/05 6PK | 5 80000363 | 112035 14 00...

$320 M 112.944 10/98 - 08/05

$ 320 CDI OM 648.960 09/02 - 08/05) A @: 217 6PK | 5 80001091 | 648 03002 03...
M: 30132834 -> /A @: 217 6PK | 5 80004795 648 030 02 03...
-> M: 30132833 / A@: 217 6PK | 5 80004796 | 648 030 02 03...
M: 30132834 -> / - - 80001258
+ CORTECO Nr: 80001091
-> M: 30132833/ - - 80001269
+ CORTECO Nr: 80001091 /
D @: M18x1,5x50

S 350 M 112.972 09/02 - 08/05 6PK | 5 80000363 | 112035 14 00...

S 350 4-matic M 112.975 06/03 - 08/05

S 430 M 113.941 10/98 - 08/05

S 430 4-matic M 113.948 09/02 - 08/05

S 500 M 113.960, M 113.966 [10/98 - 08/05

S 500 4-matic M 113.966 09/02 - 08/05

S 55 AMG Kompressor M 113.991 06/02 - 08/05 8PK | 7+5 80001291 | 113 03502 00...

MERCEDES-BENZ - S-Class (W221) 10/05 - 12/13
S 320 CDI OM 642.930 12/05 - 06/09

80000820 | 642 030 05 03...

S 350 M 272.965 10/05 - 12/13 6PK | 5 80001427 273 03003 03...
S 350 4-matic M 272.975 02/08 - 12/13

+ Start & Stop
S 350 CGlI M 276.950 04/11 -12/13 6PK | 5 80005011 276 030 09 03
S 350 CGI 4-matic M 276.950 04/11 -12/13

+ Start & Stop
S 450 M 273.922 12/05 - 12/13| A @: 160 6PK | 5 80000937 | 273 030 08 03...
S 500 M 273.961 10/05 - 12/13

173



o

¢
2

MERCEDES-BENZ - S-Class (W222)

S 400 Hybrid / h

MERCEDES-BENZ - SL (R129)

M 276.960

05/98 - 10/01

05/13 -
05/13

6PK | 5

B oo

80005011

+ Start & Stop

OE

276 030 09 03

MERCEDES-BENZ - SLK
320

MERCEDES-BENZ - SLK
200 Kompressor

(R170) 03/0
M 112.947

(R171) 03/0
M 271.944

0 - 04/04
03/00 - 04/04

4 -02/11
03/04 - 02/11

6PK | 5

280 M 112.923 05/98 - 10/01 80000363 | 112035 14 00...
320 M 112.943 05/98 - 10/01

500 M 113.961 05/98 - 10/01

55 AMG M 113.985 03/00 - 10/01

X D B R230 0/0 0
280 M 272.949 03/08 - 01/12| A &: 160 6PK | 5 80000830 | 272 030 09 03...
300 M 272.949 04/09 - 01/12
+ Start & Stop

350 M 272.966 03/06 - 01/12 6PK | 5 80001427 273 03003 03...
350 M 272.968 04/08 - 01/12| A @: 153 6PK | 5 80001109 | 2720300303
350 M112.973 03/03 - 01/12 6PK | 5 80000363 | 112035 14 00...
500 M 273.965 03/06 - 01/12| A &: 160 6PK | 5 80000937 | 273 030 08 03...
500 M 113.963 10/01 - 01/12 6PK | 5 80000363 | 112035 14 00...
55 AMG M 113.992 10/01 - 06/02 8PK | 745 80001291 | 11303502 00...
55 AMG Kompressor M 113.992 06/02 - 01/12 +6PK

80000363

80001110

+ Start & Stop

80000830

+ Start & Stop

MERCEDES-BENZ - SLK
350

208 CDI

(R172) 02/1
M 276.956

MERCEDES-BENZ - Sprinter 2-1 (901, 902)

OM 611.987

1-
02/11

04/00 - 05/06

04/00 - 05/06

Code: 170/N60 / MC: 611.987 /
AD:216

280 M 272.942 01/05 - 02/11| A @: 160 6PK | 5
300 M 272.942 04/09 - 02/11
350 M 272.963 06/04 - 02/11 6PK | 5

80001427

80000822

112 035 14 00...

27103000 03

272 030 09 03...

273 030 03 03...

276 030 09 03

611030 14 03...

Code: 170/M60 / MC: 611.987 / | 6PK | 5 80000822 | 611030 14 03...
AD:216
A@:192 6PK | 5 80001108 | 646 03009 03...

174

- Start & Stop




o

T g

04/00 - 05/06

B oo

OE

MERCEDES-BENZ - Sprinter 2-t (901, 902)

MERCEDES-BENZ - Sprinter 3-t (903)

04/00 - 05/06

-> M: 51184580 /
D @: M18x1,5x50

208 CDI OM 611.987 04/00 - 05/06| A @: 192 6PK | 5 ! 80004793 | 646 030 09 03...
° ; Start & Stop
+ CORTECO Nr: 800071108 - ! 80001258
211 CDI OM 611.981 04/00 - 05/06| Code: 170/N60/ MC: 611.9817 | 6PK | 5 80000822 | 611030 14 03...
213 CDI OM 611.981 04/00 - 05/06| A @: 216 6
AD:192 6K | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AD: 192 K| 5 ! 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 800071108 - ! 80001258
214 NGT M111.984 04/00 - 05/06| M: 50076684 -> / MC: 612.981/ | 6PK | 5 80000829 | 647 030 01 03
AD: 216 Q
216 CDI OM 612.981 04/00 - 05/06| MAN / -> M: 50076683 / 6PK | 5 80000821 61103017 03...
MC: 612.981 /A @: 216 e
M: 50076684 -> / MC: 612.981/ | 6PK | 5 80000829 | 647 030 01 03
AD: 216 e
M: 51184581 -> / - 80001258
+ CORTECO Nr: 80000821 ° ‘
+ CORTECO Nr: 80000821 / - ( 80001269

+ Start & Stop

+ CORTECO Nr: 80001108

80001258

308 CDI OM 611.987 04/00 - 05/06] Code: 170/N60 / MC: 611.987 / 80000822 | 611 030 14 03...
AD: 216 6
Code: 170/M60/ MC: 611.987/ | 6PK | 5 80000822 | 611 030 14 03...
AD: 216 6
AG: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AD: 192 6PK | 5 ‘ 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80001108 A ! 80001258
311 CDI OM 611.981 04/00 - 05/06| Code: 170/N60/ MC: 611.981/ | 6PK | 5 80000822 | 611 030 14 03...
AD: 216 e
AD: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AQ: 192 6PK | 5 80004793 | 646 030 09 03...
I!°

175



o

¢
2

g

I

OE

MERCEDES-BENZ - Sprinter 3-t (903)

04/00 - 05/06

311 CDI 4x4 OM 611.981 08/02 - 05/06| Code: 170/N60 / MC: 611.981 / 6PK 5 80000822 611030 14 03...
AQ: 216 e
ww /A @: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AD: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AD:192 6PK | 5 ‘ 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80001108 - - ! 80001258
313 CDI OM 611.981 04/00 - 05/06| Code: 170/N60 / MC: 611.981 / 6PK | 5 80000822 | 611030 14 03...
313 CDI 4x4 OM 611.981 08/02 - 05/06) A @: 216 6
AD: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AD:192 6PK | 5 ‘ 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80001108 - - ! 80001258
316 CDI OM 612.981 04/00 - 05/06] MAN / -> M: 50076683 / 6PK | 5 80000821 | 61103017 03...
316 CDI 4x4 OM 612.981 08/02 - 05/06f MC: 612.981 / AD: 216 e
M: 50076684 -> / MC: 612.981/ | 6PK | 5 80000829 | 647 03001 03
AD: 216 Q
M: 51184581 -> / - - 80001258
+ CORTECO Nr: 80000821 “
+ CORTECO Nr: 80000821 / - - ‘ 80001269

MERCEDES-BENZ - Sprinter 4-t (904)

04/00 - 05/06

-> M: 51184580 /
D @: M18x1,5x50

408 CDI OM 611.987 04/00 - 05/06] Code: 170/M60 / MC: 611.987 / | 6PK | 5 80000822 | 611 030 14 03...
AD: 216 6
Code: 170/N60/ MC: 611.987/ | 6PK | 5 80000822 | 611 030 14 03...
AD: 216 6
AD:192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AD:192 6PK | 5 ! 80004793 | 646 030 09 03...
° + Start & Stop
+ CORTECO Nr: 80001108 A ! 80001258
411 CDI OM 611.981 04/00 - 05/06| Code: 170/N60 / MC: 611.981/ | 6PK | 5 80000822 | 611030 14 03...
477 CDI 4x4 OM 611.981 04/00 - 05/06| A @: 216
413 CDI OM 611.981 04/00 - 05/06
AD:192 6PK | 5 e 80001108| 646 030 09 03...

; Start & Stop

176




o

¢
2

g

B oo

OE

MERCEDES-BENZ - Sprinter 4-t (904)

04/00 - 05/06

616 CDI

318 CDI

MERCEDES-BENZ - Sprinter (205)

OM 612.981

MERCEDES-BENZ - Sprinter 3,5-t (906)

OM 642.896,
OM 642.992,
OM 642.993

04/01 -

06/06

04/01

06/06

MAN / -> M: 50076683 /
MC: 612.981 /A @: 216

6PK | 5

411 CDI OM 611.981 04/00 - 05/06| A @: 192 6PK | 5 80004793 | 646 030 09 03...
411 CDI 4x4 OM 611.981 04/00 - 05/06
413 CDI OM 611.981 04/00 - 05/06
° + Start & Stop
+ CORTECO Nr: 80001108 R ! 80001258
413 CDI 4x4 OM 611.981 04/00 - 05/06| A @: 192 6PK | 5 e 80001108 | 646 030 09 03...
+ Start & Stop
AQ: 192 6PK | 5 80004793 | 646 030 09 03...
!° + Start & Stop
+ CORTECO Nr: 80001108 R ! 80001258
416 CDI OM 612.981 04/00 - 05/06] MAN / -> M: 50076683 / 6PK | 5 80000821 611 030 17 03...
416 CDI 4xd OM 612.981 04/00 - 05/06| MC: 612.981/ A @: 216 e
M: 50076684 -> / MC: 612.981/ | 6PK | 5 80000829 | 647 030 01 03
AD: 216 Q
M: 51184581 -> / B 80001258
+ CORTECO Nr: 80000821 ° ‘
+ CORTECO Nr: 80000821 / B 80001269
> M: 51184580 /
D @: M18x1,5x50 °

80000821

61103017 03...

318 CDI 4x4

OM 642.896,
OM 642.992,
OM 642.993

02/08

M: 50076684 -> / MC: 612.981 /
AQD:216

MC: 642.896

6PK | 5

6PK | 5+6

+7PK

80000829

80004569

647 030 01 03

642 030 06 03

319 CDI / BlueTEC

OM 642.896,
OM 642.898,
OM 642.992

03/09

319 CDI / BlueTEC 4x4

OM 642.896,
OM 642.898,
OM 642.992

03/09

MC: 642.898

6PK
+7PK

5+6

80004569

MERCEDES-BENZ - Vaneo (414) 02/02 - 07/05
1.6 M 166.961 02/02 - 07/05) MAN 5PK | 4 80000544 | 166 03003 03

642 030 06 03

MAN 5K | 4 |i 80004326 166 030 03 03
+ CORTECO Nr: 80000544 / - 80001257
D @: M16x1,5%60 r
1.7 CDI OM 668.914 02/02 - 07/05 5PK | 4 80000544 | 166 030 03 03
19 M 166.991 02/02 - 07/05 0
5PK | 4 i 80004326 166 030 03 03

177



o E g i VI o] OE

RCED B aneo (414 02/0 07/0
1.7 CDI OM 668.914 02/02 - 07/05) + CORTECO Nr: 80000544 / - - 80001257
1.9 M 166.991 02/02 - 07/05) D @: M16x1,5x60
RCED B a 638 03/99 - 07/0
V 200 CDI OM 611.980 03/99 - 07/03| Code: 170/N60 / MC: 611.980/ | 6PK | 5 80000822 | 611030 14 03...
V 220 CDI OM 611.980 03/99 - 07/03| A D: 216
ex. Code: Code:170/N60 / 6PK | 5 80001108 | 646 03009 03...
A@:192

+ Start & Stop
ex. Code: Code:170/N60 / 6PK | 5 80004793 | 646 030 09 03...

AD: 192 Q
° ! Start & Stop

+ CORTECO Nr: 80001108 - - 80001258

MERCEDES-BENZ - Viano (W639) 09/03 -
CDI 2.0 OM 646.982 09/03 Code: N63 / MC: 646.982 / 6PK | 5
CDI 2.2 OM 646.980, 09/03 AD:216
OM 646.982

80000822 | 611030 14 03...

AQD:192 6PK | 5 80001108 | 646 030 09 03...

+ Start & Stop

H 80004793 | 646 030 09 03...
° - Start & Stop

+ CORTECO Nr: 80001108 - - 80001258

AD:192 6PK | 5

MERCEDES-BENZ - Vito (638) 03/99 - 07/03

112 CDI 2.2 OM 611.980 03/99 - 07/03| Code: 170/N60 / MC: 611.980/ | 6PK | 5 80000822 | 611030 14 03...
AD:216
ex. Code: Code:170/N60 / 6PK | 5 80001108 | 646 030 09 03...
AD: 192
+ Start & Stop
ex. Code: Code:170/N60 / 6PK | 5 80004793 | 646 030 09 03...
AD: 192

+ CORTECO Nr: 80001108 - - 80001258

!° - Start & Stop

R D B o) 639 09/0
111 CDI OM 646.982 09/03 Code: N63 / MC: 646.982 / 6PK | 5 80000822 | 611030 14 03...
115 CDI OM 646.982 09/03 AQD:216
AD:192 6PK | 5 80001108 | 646 030 09 03...
+ Start & Stop
AD: 192 6PK | 5 H 80004793 | 646 030 09 03...
° ; Start & Stop
+ CORTECO Nr: 80001108 - - ’ 80001258
122 CDI OM 642.890 09/10 MC: 642.890 6PK | 5+6 80004569 | 642 030 06 03
+7PK '
126 M 272.978 09/07 6PK | 5 80001427 | 273 030 03 03...

; Start & Stop

178



o & g i Mkl OE
R D B and e 0 01/09
E 200 CGI M 271.820, M 271.860  |08/09 6PK | 5 80001536| 271 030 02 03...
E 250 CGI M 271.860 01/09 °
6PK | 5 = 80004332 271 030 02 03...
D @: M18x1,5x50 - ‘ 80001270
E 300 M 276.952 07/11 6PK | 5 80005011 276 030 09 03
E 300 4-matic M 276.952 07/11
E 350 M 276.952 09/11
E 350 4-matic M 276.952

MINI - Cabriolet

07/04 - 11/07
W10 B16 A

07/04 - 11/07

11237829 906
49361662

MINI - (R56)

06/01 - 02/12

01/07 -> /A ©:138.2 6PK | 5 80001196 | 11237562801
Cooper S W11 B16 A 07/04 - 11/07 6PK | 5 11237 829 906
49361662
Cooper S WI11B16 A 07/04 - 11/07 6PK | 5 W 11237 829 906
49361662
01/07 -> /A D:138.2 6PK | 5 80001196 | 11237562801
+ Start & Stop
6PK | 5 80001833 | 11237 525135...
One WI10B16 A 07/04 - 11/07 6PK | 5 ‘M 11237 829 906
49361662
bma 0/0
Cooper N12B16 A, N16 B16 A |10/07 - 12/13| A D: 138.2 6PK | 5 80001196 | 11237562801
Cooper S N14B16 A 10/07 - 02/10

Cooper W10 B16 A 06/01 - 09/06 6PK | 5 T3y 11237829906
49361662
Cooper N12B16 A 10/06 - 02/12| A &: 138.2 6PK | 5 80001196 | 11237 562801
+ Start & Stop
Cooper S W11 B16 A 03/02 - 09/06 6PK | 5 7 11237829906
49361662
6PK | 5 80001833 | 11237525 135...
Cooper S N14B16 A 10/06 - 01/11| A &: 138.2 6PK | 5 80001196| 11237 562801
+ Start & Stop
One W10 B16 A 06/01 - 09/06 6PK | 5 T3y 11237829906
49361662
One N12 B14 A 11/06 - 03/10} A @: 138.2 6PK | 5 80001196 | 11237 562801

+ Start & Stop

179



(o)
MITSUBISHI - Carisma
1.6

i
¢

07/95 - 06/06
4G92 (SOHC 16V)

07/95 - 06/06

4+3

80005100

MD350781

MITSUBISHI - Lancer VI
1.6 16V

12/95 - 08/03
4G92 (SOHC 16V)

12/95 - 08/03

MITSUBISHI - Pajero Sport  11/98 -

5PK
+4PK

4+3

80005100

MD350781

8 4G93 (SOHC 16V) 07/95 - 09/97 +4PK

1.8 16V GDI 4G93 (GDI) 09/97 - 06/06

1.8 GDI 4G93 (GD) 10/00 - 06/06

T8 MSX - 16V 4G93 (DOHC 16V) 07/95 - 07/97

B o) 05/96 - 09/0

1600 4G92 (SOHC 16V) 09/00 - 09/03 5PK | 443 80005100  MD350781

7600 GLX 4G92 (SOHC 16V) 05/96 - 09/00 +4PK °

MITSUBISHI - L 200 06/96 - 12/07

2.5D 4D56 (8V) 06/96 - 12/07] 07/01 -> 1PK | 2 80001832 |  MD374223
+1PK °

2.51D 4WD 4D56 T 09/01 - 12/07 K| 2 80001832 MD374223
+1PK c

MITSUBISHI - Pajero Pinin  10/99 - 06/07

1.8 4G93 (SOHC 16V) 11/01 - 06/07 80005100 MD350781
1.8 GDI 4G93 (GDI) 10/99 - 10/01 +4PK

2.0 GDI 4G94 (GDI) 10/00 - 06/07

NISSAN - 3507 09/02

2.5TD 4D56 T 11/98 07/01 -> 80001832 MD374223
+1PK
2.5TD 4D56 T 07/02 1PK | 2 80001832 MD374223
+1PK
B pace dta 06/98 04
1.8 GDI 4G93 (GDI) 06/98 - 12/04 5PK | 443 80005100 MD350781
1.8 MPI 4G93 (DOHC 16V) 10/02 - 12/04 +4PK

NISSAN - 350 Z Roadste

r 03/05 -

3.5 VQ35DE 09/02 6PK | 5+3 80005102 |  12303AL501
+4PK
3.5 VQ35HR 09/05 7PK | 6 80005103|  12303JK20A

3.7

3.7

NISSAN - 370 Z 06/09 -

VQ37HR, VQ37VHR

NISSAN - 370 Z Roadster 01/10 -

VQ37VHR

06/09

01/10

©]|6]0©6]6€]6]00]6

80005103

80005103

3.5 VQ35DE 03/05 6PK | 5+3 80005102 |  12303AL501
+4PK

3.5 VQ35HR 09/05 7PK| 6 80005103 |  12303JK20A

3.5 VQ35DE 04/06 6PK | 5+3 80005102|  12303AL501
+4PK

12303JK20A

*

7PK

12303JK20A

—_

80




o

¢
2

NISSAN - Cefiro 09/04 -

N oo OE

NISSAN - Murano |

1.5dCi

1.5 dci

NISSAN - Pathfinder |

NISSAN - Primera Il

1.9 dCi

NISSAN - Qashqai

NISSAN - Note 03/06

NISSAN - NV200 04/1

K9K 708, K9K 722

08
VQ35DE

K9K 276, K9K 292,
K9K 700

K9K 636, K9K 646,

K9K 892

08/01 - 07/04

04/03 -

NISSAN - Primera lll Traveller 04/03 -

FoQ

02/07 -

03/06

04/11

08/01 - 07/04

2.3 VQ23DE 09/04 6PK 80005104 123038J101
+4PK
NISSAN - Kubistar 08/03 -
1.5dCi K9K 704, K9K 710, 08/03 AD: 155 80001299 1230300Q0J
K9K 714, K9K 722
1.5dCi 70 K9K 700, K9K 716 04/06 - 10/09
1.5 dCi 85 K9K 276 04/06 - 10/09 art & Stop
A a 01/0 06/10
1.0 16V CG10DE 01/03 - 06/10 5PK 80000600 1230300QAY
1.2 16V CG12DE, CR12DE 01/03 - 06/10
1.5dCi K9K 276, K9K 704, 01/03 - 06/10| A @: 155 6PK 80001299 1230300Q0J

+4PK

80005104 123038J101

80001299

1230300Q0)J

80001299 1230300Q0)J

80005102 12303AL501

80001093 | 12303AW300...

04/03

7PK 80004348 | 12303AW300...
+ CORTECO Nr: 80001093 - 80004346

7PK 80001093 | 12303AW300...

7PK 80004348 | 12303AW300...
+ CORTECO Nr: 80001093 - 80004346

1.5 dCi K9K 410, K9K 430, 02/07 A@: 155 6PK 80001299 1230300Q0J
K9K 732, K9K 764
+ Start & Stop
2.0 MR20DE 02/07 6PK 80005171 12303EN20C
2.0 Allrad MR20DE 02/07
2.0dCi MI1D, M9R 02/07 AQD: 158 7PK 80001434 1230300Q0A
2.0 dCi Allrad M1D, M9R 02/07

- Start & Stop

181



o

NISSAN - Tiida 09/07

g

OE

OPEL - Agila

08/03 -
1.3 CDTI

OPEL - Astra F / Caravan

D13A,Z13DT,Z 13 DTJ

09/91 - 09/98

08/03

6PK

1.5 dCi K9K 728 09/07 80001299 1230300Q0J

— + Start & Stop
1.8 MR18DE 09/07 6PK 80005171 12303EN20C
1.8 Flex 05/09 Q
NISSAN - X-Trail Il 03/07 - 11/13
2.0 MR20DE 06/07 - 11/13 6PK Q 80005171 12303EN20C
2.0dCi MIR, M9R 760 06/07 - 11/13|A D: 158 7PK 80001434 1230300Q0A
2.0 dCi FWD M9R 06/07 - 11/13

+ Start & Stop

2.0 FWD MR20DE 03/07 - 11/13 6PK 80005171 12303EN20C
OP Ada 0
1.2 A 12 XEL, B 12 XEL 10/12 A QD: 153 6PK 80001697 615 049...
1.4 A 14 XEL, B 14 XEL 10/12

93194443...

OPEL - Astra F Cabriolet
1.8i16V

03/93 - 03/01
C 18 XEL, X 18 XE

11/94 - 03/01

D @: M12x40 / M8x16 / M8x20

->T2703456 / -> 15166080 /
-> 18182497

6PK

1.81 16V C 18 XE, C 18 XEL, 06/93 - 09/98] -> 12703456 / -> 15166080/ | 6PK 80000863 | 90469102...
X 18 XE -> 18182497 °
+ Start & Stop
> 72703456/ -> 75166080/ | 6PK 80004898 | 90469102...
-> 78182497 ‘Q
+ Start & Stop
+ CORTECO Nr: 80000863 / - 80004897
D @: M12x40 / M8x16 / M8x20 m
20 C 20 NE 09/91 - 09/98| P2000001 -> 12703456 6PK 80000863 | 90469102...
P3000001 -> 53999999
P4000001 -> 54999999
5000001 -> 15166080
P800000T -> T8182497
PBO0000T -> TB035210 + Start & Stop
2500001 -> 72703456 6PK 80004898 | 90469102...
P3000001 -> 53999999
P400000T -> 54999999
F5000001 -> 15166080
P800000T -> T8182497
PBO0000T -> TB035210 + Start & Stop
+ CORTECO Nr: 80000863 / : 80004897
D @: M12x40 / M8x16 / M8x20 m
20116V X 20 XEV 02/95 - 09/98| -> 12703456 / -> 15166080/ | 6PK 80000863 | 90469102...
-> 78182497 °
+ Start & Stop
> 72703456/ -> 751660807 | 6PK 80004898 | 90469102...
-> 78182497 ‘e,\
- Start & Stop
+ CORTECO Nr: 80000863 / : ' 80004897

80000863 90469102...

- Start & Stop

182



OPEL - Astra F Cabriolet

03/93 - 03/01

g

I

B oo

OE

1.8 16V C 18 XEL, X 18 XE 11/94 - 03/01] -> 72703456 / -> 75166080 / 80004898 |  90469102...
> 78182497
+ Start & Stop
+ CORTECO Nr: 80000863 / - - 80004897
D @: M12x40 / M8x16 / M8x20 m
2.0i C 20 NE 03/93 - 10/94] P2000001 -> T2703456 6PK | 5 80000863 |  90469102...
P3000001 -> 53999999
P4000001 -> 54999999
P5000001 -> 15166080
P800000T -> 18182497
PBO0000T -> TB035210 + Start & Stop
P2500001 -> 72703456 6PK | 5 80004898 |  90469102...
P3000001 -> 53999999
P4000001 -> 54999999
P5000001 -> T5166080
PB000001 -> 18182497
PBO0000T -> TB035210 + Start & Stop
+ CORTECO Nr: 80000863 / - - 80004897
D @: M12x40 / M8x16 / M8x20 m
OPEL - Astra G / Caravan 02/98 - 12/09
1.4 16V X 14 XE, Z 14 XE 02/98 - 01/05| A @: 160 5PK | 4 O 80001113 9129209...
> 12999999 / -> 15999999 / 5PK | 4 80004891 9129209...
-> 16999999 / -> 18999999 / q
> 1H/->1G/A@: 160
(-
22000001 -> / 25000001 -> / 5PK | 4 80004893 9129209...
26000001 -> / 4G000001 -> / '
2H-> /A @: 160
®
> 12999999 / -> 15999999 / - - 80004890
-> 16999999 / -> 18999999 /
>1H/->1G/ ‘
+ CORTECO Nr: 80001113 /
D @: M12x1,75x62
22000001 -> / 25000001 -> / - . 80004892
26000001 -> / 4G000001 -> /
2H ->/ ‘
+ CORTECO Nr: 80001113 /
D @: M12x1,5x62
1.6 X 16 SZR 02/98 - 09/00 - - 80001539 9128562...
1.6 Z 16 XEP 12/02 - 12/09| A @: 158 5PK | 4 ’ 80001114 615 045...
1.6 16V C 16 SEL, X 16 XEL, 02/98 - 01/05| A @: 160 5PK | 4 80001113 9129209...
Z16xE O
AQ: 160 5PK | 4 Q 80004891 9129209...
(-
+ CORTECO Nr: 80001113 / - - 80004890
D @: M12x1,75x62 ‘\
1.7 CDTI Z17 DL 04/03 - 12/09] 16509 -> / A @: 154 6PK | 5 ° 80000837 |  97353964...
1.7 DTI 16V Y17 DT 02/00 - 01/05 6PK | 5 o 80000836 |  97361525...
1.8 16V X 18 XE1, Z 18 XE 02/98 - 01/05| A @: 160 5PK | 4 ' 80001113 9129209...

183



1.8 16V

OPEL - Astra G / Caravan

02/98 - 12/09
X 18 XE1, Z 18 XE

02/98 - 01/05

I

-> 22999999 / -> 25999999 /
-> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 /
->2G/AD: 160

B oo

80004891

OE

9129209...

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3B000001T -> / 3HO00001 -> /
4G000001 -> / A D: 160

5PK | 4

80004893

9129209...

-> 22999999 / -> 25999999 /
-> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 /
->2G/

+ CORTECO Nr: 80001113 /
D @: M12x1,75x62

80004890

32000001 -> / 35000001 -> /
36000001 -> /38000001 -> /
3B000001 -> / 3HO00001 -> /
4G000001 -> /

+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

80004892

2.0 16V

C 20 SEL, X 20 XEV

02/98 - 01/05

2.0 16V OPC

X 20 XER

11/99 - 09/02

A@: 162

5PK | 4

80001115

90572761...

2.0DI

X 20 DTL, Y 20 DTL

02/98 - 01/05

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80000085

9128177...

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@: 179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80001992

9128177...

+ CORTECO Nr: 80000085 /
D @: M18x122

80001241

2.0 DI

X 20 DTL, Y 20 DTL

02/98 - 07/04

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@: 179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80000085

9128177...

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
AD:179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80001992

9128177...

+ CORTECO Nr: 80000085 /
D @: M18x122

80001241

2.0DI

X 20 DTL, Y 20 DTL

09/98 - 01/05

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

6PK | 5

80000085

O § O R & O 0% 299

9128177...

184




. = g i Ml €3 OE
OPEL - Astra G / Caravan 02/98 - 12/09
2.0 DI X 20 DTL, Y 20 DTL 09/98 - 01/05| AUT / -> 22999999 /
-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
AD: 179
32000001 -> / 35000001 -> /
36000001 -> / 38000001 -> /
3H000001 -> /A D: 179
MAN / AC / -> 22999999 / 6PK | 5 80001992 9128177...
-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
AD:179
AUT / -> 22999999 /
-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
AD:179
32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

+ CORTECO Nr: 80000085 / - - 80001241
D @: M18x122
2.0 DTI 16V X 20 DTH, Y 20 DTH 08/99 - 01/05] AC / -> 22999999 / 6PK | 5 80000085 9128177...

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3HO00001 -> /A @: 179

AC / -> 22999999 / 6PK | 5
-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@: 179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3HO000001 -> /A @: 179

80001992 9128177...

+ CORTECO Nr: 80000085 / - - 80001241
D @: M18x122
2.0 OPC Z 20 LET 09/02 - 01/05) A @: 162 5PK | 4 80001115 90572761...

OPEL - Astra G Cabriolet 03/01 - 10/05
1.6 Z 16 XEP 01/03 - 10/05| A @: 158 5PK 4

80001114 615 045...

1.8 16V Z 18 XE 03/01 - 10/05) A @: 160 5PK | 4 80001113 9129209...

-> 22999999 / -> 25999999/ | 5PK | 4
-> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 /
> 2G/AD: 160

32000001 -> /35000001 -> / | 5PK | 4
36000001 -> / 38000001 -> /
38000001 -> / 3H000001 -> /
4G000001 -> / A @: 160

-> 22999999 / -> 25999999 / - -
-> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 /
->2G/

+ CORTECO Nr: 80001113 /
D @: M12x1,75x62

32000001 -> / 35000001 -> / - -
36000001 -> / 38000001 -> /
3B000001 -> / 3HO00001 -> /
4G000001 -> /

+ CORTECO Nr: 80001113/
D @: M12x1,5x62

2.0 OPC Z 20 LET 03/02 - 10/05) A @: 162 5PK | 4

80004891 9129209...

80004893 9129209...

80004890

80004892

80001115 90572761...

0% 299%00|10% ¢ O ¢

185



OE

OPEL - Astra G Coupé 03/00 - 05/05

1.6 16V Z 16 XEP 03/00 - 05/05| A @: 158 5PK 80001114 615 045...
1816V X 18 XE1, Z 18 XE 03/00 - 05/05| A @: 160 5PK 80001113 | 9129209...
> 22999999 /> 25999999/ | 5PK 80004891 | 9129209...
> 26999999 / -> 28999999 /
> 28999999 / -> 2H999999 /
> 2G/AD: 160
32000001 -> 7 35000001 -> / | 5PK 80004893 | 9129209...
36000001 -> / 38000001 -> /
38000001 -> / 3HO00001 -> /
4G000001 -> / A @: 160
> 22999999 / -> 25999999 / : 80004890
> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 / \
> 2G/ ‘
+ CORTECO Nr: 80001113 /
D @: M12x1,75x62
32000001 -> / 35000001 -> / - 80004892
36000001 -> / 38000001 -> /
38000001 -> / 3HO00001 -> / \
4G000001 -> /
+ CORTECO Nr: 80001113 /
D @: M12x1,5x62
2.0 16V Turbo 7 20 LET 09/00 - 08/01| A @: 162 5PK ° 80001115 90572761...
OPEL - Astra H / Caravan 03/04 -
1.3 CDTI Z13DTH 04/05 ° 80001143 | 93194443...
+ Start & Stop
6 Z 16 XET, Z 16 XEP 03/04 AQ: 158 5PK 80001114 |  615045...
716 XER
1.6 Turbo Z 16 LET 02/07
1.7 CDTi Z17 DT 02/07 8PK ° 80001749 | 98022837...
+ Start & Stop
1.7 coTl Z17DTH, Z 17 DTL 03/04 AQ: 154 6PK ° 80000837 | 97353964...
1.7 CDTI A17 DTJ, A 17 DTR 02/07 6PK ° 80001749 |  98022837...
+ Start & Stop
1.8 Z 18 XE 03/04 A D: 160 5PK ' 80001113 | 9129209...
AD: 160 5PK 80004893 | 9129209...
e.
+ CORTECO Nr: 80001113/ - 80004892
D @: M12x1,5x62 ‘\
1.8 A 18 XER, Z 18 XER 08/05 AQ: 158 5PK ' 80001114|  615045...
1.9 COTi Z19DTH 03/05 > 72156708/ -> 75189052 / | 6PK 80001159 | 93191381...
-> 78104400 Q
‘\ ‘ + Start & Stop
> 17205096 8PK 80004910 | 93191381...

®

(N

- Start & Stop

186




i il € OE

OPEL - Astra H / Caravan 03/04 -

1.9 CDTi Z 19 DTH 03/05 17205097 -> 6PK | 5 80004910|  93191381...
+ Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26
1.9 CDTI Z19DT 06/04 > 5545149 6PK | 5 80001159 |  93191381...
+ Start & Stop
> 17205096 6PK | 5 & 80004910  93191381...
N + Start & Stop
17205097 -> 6PK | 5 “ 80004910|  93191381...
N + Start & Stop
> 17205096 / R 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (o] “
1.9 CDTI Z 19 DTH 09/04 > 72156708/ -> 75189052/ | 6PK | 5 80001159  93191381...
-> 78104400
+ Start & Stop
> 17205096 6PK | 5 “ 80004910  93191381...
N + Start & Stop
17205097 -> &PK | 5 “ 80004910|  93191381...
© + Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (o] \‘
1.9 CDTI Z19DT,Z 19 DTL 09/05 > 5545149 6PK | 5 80001159 |  93191381...
+ Start & Stop
> 17205096 6K | 5 “ 80004910  93191381...
N + Start & Stop
17205097 -> 6PK | 5 “ 80004910|  93191381...
N + Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (<]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (o] \‘
1.9 CDTi 16V Z19DTJ 03/05 > 72156708/ -> 75189052/ | 6PK | 5 80001159 |  93191381...
1.9 CDTI 16V Z 19 DTJ 04/04 -> 78104400

- Start & Stop

187



= Z a i i € O
OP A a arava 03/04
1.9 CDTi 16V Z19DTJ 03/05 -> 17205096 6PK | 5 80004910|  93191381...
1.9 CDTI 16V Z 19 DTJ 04/04 “
N + Start & Stop
17205097 -> 6PK | 5 a 80004910|  93191381...
© + Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (] \\
2.0 Turbo Z 20 LEA, Z 20 LEL, 03/04 AQ: 162 5PK | 4 80001115  90572761...
Z 20 LER °
OPEL - Astra H Twintop  09/05 -
1.6 Z 16 XE1,Z 16 XEP 09/05 AQ: 158 5PK | 4 80001114 | 615 045...
7 16 XER
1.6 Turbo Z 16 LET 02/07
18 A T8 XER, Z 18 XER 09/05
1.8 Z 18 XE 09/05 AQ: 160 5PK | 4 80001113 | 9129209...
AD: 160 5PK | 4 80004893 9129209...
e,
+ CORTECO Nr: 80001113 / - 80004892
D @: M12x1,5x62 ‘\
1.9 CDTi Z 19 DTH 09/05 > 72156708 / -> 75189052/ | 6PK | 5 80001159 |  93191381...
-> 78104400
+ Start & Stop
> 17205096 6PK | 5 & 80004910  93191381...
© + Start & Stop
17205097 -> 6PK | 5 “ 80004910  93191381...
N + Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (] “
2.0 Turbo Z 20 LEL, Z 20 LER 09/05 AQ: 162 5PK | 4 ° 80001115  90572761...
OPEL - AstraJ 12/09 -
1.4 A 14 XEL, A 14 XER 12/09 -> B3999999 / -> B8999999/ | 6PK | 5 80001697 | 615 049...
T4LPG A 14 NET 01/12 > BG999999 / A @: 153
1.4 Turbo A 14 NEL, A 14 NET, 12/09
B 14 NEL, B 14 NET + Start & Stop
1.6 A 16 XER, B 16 XER 12/09 6PK | 5 80001535| 615 062...
1.6 Turbo A6 LET 12/09 .
+ Start & Stop
1.7 CDTI A 17 DTC, A 17 DTE, 12/09 6PK | 5 80001749 |  98022837...
A 17 DTJ, A 17 DTR °
+ Start & Stop
2.0 CDTI A 20 DTH 12/09 6PK | 5 ° 80001808 | 6 14 487...
; Start & Stop

188



o

OPEL - Astra J GTC

10/11 -

I

B oo

OE

A 14 XER

10/11

-> B3999999 / -> B8999999 /
-> BG999999 /A D: 153

6PK | 5

80001697

+ Start & Stop

2.0 CDTI

A20DTH

10/11

6PK | 5

80001808

+ Start & Stop
OPEL - Astra J Sportstourer  10/10 -

OPEL - Combo

OPEL - Cascada
2.0 CDTI

OPEL - Corsa C
1.3 CDTI

10/01

03/13 -
A20DTH

09/00 - 12/09

03/13

06/03 - 12/09

1.4 A 14 XER 10/10 -> B3999999 / -> B8999999 / 6PK| 5 80001697
1.4 LPG A 14 NET 01/12 -> BG999999 / A @: 153
1.4 Turbo A T4 NET, B 14 NET 10/10

+ Start & Stop
2.0 CDTI A 20 DTH 10/10 6PK | 5 80001808
OP alibbra A 02/94 - 07/9
2.0i16V X 20 XEV 02/94 - 07/97 6PK | 5 80000863
2.0i16V 4x4 X 20 XEV 02/94 - 07/97

+ Start & Stop

6PK | 5

80004898

+ Start & Stop

+ CORTECO Nr: 80000863 /
D @: M12x40 / M8x16 / M8x20

80004897

+00]06

80001539

80001808

80001143

+ Start & Stop

615 049...

614 487...

615 049...

614 487...

90469102...

90469102...

9128562...

614 487...

93194443...

T4 Z 14 XE 09/00 - 12/09| A @: 160 5PK | 4 80001113 | 9129209...
> 13999999 / -> 24006768/ | 5PK | 4 80004891 | 9129209...
> 16999999 / A @: 160
23000001 -> / 24006769 ->/ | 5PK |4 80004893 | 9129209...
26000001 -> / A @: 160
> 13999999 / -> 24006768 / - 80004890
> 16999999 / \
+ CORTECO Nr: 80001113 / ‘
D @: M12x1,75x62
23000001 -> / 24006769 -> / - 80004892
26000001 -> / \
+ CORTECO Nr: 80001113 / ‘
D @: M12x1,5x62
1.7 COTI Z17DTH 06/03 - 12/09| A @ 154 6PK | 5 ° 80000837 | 97353964...
1.7 DI Y17 DTL 09/00 - 12/09 6PK | 5 80000836 |  97361525...
T.7DI 16V Y17 DTL 09/00
1.7 DTl Y17 DT 09/00 - 12/09
1.7 DT 16V Y17 DT 09/00
1.8 Z 18 XE 09/00 - 12/09| A @: 160 5PK | 4 O 80001113 | 9129209...

189



i il € OE

-> 23999999 / -> 24999999 / 80004891 9129209...
-> 26999999 / A D: 160

OPEL - Corsa C 09/00 - 12/09
1.8 Z 18 XE 09/00 - 12/09

33000001 -> /34000001 -> / 5PK | 4
36000001 -> /A &: 160

80004893 9129209...

-> 23999999 / -> 24999999 / - - 80004890
-> 26999999 /

+ CORTECO Nr: 80001113 /

D @: M12x1,75x62

33000001 -> /34000001 -> / - - 80004892

36000001 -> /
+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

OPEL - Corsa D 07/06 -

A 12 XER 80001696

615026...

+ Start & Stop

1.2 A 12 XEL 06/10 AD: 153 5PK | 4 80001696 615026...
+ Start & Stop
1.3 CDTI A13DTC, Z 13 DTH, 07/06 6PK | 5 80001143 93194443...
Z13DTJ
+ Start & Stop
1.4 A 14 XEL 09/09 MC: A 14 XEL / MC: A 14 XER / 5PK | 4 80001696 615026...
AD: 153
+ Start & Stop
1.6 Turbo A 16 LEL, A 16 LER, 02/07 AD: 158 5PK | 4 80001114 615045...
B 16 LER, Z 16 LEL,
Z 16 LER
1.7 CDTI A17 DTS, Z 17 DTR 07/06 6PK | 5 80001749 98022837...

OPEL - Frontera A 03/92 - 10/98
C 20 NE, X 20 SE

03/92 - 10/98 80000863 90469102...

+ Start & Stop

MC: X20SE 6PK | 5 80004898 90469102...
+ Start & Stop
MC: X20SE / - - 80004897

+ CORTECO Nr: 80000863 /
D @: M12x40 / M8x16 / M8x20

2.2i X 22 XE 03/95 - 10/98 6PK | 5 80000863 90469102...
+ Start & Stop
6PK | 5 80004898 90469102...

+ Start & Stop
80004897

+ CORTECO Nr: 80000863 / - -
D @: M12x40 / M8x16 / M8x20

OPEL - Frontera B 10/98 - 09/02

X 22 DTH, Y 22 DTH 80000085

9128177...

10/98 - 09/02

A@: 179 6PK | 5 80001992 9128177...

+ CORTECO Nr: 80000085 / - -
D @: M18x122

80001241

190



OPEL - Frontera B 10/98 - 09/02

i il € OE

2.2i X 22 SE, Y 22 SE 10/98 6PK | 5 80000863 90469102...
+ Start & Stop
6PK | 5 80004898 90469102...

+ Start & Stop

80004897

+ CORTECO Nr: 80000863 / - -
D @: M12x40 / M8x16 / M8x20

OPEL - Insignia / Caravan 07/08 -

1.6 A 16 XER 07/08 80001535 615062...
1.6 Turbo A 16 LET 07/08
1.8 A 18 XER 07/08
+ Start & Stop
2.0 CDTI A 20 DT, A 20 DTC, 07/08 6PK | 5 80001808 614 487...
A 20 DTH, A 20 DTJ,
A 20 DTL
2.0 CDTI 4x4 A 20 DTH 06/10 + Start & Stop
OPEL - Insignia Sports Tourer 07/08 -
1.6 A 16 XER 07/08 80001535 615062...
1.6 Turbo A 16 LET 01/09
1.8 A 18 XER 07/08
+ Start & Stop
2.0 CDTI A 20 DT, A 20 DTC, 07/08 6PK | 5 80001808 614 487...
A 20 DTH, A 20 DTJ,
A 20 DTL
2.0 CDTI 4x4 A 20 DTH 06/10 + Start & Stop
OPEL - Meriva A 05/03 - 05/10
1.3 CDTI Y 13 DT, Z 13 DT, 09/03 - 05/10 6PK | 5 80001143 93194443...
Z13DTJ
+ Start & Stop
1.6 Z 16 SE 05/03 - 05/10 - - 80001539 9128562...
1.6 Z 16 XEP 01/06 - 05/10| A @: 158 5PK | 4 80001114 6 15045...
1.6 16V Z 16 XE 05/03 - 01/06| A @: 160 5PK | 4 80001113 9129209...
-> 24999999 / A @: 160 5PK | 4 80004891 9129209...
34000001 -> / A @: 160 5PK | 4 80004893 9129209...

-> 24999999 / - - 80004890
+ CORTECO Nr: 80001113 /

D @: M12x1,75x62

34000001 -> / - - 80004892

+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

1.6 Turbo Z 16 LET 09/05 - 05/10J A &: 158 5PK | 4 80001114 6 15045...

1.7 CDTI Z17DT,Z17 DTH 09/03 - 05/10| A @: 154 6PK | 5 80000837 97353964...

1.7 CDTI A 17 DTR,Z 17 DTR 09/06 - 05/10 6PK | 5 80001749 98022837...
+ Start & Stop

1.7 DTI Y17 DT 09/03 - 05/10 6PK | 5 80000836 97361525...

00007°°9900©0]00100)::00

191



o ] i VI o] OE
OPEL - Meriva A 05/03 - 05/10

1.8 Z 18 XE 05/03 - 05/10) A @: 160 5PK | 4

80001113 9129209...

A@: 160 5PK | 4 80004893 9129209...

+ CORTECO Nr: 80001113 / - -
D @: M12x1,5x62

80004892

OPEL - Meriva B 06/10 -
1.4 A 14 NEL, A 14 NET, 06/10 -> B4999999 / AD: 153 6PK | 5
B 14 NEL, B 14 NET

80001697 615 049...

+ Start & Stop

1.4 A 14 XER, B 14 XER 06/10 AD: 153 5PK | 4 80001696 615026...
+ Start & Stop

-> B4999999 / A D: 153 6PK | 5 80001697 615 049...
+ Start & Stop

1.7 CDTI A 17 DT, A17 DTC, 06/10 6PK | 5 80001749 98022837...

A 17 DTI, A17 DTS

OP okka 04
1.4 A 14 NET, B 14 NET 04/13 AQD: 153 6PK | 5 80001697 615 049...
1.4 LPG A 14 NET 04/13

OPEL - Movano 09/00 -

FOQ 772, F9Q 774 80001010 93170225...

6PK | 5 80004894 93170225...

+ CORTECO Nr: 80001010 / - -
D @: M12x1,25x45

80001242

2.2 DTl G9T 720, G9T 722, 09/00 AC 7PK | 6 80004400 93198115...
G9T 750

2.5 CDTI G9U 632, G9U 650 10/03

2.5DTi G9U 754 10/03

2.5DTl G9U 720, G9U 724, 10/01

G9U 750, G9U 754

OPEL - Movano Combi
1.9 DTI F9Q 772, F9Q 774 10/01 6PK | 5

80001010 93170225...

6PK | 5 80004894 93170225...

+ CORTECO Nr: 80001010 / - -
D @: M12x1,25x45

80001242

2.2 DTl G9T 720, G9T 722, 09/00 AC 7PK | 6 80004400 93198115...
G9T 750

2.5 CDTI G9U 632, G9U 650 08/06

2.5DTl G9U 720, G9U 724, 10/01

G9U 750, G9U 754
OPEL - Omega B / Caravan 03/94 - 07/03

2.0 X 20 SE 03/94 - 09/99| Code:CS 6PK | 5

80000863 90469102...

; Start & Stop

192



o

¢
2

OPEL - Omega B / Caravan 03/94 - 07/03

g

OE

2.0 X 20 SE 03/94 - 09/99] Code:CS 6PK | 5 80004898 | 90469102...
+ Start & Stop
+ CORTECO Nr: 80000863 / N 80004897
D @: M12x40 / M8x16 / M8x20 m
2016V X 20 XEV 03/94 - 09/99] -> T1145315 6PK | 5 ° 80000863 | 90469102...
+ Start & Stop
> T1145315 6PK | 5 ‘g 80004898 | 90469102...
+ Start & Stop
+ CORTECO Nr: 80000863 / N 80004897
D @: M12x40 / M8x16 / M8x20 m
2.0 DTI 16V X 20 DTH 09/97 - 09/00| A @: 179 6PK | 5 g 80000085 | 9128177...
AG:179 6PK | 5 Q 80001992 | 9128177...
+ CORTECO Nr: 80000085 / B 80001241
D @: M18x122 (
2216V Y22 XE, Z 22 XE 09/99 - 07/03| Code:CS 6PK | 5 ° 80000863 | 90469102...
+ Start & Stop
Code:CS 6PK | 5 Q 80004898 | 90469102...
+ Start & Stop
+ CORTECO Nr: 80000863 / N 80004897
D @: M12x40 / M8x16 / M8x20 m
2.2DT1 16V Y22 DTH 09/00 - 07/03| A @: 179 6PK | 5 g 80000085 | 9128177...
AG:179 6PK | 5 Q 80001992 | 9128177...
+ CORTECO Nr: 80000085 / B 80001241
D @: M18x122 (
2.5 DTI Y25 DT 09/01 - 07/03 5PK | 8 21653130
+5PK '
251D 25DT, X 25 DT, X 25 TD _|04/94 - 07/03 5PK | 4 ’ 80000025 | 90541669...
5PK | 4 a 80001991 90541669...
+ CORTECO Nr: 80000025 / - o, | 80001268
D ©@: M18x1,5x76,5 / M8x31 Fes ]
o'
32V6 Y32 SE 02/01 - 07/03| C31000001 -> / A @: 166 6PK | 5 q 80001116| 614 430...

193



o = i Mkl OE
OPEL - Signum 05/03 -
1.8 Z 18 XE 05/03 AD: 160 5PK | 4 80001113 |  9129209...
A D: 160 5PK | 4 80004893 | 9129209...
+ CORTECO Nr: 80001113/ R 80004892
D @: M12x1,5x62
1.8 Z 18 XER 09/05 AQ: 158 5PK | 4 80001114| 615 045...
1.9 CDTI Z19DT 04/04 > 5545149 6PK | 5 80001159|  93191381...
+ Start & Stop
> 17205096 6PK | 5 & 80004910  93191381...
N + Start & Stop
17205097 -> 8PK | 5 “ 80004910|  93191381...
o + Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (o] \\
1.9 CDTI Z 19 DTH 04/04 71021892 -> 6PK | 5 e 80000855| 6 14 584...
> 71021891 6PK | 5 80001159 |  93191381...
+ Start & Stop
> 17205096 6PK | 5 @ 80004910|  93191381...
N + Start & Stop
17205097 -> 6PK | 5 & 80004910  93191381...
N + Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (] “
1.9 COTI Z19 DT 08/05 > 5545149 6PK | 5 80001159 |  93191381...
+ Start & Stop
> 17205096 6PK | 5 “ 80004910  93191381...
N + Start & Stop
17205097 -> &K | 5 @ 80004910|  93191381...
o + Start & Stop
> 17205096 / R 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]

194




o = i Mkl OE

OPEL - Signum 05/03 -

1.9 CDTI Z19DT 08/05 17205097 -> / -] - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 o “

2.0 DTl Y 20 DTH 05/03 AD: 179 6PK | 5 80000085|  9128177...
AD: 179 6PK | 5 80001992|  9128177...
+ CORTECO Nr: 80000085 / R 80001241
D @: M18x122

2.2 DTl Y 22 DTR 05/03 AD: 179 6PK | 5 80000085|  9128177...
AD: 179 6PK | 5 80001992 9128177...
+ CORTECO Nr: 80000085 / R 80001241
D @: M18x122

3.2V6 732 SE 05/03 AQ: 166 6PK | 5 80001116| 6 14 430...

OPEL - Sintra

11/96 - 04/99

D @: M12x1,5x62

2.2 DTl X 22 DTH 07/97 - 04/99| A D: 179 6PK | 5 g 80000085 9128177...
AD: 179 6PK | 5 Q 80001992 9128177...
+ CORTECO Nr: 80000085 / - - 80001241
D @: M18x122 (
2.2i16V X 22 XE 11/96 - 04/99 6PK | 5 ° 80000863 90469102...
+ Start & Stop
6PK | 5 ‘Q 80004898 90469102...
+ Start & Stop
+ CORTECO Nr: 80000863 / - - 80004897
D @: M12x40 / M8x16 / M8x20 m
OPEL - Speedster 04/03 -
2.0 Turbo Z 20 LET 04/03 AD: 162 ° 80001115 90572761...
OPEL - Tigra TwinTop  06/04 -
1.3 CDTI Z13DT 06/04 ° 80001143 93194443...
+ Start & Stop
1.8 Z 18 XE 06/04 AD: 160 5PK | 4 O 80001113 9129209...
AD: 160 5PK | 4 80004893 9129209...
e.
+ CORTECO Nr: 80001113/ - - Q 80004892

195



o ] g i VI o] OE

OPEL - Vectra A 09/88 - 11/95

2.0i 20 NE 09/88 - 10/90} P1000001 -> / P5000001 -> / 6PK | 5
P7500001 ->

80000863 90469102...

+ Start & Stop
80004898 90469102...

P1000001 -> / P5000001 -> / 6PK | 5
P7500001 ->

+ Start & Stop
80004897

|

+ CORTECO Nr: 80000863 / - -
D @: M12x40 / M8x16 / M8x20

2.0i16V X 20 XEV 06/94 - 11/95 6PK | 5 80000863 90469102...
2.0i 16V 4x4 X 20 XEV 06/94 - 11/95
- Start & Stop
6PK | 5 80004898 90469102...

|

+ Start & Stop

80004897

+ CORTECO Nr: 80000863 / - -
D @: M12x40 / M8x16 / M8x20

2.0 4x4 20 NE 01/89 - 10/90} P1000001 -> / P5000001 -> / 6PK | 5 80000863 90469102...
2.0 i 4x4 KAT C 20 NE 01/89 - 11/95| P7500001 ->
2.0 i KAT C 20 NE 09/88 - 11/95

|

+ Start & Stop
80004898 90469102...

P1000001 -> / P5000001 -> / 6PK | 5
P7500001 ->

+ Start & Stop

80004897

+ CORTECO Nr: 80000863 / - -
D @: M12x40 / M8x16 / M8x20

OPEL - Vectra B / Caravan 10/95 - 07/03
1.8i16V X 18 XE1, Z 18 XEL 10/95 - 09/00f MC: X 18 XE / -> T1147222 / 6PK 5
-> T7563699 / Code:CS

80000863 90469102...

+ Start & Stop
80004898 90469102...

MC: X 18 XE / ->T1147222/ 6PK | 5
->T7563699 / Code:CS

+ Start & Stop
80004897

+ CORTECO Nr: 80000863 / - -
D @: M12x40 / M8x16 / M8x20

2.0 DI 16V X 20 DTL 11/96 - 04/02) AC/ AD: 179 6PK | 5
2.0 DTI 16V X 20 DTH, Y 20 DTH 06/97 - 07/03

80000085 9128177...

AC/AD: 179 6PK | 5 80001992 9128177...

+ CORTECO Nr: 80000085 / - - 80001241
D &: M18x122
2.0i 20 NEJ 10/95 - 04/02| Code:CS 6PK | 5 80000863 90469102...
2.0i16V C 20 SEL, X 20 XEV 10/95 - 09/00
+ Start & Stop
Code:CS 6PK | 5 80004898 90469102...

+ Start & Stop

000000

+ CORTECO Nr: 80000863 / - - 80004897
D @: M12x40 / M8x16 / M8x20
2.2 DTI 16V Y 22 DTR 09/00 - 07/03| A &: 179 6PK | 5 80000085 9128177...

196



o Z g i VI o] OE

OPEL - Vectra B / Caravan  10/95 - 07/03

2.2 DTI 16V Y 22 DTR 09/00 - 07/03| A @: 179 6PK | 5 80001992 9128177...

+ CORTECO Nr: 80000085 / - -
D @: M18x122

80001241

OPEL - Vectra C / Caravan  04/02 -

1.6 Z16 XE 08/05 A@:160 80001113

521999999 /> 28999999/ | 5PK | 4 80004897|  9129209...
AD: 160 Q
(-

31000001 -> /38000001 -> / 5PK 4 80004893 9129209...
A D: 160 .
"

> 21999999 / -> 28999999 / - 80004890
+ CORTECO Nr: 80001113 / \
D @: M12x1,75x62 ‘

9129209...

31000001 -> /38000001 -> / - -
+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

80004892

1.6 Z 16 XEP 01/06 A@: 158 5PK | 4 80001114 615045...
1.6 16V Z 16 XE 06/04 AD: 160 5PK | 4 80001113 9129209...
1.8 Z 18 XE, Z 18 XEL 04/02

-> 21999999 / -> 28999999 / 5PK | 4
A@:160

80004891 9129209...

31000001 -> /38000001 -> / 5PK | 4
A@: 160

80004893 9129209...

-> 21999999 / -> 28999999 / - - 80004890
+ CORTECO Nr: 80001113 /

D @: M12x1,75x62

31000001 -> /38000001 -> / - - 80004892

+ CORTECO Nr: 80001113/
D @: M12x1,5x62

1.8 Z 18 XER 01/06 A@:158 5PK | 4 80001114 615 045...

1.8 16V Z 18 XE 04/02 A@: 160 5PK | 4 80001113 9129209...

-> 21999999 / -> 28999999 / 5PK | 4
A@: 160

80004891 9129209...

31000001 -> / 38000001 ->/ | 5PK | 4 80004893 | 9129209...
AD: 160 .
9

> 21999999 / -> 28999999 / -1 - 80004890
+ CORTECO Nr: 80001113 / \

D @: M12x1,75x62 ‘

31000001 -> / 38000001 -> / A 80004892
+ CORTECO Nr: 80001113 / \

D @: M12x1,5x62 ‘

197



oa B i Ml € OE
OPEL - Vectra C / Caravan 04/02 -
1.9 CDTI Z19DT 04/04 -> 5545149 6PK 80001159|  93191381...
+ Start & Stop
> 17205096 6PK “ 80004910|  93191381...
N + Start & Stop
17205097 -> 8PK @ 80004910  93191381...
N + Start & Stop
> 17205096 / : 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 =] oY
1.9 CDTI Z 19 DTH 04/04 71021892 -> 6PK e 80000855 | 6 14 584...
> 71021891/ -> 48999999 8PK 80001159|  93191381...
+ Start & Stop
17205097 -> 8PK “ 80004910|  93191381...
N + Start & Stop
> 17205096 8PK “ 80004910  93191381...
o + Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / : 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (o) ‘\
1.9 CDTI Z19 DTL 10/05 > 5545149 6PK 80001159|  93191381...
+ Start & Stop
> 17205096 6PK a 80004910|  93191381...
N + Start & Stop
17205097 -> 8PK & 80004910|  93191381...
:
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 o “
2.0 DTl Y 20 DTH 10/03 AD: 179 6PK 80000085 |  9128177...
AD: 179 6PK Q 80001992 |  9128177...
+ CORTECO Nr: 80000085 / - 80001241

D @: M18x122

198




. 2 i Ml € OE
OPEL - Vectra C / Caravan 04/02 -
2.0 DTI 16V Y 20 DTH 04/02 AQ:179 6PK 80000085 9128177...
AQD:179 6PK Q 80001992 9128177...
+ CORTECO Nr: 80000085 / - 80001241
D @: M18x122 (
2.2 DTl Y 22 DTR 10/03 AQ:179 6PK g 80000085 9128177...
AQD:179 6PK Q 80001992 9128177...
+ CORTECO Nr: 80000085 / - 80001241
D @: M18x122 (
2.2 DTI 16V Y 22 DTR 04/02 AQ: 179 6PK g 80000085 9128177...
AQ:179 6PK Q 80001992 9128177...
+ CORTECO Nr: 80000085 / - 80001241
D @: M18x122 (
3.2 V6 732 SE 08/02 AQ: 166 6PK e 80001116 614 430...
OP aro 08/0
1.9DI FOQ 762 08/01 6PK 80001010  93170225...
T.9 DT F9Q 760 08/01 ’
6PK ‘ 80004894 |  93170225...
A‘\\'
+ CORTECO Nr: 80001010 / - 80001242
D @: M12x1,25x45 ‘
2.5 CDTI G9U 630 08/06 AC 7PK e 80004400  93198115...
2.5 DT G9U 730 05/03 -> C069549 / AC 6PK @ 80001154 |  93161444...
AC 7PK e 80004400  93198115...
-> C069549 / AC 6PK g@ 80004870  93161444...
> C069549 / AC / - 80004869
+ CORTECO Nr: 80001154 /
D @: M14x1,5x67
OPEL - Zaofira 04/99 - 06/05
1.6 A 16 XER, Z 16 XE1, 07/05 AQ: 158 5PK 80001114 615 045...
Z 16 XEP Z 16 XER '

199



o

¢
2

OE

OPEL - Zafira 04/99 - 06/05
1.6 16V X 16 XEL, Z 16 XE 04/99 - 06/05| A @: 160 5PK ' 80001113|  9129209...
AD: 160 5PK Q 80004891 9129209...
(-
D @: M12x1,75x62 : \ 80004890
1.6 CNG Z 16 YNG 01/06 AQ: 160 5PK O 80001113|  9129209...
AD: 160 5PK 80004893 | 9129209...
e,
+ CORTECO Nr: 80001113/ : 80004892
D @: M12x1,5x62 ‘\
1.7 CDTI A17 DT}, A 17 DTR, 01/08 6PK 80001749|  98022837...
Z17 DT °
+ Start & Stop
1.8 A 18 XER, Z 18 XER 07/05 AQ: 158 5PK ‘ 80001114 | 615 045...
1.816V X 18 XE1, Z 18 XE 04/99 - 06/05| A @: 160 5PK ' 80001113|  9129209...
> 22999999 / -> 25999999/ | 5PK 80004891 9129209...
> 26999999 / -> 28999999 /
> 28999999 / -> 2H999999 /
> 2G /A D: 160 (-
32000001 -> / 35000001 -> / | 5PK 80004893  9129209...
36000001 -> / 38000001 -> /
38000001 -> / 3H000001 -> / ?
4G000001 -> /A @: 160 -]
> 22999999 / -> 25999999 / : 80004890
> 26999999 / -> 28999999 /
> 28999999 / -> 2H999999 / \
->2G/ ‘
+ CORTECO Nr: 80001113 /
D @: M12x1,75x62
32000001 -> / 35000001 -> / - 80004892
36000001 -> / 38000001 -> /
38000001 -> / 3HO00001 -> / \
4G000001 -> /
+ CORTECO Nr: 80001113 /
D @: M12x1,5x62
1.9 CDTI Z19DT,Z 19 DTL 07/05 > 5545149 6PK 80001159 |  93191381...
+ Start & Stop
17205097 -> 8PK a 80004910  93191381...
o + Start & Stop
> 17205096 6PK & 80004910|  93191381...
o + Start & Stop
> 17205096 / : 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (<]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (o) “
1.9 CDTI Z 19 DTH 07/05 72156709 -> / 7G1050346 -> | 6PK e 80000855| 6 14 584...

200




o

OPEL - Zafira
1.9 CDTI

04/99 - 06/05
Z19 DTH

g

07/05

I

-> 72156708 / -> 7G150345

B oo

80001159

+ Start & Stop

17205097 ->

6PK | 5

80004910

+ Start & Stop

-> 17205096

6PK | 5

80004910

+ Start & Stop

-> 17205096 /
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50

80004884

OE

93191381...

93191381...

93191381...

17205097 -> /
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26

80004886

2.0

Z 20 LEH, Z 20 LER

07/05

AD:162

5PK | 4

80001115

90572761...

2.0 CDTi

A 20 DT, A 20 DTH,
A 20 DTL, Y 20 DTJ,
Z20DTJ

10/11

6PK | 5

80001808

+ Start & Stop

2.0 DI 16V

X 20 DTL

07/99 - 06/05

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@D: 179

80000085

614 487...

9128177...

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

80001992

9128177...

+ CORTECO Nr: 80000085 /
D @: M18x122

80001241

2.0 DTI 16V

Y 20 DTH

09/00 - 06/05

AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@: 179

6PK | 5

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80000085

9128177...

AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

6PK | 5

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80001992

9128177...

+ CORTECO Nr: 80000085 /
D @: M18x122

80001241

2.2 DTI 16V

Y 22 DTR

01/02 - 06/05

A@: 179

6PK | 5

80000085

9128177...

A@: 179

6PK | 5

80001992

9128177...

+ CORTECO Nr: 80000085 /
D @: M18x122

80001241

RPO0R ¢ O ¢ 0 00>

201




o

¢
2

OE

PEUGEQOT - 106 08/91 - 04/96

1.4 HDi

PEUGEQT - 107 06/05 -

8HT (DV4TD)

06/05

MC: DVATD

6PK

1.0 CDY (TU9M), TU9 09/91 - 04/96| ex. AC 2PK | 1 80004366 0515 H1
101 CDY (TU9M), CDZ (TU9M]|05/96
.1 HDZ (TUTM) 09/91 - 04/96
T HDZ (TUTM), HFX (TUTJP) |05/96
AC/AD: 128 5PK | 4 80004368 0515 L2...
1.3 TU2J2 10/93 - 04/96| ex. AC 2PK | 1 80004366 0515 H1
1.4 K5A (TU3), KDX (TUBMC), |08/91 - 04/96| ex. AC 2PK | 1 80004366 0515 H1
KDY (TU3M),
KFZ (TU3J2/2)
T4 KFW (TUJP), KFX (TU3JP) |05/96
AC/AD: 128 5PK | 4 80004368 0515 L2...
15D VJY (TUD5) 06/94 AD: 142 5PK | 4 80000351 0515 L6
AD: 142 5PK | 4 80001994 0515 L6
+ CORTECO Nr: 80000351 / R 80001255
> 07428/
D @: M14x1,5x70 / 14,5x39,7x8 /
M8x16
1.6 NFZ (TU5JP) 06/93 - 04/96| ex. AC 2PK | 1 80004366 0515 H1
161 NFZ (TU5JP) 05/96
AC/AD: 128 5PK | 4 80004368 0515 L2...

80000597

+ Start & Stop

MC: DV4TD

6PK

80001812

+ Start & Stop

+ CORTECO Nr: 80000597 /
D @: M12x1,5x50

80001247

PEUGEOT - 2051 08/83 - 10/87
1.7 Diesel 161A (XUD7) 08/83 - 10/87 5PK | 4 80000384 0515 K9

0515 V8...

0515 V8...

200]1+90]1005 9000000

5PK | 4 80001997 0515 K9
+ CORTECO Nr: 80000384 / - - 80001240
D @: M14x1,5x70
PEUGEQT - 205 | Cabriolet 01/89 - 12/94
1.1C) HDZ (TUTM) 10/89 - 12/94| ex. AC 2PK | 1 80004366 0515 H1
1.4CJ K1D (TU3A), KDY (TU3M), |03/89 - 12/94
KDZ (TU3M)
1.4 CJ KAT KAY (TU3CP) 01/89 - 09/93
AC 4PK | 3 0 80004370 0515 L5...




o

PEUGEQT - 205 Il

¢
2

OE

06/87 - 09/98

D @: M14x1,5x70

1.0 U9 10/87 - 09/98| ex. AC 2PK | 1 80004366 0515 H1
11 H1B (TUT), HDZ (TUTM] |10/87 - 09/98
14 K1D (TU3A], K28 (TU3S), |06/87 - 09/98
KDX (TU3MC),
KDY (TU3M), KDZ (TU3M), AC K| 3 80004370 0515 15..
KFX (TU3JP), TU32
T4 KAT KAY (TU3CP) 08/87 - 09/93
1.7 Diesel 161A (XUD?) 07/87 - 09/98 5PK | 4 80000384 0515 K9
5PK | 4 80001997 0515 K9
+ CORTECO Nr: 80000384 / N 80001240
D @: M14x1,5x70 /
1.8 XDT XUD7T 08/90 - 05/97 K| 3 ‘ 80004362 0515 F7
+ CORTECO Nr: 80004362 / - 80001240
D @: M14x1,5x70 /
1.9 Diesel DJZ (XUD9Y) 10/87 - 09/98 5PK | 4 80000384 0515 K9
5K | 4 80001997 0515 K9
+ CORTECO Nr: 80000384 / - / 80001240

PEUGEQT - 206 09/98 - 11/01
1.1 HFX (TU1JP), HFZ (TUTJP) [09/98 -> 10191 /Servo /AC/AD: 146 | 6PK | 5 @ 80000931 | 9653771880...
+ Start & Stop
-> 10191 /Servo /AC/A@: 146 | 6PK | 5 80004883 | 9653771880...
S
° © + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 OAn®
1.4 16V KFU (ET3J4) 10/03 AD: 146 6PK | 5 @ 80000931 | 9653771880...
— + Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
Q.
. © + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 OAn®
1.4 HDi 8HX (DV4TD), 09/01 - 03/09| 10528 -> 6PK | 5 , N 80000682 0515 T3
8HZ (DV4TD) @
+ Start & Stop
10528 -> 6PK | 5 = 80004330 0515T3
+ Start & Stop
1.4 HDi eco 70 8HX (DVATD), 09/01 -> 10527 6PK | 5 80000597 0515 V8...
8HZ (DVATD) ‘

- Start & Stop




o E i VI o OE
PEUGEQT - 206 09/98 - 11/01
1.4 HDi eco 70 8HX (DV4TD), 09/01 10528 -> 6PK | 5 80000682 0515T3
8HZ (DVATD)
+ Start & Stop
-> 10527 6PK | 5 80001812 0515V8...
+ Start & Stop
10528 -> 6PK | 5 80004330 0515T3

+ Start & Stop

+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50
+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50
1.4 HDi eco 70 8HZ (DV4TD) 09/08 10528 -> 6PK | 5 80000682 0515T3
+ Start & Stop
10528 -> 6PK | 5 80004330 0515T3
+ Start & Stop
1.4 HDi eco 70 8HX (DV4TD), 01/09 6PK | 5 80000682 0515T3
8HZ (DVATD)
+ Start & Stop
6PK | 5 80004330 0515T3

+ Start & Stop
80001247

D @: M12x1,5x50 - -

09000455000

1.4i KFW (TU3JP), KFX (TU3JP) {09/98 -> 10191 /AC/Servo / AD: 146 | 6PK | 5 80000931 9653771880...
+ Start & Stop
-> 10191 /AC/Servo /A@D: 146 | 6PK | 5 80004883 | 9653771880...
Q.
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O 40
1.6 16V NFU (TU5JP4) 12/00 AD: 146 6PK | 5 @ 80000931 9653771880...
~ + Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
e e
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (-} Y
1.6 HDi 110 9HY (DV6TED4), 05/04 -> 10527 6PK | 5 80000597 0515 V8...

9HZ (DV6TEDA)

|

+ Start & Stop
80000682 0515T3

10528 -> / 6PK | 5
Catalytic Converter Type: DPF
Catalytic Converter Type: ex. DPF

+ Start & Stop

-> 10527 6PK | 5 80001812 0515V8...
- Start & Stop
10528 -> / 6PK | 5 80004330 0515T3

Catalytic Converter Type: DPF
Catalytic Converter Type: ex. DPF

0¢oco

|

+ Start & Stop

204



o

PEUGEQT - 206 09/98 - 11/01

1.6 HDi 110

9HY (DV6TEDA),
9HZ (DV6TEDA)

I

+ CORTECO Nr: 80000682 /
D @: M12x1,5x50

80001247

OE

+ CORTECO Nr: 80000597 / B - 80001247
D @: M12x1,5x50
1.6 NFZ (TU5JP) 09/98 - 12/00| AC / Servo / A @: 146 6PK | 5 @ 80000931 9653771880...
~ + Start & Stop
AC / Servo / A @: 146 6PK| 5 80004883 | 9653771880...
=)
° ° + Start & Stop
+ CORTECO Nr: 80000931/ - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 OAn®
1.9D WJY (DW8B), WJZ (DW8) [09/98 - 11/01| -> 09894 6PK | 5 ° 80000707 0515 Q6...
09895 -> /AC /A @: 162 6PK| 5 e 80000873 0515 V6...
09895 -> / ex. AC / A @: 156 6PK | 5 Q 80001007 0515 R5
09895 -> /AC /A @: 162 6PK | 5 I 80001811 0515 V6...
-> 09894 6PK| 5 = 80004334 0515 Q6
[=]
+ CORTECO Nr: 80000873/ . - 80001240
D @: M14x1,5x70 /
+ CORTECO Nr: 80000707 / - - 80001254
D @: M14x1,5x70 / 14,5x39,7x8 / OR »
Méx20 ° 1Y)
2.0 HDI 90 RHY (DW10TD) 12/99 09361 -> /A D: 158 6PK | 5 ‘ 80000598 0515 S4...
-> 09360 /A @: 162 6PK | 5 ° 80000873 0515 V6...
-> 09360 /A @: 162 6PK | 5 I 80001811 0515 V6...
09361 -> /A D: 158 6PK | 5 I 80004328 0515 S4..
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000598 / B - 80001240
D @: M14x1,5x70 /=
2.0RC RFK (EW10J4S) 07/03 M: 0991212 -> 6PK | 5 ‘ 80004378 0515 R7
> M: 0991211 6PK| 5 ° 80004380 0515 Q7

205



o E i VI o] OE
PEUGEQT - 206 09/98 - 11/01
2.0RC RFK (EW10J4S) 07/03 M: 0991212 -> / D @: M14x1,5x70] - - > 80001240
2.0816 RFN (EW10J4) 06/99 MAN / M: 0822888 -> 6PK | 5 ’ 80001556 0515 R1

PEUGEQT - 206 CC 09/00 -
1.6 16V NFU (TU5JP4) 09/00 AQD: 146 6PK | 5 80000931 | 9653771880...

+ Start & Stop
AD: 146 6PK | 5 80004883 9653771880...

I

o

+ Start & Stop

+ CORTECO Nr: 80000931 / - 80004882
D ©@: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O 40

1.6 HDi 110 9HZ (DVATEDA4) 04/05 >10527 K| 5 80000597 | 0515 V8.

+ Start & Stop
80000682 0515T3

10528 -> / 6PK | 5
Catalytic Converter Type: DPF
Catalytic Converter Type: ex. DPF

+ Start & Stop

-> 10527 6PK | 5 80001812 0515V8...
+ Start & Stop
10528 -> / 6PK | 5 80004330 0515T3

Catalytic Converter Type: DPF
Catalytic Converter Type: ex. DPF

+ Start & Stop

+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50
+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50
2.0816 RFN (EW10J4) 09/00 MAN / M: 0822888 -> 6PK | 5 80001556 0515 R1

PEUGEOT - 206 SW 07/02 -

0|l0+&+0900

1.4 16V KFU (ET3J4) 10/03 AD: 146 6PK | 5 80000931 9653771880...
+ Start & Stop
AD: 146 6PK | 5 80004883 9653771880...
{* ]
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 OAn®
1.4 HDi 8HX (DV4TD) 07/02 -> 10527 6PK | 5 ‘ 80000597 0515V8...
+ Start & Stop
10528 -> 6PK | 5 . 80000682 0515 T3
@ + Start & Stop
-> 10527 6PK | 5 80001812 0515V8...
+ Start & Stop
10528 -> 6PK | 5 = 80004330 0515 T3

- Start & Stop

206



o

PEUGEQT - 206 SW

07/02 -

I

OE

PEUGEQT - 207 02/06 -

1.4 HDi 8HX (DV4TD) 07/02 + CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50 *
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 ‘
1.6 16V NFU (TU5JP4) 07/02 AD: 146 6PK | 5 @ 80000931 9653771880...
~ - Start & Stop
AQD: 146 6PK | 5 80004883 | 9653771880...
O e
° + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 OAn®
1.6 HDi 110 9HZ (DV6TEDA4) 05/04 -> 10527 6PK | 5 ‘ 80000597 0515 V8...
- Start & Stop
10528 -> / 6PK | 5 \ 80000682 0515T3
Catalytic Converter Type: DPF
Catalytic Converter Type: ex. DPF
+ Start & Stop
-> 10527 6PK | 5 80001812 0515V8...
+ Start & Stop
10528 -> / 6PK | 5 80004330 0515T3
Catalytic Converter Type: DPF
Catalytic Converter Type: ex. DPF
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 *
+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50 ‘
2.0 16V RFN (EW10J4) 07/02 MAN / M: 0822888 -> 6PK | 5 ’ 80001556 0515 R1

1.4 KFV (TU3A) 02/06 AQD: 146 6PK | 5 80000931 9653771880...
+ Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
e e
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O 40
1.4 KFV (TU3A) 12/07 AD: 146 6PK | 5 @ 80000931 9653771880...
- - Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
L A
° © + Start & Stop
1.4 16V KFU (ET3J4) 02/06 AD: 146 6PK | 5 @ 80000931 9653771880...
— + Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
Q.

- Start & Stop

207



+ Start & Stop

6PK | 5

80004330

051513

o B i M © OE
PEUGEQT - 207 02/06 -
1.4 16V KFU (ET3J4) 02/06 + CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O 40
1.4 16V 8FS (EP3), EP3, EP3C 06/07 A QD:138.2 6PK | 5 80001196 | V763855180...
e + Start & Stop
1.4 HDi 8HR (DV4C), 8HZ (DVATD)|02/06 6PK | 5 | 80000682 0515 T3
@ + Start & Stop
6PK | 5 80004330 0515 T3
@
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 ‘
1.4 HDi 8HZ (DV4TD) 04/07 6PK | 5 N 80000682 0515T3
@ + Start & Stop
6PK | 5 = 80004330 0515 T3
+ Start & Stop
1.6 16V NFU (TU5JP4) 02/06 AD: 146 6PK | 5 @ 80000931 9653771880...
— + Start & Stop
AD: 146 6PK | 5 80004883 9653771880...
=
° © + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 OAn®
1.6 16V Turbo 5FX (EP6DT) 02/06 AQD:138.2 6PK | 5 80001196 | V763855180...
1.6 16V VTi 5FS (EP6C), 5FW (EP6), 02/07
EP6
+ Start & Stop
1.6 HDi 9HV (DV6TEDA4), 02/06 6PK | 5 \ 80000682 0515 T3
9HX (DV6ATEDA),
9HY (DV6TEDA),
9HZ (DV6TEDA4) + Start & Stop
6PK | 5 = 80004330 0515 T3
- Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 *
1.6 HDi 9HP (DV6DTED), 04/07 6PK | 5 . 80000682 0515 T3
9HX (DV6ATEDA) y
T6HDI 110 9HR (DV6C) 08/09
- Start & Stop
6PK | 5 = 80004330 0515 T3
+ Start & Stop
PEUGEQT - Cordoba | 09/07 -
1.6 16V 5FW (EPé), 5FX (EP6DT), |09/07 A Q:138.2 6PK | 5 80001196 | V763855180...
5FY (EP6DTS), EP6,
EP6CDT
+ Start & Stop
1.6 HDi 9HZ (DV6TEDA4) 09/07 6PK | 5 @ 80000682 0515T3

208

- Start & Stop




PEUGEQT - Cordoba | 09/07 -

i il € OE

1.6 HDi 9HZ (DV6TEDA4) 09/07 + CORTECO Nr: 80000682 / - - 80001247
D &: M12x1,5x50
1.6 HDi 9HP (DV6DTED) 11/09 6PK | 5 80000682 0515T3
+ Start & Stop
6PK | 5 80004330 0515 T3

+ Start & Stop
80001247

D @: M12x1,5x50 - -

1.6 HDi 9HR (DV6C) 12/09 6PK | 5 80000682 0515T3

+ Start & Stop
80004330 0515T3

6PK | 5

+ Start & Stop
80004382 0515 V9...

2.0 HDi RHR (DW10BTED4) 09/07 6PK | 5

6PK | 5

ﬁ 0515 V9...

49363329

+ CORTECO Nr: 80004382 / - -
D @: M14x1,5x70

80001240

rr 000500 &

PEUGEQT - 207 CC 02/07 -
1.6 16V 5FS (EP6C), 5FW (EP6),  102/07 A@:138.2 6PK | 5 80001196 | V763855180...

1.6 16V Turbo 5FX (EP6DT) 02/07
+ Start & Stop
1.6 HDi 9HZ (DV6TED4) 02/07 6PK | 5 \ 80000682 0515 T3
@ + Start & Stop
6PK | 5 = 80004330 0515 T3
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 ‘
1.6 HDi 9HR (DV6C) 08/09 6PK | 5 \ 80000682 0515T3
@ - Start & Stop
6PK | 5 = 80004330 0515 T3
PEUGEQT - 207 SW 06/07 -
1.4 KFV (TU3A) 06/07 AD: 146 6PK| 5 80000931 9653771880...
@ - Start & Stop
AD: 146 6PK | 5 80004883 9653771880...
Q.
° © + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (-] PO
1.4 16V 8FS (EP3), EP3, EP3C 06/07 AQD:138.2 6PK | 5 80001196 V763855180...
1.6 16V 5FS (EP6C), 5FW (EP6), 06/07
EP6 :
; Start & Stop

209



o ] i sl € OE
PEUGEQT - 207 SW 06/07 -
1.6 HDi 9HX (DV6ATEDA4), 06/07 6PK | 5 N 80000682 0515T3
9HZ (DV6TEDA) @
+ Start & Stop
6PK | 5 80004330 0515T3
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50
1.6 HDi 9HP (DV6DTED), 08/09 6PK | 5 80000682 0515T3
9HR (DV6C)
+ Start & Stop
6PK | 5 80004330 0515T3

PEUGEQT - 301

1.6 HDI 90

9HF (DV6DTED)

11/12

6PK

80000682

+ Start & Stop

6PK

80004330

051513

051513

(&)
L&
PEUGEOT - 208 03/12 -
1.2 THP HNZ (EB2DT) 01/13 6PK | 5+2 7 9808058180..
+3PK ‘ 49374729
1.4 HDi 8HP (DV4C), 8HR (DV4C) |03/12 > 13895 6PK | 5 | 80000682 051513
@ + Start & Stop
> 13895 GPK | 5 = 80004330 051513
+ Start & Stop
1.6 BlueHDi 120 BHZ (DV6FQ) 11/13 6PK | 5 | 80000682 051513
1.6 HDi 9HD (DV6CTED) 03/12 @
+ Start & Stop
&K | 5 = 80004330 051513
+ Start & Stop
1.6 HDi 9HP (DV6DTED) 03/12 6PK | 5 80000682 051513
@ + Start & Stop
&K | 5 ’ 80004330 051513
+ Start & Stop
D @: M12x1,5x50 - . 80001247
1.6 HDi BHX (DV6FC) 04/14 6PK | 5 80000682 051513
7.6 HDi / BlueHDi 75 9HK (DV6ETEDM), 01/13
BHW (DV6FE)
+ Start & Stop
6PK | 5 i 80004330 051513
p OT - 2008 0
1.2 THP 110 HNZ (EB2DT) 01/15 6PK | 5+2 9808058180...
7.2 THP 130 HNY (EB2DTS) 01/15 +3PK ‘ 49374729
1.4 HDi 8HR (DV4C) 06/13 > 13895 6PK | 5 @ 80000682 051513

210

- Start & Stop




o ] i VI o OE
PEUGEOT - 2008 03/13 -

1.4 HDi 8HR (DV4C) 06/13 -> 13895 6PK | 5 80004330 0515T3

+ Start & Stop

+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50
1.6 BlueHDi 120 BHZ (DV6FC) 07/14 6PK | 5 80000682 0515T3
1.6 HDi 9HP (DV6DTED) 03/13
+ Start & Stop
6PK | 5 80004330 0515T3
+ Start & Stop
1.6 HDi 9HD (DV6CTED) 03/13 6PK | 5 80000682 0515T3
+ Start & Stop
6PK | 5 80004330 0515T3

+ Start & Stop

+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50
1.6 HDi BHX (DV6FC) 07/14 6PK | 5 80000682 0515T3
+ Start & Stop
6PK | 5 80004330 0515T3

PEUGEQT - 306 / Break 05/93 - 04/02

1.1 HDZ (TUTM) 05/93 - 05/01 ex. Servo / ex. AC 2PK | 1 80004366 0515 H1
AC/Servo /A @: 128 5PK | 4 80004368 0515 L2...
AC / Servo 4PK | 3 80004370 0515 L5...
1.4 KDX (TU3MC), 05/93 - 05/01] MC: TUSMC / ex. Servo / ex. AC | 2PK | 1 80004366 0515 H1
KFW (TU3JP), KFX (TU3JP) MC: TU3JP / ex. AC
AC/AD: 128 5PK | 4 80004368 0515 L2...
AC/Servo /A D: 128 5PK | 4 80004368 0515 L2...
AC / Servo 4PK | 3 80004370 0515 L5...
1.4 KFW (TU3JP), KFX (TU3JP) [03/97 - 04/02] ex. AC 2PK | 1 80004366 0515 H1
AC/AD: 128 5PK | 4 80004368 0515 L2...
1.4 8L KDX (TU3MC), 06/94 - 05/01] MC: TUBMC / ex. Servo / ex. AC | 2PK | 1 80004366 0515 H1
KFW (TU3JP), KFX (TU3JP) MC: TU3IP / ex. AC

0000000000]90+0000+9

211



PEUGEQT - 306 / Break 05/93 - 04/02

OE

D @: M14x1,5x70

o\

1.4 5L KDX (TUBMC), 06/94 - 05/01| AC / A @: 128 5PK 80004368| 0515 L2...
KFW (TU3JP), KFX (TU3JP) 0
AC/Servo /AD: 128 5PK 9 80004368| 0515 L2...
AC/ Servo 4PK 0 80004370 0515 L5...
16 NFZ (TU5JP) 03/97 - 10/00| ex. Servo / ex. AC 2PK 80004366 0515 H1
1.6 R NFZ (TU5JP) 06/94 - 10/00 °
AC/Servo /A D: 128 5PK ° 80004368| 0515 L2...
AC/ Servo 4PK e 80004370| 0515 L5...
1.8 LFZ (XU7JP) 05/93 - 04/02 6PK @ 80001048 0515 H6
1.8 16V LFY (XU7JP4) 03/97 - 04/02| MAN 6PK @ 80001726 0515 K6
18D A9A (XUD7) 05/93 - 05/01| A @: 156 6PK ° 80000352 0515 G3
AD: 156 6PK 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /=
T8ST LFZ (XU7JP) 06/94 - 05/01 6PK 80001048 0515 H6
19D DIY (XUD9A) 06/94 - 04/02| A @: 156 6PK ° 80000352 0515 G3
AD: 156 6PK 80001995 0515 G3
+ CORTECO Nr: 80000352 / : 80001240
D @: M14x1,5x70 /=
19D WJY (DW8B), WJZ (DW8) |09/98 - 04/02| MC: DW8 6PK 80000707 | 0515 Q6...
MC: DW8B /-> 09519 / AC
MC: DW8B / ex. AC
MC: DW8B / 09520 -> / AC / 6PK 80000873 0515 V6...
AD: 162 °
MC: DW8B / 09520 -> / AC / 6PK 80007811 0575 V6...
AD: 162 Q
MC: DW8 6PK 80004334 0515 Q6
MC: DW8B /-> 09519 / AC
MC: DW8B / ex. AC
o
+ CORTECO Nr: 80000873 / : 80001240

212




o

PEUGEQT - 306 / Break 05/93 - 04/02

I

B oo

OE

1.9D WJY (DW8B), WJZ (DW8) |09/98 - 04/02] + CORTECO Nr: 80000707 / - - 80001252
-> 08147 / MC: DW8 / Sso
D @: M14x1,5x70 / 14,5x39,7x8 / (o2 Y )
M6x20
+ CORTECO Nr: 80000707 / - - 80001254
08148 -> / MC: DW8 /
D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20 °° 1 ‘:
MC: DW8B / )
D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20
1.9 DT DHY (XUD9TE) 05/93 - 05/01| A @: 156 6PK | 5 § 80000352 0515 G3
1.9 SLD DJY (XUD9A) 06/94 - 05/01
1.9 SRDT DHY (XUDSTE) 06/94 - 05/01
1.9TD DHY (XUD9TE) 02/97 - 04/02
AQ: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70 /o
2.0 RFV (XU10J4R) 03/97 - 04/02 6PK | 5 80001726 0515 K6
2.0 16V RFV (XU10J4R) 03/97 - 05/01 @
2.0 HDI 90 RHY (DW10TD) 06/99 - 04/02| A @: 162 6PK | 5 e 80000873 0515 Vé...
AD: 162 6PK | 5 I 80001811 0515 V6.
+ CORTECO Nr: 80000873 / - . 80001240
D @: M14x1,5x70 /
2.0516 RFS (XUT0J4RS) 03/96 - 05/01 6PK | 5 80001726 0515 K6
2.0 ST RFX (XU10J2) 07/94 - 05/01 6PK | 5 80001048 0515 H6
2.0 XSi RFX (XUT0J2) 05/93 - 05/01

PEUGEQT - 306 Cabriolet 03/94 - 04/02
1.8 LFZ (XU7JP) 03/94 - 04/02 6PK | 5 80001048 0515 Hé6

1.4

PEUGEQT - 307 / Break

KFW (TU3JP)

08/00

1.8 16V LFY (XU7JP4) 07/00 - 04/02| MAN 6PK | 5 80001726 0515 K6
2.0 RFX (XU10J2) 03/94 - 04/02 6PK | 5 80001048 0515 Hé6
2.0 16V RFV (XU10J4R) 03/97 - 04/02 6PK | 5 80001726 0515 K6

=
€
€
=
€
&

AQ: 146 6PK | 5 @ 80000931
+ Start & Stop
AQ: 146 6PK | 5 80004883
K~ )
© + Start & Stop
+ CORTECO Nr: 80000931 / N 80004882
D @: M14x1,5x70 / M14x35,85 /
M8x125x20 OAn®

9653771880...

9653771880...

213



. 2 i Ml € OE
PEUGEQT - 307 / Break 08/00 -
1.4 16V KFU (ET3J4) 11/03 AQD: 146 6PK | 5 80000931 | 9653771880...
@ - Start & Stop
AQ: 152 6PK | 5 80005064 0515 R4...
AQ: 146 6PK | 5 80004883 | 9653771880...
S
© + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O 40
1.4 HDi 8HX (DV4TD), 10/01 6PK | 5 80000597 0515 V8...
8HZ (DVATD)
+ Start & Stop
6PK | 5 80001812 0515 V8.
- Start & Stop
+ CORTECO Nr: 80000597 / : - 80001247
D @: M12x1,5x50 *
1.6 16V NFU (TU5JP4) 08/00 AQD: 146 6PK | 5 @ 80000931| 9653771880...
- Start & Stop
AQ: 152 6PK | 5 80005064 0515 R4...
AQD: 146 6PK | 5 80004883 | 9653771880...
S —
° © + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (- ) P
1.6 HDi 9HV (DV6ATED4) 04/05 -> 10555 6PK | 5 80000597 0515 V8...
1.6 HDi 110 9HY (DV6TED4), 02/04
9HZ (DV6TEDA) - Ster & Stop
10556 -> 6PK | 5 || 80000682 051513
o
~> 10555 6PK | 5 80001812 0515 V8...
- Start & Stop
10556 -> 6PK | 5 ’ 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50 *
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 ‘
2.0 RFN (EW10J4) 03/02 MAN / M: 0822888 -> 6PK | 5 80001556 0515 R1
2016V RFN (EW10J4) 08/00 AUT / M: 0961750 -> ’
AUT / -> M: 0961749 6PK | 5 80004376 0515 S6
MAN/ -> M: 0822887 °
2.0 16V RFJ (EW10A) 03/05 6PK | 5 ’ 80001556 0515 R1

214



. = g i Ml € OE
PEUGEQT - 307 / Break 08/00 -
2.0 16V RFK (EW10J4S) 06/05 M: 0991212 -> 6PK 80004378 0515 R7
> M: 0991211 6PK 80004380 0515 Q7
M: 0991212 -> /D @: M14x1,5x70] - 80001240
2.0 HDi 110 RHS (DW10ATED) 08/00 MC: DW10ATED / 09218 -> / 6PK 80000598 0515 S4...
MAN / A @: 158
MC: DWTO0ATED / -> 09217 / 6PK 80000873 0515 Vé...
MAN / A @: 162
MC: DWTOATED / -> 09217 / 6PK 80001811 0515 V6.
MAN / A @: 162
MC: DWT0ATED / 09218 -> / 6PK 80004328 0515 S4...
MAN / A @: 158
+ CORTECO Nr: 80000598 / - 80001240
+ CORTECO Nr: 80000873 /
OE Nr: 0501K7 / D @: M14x1,5x70
2.0 HDi 135 RHR (DW10BTED4) 10/03 6PK 80004382 0515 V9...
6PK ﬁ 0515 V9...
49363329
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70
2.0 HDi 90 RHY (DW10TD) 08/00 09217 -> / AD: 158 6PK 80000598 0515 S4...
-> 09216 /MAN /A @: 162 6PK 80000873 0515 Vé...
> 09216 /MAN /A @: 162 6PK 80001811 0515 Vé...
09217 -> /A @: 158 6PK 80004328 0515 S4...
+ CORTECO Nr: 80000873 / - 80001240
+ CORTECO Nr: 80000598 /
OE Nr: 0501K7 / D @: M14x1,5x70
PEUGEQT - 307 CC 10/083 -
1.6 16V NFU (TU5JP4) 02/05 AQD: 146 6PK @ 80000931 9653771880...
— + Start & Stop
AQ: 152 6PK 80005064 0515 R4...
AQ: 146 6PK 80004883 | 9653771880...
=)
° © + Start & Stop
+ CORTECO Nr: 80000931 / - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O A

215



o ] i sl € OE
PEUGEQT - 307 CC 10/03 -
2.0 16V RFN (EW10J4) 10/03 MAN / M: 0822888 -> 6PK 80001556 0515 R1
AUT / M: 0961750 ->
AUT/-> M: 0961749 6PK 80004376 0515 S6
MAN /> M: 0822887
2.0 16V RFK (EW1045) 10/03 M: 0991212 -> 6PK 80004378 0515 R7
> M: 0991211 6PK 80004380 0515 Q7
M: 0991212 -> / D @: M14x1,5x70, - 80001240
2016V RFJ (EW10A) 03/05 6PK 80001556 0515 R1
2.0 HDi 135 RHR (DW10BTED4) 06/05 6PK Q 80004382  0515V9...
6PK ‘ ﬁ 0515 V9...
T 19363329
(-}
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70 /
p OT - 30 03/0
1.4 16V KFU (ET3J4) 11/03 AD: 146 6PK 80000931| 9653771880...
T616V NFU (TU5JP4) 03/02 @
+ Start & Stop
A Q: 152 6PK 80005064 | 0515 Rd...
AQ: 146 6PK 80004883 | 9653771880...
Q.
: © + Start & Stop
+ CORTECO Nr: 80000931/ - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 O 40
1.6 HDI 110 9HY (DV6TED4), 02/04 > 10555 6PK 80000597 | 0515 V8...
9HZ (DV6TED4)
+ Start & Stop
10556 -> 6PK 80000682 051573
+ Start & Stop
>770555 6PK 80001812 0515 V8.
+ Start & Stop
10556 -> 6PK 80004330 051513

+ Start & Stop

+ CORTECO Nr: 80000597 / - 80001247
D @: M12x1,5x50
+ CORTECO Nr: 80000682 / - 80001247

D @: M12x1,5x50

216




o ] i VI o OE
PEUGEOT - 307 SW  03/02 -

1.6 HDI 90 9HV (DVGATEDA4), 12/06 10556 -> 6PK | 5
9HX (DV6ATEDA)

80000682 051573

+ Start & Stop

10556 -> 6PK | 5 80004330 0515 T3
+ Start & Stop

2.0 16V RFN (EW10J4) 03/02 MAN / M: 0822888 -> 6PK | 5 80001556 0515R1
AUT / M: 0961750 ->
AUT / -> M: 0961749 6PK | 5 80004376 0515 S6
MAN / -> M: 0822887

2.016V RFJ (EW10A), 03/05 6PK | 5 80001556 0515 R1

RFN (EW10J4)

2.0HDI 110 RHS (DW10ATED) 03/02 MC: DW10ATED / 09218 -> / 6PK | 5 80000598 0515 $4...
MAN /A @: 158
MC: DW10ATED / -> 09217 / 6PK | 5 80000873 0515 Vé...
MAN /A @: 162
MC: DW10ATED / -> 09217 / 6PK | 5 80001811 0515 Vé...
MAN /A @: 162
MC: DW10ATED / 09218 -> / 6PK | 5 80004328 0515 S4...
MAN /A @: 158

+ CORTECO Nr: 80000598 / - -
+ CORTECO Nr: 80000873 /
OE Nr: 0501K7 / D @: M14x1,5x70

80001240

2.0 HDi 135 RHR (DW10BTED4) 02/04 6PK | 5 80004382 0515 V9...
6PK | 5 Ty 0515V9.

49363329

+ CORTECO Nr: 80004382 / - - 80001240

D @: M14x1,5x70

2709000000090

PEUGEQT - 308 CC 04/09 -

1.6 16V 5FX (EP6DT), EP6, EP6CDT|06/09 AD:138.2 6PK | 5 80001196| V763855180...
+ Start & Stop
1.6 HDi 9HR (DV6C) 06/09 6PK | 5 80000682 0515T3
+ Start & Stop
6PK | 5 80004330 0515T3
+ Start & Stop
2.0 HDi RHF (DW10BTED4), 04/09 6PK | 5 80004382 0515 V9...

RHH (DW10CTED4),
RHR (DW10BTED4)

6PK | 5

ﬁ 0515 V9...

49363329

+ CORTECO Nr: 80004382 / - -
D @: M14x1,5x70

80001240

»v 00900

217



i I o] OE
PEUGEOT - 308 SW  09/07 -

5FW (EP6), 5FX (EP6DT), 80001196 | V763855180...

EP6, EP6CDT
+ Start & Stop
1.6 HDi 9HP (DV6DTED), 09/07 6PK | 5 80000682 0515T3
9HR (DV6C),
9HV (DV6ATED4),
9HX (DV6ATED4), + Start & Stop
9HZ (DV6TEDA4) 6PK | 5 80004330 0515 T3

+ Start & Stop

2.0 HDi RHH (DW10CTED4), 09/07 6PK | 5 80004382 0515 V9...
RHR (DW10BTED4)

6PK [ 5 ﬁ 0515 V9...

49363329

+ CORTECO Nr: 80004382 / - - 80001240
D @: M14x1,5x70

PEUGEQT - 309 | 06/86 - 07/89

1.4 K1D (TU3A), K2B (TU3S), [03/89 - 07/89] ex. AC / ZBA 2PK | 1 80004366 0515 H1
KDY (TU3M), KDZ (TU3M) 7BG °
19D 162 (XUD9), D9A (XUD9) |06/86 - 07/89 5PK | 4 80000384 0515 K9
5PK | 4 80001997 0515 K9
+ CORTECO Nr: 80000384 / N 80001240
D @: M14x1,5x70
P @, 08 09
1.2 THP 110 HNZ (EB2DT) 11/13 6PK | 542 9808058180...
1.2 THP 130 HNY (EB2DTS) 11/13 +3PK 49374729
1.6 BlueHDi 120 BHZ (DV6FC) 11/13 MAN 6PK | 5 80000682 0515 T3
+ Start & Stop
MAN 6PK | 5 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000682 / P 80001247
D @: M12x1,5x50
1.6 HDi / BlueHDi 115 | 9HC (DV6C), BHZ (DV6FC) 09/13 6PK | 5 80000682 0515 T3
1.6 HDi 100 BHY (DV&FD) 04/14

+ Start & Stop
80004330 0515 T3

6PK | 5

PEUGEQT - 309 Il 07/89 - 12/93

1.4 K1D (TU3A), KDY (TU3M), |07/89 - 12/93| ex. AC / ZBA 2PK | 1 80004366 0515 H1
KDZ (TU3M) ZBG

1.8 Diesel 161A (XUD7) 07/89 - 12/93 5PK | 4 80000384 0515 K9

MC: XUD7T 4PK | 3 80004362 0515 F7

©90]90590¢). ¢

218



o = i Ml €8 OE
PEUGEQT - 309 Il 07/89 - 12/93
1.8 Diesel 161A (XUD7) 07/89 - 12/93 5PK | 4 80001997 0515 K9
+ CORTECO Nr: 80000384 / - . 80001240
D @: M14x1,5x70 /
MC: XUD7T / - . 80001240
+ CORTECO Nr: 80004362 /
D @: M14x1,5x70 °
1.9 Diesel 162 (XUD9), D9A (XUD9), |07/89 - 12/93 5PK | 4 80000384 0515 K9
DJZ (XUD9Y)
5PK | 4 80001997 0515 K9
+ CORTECO Nr: 80000384 / - - 80001240
D @: M14x1,5x70 /=
p O 08 03/14
1.2 THP 110 HNZ (EB2DT) 03/14 6PK | 5+2 9808058180...
1.2 THP 130 HNY (EB2DTS) 03/14 +3PK ‘ 49374729
1.6 BlueHDi 100 BHY (DV6FD) 04/14 6PK | 5 | || 80000682 0515 T3
@ + Start & Stop
6PK | 5 = 80004330 051513
+ Start & Stop
1.6 BlueHDi 120 BHZ (DV6FC) 03/14 MAN oK 5 | || 80000682 0515 T3
@ + Start & Stop
MAN 6PK | 5 i 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000682 / - . 80001247
D @: M12x1,5x50 *
1.6 HDi / BlueHDi 115 9HC (DV6C), BHZ (DV6FC) 03/14 6PK | 5 | | 80000682 0515 T3
@ + Start & Stop
6PK | 5 i 80004330 051513
+ Start & Stop
PEUGEOT - 405 | / Break 03/88 - 12/92
1.4 K5A (TU3) 05/88 - 07/92 2PK | 1 o 80004366 0515 H1
1.8TD ABA (XUD7TE), 10/88 - 08/92| MC: XUD7TE / ex. AC/ A @: 156 | 6PK | 5 § 80000352 0515 G3
AJZ (XUD7TEY) °
MC: XUD7TE / ex. AC/A @: 156 | 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70 /=
1.8 Turbo Diesel ABA (XUD7TE), 03/88 - 12/92] ex. AC / A @: 156 6PK | 5 80000352 0515 G3
AJZ (XUD7TEY) °

219



o

PEUGEQT - 405 | / Break 03/88 - 12/92

I

B oo

OE

PEUGEQT - 405 Il / Break 08/92 - 10/96

D @: M14x1,5x70

1.8 Turbo Diesel ABA (XUD7TE), 03/88 - 12/92| ex. AC / A @: 156 6PK | 5 80001995 0515 G3
AJZ (XUD7TEY) .
+ CORTECO Nr: 80000352 / N 80001240
D @: M14x1,5x70 /
19D D9B (XUD9A), 10/88 - 08/92| Servo / ex. AC / A @ 156 6PK | 5 | 80000352 0515 G3
DJY (XUD9A)
1.9 Diesel D98 (XUD9A) 03/88-12/92
ox. Servo 5PK | 4 80000384 0515 K9
Sevo / ex. AC/ A D: 156 6K | 5 80001995 0515 G3
ox. Servo 5PK | 4 80001997 0515 K9
+ CORTECO Nr: 80000384 / - 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000352 / - 80001240

1.4 KDX (TU3MC) 08/92 - 10/96 2PK | 1 80004366 0515 H1
1.6 BDY (XU5M2Z), 08/92 - 10/96| MC: XU5JP 6PK | 5 80004364 0515 GO
BDY (XU5M3Z2),
BDZ (XU5M), BFZ (XU5JP)
1.8 LFZ (XU7JP) 08/92 - 10/96| AUT 6PK | 5 80001048 0515 H6
MAN /71079955 ->
MAN / -> 71079954 6PK | 5 80004364 0515 GO
1.9TD DHY (XUD9TE) 08/92 - 10/96| A @: 156 6PK | 5 80000352 0515 G3
AD: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70
2.0 RFX (XU10J2) 08/92 - 10/96] MAN / 71079955 -> 6PK | 5 80001048 0515 H6
AUT
MAN / -> 71079954 6PK | 5 80004364 0515 GO

PEUGEQT - 406 / Break 11/95 - 10/04
1.6 BFZ (XU5JP) 11/95 - 05/04] MAN 6PK | 5 80004364 0515 GO

LFX (XU7JB)

05/97 - 10/04

6PK | 5

80004364

0515 GO

220




. = g i Ml € OE
PEUGEQT - 406 / Break 11/95 - 10/04
1.8 16V LFY (XU7JP4) 11/95 - 10/00 6PK ‘ 80001726 0515 K6
1.8 16V 6FZ (EW7J4) 10/00 - 10/04] AUT / M: 0971075 -> 6PK 80001556 0515 R1
MAN / M: 0822888 -> ’
AUT/ -> M: 0971074 8PK 80004372 0515 N7
MAN /-> M: 0822887 °
19D DHW (XUD9SD) 10/96 - 10/04]| A @: 156 6PK 80000352 0515 G3
197D DHX (XUD9TE), 01/96 - 10/04
DHY (XUD9TE)
AD: 156 8PK 80001995 0515 G3
+ CORTECO Nr: 80000352 / : 80001240
D @: M14x1,5x70 /
2.0 16V RFV (XU10J4R) 11/95 - 10/04 6PK 80001726 0515 K6
[ 45 3
2.0 16V RFN (EW10J4) 08/00 - 10/04] AUT / M: 0961750 -> 6PK ’ 80001556 0515 R1
2.0 HDI 110 RHZ (DW10ATED) 06/98 - 04/04] 09338 -> / MAN / A @: 158 6PK 80000598 0515 S4...
09366 -> /AUT/ A @: 158 Q
> 09337 /MAN/ A ©: 162 8PK 80000873 0515 V6...
> 09365 /AUT /A O: 162 °
> 09337 /MAN /A @: 162 8PK 80007811 0515 V6...
> 09365 /AUT/AD: 162 &
09338 -> / MAN / A @: 158 8PK 80004328 0515 S4...
09366 -> /AUT /A ©: 158 ‘
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000598 / : 80001240
D @: M14x1,5x70 /=
2.0 HDI 90 RHY (DW10TD) 02/99 - 10/04] 12/02 -> / MAN / A @: 158 6PK ’ 80000598 0515 S4...
>11/02/ MAN/ A @: 162 6PK c 80000873 0515 V6...
> 11/02/ MAN/ A @: 162 6PK I 80001811 0515 V6...
12/02 -> /MAN /A @: 158 8PK I 80004328 0515 S4...
+ CORTECO Nr: 80000598 / : 80001240
D @: M14x1,5x70 /
+ CORTECO Nr: 80000873 / : 80001240

D @: M14x1,5x70

o\

221




o = i Mkl OE
PEUGEQT - 406 / Break 11/95 - 10/04
2.0 HDI 90 RHY (DW10TD) 02/99 - 05/04] 12/02 -> / MAN / A @: 158 6PK | 5 80000598 0515 S4...
> 11/02/A O: 162 6PK | 5 80000873 0515 V6...
S1/02/AD: 162 6PK | 5 80001811 0515 Vé...
12/02 -> /MAN /A @: 158 6PK | 5 80004328 0515 54...
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000598 / - 80001240
D @: M14x1,5x70
2.0 Turbo RGX (XU10J2TE) 04/96 - 10/04| 5-MAN 6PK | 5 80001048 0515 H6
211D 12V P8C (XUD11BTE) 01/96 - 10/04] MAN 6PK | 5 80000385 051519
MAN 6PK | 5 I 80001998 051519
+ CORTECO Nr: 80000385 / - 80001240
D @: M14x1,5x70 /
2.2 3FZ (EW12J4) 07/00 - 10/04] MAN / M: 0822888 -> 6PK | 5 80001556 0515 R1
2.2 HDi 4HX (DW12TED4/FAP)  |03/00 - 05/04| MAN / A @: 162 6PK | 5 80000873 0515 Vé...
2.2 HDI 4HX (DW12TED4/FAP)  03/00 - 10/04 °
MAN /A ©: 162 6PK | 5 I 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70 /
PEUGEQT - 406 Coupé 03/97 - 12/04
2.0 16V RFV (XU10J4R) 03/97 - 12/04 6PK | 5 @ 80001726 0515 Ké
2.0 16V RFN (EW10J4), 10/00 - 12/04] AUT / M: 0961750 -> 6PK | 5 80001556 0515 R1
RFV (XU10J4R) ’
2.2 3FZ (EW12J4) 03/02 - 12/04] MAN / M: 0822888 -> 6PK | 5 ’ 80001556 0515 R1
PEUGEQT - 407 05/04 -
1.6 HDi 110 9HZ (DV6TEDA4) 05/04 -> 10555 6PK | 5 ‘ 80000597 0515 V8...
- Start & Stop
10556 -> 6PK | 5 g | 80000682 051513

; Start & Stop

222




& 2 g i VI o) OE
PEUGEQT - 407 05/04 -
1.6 HDi 110 9HZ (DV6TEDA4) 05/04 -> 10555 6PK | 5 80001812 0515 V8...
+ Start & Stop
10556 -> 6PK | 5 = 80004330 0515 T3
+ Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50 ‘
1.8 6FZ (EW7J4) 05/04 6PK | 5 80001556 0515 R1
1.816V 6FY (EW7A) 09/05
2.0 RFN (EW10J4) 05/04
2.0 16V RFJ (EW10A) 09/05
2.0 HDi RHH (DW10CTED4) 07/09 6PK | 5 80004382 0515 V9...
2.0 HDi 135 RHR (DW10BTED4) 05/04 Q
6PK | 5 . ﬁ 0515 V9...
T 19363329
(-]
+ CORTECO Nr: 80004382 / - |- 80001240
D @: M14x1,5x70 /
2.2 3FZ (EW12J4) 05/04 6PK | 5 80001556 0515 R1
2216V 3FY (EW12J4) 09/05
2.2 HDi 4HP (DW12BTED4) 06/08 AQ: 158 6PK | 5 80001238 0515 V3...
AQ: 158 6PK | 5 ﬁ 0515 V3...
49359583
2.2 HDi 170 4HT (DW12BTED4) 05/06 MAN /A @: 158 6PK | 5 80001238 0515 V3...
MAN /A @: 158 6PK [ 5 ﬁ 0515 V3...
49359583
MAN '/ - - 80001240
+ CORTECO Nr: 80001238 /
D @: M14x1,5x70
2.7 HDi UHZ (DT17) 10/05 6PK | 5 80004338 0515 R6
PEUGEQT - 407 Coupé
RHH (DW10CTED4), 80004382 0515 V9...
RHR (DW10BTED4)
ﬁ 0515 V9...
49363329
+ CORTECO Nr: 80004382 / -] - 80001240
D @: M14x1,5x70
2.2 16V 3FY (EW12J4) 10/05 6PK | 5 80001556 0515 R1
3.0 HDi DT20C 06/09 6PK | 5 ° 80004338 0515 R6

223



o

OE

PEUGEQT - 407 SW 05/04 -
1.6 HDi 110 9HZ (DV6TEDA4) 05/04 -> 10555 6PK 80000597 0515 V8...
+ Start & Stop
10556 -> 6PK \ 80000682 051513
@ + Start & Stop
10556 -> 6PK i 80004330 051573
+ Start & Stop
1.8 6FZ (EW7J4) 05/04 6PK 80001556 0515 R1
1.8 16V 6FY (EW7A) 09/05
2.0 RFN (EW10J4) 05/04
2.0 16V RFJ (EW10A) 09/05
2.0 HDi RHH (DW10CTED4) 07/09 6PK 80004382 0515 V9...
2.0 HDi 135 RHR (DW10BTED4) 05/04 e
6PK ‘ ﬁ 0515 V9...
T 19363329
(-]
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70 /=
2.2 3FZ (EW12J4) 05/04 6PK 80001556 0515 R1
2216V 3FY (EW12J4) 09/05
2.2 HDi 4HP (DW12BTED4) 06/08 A@: 158 6PK e 80001238 0515 V3...
AD: 158 6PK @/ ﬁ 0515 V3...
@; 49359583
2.2 HDi 170 4HT (DW12BTED4) 05/06 MAN / A @: 158 6PK 80001238 0515 V3...
MAN /A @: 158 6PK @/ ﬁ 0515 V3...
@; 49359583
MAN'/ - 80001240
+ CORTECO Nr: 80001238 /
D @: M14x1,5x70 °
2.7 HDi UHZ (DT17) 10/05 6PK ° 80004338 0515 R6
PEUGEOT - 508 11/10 -
1.6 HDi 9HR (DV6C) 11/10 6PK | 5 || 80000682 0515 T3
@ + Start & Stop
6PK i 80004330 0515 T3
+ Start & Stop
1.6 HDi 9HD (DV6CTED) 02/12 6PK N 80000682 0515 T3
@ + Start & Stop
6PK i 80004330 051573
+ Start & Stop
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 *

224



o

3

OE

D @: M14x1,5x70

PEUGEOT - 508 11/10 -
2.0 HDi RHF (DW10BTED4), 11/10 6PK | 5 80004382 | 0515 V9...
RHH (DW10CTED4) Q
6PK [ 5 ‘ ﬁ 0515 V9...
/Q 49363329
[-]
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70 /
PEUGEOT - 508 SW  11/10 -
1.6 HD 9HR (DV6C) 11/10 6PK | 5 [ 80000682 051513
@ + Start & Stop
6PK | 5 i 80004330 051513
+ Start & Stop
1.6 HDi 9HD (DV6CTED) 02/12 6PK | 5 | 80000682 051513
@ + Start & Stop
6K | 5 = 80004330 051573
+ Start & Stop
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 ‘
2.0 HDi RHF (DW10BTED4), 11710 6PK | 5 80004382 | 0515 V9...
RHH (DW10CTEDA4) Q
6PK|[ 5 ' ﬁ 0515 V9...
/9 49363329
[-]
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70 /
PEUGEOT - 605 06/89 - 09/99
2.0 16V RFV (XU10J4R) 07/94 - 09/99 6PK | 5 @ 80001726 0515 Ké
21D P9A (XUD11A) 06/89 - 07/95| 06/95 -> / MAN 6PK | 5 80000385 051519
07/92 > 10/92 /AUT / ex. AC/ | 5PK | 4 80000685 0515 G7
AD: 156
11/92 -> /AUT/AC /A @: 156
12/92 -> 06/95 / MAN / A @: 156
06/95 -> / MAN 6PK | 5 I 80001998 051519
+ CORTECO Nr: 80000385 / B 80001240
D @: M14x1,5¢70 /=
211D 12V P8C (XUD11BTE) 08/94 - 09/99] AUT 6PK | 5 80000385 051519
AUT 8PK | 5 I 80001998 051519
+ CORTECO Nr: 80000385 / - / 80001240

225



. & g i VI o] OE

PEUGEQT - 605 06/89 - 09/99

2.1 Turbo Diesel PHZ (XUD]11ATE) 06/89 - 09/99] 06/95 -> / -> 07237 / AUT 6PK | 5 80000385 0515 J9
> 06/95/ -> 07237 / AUT/ 5PK | 4 80000685 0515 G7
AD: 156 ‘
06/95 -> / -> 07237 / AUT 6PK | 5 I 80001998 051519
+ CORTECO Nr: 80000385 / B 80001240
D @: M14x1,5x70 /

2.5 Turbo Diesel THY (DK5ATE) 07/94 - 09/99 6PK | 5 ° 80001019 0515 H3

PEUGEQT - 607 02/00 -

2.0 RFN (EW10J4) 02/00 MAN / M: 0822888 -> 6PK | 5 ’ 80001556 0515 R1

2.0 HDI RHZ (DW10ATED) 05/00 09338 -> / A @: 158 6PK | 5 80000598 | 0515 S4...
> 09337 /A 0: 162 6PK | 5 80000873 | 0515 V6...
> 09337 /A 0: 162 6PK | 5 80001811 0515 V6...
09338 -> /A @: 158 6K | 5 80004328 | 0515 S4...

+ CORTECO Nr: 80000598 / - -
+ CORTECO Nr: 80000873 /
D @: M14x1,5x70

80001240

2.0 HDI RHR (DW10BTED4) 09/05 6PK | 5 80004382 0515 V9...

©.,0000

6PK | 5

‘ ﬁ 0515 V9...
T 19363329
(-]

+ CORTECO Nr: 80004382 / - - 80001240
D @: M14x1,5x70 /=

2.2 16V 3FZ (EW12J4) 02/00 AUT / M: 0976022 -> 6PK | 5 80001556 0515R1
MAN / M: 0822888 ->

2.2 16V 3FY (EW12J4) 09/05 6PK | 5 80001556 0515R1

2.2 HDi 4HT (DW12BTED4) 05/06 MAN / A &: 158 6PK | 5 e 80001238 0515 V3...
MAN / A &: 158 6PK | 5 0515V3...
% &
@ 49359583
MAN / D &: M14x1,5x70 - - / 80001240




o

¢
2

PEUGEQT - 607 02/00 -

I

OE

2.2 HDI 4HX (DW12TED4/FAP)  |02/00 10248 -> / MAN / A @: 158 6PK | 5 80000598 0515 S4...
AUT/A@: 158
> 10247 /MAN /A @: 162 6PK | 5 80000873 0515 Vé...
-> 10247 /MAN /A @: 162 6PK | 5 80001811 0515 Vé...
10248 -> / MAN /A @: 158 6PK | 5 80004328 0515 S4...
AUT/A@: 158
+ CORTECO Nr: 80000598 / - 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70
PEUGEQT - 806 06/94 - 08/02
1.8 LFW (XU7JP) 07/95 - 08/02] MAN 6PK | 5 80001048 0515 Hé6
1.9TD DHX (XUD9TE), 07/95 - 08/02| A @: 156 6PK | 5 80000352 0515 G3
DHY (XUD9TE) °
AD: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /
2.0 RFU (XU10J2) 06/94 - 08/02] MAN 6PK | 5 ‘ 80004364 0515 GO
2.0 16V RFV (XU10J4R) 05/98 - 09/00] 6PK | 5 @ 80001726 0515 K6
2.0 16V RFN (EW10J4) 09/00 - 08/02 6PK | 5 ° 80004376 0515 S6
2.0 HDI RHZ (DW10ATED) 08/99 - 08/02| A @: 162 6PK | 5 80000873 0515 Vé...
2.0 HDI 16V RHW (DW10ATEDA4) 08/99 - 08/02 °
AD: 162 6PK | 5 l 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70 /=
2.0 Turbo RGX (XU10J2TE) 06/94 - 08/02] MAN 6PK | 5 Q 80004364 0515 GO
2.11d 12V P8C (XUD11BTE) 06/96 - 08/99] MAN 6PK | 5 @ 80000385 0515 J9
MAN 6PK | 5 I 80001998 0515 19

227



i il € OE

PEUGEQT - 806 06/94 - 08/02

D @: M14x1,5x70

2.1td 12V P8C (XUD11BTE) 06/96 - 08/99] + CORTECO Nr: 80000385 / - - / 80001240

PEUGEQT - 807 06/02 -
2.0 RFN (EW10J4) 06/02 MAN / M: 0822888 -> 6PK | 5 80001556 0515 R1
AUT / M: 0961750 ->

2.0 16V RFJ (EWT10A) 09/05 6PK | 5 ’ 80001556 0515 R1
2.0 HDi RHM (DW10ATED4), 06/02 09520 -> /A @: 158 6PK | 5 80000598 0515 54...
RHT (DW10ATED4),
RHW (DW10ATED4)
-> 09519 /A @: 162 6PK | 5 ° 80000873 0515 Vé...
-> 09519 /A©: 162 6PK | 5 I 80001811 0515 Vé...
09520 -> /A @: 158 6PK | 5 I 80004328 0515 54...

+ CORTECO Nr: 80000873 / - -
D @: M14x1,5x70

+ CORTECO Nr: 80000598 / - - 80001240
D @: M14x1,5x70 /:

80001240

2.0 HDi RHH (DW10CTED4), 02/06 6K | 5 80004382 0515V9...
RHK (DW10UTED4)
2.0 DI RHR (DW10BTED4) 06/06
6PK | 5 ’ ﬁ 0515 V9...
T8 19363329
(-]
+ CORTECO Nr: 80004382 / - 80001240
D @: M14x1,5x70
2.2 3FZ (EW1204) 06/02 MAN / M: 0822888 -> 6K | 5 80001556 0515 RI
2.2 HDi 4HW (DW12BTED4), |06/02 10248 > / A @: 158 &K | 5 80000598 0515 S4...

4HX (DW12TED4/FAP)

-> 10247 / A D: 162 6PK | 5 80000873 0515 Vé...

-> 10247 / A D: 162 6PK | 5 80001811 0515 V6...

10248 -> /A @: 158 6PK | 5 80004328 0515 54...

+ CORTECO Nr: 80000598 / - - 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000873 / - - 80001240

D @: M14x1,5x70

2.2 HDi 4HT (DW12BTED4) 06/06 A@:158 6PK | 5 80001238 0515 V3...

228



o= 2 3 i i € OF
PEUGEQT - 807 06/02 -
2.2 HDi 4HT (DW12BTED4) 06/06 AD: 158 6PK | 5 @/ e, 0515 V3...
@5 49359583
2.2 HDi 4HT (DW12BTED4) 06/06 AD: 158 6PK | 5 e 80001238 0515 V3...
AQ:158 6PK | 5 @/ Ty 0515V3.
@; 49359583
D @: M14x1,5x70 - - / 80001240
PEUGEQT - 1007 04/05 -
1.4 KFV (TU3JP) 04/05 MAN /A @: 146 6PK | 5 @ 80000931 9653771880...
- + Start & Stop
MAN /A @: 146 6PK| 5 80004883 | 9653771880...
=)
y © + Start & Stop
MAN / - - 80004882
+ CORTECO Nr: 80000931 /
D @: M14x1,5x70 / M14x35,845 / (- D YO
M8x125x20
1.4 16V KFU (ET3J4) 10/05 AD: 146 6PK | 5 @ 80000931 | 9653771880...
— + Start & Stop
AQ: 146 6PK | 5 80004883 | 9653771880...
)
° © + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (-}
1.4 HDi 8HX (DV4TD), 04/05 6PK | 5 80000597 0515 V8...
8HZ (DVATD) ‘
+ Start & Stop
6PK | 5 80001812 0515 V8.
- Start & Stop
+ CORTECO Nr: 80000597 / - - 80001247
D @: M12x1,5x50 ‘
1.6 16V NFU (TU5JP4) 04/05 AD: 146 6PK | 5 @ 80000931 9653771880...
e - Start & Stop
AD: 146 6PK | 5 80004883 | 9653771880...
=)
. © + Start & Stop
+ CORTECO Nr: 80000931 / B - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 OAn®
1.6 HDi 9HZ (DV6TEDA4) 06/07 6PK | 5 N 80000682 0515 T3
@ + Start & Stop
6PK| 5 = 80004330 0515 T3
+ Start & Stop
+ CORTECO Nr: 80000682 / B - 80001247
D @: M12x1,5x50 ‘

229



o

PEUGEQT - 3008 06/09 -

OE

1.2 HNY (EB2DTS) 01/15 6PK | 5+2 7y 9808058180...
3P ‘ 49374729
1.6 BlueHDi 120 BHZ (DV6FC) 05/14 MAN 6PK | 5 \ 80000682 0515 T3
@ + Start & Stop
MAN 6PK | 5 = 80004330 051513
+ Start & Stop
1.6 HDi 9HZ (DV6TED4) 06/09 6PK | 5 \ 80000682 051513
@ + Start & Stop
6PK | 5 = 80004330 0515T3
- Start & Stop
D @: M12x1,5x50 - - . 80001247
1.6 HDi 9HR (DV6C) 08/10 6PK | 5 \ 80000682 0515 T3
@ - Start & Stop
6PK | 5 = 80004330 0515 T3
+ Start & Stop
1.6 HDi 9HD (DV6CTED) 03/13 6PK | 5 \ 80000682 0515 T3
@ + Start & Stop
6PK | 5 = 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000682 / - - 80001247
D @: M12x1,5x50 ‘
1.6 THP 5FX (EP6DT) 06/09 MAN /A @: 138.2 6PK | 5 80001196 | V763855180...
e + Start & Stop
1.6 VTi 5FS (EP6C), 5FW (EP6),  |06/09 A D:138.2 6PK | 5 80001196 | V763855180...
+ Start & Stop
2.0 HDi RHH (DW10CTED4) 06/09 6PK | 5 80004382 0515 V9...
2.0 HDi 150 / BlueHDi AHX (DW10FD), 06/09
150 RHE (DW10CTEDA4)
2.0 HDi Hybrid4 RHC (DW10CTEDA) 02/11
6PK| 5 . ﬁ 0515 V9...
T8 19363329
(-]
+ CORTECO Nr: 80004382 / - - 80001240
D @: M14x1,5x70 /
PEUGEQT - 4007 02/07 -
2.2 HDi 4HK (DW12MTED4), 02/07 MAN / 6PK | 5 80001238 0515 V3...
4HN (DW12MTED4) Catalytic Converter Type: DPF /
AD: 158
MAN / 6PK | 5 ﬁ 0515 V3...
Catalytic Converter Type: DPF / @ /O 49359583
A@: 158 @
MAN / - - 80001240
Catalytic Converter Type: DPF /
D @: M14x1,5x70 °

230



= E a i ™I o OF
P O 4008 O
1.6 HDi 05/12 6PK | 5 | 80000682 0515 T3
7.6 HDi AWC 9HD (DV&C) 05/12 @
6PK | 5 i 80004330 051513
P O 008 06/09
1.2 HNY (EB2DTS) 01/15 6PK | 5+2 9808058180...
+3PK ‘ 49374729
1.6 16V 5FS (EP6C), 5FW (EP6),  |09/09 AQ: 138.2 6PK | 5 80001196 | V763855180...
EP6, EP6CDT e
+ Start & Stop
1.6 BlueHDi 120 BHZ (DV6FQ) 05/14 MAN 6PK| 5 | | 80000682 051513
@ + Start & Stop
MAN 6PK | 5 = 80004330 051573
+ Start & Stop
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 ‘
1.6 HDi 9HR (DV6C), 09/09 6PK | 5 | 80000682 051513
9HZ (DV6TEDA) @
- Start & Stop
6PK | 5 E 80004330 051513
- Start & Stop
1.6 HDi 9HD (DV6CTED) 03/13 6PK | 5 | 80000682 0515 T3
@ + Start & Stop
6PK | 5 i 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 ‘
2.0 HDi RHH (DW10CTED4) 09/09 6PK | 5 80004382 0515 V9...
2.0 HDi 150 / BlueHDi | AHX (DW10FD), 06/09
150 RHE (DW10CTED4)
6PK | 5 . ﬁ 0515 V9...
T8 19363329
[-]
+ CORTECO Nr: 80004382 / - 80001240

PEUGEQT - Bipper

02/08 -

D @: M14x1,5x70

1.4 KFV (TU3A) 02/08 AD: 146 6PK| 5 @ 80000931 9653771880...
- - Start & Stop
AQD: 146 6PK | 5 80004883 | 9653771880...
e e
° + Start & Stop
+ CORTECO Nr: 80000931 / - - 80004882
D @: M14x1,5x70 / M14x35,8x5 /
M8x125x20 (-] P
1.4 HDi 8HS (DVATED) 02/08 6PK | 5 80000682 0515 T3

+ Start & Stop

:




. 2 g i il € OE
PEUGEQT - Bipper 02/08 -
1.4 HDi 8HS (DVATED) 02/08 6PK | 5 = 80004330 0515 T3
+ Start & Stop
D @: M12x1,5x50 - - . 80001247
1.4 HDi 8HS (DV4TED) 04/08 6PK | 5 N 80000682 0515 T3
@ + Start & Stop
6PK | 5 = 80004330 0515 T3
PEUGEQT - Boxer | 03/94 - 04/02
1.9D D9B (XUD9AU) 03/94 - 04/02| ex. Servo / A @: 156 6PK | 5 ° 80000352 0515 G3
10/96 -> / Servo / A @: 156 6PK | 5 ‘ 80000708 0515 K4
-> 10/96 / Servo / A @: 156 6PK | 5 ‘ 80000709 0515 H7
ex. Servo / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70 /:
1.9D DJY (XUD9A) 07/99 - 04/02| ex. Servo / A @: 156 6PK | 5 ° 80000352 0515 G3
Servo / A @: 156 6PK | 5 80000708 0515 K4
ex. Servo / A @: 156 6PK | 5 | 80001995 0515 G3
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70 /=
1.9TD D8C (XUDQUTF) 03/94 - 04/02| ex. Servo / A @: 156 6PK | 5 ° 80000352 0515 G3
10/96 -> / Servo / A @: 156 6PK | 5 ‘ 80000708 0515 K4
-> 10/96 / Servo / A D: 156 6PK | 5 ‘ 80000709 0515 H7
ex. Servo / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - - 80001240
D @: M14x1,5x70 /=
1.97D DHY (XUD9TE), XUD9TE |06/94 - 04/02) ex. Servo / A &: 156 6PK | 5 ° 80000352 0515 G3
Servo / A @: 156 6PK | 5 ‘ 80000708 0515 K4

232




. B g i sl € OE

PEUGEQT - Boxer | 03/94 - 04/02

1.9TD DHY (XUD9TE), XUDITE  |06/94 - 04/02| ex. Servo / A @: 156 6PK| 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / R 80001240
D @: M14x1,5x70 /

191D D8C (XUDSUTF), 07/94 - 04/02| ex. Servo / A @ 156 6PK | 5 | 80000352 0515 G3

DHY (XUD9TE), XUD9TE °

10/96 -> / Servo / A @: 156 6PK | 5 80000708 0515 K4
>10/96/ Servo / A @: 156 6K | 5 ‘ 80000709 0515 H7
ex. Servo / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / N 80001240
D @: M14x1,5x70 /

191D XUDOTE 07/99 - 04/02| ex. Servo / A @: 156 6PK| 5 ° 80000352 0515 G3
Servo / A @: 156 6K | 5 80000708 0515 K4
ex. Servo / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /=

1.9TD 4x4 D&C (XUDYUTF) 07/96 - 04/02| ex. Servo / A @: 156 6PK | 5 0 80000352 0515 G3
10/96 -> / Servo / A @: 156 6K | 5 ‘ 80000708 0515 K4
>10/96/ Servo / A @: 156 6K | 5 ‘ 80000709 0515 H7
ex. Servo / A @: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / B 80001240
D @: M14x1,5x70 /=

2.0 HDI RHV (DW10UTD) 08/01 - 04/02| MC: DW10TD / AC 6PK | 5 ’ 80000684 | 0515 58..
MC: DWT0TD / ex. AC /A @: 162 | 6PK | 5 e 80000873| 0515 V6.
MC: DW10TD / ex. AC/A@: 162 | 6PK | 5 I 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / 1 - 80001240
MC: DW10TD / D @: M14x1,5x70 /

233



ca 2 i Ml €3 OE
PEUGEQT - Boxer | 03/94 - 04/02
2.0i RFW (XU10J2) 03/94 - 04/02 6PK | 543 80004374 0515 K3...
2.0 4x4 RFW (XU10J2) 08/96 - 04/02 +4PK
25D T9A (DJ5) 03/94 - 04/02 6PK | 5 80001019 0515 H3
2.5D 4x4 T9A (DJ5) 07/96 - 04/02
257D T8A (DJ5T) 03/94 - 04/02
2.5TD 4x4 T8A (DJ5T) 07/96 - 04/02
2.5 TDI THX (DJ5TED) 01/97 - 04/02
2.5 TDI 4x4 THX (DJ5TED) 01/97 - 04/02
2.8 HDI 8140.43S (F28DTCR) 11/00 - 04/02] ex. AC 6PK | 5 80000918 0515 P9...
AC 5PK | 445 80001146 0515 T4...
+6PK
PEUGEQT - Boxer Il 04/02 -
2.0 RFL (XU10J2U) 04/02 6PK | 543 80004374 0515 K3...
+4PK
2.0 HDi RHV (DW10TD), 04/02 MC: DW10TD / -> 04/04 / AC 6PK | 5 80000684 0515 S8...
RHV (DW10UTD) MC: DW10TD / 04/04 ->
MC: DW10TD / ex. AC / -> 04/04 /| 6PK | 5 80000873 0515 Vé...
AD: 162
MC: DWI10TD / ex. AC / -> 04/04 /| 6PK 5 80001811 0515 Vé...
AD: 162
+ CORTECO Nr: 80000873 / - - 80001240
D @: M14x1,5x70
+ CORTECO Nr: 80000873 / - - 80001240
MC: DW10TD / D @: M14x1,5x70
2.2 HDi 4HY (DW12UTED) 04/02 MC: DW12TED / AC 6PK | 5 80000684 0515 S8...
MC: DWI12TED /ex. AC/ A D: 162 | 6PK | 5 80000873 0515 Vé...
MC: DWI12TED /ex. AC/ AD: 162 | 6PK | 5 80001811 0515 Vé...
+ CORTECO Nr: 80000873 / - - 80001240
MC: DW12TED / D @: M14x1,5x70
2.8 HDi 8140.43N, 04/02 ex. AC 6PK | 5 80000918 0515 P9...
8140.435 (F28DTCR)
2.8 HDi 4x4 8140.43S (F28DTCR) 04/02
AC 5PK | 445 80001146 0515 T4...
+6PK
PEUGEQT - Boxer Il  04/06 -
2.2 HDi 100 4HV (P22DTE) 04/06 - - 80004468 0515 59
2.2HDi 110 4HG (P22DTE) 03/11 AD: 167 9PK | 8 80000834 9806722380...
2.2 HDi 120 4HU (P22DTE) 04/06
2.2 HDi 130 4HH (P22DTE) 03/11
AD: 167 9PK | 8 80004874 9806722380...

234




. & i Mkl OE
PEUGEOT - Boxer Il 04/06 -
2.2 HDi 110 4HG (P22DTE) 03/11 + CORTECO Nr: 80000834 / - 80004873
2.2 HDi 120 4HU (P22DTE) 04/06 D @: M12x75 1
2.2 HDi 130 4HH (P22DTE) 03/11
3.0 HDi 145 04/10 4PK | 345 80000932 051515
3.0 HDi 160 F1CE0481D (F30DT) 04/06 +6PK
3.0 HDi 175 F1CE0481D (F30DT) 03/11
PEUGEQT - Expert | 02/96 - 09/00
1.8 LFZ (XU7JP) 10/96 - 09/00] MAN 6PK | 5 80001048 0515 Hé
19D D98 (XUD9AU) 02/96 AQ: 156 6PK | 5 ° 80000352 0515 G3
AQ: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / B 80001240
D @: M14x1,5x70 /
19D 70 WY (DW8B), Wiz (DW8) | 12/98 MC: DW8B /10178 -> / AC / 6PK | 5 80000598 | 0515 S4...
AQ: 158 ‘
MC: DW8 6PK | 5 80000707| 0515 Q6...
MC: DW8B / -> 09894 / ox. AC °
MC: DW8B /-> 10177 /AC / 6K | 5 80000873 | 0515 Vé6...
AQ: 162 c
09895 -> / ox. AC / A @: 156 6PK | 5 Q 80001007 0515 R5
MC: DW8B /-> 10177 /AC/ 6PK | 5 80001811 0515 Vé...
AD: 162 Q
MC: DW8B /10178 -> / AC / 6K | 5 80004328 | 0515 S4...
AD: 158 Q
MC: DW8 6PK | 5 80004334 0515 Q6
MC: DWB8B / -> 09894 / ox. AC g
o
+ CORTECO Nr: 80000598 / N 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000873 / N 80001240
D @: M14x1,5¢70 /=
+ CORTECO Nr: 80000707 / N 80001252
> 08147 / MC: DW8 / [ - 9
D @: M14x1,5x70 / 14,5x39,7x8 / Oéd
M6x20
+ CORTECO Nr: 80000707 / N 80001254
08148 -> / MC: DW8 /
D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20 °° 1::
MC: DW8B /
D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20
191D D8B (XUDYTE), 02/96 AQ: 156 6PK | 5 80000352 0515 G3
DHX (XUD9TE) Q
AQ: 156 6PK | 5 80001995 0515 G3

235



o

PEUGEQT - Expert |

02/96 - 09/

g

I

B oo

OE

1.9 1D D8B (XUD9TE), 02/96 + CORTECO Nr: 80000352 / - 80001240
DHX (XUD9TE) D @: M14x1,5x70 /
2.0 RFN (EW10J4) 07/00 MAN / M: 0822888 -> 6PK | 5 80001556 0515 R1
AUT/ M: 0981750 -> ’
AUT/ > M: 0961749 6PK | 5 80004376 0515 56
MAN/-> M: 0822887 °
2.0 HDI RHW (DW10ATED4) 07/00 09520 -> / A @: 158 6PK | 5 Q 80000598 | 0515 S4...
AD: 162 8PK | 5 ° 80000873 | 0515 Vé...
> 09519 /A @: 162 6K | 5 ° 80000873 | 0515 Vé...
AD: 162 6K | 5 l 80001811 0515 Vé...
> 09519 /A D: 162 6K | 5 l 80001811 0515 V6...
09520 -> /A @: 158 6K | 5 l 80004328 | 0515 S4...
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70 /
+ CORTECO Nr: 80000598 / - 80001240
D @: M14x1,5x70 /=
2.0 HDI RHX (DW10BTED) 07/00 09520 -> / A @: 158 6PK | 5 80000598 | 0515 S4...
2.0 HDI 16V RHW (DW10ATED4) 07/00 ‘
> 09519 /A @: 162 6K | 5 ° 80000873| 0515 Vé...
> 09519 /A 0: 162 6PK | 5 I 80001811 0515 Vé...
09520 -> / A @: 158 6PK | 5 ' 80004328| 0515 54...
+ CORTECO Nr: 80000873 / - 80001240
D @: M14x1,5x70 /=
+ CORTECO Nr: 80000598 / N 80001240
D @: M14x1,5x70 /
P @) pe 01/0
1.6 HDi 90 9HU (DV6UTEDA4) 01/07 6PK | 5 80000682 0515 T3
1.6 HDi 90 16V 9HU (DVSUTEDA4) 01/07 @
+ Start & Stop
6K | 5 E 80004330 051573
+ Start & Stop
+ CORTECO Nr: 80000682 / B 80001247
D @: M12x1,5x50 ‘

236




. 2 i Ml € OE
PEUGEOT - Expert I 01/07 -
1.6 HDi 90 8V 9HH (DV6DUM), 01/07 6PK | 5 || 80000682 0515 T3
9HM (DV6UC) @
+ Start & Stop
6PK | 5 E 80004330 051513
+ Start & Stop
2.0 16V RFH (EW10A), 01/07 6PK | 5 80001556 0515 R1
RFJ (EW10A) O
2.0 HDi 100 03/11 6PK | 5 80004382 0515 V9...
2.0 HDi 120 RHK (DW10UTED4) 01/07
2.0 HDi 130 AHZ (DW10CD) 03/11
2.0 HDi 140 RHR (DW10BTEDA4) 01/07
2.0 HDi 165 RHH (DW10CTEDA4) 09/09 6PK | 5 ‘ Ty 0515V9.
B 19363329
(-]
+ CORTECO Nr: 80004382 / 1 - 80001240
D @: M14x1,5x70 /=
PEUGEOT - Expert Il Tepee  01/07 -
1.6 HDi 90 16V 9HU (DV6UTED4) 01/07 6PK | 5 || 80000682 0515 T3
@ + Start & Stop
6PK| 5 i 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000682 / 1 - 80001247
D @: M12x1,5x50 *
1.6 HDi 90 8V 9HH (DV6DUM), 01/07 6PK | 5 || 80000682 051513
9HM (DV6UC) @
+ Start & Stop
&PK | 5 i 80004330 051513
+ Start & Stop
2.0 16V RFH (EW10A), 01/07 6PK | 5 80001556 0515 R1
RFJ (EW10A) ’
2.0 HDi 100 AHY (DW10CE) 03/11 6PK | 5 80004382 0515 V9...
2.0 HDi 120 RHK (DW10UTEDA4) 01/07
2.0 HDi 120 4x4 RHK (DW10UTED4) 01/07
2.0 HDi 130 AHZ (DW10CD) 03/11
2.0 HDi 140 RFR (DW10BTED4) 01/07 6PK | 5 ‘ 7 0515V9..
2.0 HDi 165 RHH (DW10CTEDA4) 09/09 /g 49363329
[-]
+ CORTECO Nr: 80004382 / R 80001240
D @: M14x1,5x70 /=
PEUGEQT - Partner | 06/96 -
1.1 HDZ (TUTM) 06/96 ex. AC o 80004366 0515 H1
AC/AD: 128 5PK | 4 o 80004368 0515 L2...
1.4 KFX (TU3JP), TU32 06/96 ex. AC 2PK | 1 ° 80004366 0515 H1
AC/AD:128 5PK | 4 ° 80004368 0515 L2...

237



o

PEUGEQT - Partner |

¢
2

06/96 -

OE

1.4 KFX (TU3JP), TU32 06/96 AC 4PK | 3 e 80004370 0515 L5...
1.6 16V NFU (TU5JP4) 07/01 Code: M59 / A @: 146 6PK | 5 @ 80000931 | 9653771880...
—- + Start & Stop
4PK | 3 0 80004370 0515 L5...
Code: M59 / A @: 146 6PK | 5 80004883 | 9653771880...
S
° © + Start & Stop
Code: M59 / B - 80004882
+ CORTECO Nr: 80000931 /
D @: M14x1,5x70 / M14x35,8x5 / O A
M8x125x20
1.6 HDi 75 9HW (DV6BTEDA) 02/06 6PK | 5 || 80000682 0515 T3
@ + Start & Stop
6PK | 5 i 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 *
1.6 HDi 90 9HX (DV6ATEDA4) 10/05 -> 10562 6PK | 5 ‘ 80000597 0515 V8...
+ Start & Stop
10563 -> &PK | 5 || 80000682 051513
@ + Start & Stop
> 10562 6PK | 5 80001812 0515 V8...
+ Start & Stop
10563 -> 6PK | 5 = 80004330 051513
+ Start & Stop
+ CORTECO Nr: 80000682 / - 80001247
D @: M12x1,5x50 ‘
+ CORTECO Nr: 80000597 / B 80001247
D @: M12x1,5x50 *
1.8 LFX (XU7JB) 05/97 6PK | 5 ° 80004364 0515 GO
1.8D A9A (XUD7) 06/96 AQ: 156 6PK | 5 80000352 0515 G3
79D DJY (XUD9A) 06/96 °
AQ: 156 6PK | 5 80001995 0515 G3
+ CORTECO Nr: 80000352 / - 80001240
D @: M14x1,5x70 /
1.9D WJY (DW8B), WJZ (DW8) |06/96 AQ: 156 6PK | 5 ° 80000352 0515 G3
MC: DW8B /10178 -> /AC / 6PK | 5 80000598 0515 S4...
AD: 158 Q

238




o ] g i VI o] OE

PEUGEQT - Partner | 06/96 -

19D WIJY (DW8B), WIZ (DW8) [06/96 MC: DW8 /10898 -> / AC / 6PK | 5 80000598 0515 54...
A@: 158
MC: DW8 / -> 09858 / ex. AC 6PK | 5 80000707 0515 Q6...
MC: DW8 / -> 09376 / AC 6PK | 5 80000707 0515 Qé6...

MC: DW8B / -> 09904 / ex. AC 6PK | 5 80000707 0515 Q6...

MC: DW8 /09377 -> 10898 /AC /| 6PK | 5 80000873 0515 Vé...

A@:162
MC: DW8B /-> 10177 / AC/ 6PK | 5 80000873 0515 V6...
A@D: 162
MC: DW8 /09859 -> / ex. AC/ 6PK | 5 80001007 0515R5
A@D: 156
MC: DW8B / 09905 -> /ex. AC/ | 6PK | 5 80001007 0515R5
A@: 156
MC: DW8B /-> 10177 / AC/ 6PK | 5 80001811 0515 Vé...
A@:162
MC: DW8 /09377 -> 10897 / AC/ 6PK | 5 80001811 0515 Vé...
AQD: 162
A@: 156 6PK | 5 80001995 0515 G3
MC: DW8/ 10898 -> / AC/ 6PK | 5 80004328 0515 54...
A@: 158
MC: DW8B /AC /10178 -> / 6PK | 5 80004328 0515 54...
A@: 158
MC: DW8 / -> 09376 / AC 6PK | 5 80004334 0515 Q6
MC: DW8 / -> 09858 / ex. AC 6PK | 5 80004334 0515 Q6

MC: DW8B / -> 09904 / ex. AC 6PK | 5 80004334 0515 Q6

+ CORTECO Nr: 80000352 / - -
D @: M14x1,5x70

80001240

19D WJY (DW8B), WJZ (DW8) [12/98 MC: DW8 / -> 09376 / AC 6PK | 5
MC: DW8 / MC: DW8B / -> 09153
MC: DW8 / -> 09858 / ex. AC

80000707 0515 Q6...

MC: DW8 /09154 -> / 09377 -> /| 6PK | 5
AC/AD: 162

MC: DW8B /09154 -> / AC/
AD: 162

MC: DW8 / 09895 -> / ex. AC / 6PK | 5
A@: 156

MC: DW8B / 09905 -> / ex. AC /
A@: 156

80000873 0515 Vé...

80001007 0515R5

000, 0000O0POCOCCO0O0O00OO

239



o
PEUGEQT - Partner |
1.9D

06/96 -
WIJY (DW8B), WIZ (DW8)

g

12/98

I

MC: DW8 /09154 -> / 09377 -> /
AC/AD:162

6PK | 5

MC: DW8B / 09154 -> / AC/
A@: 162

B oo

80001811

OE

0515 V6...

MC: DW8 / -> 09376 / AC

6PK | 5

MC: DW8 / MC: DW8B / -> 09153

MC: DW8 / -> 09858 / ex. AC

80004334

0515 Q6

+ CORTECO Nr: 80000873 /
MC: DW8 / D @: M14x1,5x70

80001240

+ CORTECO Nr: 80000707 /

-> 08147 / MC: DW8 /

D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20

80001252

Odd

+ CORTECO Nr: 80000707 /
08148 -> / MC: DW8 /

D @: M14x1,5x70 / 14,5x39,7x8 /
Méx20

MC: DW8B /
D @: M14x1,5x70 / 14,5x39,7x8 /
M6x20

80001254

ORf »
Olu

2.0 HDi

RHY (DW10TD)

04/00

Code: M59F / Code: M59U /
AQD: 162

6PK | 5

80000873

0515 Vé...

Code: M59F / Code: M59U /
AD: 162

6PK | 5

80001811

0515 Vé...

+ CORTECO Nr: 80000873 /
OE Nr: 0501K7 / D @: M14x1,5x70

80001240

2.0 HDI

PEUGEQT - Partner |l

RHY (DW10TD)

04/08 -

02/00

MAN / Code: M49F / A @: 162

6PK | 5

80000873

0515 Vé...

MAN / Code: M49F / A @: 162

6PK | 5

80001811

0515 Vé...

+ CORTECO Nr: 80000873 /
OE Nr: 0501K7 / D @: M14x1,5x70

80001240

1.6

PEUGEQT - Partner Il Tepee

04/08 -
NFU (TU5JP4)

04/08

AD: 146 6PK | 5 80000931 9653771880...
+ Start & Stop
4PK | 3 80004370 0515 L5...
AD: 146 6PK | 5 80004883 | 9653771880...

240

1.6 HDi 9HT (DV6BTEDA4), 04/08 6PK | 5 | | 80000682 0515 T3
9HW (DV6BTEDA) @
+ Start & Stop
6PK| 5 = 80004330 0515 T3
+ Start & Stop
D @: M12x1,5x50 - - . 80001247
1.6 HDi 9HF (DV6DTED), 01/09 6PK | 5 || 80000682 0515 T3
9HL (DV6C),
9HT (DV6BTEDA4)
1.6 HDi 16V 9HS (DV6TED4BU), 04/08 GISIAEEISIoD
9HX (DV6ATED4) 6PK | 5 80004330 051513
1.6 HDi 16V 4x4 9HS (DV6TED4BU), 04/12
9HX (DV6ATEDA4)
1.6 HDi 90 9HP (DV6DTED) 04/10 + Start & Stop
Q.

; Start & Stop




o Z| i VI o OE
PEUGEQT - Partner Il Tepee 04/08 -
1.6 NFU (TU5JP4) 04/08 + CORTECO Nr: 80000931 / - 80004882
D &: M14x1,5x70 / M14x35,8x5 /
M8x125x20
1.6 HDi 9HF (DV6DTED), 04/08 6PK 80000682 0515 T3
9HL (DV6C),
9HN (DVSETED4),
9HT (DV6BTEDA), + Start & Stop
9HW (DV6BTED4), 6PK 80004330 0515 T3
9HZ (DV6TED4)
1.6 HDi 16V 9HV (DV6TED4), 04/08

9HX (DVOATEDA4)

1.6 HDi 90

9HP (DV6DTED)

PEUGEQT - RCZ 03/10 -

EP6CDT

80001196

+ Start & Stop

RENAULT - 19|

PORSCHE - Cayenne 09/02 - 09/07

01/88
F8Q 706, F8Q 742

01/88 - 12/92

V763855180...

49363329

1.6 16V EP6CDTX 06/10 MAN / A @: 138.2 6PK 80001196 | V763855180...
+ Start & Stop
2.0 HDi RHH (DW10CTED4) 03/10 6PK 80004382 0515 V9...
6PK Ty 0515V9.

+ CORTECO Nr: 80004382 /
D @: M14x1,5x70

BM: §53J / BM: §534 / BM: S53K

80001240

80004519

80000205

948 102 241 03...

82 00 545 437...

RENAULT - 19 1l

03/92 - 12/95
F8Q 706, F8Q 742

03/92 - 12/95

BM: §53J / BM: §534 / BM: S53K

80000205

BM: §53J / BM: §534 / BM: S53K 6PK 80001993 | 82 00 545 437...
1.9D F8Q 706, F8Q 742 09/88 - 04/92 6PK 80000205 | 82 00 545 437...
6PK 80001993 | 82 00 545 437...

82 00 545 437...

RENAULT - 21 / Break (Mot. L)

03/86 - 08/94
F8Q 710

06/86 - 08/94

80000205

BM: §53J / BM: §534 / BM: S53K 6PK 80001993 | 82 00 545 437...
1.9D F8Q 742 04/92 - 12/95 6PK 80000205 | 82 00 545 437...
6PK 80001993 | 82 00 545 437...

82 00 545 437...

241



o

03/86 - 08/94

OE

RENAULT - 21 / Break (Mot. L)

06/88 -> / Servo

RENAULT - 25 04/84 - 12/92
2.1 Diesel J8S 706 04/84 - 05/89| -> 06/88 - - 80000710| 7700853 470

19D F8Q 710 06/86 - 08/94| BM: S48H 6PK | 5 . 80001993 | 82 00 545 437...
19D F8Q 710 08/89 - 10/93 6PK | 5 . 80000205 | 82 00 545 437...
6PK | 5 ‘ 80001993 | 82 00 545 437...
21D J8S 600, J8S 740 09/89 - 12/92] BM: B48V - - . 80000710| 7700853 470
21D 185 704 10/86 - 09/90| Servo - - ‘ 80000710| 7700853 470
21D J8S 600, J8S 740 08/89 - 12/92| BM: K48V / BM: S48V / BM: §480 - - ‘ 80000710| 7700853 470
21D J8S 600, J8S 740 05/89 - 06/94] BM: L48V - - . 80000710 7700853 470
2.1 D 4x4 J8S 704 10/88 - 05/92| Servo - - 80000710| 7700853 470
2.1 Turbo-D J8S 714,185 786, J8S 788/03/86 - 06/94 ‘
<

2.1 Diesel

185736

06/89 - 12/92

Servo

80000710| 77 00853 470

2.1 Turbo-D FWD

2.2 dCi

RENAULT - Avantime

J8S 708, 185 738

05/02 - 05/03

G9T 712

04/84 - 12/92

05/02 - 05/03

BM: B290 / -> 06/88

BM: B290 / 06/88 -> / Servo

BM: B29W

80000710| 7700 853 470

6PK | 5 80001154 | 82 00 802 664...
6PK | 5 80004870 | 82 00 802 664...
+ CORTECO Nr: 80001154 / - - 80004869

D @: M14x1,5x67

RENAULT - Captur 06/13 -
1.5dCi 90 K9K 608, K9K 609 06/13 5PK | 4 80000600 | 82 00 392 697...

0000|0000

RENAULT - Clio| 01/91 - 09/98

1.2 D7F 730 01/96 - 09/98 80004384 | 77 00870 878...

1.9D F8Q 730, F8Q 732 01/91 -09/98 6PK | 5 80000205 | 82 00 545 437...
6PK | 5 80001993 | 82 00 545 437...




o

¢
2

B oo

OE

RENAULT - Clio Il 09/98 - 05/05
1.2 D7F 720, D7F 726, 09/98 -> 04/00 4PK | 3+4 80004384 | 77 00 870 878...
D7F 746, D7F 764, +5PK
D7F 766
05/00 -> 3PK | 2+3 80004386 82 00 972 496...
+4PK O
1.2 D7F 722 03/99 - 05/01| -> 04/00 4PK | 3+4 80004384 77 00 870 878...
+5PK .
> 04/00 / Servo 4PK | 3+4 80004384 77 00 870 878...
ex. Servo +5PK '
05/00 -> / Servo 3PK | 2+3 80004386 82 00 972 496...
05/00 -> 3PK | 2+3 80004386 82 00 972 496...
+4PK o
1.2 16V D4F 706, D4F 712, 06/01 3PK | 2+3 80004386 82 00 972 496...
DA4F 714, D4F 722, +4PK
D4F 728
1.4 16V K4 710, K4J 711, 10/99 6PK | 5 80004781 82 00 392 683...
K4J 712, K4J 713 ‘
1.5 dCi K9K 700, K9K 702, 06/01 AD: 155 6PK | 5 80005275 12 30 332 45R
K9K 704, K9K 710,
K9K 712, K9K 714,
K9K 716
1.5 dCi K9K 700, K9K 702, 06/01 > 04/04 5PK | 4 80000600 82 00 392 697...
K9K 704 g
AD: 155 6PK | 5 80005275 12 30 332 45R
1.5 dCi K9K 718, K9K 740 06/05 AD: 155 6PK | 5 80005275 12 30 332 45R
1.5 dCi K9K 700, K9K 704 06/01 > 04/04 5PK | 4 g 80000600 82 00 392 697...
AD: 155 6PK | 5 80005275 12 30 332 45R
1.6 16V K4M 708, K4M 740, 09/98 6PK | 5 80004781 82 00 392 683...
K4M 742, K4M 743,
K4M 744, KAM 745, ,
K4M 748
1.9D F8Q 630 09/98 - 05/05 6PK | 5 . 80000205 82 00 545 437...
6PK | 5 ‘ 80001993 82 00 545 437...
1.9dTi F9Q 780 12/99 - 05/05 6PK | 5 ‘ 80000599 | 82 00 689 702...
6PK | 5 l 80004329 | 82 00 689 702...

243



o

B oo

OE

RENAULT - Clio Il 05/05 -
1.5 dCi K9K 750, K9K 752, 05/05 A@: 155 6PK | 5 80005275 12 30 332 45R
K9K 770
1.5 dCi K9K 764, K9K 774 06/05 ->11/10/AD: 155 6PK | 5 80001299 | 82 00 699 517...
+ Start & Stop
11/10 -> /A @: 155 6PK | 5 80005275 12 30 332 45R
1.5dCi K9K 766 06/05 A@D: 155 6PK | 5 80005275 12 30 332 45R
1.5 dCi KoK 772 06/05 ->11/10/A@: 155 6PK | 5 80001299 | 8200 699 517...
+ Start & Stop
11/10-> /A @: 155 6PK | 5 80005275 12 30 332 45R
1.5dCi K9K 714, K9K 768 06/05 AD: 155 6PK | 5 80005275 12 30 332 45R
1.6 16V GT K4M 862 06/09 -=>11/10/AD: 155 6PK | 5 80001299 | 82 00 699 517...

RENAULT - Clio IV / Gra

ndtour 02/08 -
K4J 780

05/06 -> / ex. AC/ A @: 155

80005275

12 30 332 45R

RENAULT - Clio IV 11/

RENAULT - Espace Il O

1/91 -10/96
185610, 185 612,
185772,185776,185778

1.5dCi K9K 752, K9K 770 02/10 A@: 155 6PK | 5 80005275| 12 30332 45R

1.5dCi K9K 770, K9K 772 08/10 11/10-> /A @: 155 6PK | 5 80005275| 1230332 45R

1.5dCi K9K 714, K9K 766, 02/08 AD: 155 6PK | 5 80005275| 1230332 45R
K9K 768

1.5 dCi K9K 764, K9K 772, 02/08 ->11/10/ AD: 155 6PK | 5 80001299 | 8200 699 517...
K9K 774

+ Start & Stop

11/10 -> /A @: 155 6PK | 5 80005275| 1230332 45R

1.6 16V K4M 800, K4M 801 02/08 11/10-> /A @: 155 6PK | 5 80005275| 1230332 45R

1.6 16V K4M 862 11/08 AD: 155 6PK | 5 80001299 | 82 00 699 517...

80005275

80000710

12 30 332 45R

77 00 853 470

244



o

¢
2

3

OE

RENAULT - Espace Il
2.0

11/96 - 10/02

F3R 728, F3R 729,
F3R 742, F3R 768,
F3R 769

11/96 - 10/00

6PK

5

80001727

82 00 458 960...

G9T 743

2.2 12V 1D G8T 714, G8T 716, 11/96 - 10/00 6PK | 5 80000386 | 77 00 104 292...
G8T 760 @
6PK | 5 . 80001999 | 77 00 104 292...
+ CORTECO Nr: 80000386 / - - 80001251
D @: M14x1,5x65 /
2.2 dCi G9T 642, G9T 710 10/00 - 10/02 6PK | 5 @ 80001154 | 82 00 802 664...
6PK | 5 ‘O 80004870 | 82 00 802 664...
+ CORTECO Nr: 80001154 / - - 80004869
D @: M14x1,5x67 K
RENAULT - Espace IV 11/02 -
2.0 F4R 792, FAR 796, 11/02 7PK | 6 80005190 8200817 574...
F4R 797, FAR 896,
F4R 897 ‘
2.0 dCi M9R 740, M9R 750, 01/06 AD: 158 7PK ) 80001434 | 8200767 762...
M9R 760, M9R 761, @
M9R 762, M9R 763,
M9R 815 + Start & Stop
AD: 158 7PK | 6 ' 80004896 | 8200767 762...
‘ + Start & Stop
+ CORTECO Nr: 80001434 / - - 80004895
D @: M16x1,5x65 .\
2.0 Turbo FAR 794, FAR 795, 11/02 7PK | 6 80005190 8200817 574...
FAR 796, FAR 797
2.2 dCi G9T 645, G9T 742, 11/02 7PK | 6 80004400 | 82 00 802 666...

RENAULT - Fluence 02/10 -
1.5 dCi K9K 830 02/10 A@: 155 6PK | 5 80005275 12 30 332 45R

00100

1.5dCi K9K 832 02/10 11/10-> /A @: 155 6PK | 5 80005275| 12 30332 45R

1.5dCi K9K 836, K9K 837 02/10 -=>11/10/AD: 155 6PK | 5 80001299 | 82 00 699 517...
+ Start & Stop

11/10-> /A @: 155 6PK | 5 I 80005275| 1230332 45R

1.5 dCi K9K 834 02/10 A@: 155 6PK | 5 I 80005275| 1230332 45R

1.6 16V K4M 838 02/10 11/10-> /A @: 155 6PK | 5 I 80005275| 12 30332 45R

245



ca 2 g i Ml €3 OE
RENAULT - Fluence 02/10 -
1.6 16V K4M 838, K4M 839 02/10 -=>11/10/ A @: 155 6PK 5 80001299 | 82 00 699 517...
+ Start & Stop
11/10 -> / AQD: 155 6PK | 5 80005275 12 30 332 45R

1.5 dCi

RENAULT - Grand Scénic Il

04/04 -
K9K 722, K9K 728

04/04

A@: 155

6PK

80005275

12 30 332 45R

RENAULT - Grand Scénic llI

02/09 -

+ CORTECO Nr: 80001434 /
D @: M16x1,5x65

1.5dCi K9K P 732 05/05 11/10-> /A @: 155 6PK | 5 80005275| 1230332 45R
1.6 K4M 761, K4M 782 04/04 AD: 155 6PK | 5 80005275| 12 30332 45R
1.9 dCi F9Q 812, F9Q 816, 04/04 7PK | 6 80001093 | 82 00 523 072...
F9Q 818, F9Q EE 804,
F9Q J 803
7PK | 6 80004348 | 82 00 523 072...
R - 80004346
2.0 dCi M9R 700, M9R 721, 09/05 AD: 158 7PK | 6 80001434 | 8200767 762...
M9R 722
+ Start & Stop
AD: 158 7PK | 6 80004896 | 82 00 767 762...

+ Start & Stop
80004895

K9K 704, K9K 710

1.6 16V K4M 858 02/09 > 11/10/AD: 155 80001299 | 82 00 699 517...
+ Start & Stop
RENAULT - Kangoo 08/97 -
1.2 D7F 710, D7F 720, 08/97 -> 04/00 / Servo 80004384 | 77 00 870 878...
D7F 722, D7F 726, ex. Servo +5PK
D7F 744, D7F 746
05/00 -> / Servo 3PK | 2+3 80004386 | 82 00 972 496...
+4PK e
1.5 dCi K9K 608, K9K 704, 07/03 AQ: 155 6PK | 5 80005275 12 30 332 45R
K9K 714, K9K 716,
K9K 718, K9K 802,
K9K 808
1.5 dCi K9K 700, K9K 702, 12/01 > 04/04 5PK | 4 80000600 | 82 00 392 697...
K9K 704, K9K 710 g
A Q: 155 &PK | 5 80005275 12 30 332 45R
1.5 dCi K9K 704, K9K 714, 12/02 A Q: 155 6PK | 5 80005275 12 30 332 45R
K9K 718 °
1.5 dCi K9K 700, K9K 702, 12/01 > 04/04 5PK | 4 g 80000600 | 82 00 392 697...

246



o

OE

RENAULT - Kangoo 08/97 -

1.5 dCi K9K 700, K9K 702, 12/01 AQ: 155 6PK | 5 80005275 | 12 30 332 45R
K9K 704, K9K 710 ’
1.5 dCi K9K 714, K9K 800, 02/08 AQ: 155 6PK | 5 80005275 | 12 30 332 45R
K9K 802, K9K 840 °
1.5dCi K9K 804, K9K 806 02/08 >11/10/AD: 155 6PK | 5 80001299 | 82 00 699 517...
+ Start & Stop
11/10-> /A @: 155 6PK | 5 80005275 | 12 30 332 45R
1.5dCi 110 K9K 804 09/10 11/10 > / A@: 155 6PK | 5 80005275 | 12 30 332 45R
1.6 16V K4M 706, K4M 750, 06/01 6PK | 5 80004781 82 00 392 683...
KAM 752, K4M 753 ‘
1.6 16V K4M 830, K4M 831 02/08 11/10 > /AC/ A @: 155 6PK | 5 80005275 | 12 30 332 45R
1.6 16V 4x4 K4M 750, K4M 752, 10/01 6PK | 5 80004781 82 00 392 683...
K4M 753 ‘
1.9 dCi 4x4 FoQ 782, F9Q 790 10/01 6PK | 5 80000599 | 82 00 689 702...
1.9 dTi F9Q 780 02/00 ‘
6PK | 5 80004329 | 82 00 689 702...
D551.9 F8Q 662 08/97 6PK | 5 80000205 | 82 00 545 437...
D651.9 F8Q 630, F8Q 632 08/97
6PK | 5 80001993 | 82 00 545 437...

RENAULT - Kangoo Be Bop 02/09 -
1.5dCi K9K 804 06/09 11/10 -> /A @: 155 6PK | 5 80005275| 1230332 45R

)

1.5dCi K9K 806 02/09 ->11/10/ AD: 155 6PK | 5 80001299 | 82 00 699 517...
+ Start & Stop

11/10 -> / AQD: 155 6PK | 5 I 80005275 12 30 332 45R
1.5 dCi K9K 808 06/09 AD: 155 6PK | 5 80005275 12 30 332 45R
15dCi 75 K9K 802 09/10 ’
1.6 K4M 830 02/09 11/10-> /AC /A D: 155 6PK | 5 80005275 12 30 332 45R
RENAULT - Kangoo Express 02/08 -
1.5 dCi K9K 800 02/08 A@: 155 6PK | 5 I 80005275 12 30 332 45R
1.5 dCi K9K 806 02/08 ->11/10/ A Q: 155 6PK | 5 80001299 | 82 00 699 517...

- Start & Stop

247



o

RENAULT - Kangoo Express

¢
2

02/08 -

I

B oo

OE

1.5 dCi K9K 806 02/08 11/10 -> /A @: 155 6PK | 5 80005275 | 12 30 332 45R
1.5dCi 110 K9K 804 09/10 11/10-> /A @: 155 6PK | 5 80005275| 12 30 332 45R
1.5dCi 75 K9K 608, K9K 808 09/10 AQ: 155 6PK | 5 80005275 | 12 30 332 45R
1.5 dCi 85 K9K 800, K9K 802 02/08
1.5dCi 90 K9K 608, K9K 808 06/09
1.6 16V K4M 830 02/08 11/10-> /AC/ A @: 155 6PK | 5 80005275 | 12 30 332 45R
1.6 16V LPG K4M 834 02/08 AQ: 155 6PK | 5 80005275 | 12 30 332 45R
RENAULT - Laguna | / Grandtour 11/93 - 03/01
1.6 16V K4M 720, KAM 724 11/97 - 03/01 6PK | 5 ‘ 80004781 82 00 392 683...
1.9 dCi F9Q 718 09/99 - 03/01 6PK | 5 ‘ 80001010 | 82 00 386 446...
6PK | 5 ' 80004894 | 82 00 386 446...
4
+ CORTECO Nr: 80001010 / B 80001242
D @: M12x1,25x45 \
1.94dTi F9Q 710, F9Q 716, 10/97 - 03/01 6PK | 5 80000599 | 82 00 689 702...
F9Q 717 .
&K | 5 I 80004329 | 82 00 689 702...
2.0 F3R 611, F3R 722, 11/93 - 03/01 6PK | 5 80001727 | 82 00 458 960...
F3R 723, F3R 728,
F3R 768
22D G8T 706, G8T 752, 11/93 - 03/01| BM: B56F 6PK | 5 80000386 | 77 00 104 292...
G8T 790, G8T 794 BM: B562 @
BM: B56F 6PK | 5 80001155| 77 00 858 731
BM: B562 @
BM: B56F 6PK | 5 80001999 | 77 00 104 292...
BM: B562 ‘
+ CORTECO Nr: 80000386 / B - 80001251
D @: M14x1,5x65 (
22D G8T 706, G8T 752, 09/95 - 03/01| BM: K56F / BM: S56F / 6PK | 5 80000386 | 77 00 104 292...
G8T 790, G8T 794 MC: G8T752
BM: K562 / MC: G8T794
BM: K56F / BM: S56F 6PK | 5 é 80001155| 77 00 858 731
BM: K56F / BM: S56F / 6PK | 5 80001999 | 77 00 104 292...
MC: G8T752
BM: K562 / MC: G8T794
+ CORTECO Nr: 80000386 / - 80001251
D @: M14x1,5x65 /

248



o & g i Mkl OE
RENAULT - Laguna | / Grandtour 11/93 - 03/01
2.2dT G8T 760 03/96 - 03/01 6PK 80000386 | 77 00 104 292...
6PK 80001999 | 77 00 104 292...
+ CORTECO Nr: 80000386 / - 80001251
D @: M14x1,5x65
RENAULT - Laguna Il / Grandtour 03/01 -
1.6 16V KAM 710, K4M 714 03/01 6PK | 5 80004781 82 00 392 683...
1816V F4P 770, FAP 771, 03/01 6PK 80005017 | 82 00 817 580...
F4P 772, FAP 773,
FAP 774, FAP 775
1.9 dCi F9Q 664 03/04 7PK ’ 80001093 | 82 00 523 072...
7PK ‘ 80004348 | 82 00 523 072...
+ CORTECO Nr: 80001093 : | 80004346
1.9 dCi F9Q 650, F9Q 670, 03/01 MC: F9Q674 7PK 80001093 | 82 00 523 072...
FOQ 674, F9Q 750 °
MC: F9Q674 7PK ‘ 80004348 | 82 00 523 072...
+ CORTECO Nr: 80001093 : 80004346
1.9 dCI FoQ 752 06/01 6PK 80001010 82 00 386 446...
1.9 dCi FoQ 754 10/01 ‘
8PK ‘ 80004894 | 82 00 386 446...
)
+ CORTECO Nr: 80001010 / - 80001242
D @: M12x1,25x45 \
1.9 dCi FOQ 664, F9Q 758, 03/04 7PK 80001093 | 82 00 523 072...
F9Q 759 o
7PK I 80004348 | 8200 523 072...
+ CORTECO Nr: 80001093 : | 80004346
1.9 dCi FoQ 752 10/01 6PK 80001010| 82 00 386 446...
1.9.dCi F9Q 752 06/01 ‘
6PK ‘ 80004894 | 82 00 386 446...
4

249



ca 2 g i Ml €3 OE
R A ag andto 03/0
1.9 dCi FOQ 752 10/01 + CORTECO Nr: 80001010 / - - 80001242
1.9 dCI FoQ 752 06/01 D @: M12x1,25x45
1.9 dCi F9Q 670, F9Q 674, 03/01 MC: F9Qé74 7PK | 6 80001093 | 82 00 523 072...
F9Q 750
MC: F9Qé674 7PK | 6 80004348 82 00 523 072...
+ CORTECO Nr: 80001093 - - 80004346
1.9 dCi FOQ 758, F9Q 759 05/05 7PK | 6 80001093 | 82 00 523 072...
7PK | 6 80004348 82 00 523 072...
+ CORTECO Nr: 80001093 - - 80004346
2.0 16V FAR 712, F4R 713, 08/02 7PK | 6 80005190 | 82 00817 574...
F4R 714, F4R 715,
F4R 784, F4R 786,
F4R 787
2.0 16V Turbo FAR 764, F4R 765, 01/03 6PK | 5 80005017 | 82 00 817 580...
F4R 786, F4R 787
2.2 dCi G9T 600, G9T 605, 10/01 MC: G9T 700 / MC: G9T 702 / 6PK | 5 80001154 | 82 00 802 664...
G9T 700, G9T 702, MC: G9T 703 / MC: G9T 706 /
G9T 706, G9T 707 MC: G9T 707
MC: G9T 700 / MC: G9T 702 / 6PK | 5 80004870 | 82 00 802 664...
MC: G9T 703 / MC: G9T 706 /
MC: G9T 707
+ CORTECO Nr: 80001154 / - - 80004869

D @: M14x1,5x67

RENAULT - Laguna lll / Grandtour 10/07 -
1.5dCi K9K 780 10/07 -=>11/10/ AD: 155 6PK | 5 80001299 | 8200 699 517...
+ Start & Stop
11/10 -> /A @: 155 6PK | 5 80005275 12 30 332 45R
1.6 16V K4M 824 10/07 10/09 -> / A@: 155 6PK | 5 80005275 12 30 332 45R
1.6 16V K4M 824 10/07 AD: 155 6PK | 5 80005275 12 30 332 45R
2.0dCi M9R 742, M9R 744, 10/07 AD: 158 7PK | 6 80001434 | 8200767 762...
M9R 800, M9R 802,
M9R 805, M9R 809,
M9R 814, M9R 815 + Start & Stop
AD: 158 7PK | 6 80004896 | 8200767 762...

+ Start & Stop

+ CORTECO Nr: 80001434 /
D @: M16x1,5x65

80004895

250



o ] i VI o OF
RENAULT - Latitude  07/10 -

1.5 dCi K9K 782 07/10 11/10 -> /A @: 155 6PK | 5 80005275| 1230332 45R

RENAULT - Laguna lll Coupé 09/08 -

1.5dCi K9K 846 03/12 11/10-> /A @: 155 6PK | 5 80005275| 1230332 45R

2.0 dCi M9R 800, M9R 802, 09/08 A@:158 7PK | 6
M9R 805, M9R 809,
M9R 814, M9R 815
2.0dCi GT M9R 816, M9R 820 09/08

80001434 | 8200767 762...

+ Start & Stop
80004896 | 82 00 767 762...

A@: 158 7PK | 6

+ Start & Stop
80004895

+ CORTECO Nr: 80001434 / - -

RENAULT - Logan 04/07 -

1.5 dCi K9K 792, K9K 796 04/07 A@: 155 6PK | 5 80005275| 1230332 45R

1.6 K4M 690 04/07 11/09 -> /AC /A @: 155 6PK | 5 80005275| 1230332 45R

RENAULT - Logan Kombi
1.5dCi K9K 792, K9K 796 04/07 AD: 155 6PK | 5

80005275| 1230332 45R

RENAULT - Master Il 09/00 -

-
D @: M16x1,5%65 .\

2.2 dCI 90 G9T 720, G9T 722, 09/00 7PK | 6 80004400 | 82 00 802 666...
G9T 750
2.5 dCi G9U 632, G9U 650, 08/06
G9U 754
2.5 dCi 100 G9U 754 10/03
2.5dCi 120 G9U 720, G9U 750, 10/01
G9U 754
R a egane 06 0
1.5 dCi K9K 837 06/10 -=>11/10/A@D: 155 6PK | 5 80001299 | 8200 699 517...
1.6 16V K4M 858 06/10

RENAULT - Mégane | / Grandtour 01/96 - 08/03
1.6 16V K4M 700, K4M 701, 03/99 - 08/03 80004781 | 82 00 392 683...
K4M 704, K4M 708

1.9D F8Q 622, F8Q 790 04/99 - 08/03 6PK | 5 80000205 | 82 00 545 437...

6PK | 5 80001993 | 82 00 545 437...
1.9 dCi F9Q 732, F9Q 733, 02/01 - 08/03 6PK | 5 80000599 | 82 00 689 702...

F9Q 738

6PK | 5 80004329 | 82 00 689 702...
1.9 D Eco F8Q 620, F8Q 624 01/96 - 08/03 6PK | 5 80000205 | 82 00 545 437...
1.9dT F8Q 784, F8Q 786 01/96 - 08/03

6PK | 5 80001993 | 82 00 545 437...

251



o

¢
2

01/96 - 08/03

B oo

OE

RENAULT - Mégane | / Grandtour

RENAULT - Mégane | Classic

09/96 - 08/03

1.9 dTi F9Q 730, F9Q 731, 03/97 - 02/01| BM: BAON 6PK | 5 80000599 | 82 00 689 702...
F9Q 734, F9Q 736
BM: BAON / -> 09/98 6PK | 5 80001050 77 00 856 673
BM: BAO8
BM: BAON 6PK | 5 80004329 | 82 00 689 702...
1.9 dTi F9Q 731, F9Q 734, 03/97 - 02/01 6PK | 5 80000599 | 82 00 689 702...
F9Q 736
-> 09/98 6PK | 5 80001050 77 00 856 673
6PK | 5 80004329 | 82 00 689 702...
1.9 dTi F9Q 731, F9Q 736 03/99 - 02/01 6PK | 5 80000599 | 82 00 689 702...
6PK | 5 80004329 | 82 00 689 702...
2.0i F3R 750, F3R 751, 01/96 - 08/03 6PK | 5 80001727 | 82 00 458 960...
F3R 798
R A égane abriole 04/9 08/0
2.0 F3R 750, F3R 798 04/97 - 08/03 6PK| 5 80001727 | 82 00 458 960...
2.0i F3R 791, F3R 796 03/99 - 08/03

1.9D F8Q 620, F8Q 624 09/96 - 08/03 6PK | 5 80000205 | 82 00 545 437...
6PK | 5 80001993 | 82 00 545 437...
1.9 dCi F9Q 732, F9Q 733, 02/01 - 08/03 6PK | 5 80000599 | 82 00 689 702...
F9Q 738
6PK | 5 80004329 | 82 00 689 702...
1.9dT F8Q 784, F8Q 786 09/96 - 08/03 6PK | 5 80000205 | 82 00 545 437...
6PK | 5 80001993 | 82 00 545 437...
1.9dTi F9Q 730, F9Q 731, 03/97 - 02/01) BM: LAON 6PK | 5 80000599 | 82 00 689 702...
F9Q 734, F9Q 736
BM: LAO8 6PK | 5 80001050 | 7700 856 673
BM: LAON / -> 09/98
BM: LAON 6PK | 5 80004329 | 82 00 689 702...

252



= Z a i il € OF
RENAULT - Mégane | Classic  09/96 - 08/03
2.0i F3R 750, F3R 751, 09/96 - 08/03 6PK | 5
F3R 752, F3R 791,
F3R 796, F3R 797,
F3R 798

RENAULT - Mégane Il / Grandtour 11/02 - 07/09
1.4 K4J 730, K4J 740 08/03 05/06 -> / ex. AC/ A @D: 155 6PK | 5 80005275 12 30 332 45R

80001727 | 82 00 458 960...

1.4 16V K4]) 730, K4) 740 11/02 - 02/08 5PK | 4 80000600 | 82 00 392 697...
05/06 -> / ex. AC/ A @: 155 6PK | 5 80005275| 1230332 45R
1.5dCi K9K 722, K9K 724, 08/03 A@: 155 6PK | 5 80005275| 1230332 45R

K9K 728, K9K 729

1.5 dCi K9K 732, K9K 734 05/05 11/10 > / A@: 155 6PK | 5 80005275 12 30 332 458
1.5 dCi KoK 722 11/02 - 02/08| -> 04/04 5PK | 4 e 80000600 82 00 392 697...
AD: 155 6K | 5 80005275 12 30 332 45R
1.5 dCi KoK 728 01/07 - 07/09| A @: 155 6PK | 5 80005275 12 30 332 45R
1.5 dCi K9K 732, K9K 734 05/05 - 06/08| 11/10 -> / A O+ 155 6K | 5 80005275 | 12 30 332 45R
6 K4M 760, KAM 761, 08/03 AQ: 155 6PK | 5 80005275 12 30 332 458
K4M 762 °
6 09/07 - 12/10] 11/10 -> / AC / A @: 155 6PK | 5 80005275 12 30 332 458
1616V K4M 760, K4M 761, 01/06 05/06 -> /ex. AC/ A D: 155
KAM 812, K4M 813
1616V KaM 760 11/02 - 02/08 5PK | 4 Q 80000600 82 00 392 697...
AD: 155 6K | 5 80005275 12 30 332 45R
1.6 16V Hi-Flex K4M 856 02/08 - 07/09| A @: 155 6PK | 5 80005275 12 30 332 45R
1.9 dCi F9Q 800 11/02 7PK | 6 ‘ 80001093 | 82 00 523 072...
7K | 6 80004348 8200 523 072...

+ CORTECO Nr: 80001093 - - 80004346

2.0dCi M9R 700, M9R 722, 09/05 - 07/09| A @: 158 7PK | 6
MO9R 724

80001434 | 8200767 762...

; Start & Stop

253



o

11/02 - 07/09

B oo

OE

RENAULT - Mégane Il / Grandtour

2.0dCi

1.5dCi

RENAULT - Mégane Il Coupé-Cabriolet

M9R 700, M9R 722,
M9R 724

K9K 732, K9K 734

09/03

09/05 - 07/09

03/06 - 06/09

A@: 158

7PK | 6

80004896

+ Start & Stop

+ CORTECO Nr: 80001434 /
D @: M16x1,5x65

->11/10/A@: 155

80004895

80001299

+ Start & Stop

8200767 762...

82 00 699 517...

RENAULT - Mégane lIl /

11/08 -

Coupé

1.6 K4M 760, K4M 761 09/03 - 03/09| A @: 155 6PK | 5 80005275 12 30 332 45R
1.6 16V K4M 760, K4M 761, 01/06 - 06/08}11/10 -> /AC /A D: 155 6PK | 5 80005275 12 30 332 45R
K4M 812, K4M 813 05/06 -> / ex. AC/ A D: 155
2.0 F4R 770, FAR 771 09/03 - 12/09 7PK | 6 80005190| 8200817 574...
2.0 dCi M9R 700, M9R 722 09/05 - 03/09| A &: 158 7PK | 6 80001434 | 8200767 762...
+ Start & Stop
AQD: 158 7PK | 6 80004896 | 82 00 767 762...

+ Start & Stop

+ CORTECO Nr: 80001434 /
D @: M16x1,5x65

80004895

1.5 dCi K9K 636, K9K 837, 02/09 ->11/10/ AD: 155 6PK | 5 80001299 | 8200 699 517...
K9K 846, K9K J 836

+ Start & Stop

11/10 -> /A @: 155 6PK | 5 80005275 12 30 332 45R

1.5 dCi K9K 830 11/08 A@D: 155 6PK | 5 80005275 12 30 332 45R

1.5 dCi K9K 832 02/09 ->11/10/A@: 155 6PK | 5 80001299 | 82 00 699 517...
+ Start & Stop

11/10-> /A @: 155 6PK | 5 80005275 12 30 332 45R

1.5dCi K9K H 834 11/08 09/10 -> /A @: 155 6PK | 5 80005275 12 30 332 45R

1.6 16V K4M 848, K4M 858 11/08 -=>11/10/A@D: 155 6PK | 5 80001299 | 8200 699 517...

1.6 16V Bifuel K4M 866 11/08

+ Start & Stop

11/10 -> /A @: 155 6PK | 5 80005275 12 30 332 45R

1.9 dCi F9Q 870, F9Q 872 11/08 7PK | 6 80001093 | 82 00 523 072...

7PK | 6 80004348 | 82 00 523 072...

254



- Z a i il OF
RENAULT - Mégane Il / Coupé 11/08 -
1.9 dCi F9Q 870, F9Q 872 11/08 + CORTECO Nr: 80001093 - - 80004346
RENAULT - Mégane Il / Grandtour 11/08 -
1.5dCi K9K G 832 02/09 ->11/10/ AD: 155 6PK | 5 80001299 | 8200 699 517...
+ Start & Stop
11/10 -> /A @: 155 6PK | 5 80005275 12 30 332 45R
1.5 dCi K9K 830 12/09 AD: 155 6PK | 5 80005275 12 30 332 45R
1.5 dCi K9K 846 11/13 11/10-> /A @: 155 6PK | 5 80005275 12 30 332 45R
1.5dCi K9K 636, K9K 656, 02/09 ->11/10/AD: 155 6PK | 5 80001299 | 8200 699 517...
K9K 657, K9K 836,
K9K 837, K9K 846
+ Start & Stop
11/10 -> /A @: 155 6PK | 5 80005275 12 30 332 45R
1.5 dCi K9K 834 05/09 09/10-> /A @: 155 6PK | 5 80005275 12 30 332 45R
1.5 dCi K9K 836, K9K 846 02/09 ->11/10/ AD: 155 6PK | 5 80001299 | 8200 699 517...
+ Start & Stop
11/10-> /A @: 155 6PK | 5 80005275 12 30 332 45R
1.6 16V K4M 858, K4M 866 11/08 AD: 155 6PK | 5 80005275 12 30 332 45R
1.6 16V K4M 848, K4M 858 11/08 ->11/10/A@D: 155 6PK | 5 80001299 | 8200 699 517...
1.6 16V Bifuel K4M 866 11/08
+ Start & Stop
11/10-> /A @: 155 6PK | 5 80005275 12 30 332 45R
1.9 dCi F9Q 870, F9Q 872 11/08 7PK | 6 80001093 | 82 00 523 072...
7PK | 6 80004348 | 82 00 523 072...
+ CORTECO Nr: 80001093 - - 80004346
RENAULT - Modus
1.2 DA4F 740 12/04 AD: 155 6PK | 5 80005275 12 30 332 45R
1.4 K4J 770, K4J 780 12/04 -> 05/06 / ex. AC 5PK | 4 80000600 | 82 00 392 697...
-> 04/05/ AC
05/06 -> / ex. AC/ A D: 155 6PK | 5 80005275 12 30 332 45R

255



o ] i VI o OF
RENAULT - Modus 09/04 -

1.5 dCi K9K 750, K9K 752, 09/04 A@: 155 6PK | 5
K9K 760, K9K 762,
K9K 766, K9K 768

80005275| 1230332 45R

15 dCi K9K 772 05/07 > 11/10/AD: 155 6PK | 5 80001299 | 8200 699 517...
+ Start & Stop
11/10 > /AD: 155 K| 5 80005275 12 30 332 45R
1.5 dCi K9K 764 05/05 BM: JPOH / A @: 155 6K | 5 80001299 | 8200699 517...
— + Start & Stop
11/10 > /AD: 155 6K | 5 80005275 12 30 332 458
1.5 dCi 75 K9K 770 10/10 AD: 155 6PK | 5 80005275 12 30 332 45R
1.5 dCi 90 K9K 750 10/10 °
6 KaM 790, KaM 791, 12/04 >705/06 / ex. AC 5PK | 4 80000600 | 82 00 392 697...
K4M 800, K4M 801 > 04/05 / AC g
11/10 > /AC/AD: 155 6K | 5 80005275 12 30 332 45R
05/06 -> [ ex. AC / A : 155 °
6 Kam 794 12/04 1110 > /AC/ AD: 155 6K | 5 80005275 12 30 332 45R
05/06 -> [ ex. AC / A O: 155 °

RENAULT - Rapid / Express 09/91 - 03/98
1.9D F8Q 640, F8Q 646, 09/91 - 03/98 6PK| 5
F8Q 682, F8Q 722,
F8Q 724, F8Q 774,
F8Q 776

80000205 | 82 00 545 437...

6PK | 5

80001993 | 82 00 545 437...

RENAULT - Safrane Il 07/96 - 12/00
2.2dT G8T 740 07/96 - 12/00 6PK | 5

80000386 | 77 00 104 292...

6PK | 5 80001999 | 77 00 104 292...

+ CORTECO Nr: 80000386 / - -
D @: M14x1,5x65

80001251

RENAULT - Scénic| 01/97 - 09/03

1.4 16V K4) 714, K4]) 750 09/99 - 08/03 80004781 | 82 00 392 683...
1.6 K4M 700, K4M 706 09/99 - 09/03
1.6 16V K4M 700, K4M 701, 04/98 - 10/99
K4M 704, K4AM 708
19D F8Q 790 03/97 - 09/99| BM: JAQJ 6PK | 5 80000205 | 82 00 545 437...
BM: JAOJ 6PK | 5 80001993 | 82 00 545 437...
1.9 dCi F9Q 732, F9Q 733 09/99 - 08/03 6PK | 5 80000599 | 82 00 689 702...

6PK | 5 80004329 | 82 00 689 702...

0o00Q\00|00




o & g i VI o] OE

RENAULT - Scénic| 01/97 - 09/03

1.9dT F8Q 784, F8Q 786 01/97 - 09/99 6PK | 5 . 80000205 | 82 00 545 437...
K| 5 ‘ 80001993 | 82 00 545 437...
1.9dm FoQ 730, FOQ 734 04/97 - 09/99 6PK | 5 . 80000599 | 82 00 689 702...
> 09/98 K| 5 . 80001050| 77 00 856 673
6K | 5 . 80004329 | 82 00 689 702...
1.9 dTi FoQ 731, F9Q 734, 09/99 - 08/03 6PK | 5 80000599 | 82 00 689 702...
F9Q 736 ‘
6K | 5 l 80004329 | 82 00 689 702...
201 F3R 750, F3R 751, 01/97 - 09/99 6K | 5 80001727 | 82 00 458 960...
F3R 796 ‘
RENAULT - Scénic Il 06/03 -
1.4 K4J 730, K4J 740, 06/03 05/06 -> / ex. AC / A @: 155 6PK | 5 80005275 12 30 332 458
K4J 770 °
15 dCi K9K 722, K9K 728, 06/03 > 04/04 5PK | 4 80000600 | 82 00 392 697...
K9K 729 e
AD: 155 6K | 5 80005275 12 30 332 458
15 dCi K9K 734 01/07 = 11/10/AD: 155 6PK | 5 80001299 | 8200 699 517...
= + Start & Stop
11/10 > /A D: 155 K| 5 80005275 12 30 332 45R
1.5 dCi K9K 732 05/05 11/10 > /A @: 155 6PK | 5 80005275 12 30 332 458
15 dCi K9K 724 05/05 AD: 155 6K | 5 80005275 12 30 332 45R
6 KaM 761, K4M 782 06/03 5PK | 4 g 80000600 | 82 00 392 697...
AD: 155 6K | 5 80005275 12 30 332 45R
1616V K4M 706, KAM 766, 10/05 11/10 -> /AC/ AD: 155 6PK | 5 80005275 12 30 332 45R
K4M 812, K4M 813 05/06 -> [ ex. AC / A ©: 155 °
1.6 Hi-Flex Kam 766 03/05 - 07/10| A @: 155 6K | 5 80005275 12 30 332 45R

257



o B i VI o OF
RENAULT - Scénic Il 06/03 -

1.9 dCi F9Q 812 06/03 7PK | 6

80001093 | 82 00 523 072...

7PK | 6 80004348 | 82 00 523 072...

+ CORTECO Nr: 80001093 - - 80004346

1.9 dCi F9Q 804, F9Q 816, 05/05 7PK | 6
F9Q 818, F9Q J 803

80001093 | 82 00 523 072...

7PK | 6 80004348 | 82 00 523 072...
R R 80004346
2.0 dCi M9R 700, M9R 721, 09/05 AD: 158 7PK | 6 80001434 | 8200767 762...
M9R 722
+ Start & Stop
AD: 158 7PK | 6 80004896 | 82 00 767 762...

80004895

+ CORTECO Nr: 80001434 / - -
D @: M16x1,5x65

RENAULT - Scénic lll  02/09 -
1.5dCi K9K 636, K9K 656, 02/09 11/10 -> /A @: 155 6PK | 5
K9K 657, K9K 832,
K9K 836, K9K 837

80005275| 1230332 45R

1.5dCi K9K 830 04/09 A@: 155 6PK | 5 80005275| 1230332 45R
1.5dCi K9K 846 11/10 11/10-> /A @: 155 6PK | 5 80005275| 1230332 45R
1.6 16V K4M 858 02/09 ->11/10/A@: 155 6PK | 5 80001299 | 8200 699 517...
1.6 E85 K4M 866 02/09

— + Start & Stop
11/10-> /A @: 155 6PK | 5 80005275 12 30 332 45R

RENAULT - Thalia 08/00 -

1.4 K7J 700 08/00 6PK | 5 ‘ 80004781 | 8200 392 683...
1.5 dCi K9K 700, K9K 702, 06/01 A@: 155 6PK | 5 80005275| 1230332 45R
K9K 714, K9K 740

RENAULT - Trafic Il 03/01 -

1.9 dCi 100 F9Q 760 03/01 80001010 | 82 00 386 446...
1.9 dCI 100 F9Q 760 03/01
1.9 dCi 80 F9Q 760, F9Q 762 03/01
1.9 dC1 80 F9Q 762 03/01

+ CORTECO Nr: 80001010 / - - 80001242

D @: M12x1,25x45

6PK | 5 ' 80004894 | 82 00 386 446...
&




o

RENAULT - Trafic llI

¢
2

03/01 -

B oo

OE

2.0 FAR 720, FAR 722 03/01 6PK | 5 80005017 | 82 00 817 580...
2.016V FAR 820 08/06 e
2.0dCi115 M9R 630, M9R 692, 08/06 AQ: 158 7PK | 6 80001434 | 82 00 767 762...
M9R 780, M9R 782, @
M9R 786
2.0 dCi 90 M9R 630, M9R 780, 08/06 + Start & Stop
MR 782 AD: 158 7PK | 6 ‘ 80004896 | 82 00 767 762...
. + Start & Stop
+ CORTECO Nr: 80001434 / - 80004895
D @: M16x1,5x65
2.5dCi 135 G9U 730 03/01 AC / 12/04 -> 6PK | 5 80001154 82 00 802 664...
AC/12/04 > 6PK | 5 io 80004870 82 00 802 664...
AC/12/04 >/ 1 - 80004869
+ CORTECO Nr: 80001154 /
D @: M14x1,5x67
2.5 dCi 145 G9U 630 08/06 7PK | 6 e 80004400 | 82 00 802 666...
RENAULT - Twingo | 05/96 -
1.2 D7F 700, D7F 701, 05/96 > 04/00 / AC 80004384 | 77 00 870 878...
D7F 702, D7F 703, ex. AC
D7F 704
05/00 -> / AC 3PK | 2+3 80004386 82 00 972 496...
+4PK O
1.2 D7F 700, D7F 701 05/96 > 04/00 / AC 4PK | 3+4 80004384 | 77 00 870 878...
ox AC +5PK ’
05/00 -> / AC 3PK | 2+3 80004386 82 00 972 496...
+4PK O
1.2 16V D4F 702 01/01 3PK | 2+3 80004386 82 00 972 496...
+4PK Q
RENAULT - Twingo Il 03/07 -
1.2 D7F 800 03/07 AC 7PK | 6 e 80004388 | 82 00 637 900
1.5 dCi K9K 718, K9K 740 03/07 A Q: 155 6PK | 5 80005275 | 12 30 332 45R
1.5 dCi 75 K9K 820 10/10
1.5 dCi 90 K9K 820 10/10
1.6 RS K4M 854 05/08 > 02/13/AD: 155 6PK | 5 : 80001299 | 82 00 699 517...
+ Start & Stop
11/10 > /A @: 155 6PK | 5 80005275 12 30 332 45R

RENAULT - Vel Satis 06/02 -
2.0 16 V Turbo FAR 766, FAR 767 04/04 7PK | 6 80005190 | 8200817 574...

©




(%)

RENAULT - Vel Satis

¢
2

06/02 -

[

B oo

OE

RENA RA asten  05/14
1.6 dCi 120 R9M 450 05/14
1.6 dCi 140 RIM 450 05/14

2.0 CDT

ROVER - 75 Tourer
2.0 CDT

1.9TiD

SAAB - 9-5 |

03/02 - 1

1.6 dCi 125 07/15
1.6 dCi 140 R9M 450 05/14
1.6 dCi 145 R9M 450 07/15

ROVER - 75 02/99 - 05/05

M 47 R

08/01 - 05/05

M 47 R

SAAB - 9-3 Il Kombi 03/05 -

Z19 DTH

Z19 DTH

02/99 - 05/05) A @: 155

7PK | 6

2.0 16V Turbo FAR 762, F4R 763 06/02 6PK | 5 I 80005017 | 8200817 580...
2.2 dCi G9T 600, G9T 606, 06/02 6PK | 5 80001154 | 82 00 802 664...
G9T 607, G9T 700,
G9T 702, G9T 703
6PK | 5 i@ 80004870 | 82 00 802 664...
+ CORTECO Nr: 80001154 / - - 80004869
D @: M14x1,5x67 K

RENAULT - Wind 07/10 -
1.6 K4M 854 07/10 11/10-> /A @: 155 6PK | 5 80005275| 1230332 45R

49374655

RENAULT - TRAFIC Ill Bus 05/14 -
1.6 dCi 120 R9M 450 05/14 7PK | 6 ‘W 1230327 62R

49374655

12 30 327 62R

D @: M18x1,5x76,5 / 19,3x40x5

08/01 - 05/05| A @: 155

80000366 LHG100750
+5PK
5K | 8 80005020 LHG100750
+5PK .
(<]
+ CORTECO Nr: 80000366 / T | < 80005025 LHG100750

D @: M18x1,5x76,5 / 19,3x40x5

03/05

01/06 - 12/09

5PK | 8 80000366 LHG100750
+5PK
5PK | 8 80005020 LHG100750
+5PK

+ CORTECO Nr: 80000366 / - - 80005025 LHG100750

80001159

80001159

+ Start & Stop

-> 17205096

6PK | 5

80004910

+ Start & Stop

17205097 ->

6PK | 5

80004910

+ Start & Stop

-> 17205096 /
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50

80004884

55196 301

55196 301

55196 301

55196 301

260



. 2] i I o] OE
SAAB - 9-51 03/02 - 12/09
1.9TiD Z 19 DTH 01/06 - 12/09| 17205097 -> / - - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 o “
2.2TD D223L 03/02 - 12/09| A @: 179 6PK | 5 80000085 95 44 461...
AD:179 6PK | 5 80001992 95 44 461...
+ CORTECO Nr: 80000085 / - - 80001241
D @: M18x122
SAAB - 9-5 | Kombi 03/02 - 12/09
1.9 TiD Z 19 DTH 01/06 - 12/09 6PK | 5 80001159 55196 301
+ Start & Stop
-> 17205096 6PK | 5 80004910 55196 301
+ Start & Stop
17205097 -> 6PK | 5 80004910 55196 301
+ Start & Stop
-> 17205096 / - - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50
17205097 -> / - - 80004886
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26
2.2TD D223L 03/02 - 12/09| A @: 179 6PK | 5 80000085 95 44 461...
AD: 179 6PK | 5 80001992 95 44 461...
+ CORTECO Nr: 80000085 / - - 80001241
D @: M18x122
SEAT - Alhambra 04/96 - 03/10
1.8 T 20V AJH, AWC 10/97 - 03/10} A @: 143 6PK | 5 80001118 | 06B 105243 F..
+ Start & Stop
1.9 TDI 1Z, AHU, ANU 04/96 - 03/10| -> 02/00 6PK | 5 80000204 028 105243 T
01/01 -> / -> 7M-4-507 000 6PK | 5 80000396 | 038 105 243K
-> 02/00 6PK | 5 80004333 028105243 T
-> 7M-4-507 000 / 01/01 -> 6PK | 5 80004790 | 038 105243K
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
+ CORTECO Nr: 80000396 / - - 80001259

D @: M16x1,5x59 / M8x37

261




P Z a ; Tl € O
SEAT - Alhambra 04/96 - 03/10
1.9 TDI AFN, AVG 08/96 - 06/00 6PK | 5 Q 80000204 | 028 105 243 T
6PK | 5 . 80004333 | 028 105 243 T
+ CORTECO Nr: 80000204 / B 80001253
D @: M14x1,5x47 / M8x45 44‘¥3
1.9 TDI AUY, BVK 06/00 - 03/10] -> 7M-4-507 000 6PK | 5 . 80000396 | 038 105 243 K
> 7M-4-507 000 6PK | 5 80004790 | 038 105 243 K
+ CORTECO Nr: 80000396 / B 80001259
D @: M16x1,5x59 / M8x37 w‘
1.9 TDI ASZ 11/02 - 11/08| -> 7M-4-507 000 6PK | 5 ' 80000396 | 038 105 243 K
> 7M-4-507 000 6PK | 5 80004790 | 038 105 243 K
7M 4507 001 -> 6PK | 5 80004792 | 038 105 243 K
> 7M 4 507 000 / N 80001259
+ CORTECO Nr: 80000396 / ‘
D @: M16x1,5x59 / M8x37
7M 4 507 001 -> / N 80001260
+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x20 @
1.9 TDI 4motion AUY, BVK 06/00 - 03/10] -> 7M-4-507 000 6PK | 5 ' 80000396 | 038 105 243 K
> 7M-4-507 000 6PK | 5 80004790 | 038 105 243 K
+ CORTECO Nr: 80000396 / B 80001259
D @: M16x1,5x59 / M8x37 wx
20 ADY, ATM 04/96 - 03/10| A @: 143 6PK | 5 e 80001118 06B 105 243 F..
- Start & Stop
2.0 7DI CFFA, CFFB, CFFE, CFGB |06/10 6PK | 5 e 80000678 | 038 105 243 M...
. 80005272
2.0 TDI 4Drive CFFB 05/11 6PK | 5 e 80000678 | 038 105 243 M...
R 80005273
SEAT - Altea 03/04 -0
CAYB, CAYC 80000678 | 038 105 243 M...

262



. 2 i VI o OE
SEAT - Altea  03/04 - 05/09
1.6 TDI CAYB, CAYC 10/09 - - 80005273
¢
i 6’
1.9 TDI BJB, BKC, BLS, BXE 04/04 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 FSI BLR, BLY, BVY, BVZ 05/04 - 03/09| A @: 143 6PK | 5 e 80001118 | 06B 105243 F..
! + Start & Stop
2.0TDI AZV 03/04 - 05/09 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N
2.0TDI 16V BKD, CFHC 03/04 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004925 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37
2.0 TFSI BWA 04/06 - 05/09| A @: 143 6PK | 5 80001122 | 06F 105243 J...
SEAT - Altea XL  10/06
CAYB, CAYC 80000678 | 038 105 243 M...
- - 80005273
1.9 TDI BKC, BLS, BXE 10/06 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “

263



o
SEAT - Altea XL
2.0 TDI

10/06 -

BMM, BMN, CEGA

10/06

OE

6PK | 5

80000543

+ Start & Stop

6PK | 5

80004922

+ Start & Stop

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

|

|

03G 105243 C...

03G 105243 C...

2.0 TDI 16V

BKD, CFHC

10/06

6PK | 5

80000543

+ Start & Stop

6PK | 5

80000678

|

03G 105243 C...

038 105 243 M...

6PK | 5

80004922

+ Start & Stop

6PK | 5

80004925

+ Start & Stop

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

|

03G 105243 C...

03G 105243 C...

+ CORTECO Nr: 80000543 /
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37

80004917

80005272

2.0 TDI 16V 4x4

CFHC

10/10

6PK | 5

80000678

038 105 243 M...

80005272

2.0 TDI 4x4

SEAT - Arosa

BMN, CEGA, CFJA

08/97 - 06/04

06/07

6PK | 5

80000678

038 105 243 M...

80005272

1.4 TDI AMF 01/00 - 06/04 6PK | 5 80000680 | 045 105243 D...
1.7 SDI AKU 08/97 - 06/04 5PK | 4 80000677 | 028 105 243 AC...
+ CORTECO Nr: 80000677 / - - 80001264

SEAT - Cordoba |

1.8 T 20V Cupra

02/93 - 10/02
AQX, AYP

07/00 - 10/02

D @: M14x1,5x47 / M8x37

AD: 143

6PK | 5

80001118

+ Start & Stop

1.9D

01/96 - 08/96

6PK | 5

00D DB < > £

80000204

06B 105 243 F..

028 105243 T

264



o

SEAT - Cordoba |

¢
2

02/93 - 10/02

B oo

OE

1.9D 1Y 01/96 - 08/96 6PK | 5 . 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9 SDI AEY 08/96 - 06/99 6PK | 5 (° 80000204 028 105243 T
6PK | 5 . 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 48“4
1.9TD AAZ 02/93 - 08/96 6PK | 5 @ 80000204 028 105243 T
6PK | 5 ! 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥4
1.9 TDI 1Z, AHU 08/96 - 06/99 6PK | 5 (° 80000204 028 105243 T
6PK | 5 . 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 Ag“‘
1.9 TDI AFN 03/97 - 06/99 6PK | 5 @ 80000204 028 105243 T
6PK | 5 ! 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 34‘¥4
SEAT - Cordoba | Vario 08/96 - 06/99
1.9 SDI AEY 09/96 - 06/99 6PK 5 @ 80000204 028 105243 T
6PK | 5 - 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9 TDI 1Z, AHU 08/96 - 06/99 6PK | 5 (0 80000204 028 105243 T
6PK | 5 . 80004333 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘%4

265



o E g i VI o] OE

SEAT - Cordoba | Vario 08/96 - 06/99

1.9 TDI AFN 07/97 - 06/99 6PK | 5 @ 80000204 | 028 105243 T

6PK | 5 80004333 | 028105243 T

1

+ CORTECO Nr: 80000204 / - -
D @: M14x1,5x47 / M8x45

80001253

SEAT - Cordoba Il 09/02 - 11/09

00l ¢

1.4 TDI AMF, BMS, BNM, BNV 10/02 - 11/09 6PK 5 80000680 | 045 105 243 D...
1.9 SDI ASY 09/02 - 11/09 6PK | 5 80000678 | 038 105 243 M...
- - 80005271
é
A ¥
1.9 TDI ASZ, ATD, AXR, BLT, BMT |09/02 - 11/09 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK 5 80004922 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 AZL, BBX 09/02 - 11/09| A @: 143 6PK | 5 80001118 | 06B 105243 F..

SEAT - Exeo 05/09 -

2.0 TDI CAGA, CICA 05/09 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

2.0 TDI CAHA, CGLB 05/09 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

2.0 TDI CAGC, CJCC 07/09 6PK | 5 80000678 | 038 105 243 M...

80005272

SEAT - lbiza Il 03/93 - 08/99

®ol:0:0:0l0fDo

1.9D 1Y, AEY 04/93 - 08/96 6PK | 5 80000204 | 028105243 T
6PK | 5 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45

[
C=
o
[y

266



o B i M € OE
SEAT - lbiza Il 03/93 - 08/99
1.9 SDI AEY 08/96 - 08/99 6PK | 5 @ 80000204 | 028 105243 T
6PK | 5 - 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9TD AAZ 03/93 - 08/96 6PK | 5 (0 80000204 | 028 105243 T
6PK | 5 . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘%‘
1.9 TDI 1Z, AHU 08/96 - 08/99 6PK | 5 @ 80000204 | 028 105243 T
6PK | 5 - 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9 TDI AFN 02/97 - 08/99 6PK | 5 (0 80000204 | 028 105243 T
6PK | 5 . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253

SEAT - Ibiza lll

08/99 - 02/02

D @: M14x1,5x47 / M8x45

[
Q=
o
[y

1.8 T 20V Cupra AQX, AYP 07/00 - 02/02| -> 6K2199999 / A @: 143 6PK | 5 80001118 | 06B 105243 F..
+ Start & Stop
1.9 SDI AGP AQM 08/99 - 02/02 6PK | 5 80000394 038 105 243
6PK | 5 80004980 038 105 243

SEAT - lbiza IV 02/02 - 11/09

1.4 TDI AMF 05/02 - 12/05| 6L-2-000 001 -> 6PK | 5 80000680 | 045 105 243 D...
1.4 TDI BMS, BNM, BNV 05/05 - 11/09 6PK | 5 80000680 | 045105 243D...
1.8 T Cupra R BBU, BLZ 01/04 - 02/08| A @: 143 6PK | 5 80001118 | 06B 105243 F..
1.8TFR BJX, BKV 12/03 - 05/08

+ Start & Stop
1.9 SDI ASY 02/02 - 12/05 6PK | 5 80000678 | 038 105 243 M...

267



o

3

SEAT - lbiza IV 02/02 - 11/09

1.9 SDI

ASY

02/02 - 12/05

B oo

80005271
:
H T

OE

1.9 TDI

ATD, AXR, BMT

02/02 - 11/09

6PK | 5

80000543

+ Start & Stop

6PK | 5

80004922

+ Start & Stop

+ CORTECO Nr: 80000543 /

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

03G 105243 C...

03G 105243 C...

1.9 TDI

ASZ, BLT

02/02 - 11/09

6PK | 5

80000543

+ Start & Stop

6PK | 5

80004922

+ Start & Stop

+ CORTECO Nr: 80000543 /

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

03G 105243 C...

03G 105243 C...

1.9 TDI Cupra R

SEAT - Ibiza V= 07/08 -
1.2 DI

BPX, BUK

06/10
CFWA

03/04 - 02/08

04/10

6PK | 5

80000543

+ Start & Stop

6PK | 5

80004922

+ Start & Stop

+ CORTECO Nr: 80000543 /

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

80000678

03G 105243 C...

03G 105243 C...

038 105 243 M...

80005272

1.4 TDI

CUSA, CUSB, CUTA

05/15

6PK | 5

=

49374715

04B 105243 B

1.6 TDI

CAYB, CAYC, CLNA

05/09

6PK | 5

80000678

038 105 243 M...

80005272

1.9 TDI

BXJ

07/08 - 06/10

6PK | 5

80000543

+ Start & Stop

6PK | 5

80004922

+ Start & Stop

+ CORTECO Nr: 80000543 /

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

03G 105243 C...

03G 105243 C...

2.0 TDI

CFHD

01/10

6PK | 5

80000678

PDEDO<00 <DL

038 105 243 M...

268




o ] i VI o OE
SEAT - Ibiza V. 07/08 - 06/10

2.0 TDI CFHD 01/10 - - 80005272

SEAT - Ibiza V Sportcoupé 07/08 - 06/10
1.2 TDI CFWA 05/10 6PK | 5

80000678 | 038 105 243 M...

80005272

1.4 TDI BMS 07/08 - 06/10 6PK | 5 80000680 | 045 105243 D...

1.4 TDI CUSA, CUSB, CUTA 05/15 6PK | 5

W 04B 105243 B

49374715

80005272

1.6 TDI CAYB, CAYC, CLNA 05/09 6PK | 5 a 80000678 | 038 105 243 M...

1.9 TDI BXJ 07/08 - 06/10 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 ‘

2.0 TDI CFHD 01/10 6PK | 5 80000678 | 038 105 243 M...

80005272

SEAT - Inca  11/95 - 06/03

1.7D AHB 09/96 - 06/03 6PK | 5 (° 80000204 | 028 105243 T

6PK | 5 80004333 | 028105243 T

+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45 43‘¥3

1.9D 1Y 11/95 - 06/03 6PK | 5 ° 80000204 | 028 105243 T
6PK | 5 . 80004333 | 028 105243 T

+ CORTECO Nr: 80000204 / - - 80001253
MC: 1Y / MC: AEY / g
D @: M14x1,5x47 / M8x45 44 ¥
1.9 SDI 1Y, AEY, AYQ 11/95-06/03 6PK | 5 (0 80000204 | 028 105243 T

269



3

OE

SEAT - Inca  11/95 - 06/03
1.9 SDI 1Y, AEY, AYQ 11/95 - 06/03| -> M: 074 037 6PK | 5 ’ 80000394 038 105 243
M: 074 038 -> 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 . 80004333 028 105243 T
M: 074 038 -> 6PK | 5 Q 80004925| 03G 105 243 C...
+ Start & Stop
-> M: 074 037 6PK| 5 g 80004980 038 105 243
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N
SEAT - Leon | 11/99 - 06/06
1.8 20V AGN, APG 11/99 - 06/06| A O: 143 6PK| 5 80001118 | 06B 105243 F..
1.820VT APP AUQ 11/99 - 06/06
1.820VT4 AJQ, ARY 11/99 - 06/06
+ Start & Stop
1.8 T CupraR AMK, BAM 02/02 - 06/06| A @: 143 6PK | 5 e 80001119 06A 105 243 F
1.9 SDI AQM 11/99 - 06/06] -> 1M-3R099 130 6PK | 5 80000394 038 105 243
1.9 TDI AGR, AHF, ALH, ASV 11/99 - 06/06 ‘
1M-3R099 131 -> 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
1M-3R099 131 -> 6PK | 5 Q 80004925 03G 105243 C...
+ Start & Stop
-> 1M-3R099 130 6PK | 5 g 80004980 038 105 243
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N
+ CORTECO Nr: 80000394 / - - 80004920
D @: M16x1,5x54 / M8x37 "I
1.9 TDI ARL 09/00 - 06/06|01/02 -> 6PK | 5 . 80000396 038 105 243 K
6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 uh‘
1.9 TDI ASZ 05/03 - 06/06| -> M: 435 000 6PK | 5 ' 80000396 038 105 243 K
M: 435001 -> 6PK | 5 ° 80000543 | 03G 105243 C...
; Start & Stop

270



o & g i il € OF
SEAT - Leon | 11/99 - 06/06
1.9 TDI ASZ 05/03 - 06/06| -> M: 435 000 6PK | 5 g 80004791 038 105243 K
M: 435 001 -> 6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000396 / - - 80004784
D @: M16x1,5x59 / M8x16
(Y Y
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
1.9 TDI Syncro ARL 05/02 - 06/06 6PK | 5 . 80000396 | 038 105243 K
6PK | 5 80004790| 038 105243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 w\
SEAT - Leon Il  05/05 - 12/12
1.6 TDI CAYB, CAYC 02/10 - 12/12 6PK | 5 a 80000678 | 038 105 243 M...
- - 80005273
¢
i 6’
1.9 TDI BKC, BLS, BXE 07/05 - 12/10 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D &: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 FSI BLR, BLY, BVY, BVZ 07/05 - 05/10| A &: 143 6PK | 5 e 80001118 | 06B 105243 F..
+ Start & Stop
2.0 TDI BMM 10/05 - 10/10 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 & 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 TDI BMN, CEGA, CFJA 05/06 - 12/12 6PK | 5 80000543 | 03G 105243 C...

+ Start & Stop

6PK | 5

80000678

|

038 105 243 M...

6PK | 5

80004922

+ Start & Stop

03G 105243 C...

|

271



o

¢
2

B oo

OE

SEAT - Leon Il  05/05 - 12/12
2.0 TDI BMN, CEGA, CFJA 05/06 - 12/12 6PK | 5 80004925 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N
- - 80005272
2.0 TDI 16V BKD, CFHC, CLCB 07/05-12/12 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
MC: CFHC / MC: CFJA 6PK | 5 a 80000678 | 038 105 243 M...
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004925 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ,
M8x20 / M8x37 N
- - 80005272
2.0 TFSI BWA, BWJ, CDLD 05/05 - 05/11| A D: 143 6PK | 5 80001122 | 06F 105243 J...

SEAT - Leon Il 02/13 -
1.8 TSI CJSA, CISB 02/13 A@: 143 6PK | 5 80001120 | 06H 105 243 K...

s
e
@

D @: M14x1,5x47 / M8x45

SEAT - Toledo | 05/91 - 03/99

1.9D Y 05/91 - 03/99] -> 1L-X-009 000 6PK | 5 80000204 | 028 105 243 T
~> 1L-X-009 000 6PK | 5 80004333 | 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 4£‘¥£

1.9TD AAZ 05/91 - 03/99] -> 1L-X-009 000 6PK | 5 ‘ 80000204 | 028 105243 T
> 1L-X-009 000 6PK | 5 . 80004333 | 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253

[
C=
o
()

272



ca 2 i Ml €3 OE
SEAT - Toledo | 05/91 - 03/99
1.9 TDI 1Z, AHU 08/95 - 03/99] -> 1L-X-009 000 6PK 5 @ 80000204 028 105243 T
-> 1L-X-009 000 6PK | 5 - 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9 TDI AFN 11/96 - 03/99] -> 1L-X-009 000 6PK | 5 (‘ 80000204 028 105243 T
-> 1L-X-009 000 6PK | 5 . 80004333 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘%4
A oledo 0/98 0 06
1.8 20V AGN, APG 10/98 - 07/04) A @: 143 6PK | 5 80001118 | 06B 105243 F..
1.8 20VT APE AUQ 09/00 - 07/04 e
+ Start & Stop
1.9 TDI AGR, AHF, ALH, ASV 10/98 - 07/04] TM-X-000 001 -> 1M-3R099 130 6PK | 5 ’ 80000394 038 105 243
1M-3R099 131 -> 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
TM-3R099 131 -> 6PK | 5 Q 80004925 | 03G 105243 C...
TM-X-000 001 -> 1TM-3R099 130 6PK | 5 ﬂ 80004980 038 105 243
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ,
M8x20 / M8x37 N
+ CORTECO Nr: 80000394 / - - 80004920
D @: M16x1,5x54 / M8x37 ‘.I
1.9 TDI ARL 10/00 - 07/04} 1TM-X-000 001 -> / -> 12/04 6PK | 5 . 80000396 | 038 105243K
6PK | 5 80004790| 038 105 243K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 m‘
1.9 TDI ASZ 05/03 - 05/06| + CORTECO Nr: 80000543 6PK | 5 ' 80000396 | 038 105243 K
-> M: 435 000 6PK | 5 . 80000396 | 038 105 243K
M: 435001 -> 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
-> ASZ 435 000 6PK | 5 80004790 038 105 243K

d

273



o

SEAT - Toledo Il

10/98 - 05/06

B oo

OE

1.9 TDI

ASZ

05/03 - 05/06

-> M: 435 000

6PK | 5

80004791
L)

038 105243 K

M: 435 001 ->

6PK | 5

80004922

+ Start & Stop

+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x16

80004784

49374715

‘6‘0
SEAT - Toledo Il 04/04 - 05/09
1.4 TDI CUSB 05/15 6PK | 5 ° 73 04B1052438B

03G 105243 C...

1.6 TDI CAYB, CAYC, CLNA 07/12 6PK | 5 6 80000678 | 038 105 243 M...
- - 80005272
1.9 TDI BJB, BKC, BLS, BXE 10/04 - 05/09 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 FSI BLR, BLY, BVY, BVZ 10/04 - 05/09| A @: 143 6PK | 5 e 80001118 | 06B 105243 F..
+ Start & Stop
2.0TDI 16V BKD 04/04 - 05/09 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D &: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 TFSI BWA 11/05 - 05/09| A @: 143 6PK | 5 e 80001122 | 06F 105243 J...
SKODA - Fabia | / Combi  12/99 - 03/08
1.4 TDI AMF, BNM, BNV 04/03 - 03/08 6PK | 5 ‘ 80000680 | 045 105 243 D...
1.9 SDI ASY 12/99 - 03/08 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005271
é
Ak
1.9 TDI ATD, AXR 01/00 - 03/08 6PK | 5 80000543 | 03G 105243 C...
1.9 TDI RS ASZ, BLT 06/03 - 03/08

+ Start & Stop

6PK | 5

80004922

274

i - Start & Stop

03G 105243 C...




o & g i VI o] OE

ODA abia omb 99 - 03/08
1.9 TDI ATD, AXR 01/00 - 03/08| + CORTECO Nr: 80000543 / - - 80004916
1.9 TDI RS ASZ, BLT 06/03 - 03/08| D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 AZL 12/99 - 03/08) A &: 143 6PK | 5 80001118 | 06B 105243 F..
+ Start & Stop
2.0 AZL 04/00 - 12/07| A &: 143 6PK | 5 80001118 | 06B 105243 F..

SKODA - Fabia Il / Combi 01/07 - 12/14

1.2 TDI CFWA 05/10-12/14 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

1.4 TDI BMS, BNV 01/07 - 03/10 6PK | 5 80000680 | 045105243 D...

1.6 TDI CAYA, CAYB, CAYC 03/10-12/14 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

1.9 TDI BLS, BSW 04/07 - 03/10} 5J-7-000 001 -> / 6PK | 5 80000543 | 03G 105243 C...

5J-8-000 001 ->

+ Start & Stop
80004922 | 03G 105243 C...

5J-7-000 001 -> / 6PK | 5
5J-8-000 001 ->

0000000 %

+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “

SKODA - Felicia | / Combi  10/95 - 03/98

19D AEF 10/95 - 03/98 5PK | 4 80000677 | 028 105 243 AC...

+ CORTECO Nr: 80000677 / - -
D @: M8x37

80001263

SKODA - Felicia Il / Combi  01/98 - 06/01

1.9D AEF 01/98 - 06/01 5PK | 4 80000677 | 028 105 243 AC...

+ CORTECO Nr: 80000677 / - -
D @: M8x37

80001263

SKODA - Octavia | / Combi  09/96 - 12/10
1.8

1.8 20V AGN 07/98 - 07/00.
18T AGU, ARX, ARZ, AUM __|08/97 - 12/10
1.8 4xd ARX 05/01 - 05/06
1.9 SDI AGP, AQM 06/97 - 12/03| -> 1U-3-726 896 / 6PK | 5
-> 1U-38684 072

80000394 038 105 243

1U-3-726 897 -> / 6PK | 5
1U-38684 073 ->

80000543 | 03G 105243 C...

+ Start & Stop
80004922 | 03G 105243 C...

1U-3-726 897 -> / 6PK | 5
1U-38684 073 ->

AGN 09/96 - 07/00) A @: 143 6PK | 5 e 80001118 | 06B 105243 F..

- Start & Stop




o E g i VI o] OE

SKODA - Octavia | / Combi  09/96 - 12/10

1.9 SDI AGP, AQM 06/97 - 12/03) -> 1U-3-726 896 / 6PK | 5
-> 1U-38684 072

80004980 038 105 243

+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /

M8x20 / M8x37

+ CORTECO Nr: 80000394 / - - 80004920

D @: M16x1,5x54 / M8x37

1.97DI 'AGR, AHE ALH, ASV 09/96 - 03/10| -> 1U-3-726 896 / 6K | 5 80000394 | 038 105 243
> 1U-38684 072 ‘

1U-3-726 897 -> / 6PK | 5 80000543 | 03G 105243 C...
1U-38684 073 ->

+ Start & Stop

1U-3-726 897 -> / 6PK | 5 80004922 | 03G 105243 C...
1U-38684 073 ->

+ Start & Stop

> 1U-3-726 896 / 6PK | 5 80004980 038 105 243

-> 1U-38684 072 g

+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /

M8x20 / M8x37 “

+ CORTECO Nr: 80000394 / - -

D @: M16x1,5x54 / M8x37 ‘ 'I
1.9 TDI ASZ 09/02 - 09/04 6PK | 5 . 80000396 | 038 105243 K

->07/03 6PK | 5 80004790 | 038 105243 K

07/03 -> 6PK | 5 g 80004791 | 038 105243 K

80004920

> 07/037/ - 80001259
+ CORTECO Nr: 80000396 / ‘

D @: M16x1,5x59 / M8x37

07/03 -> / - 80004784
+ CORTECO Nr: 80000396 /

D @: M16x1,5x59 / M8x16 (IY 1Y

-> 1U-38684 072

> 10-3-726 896 / 6PK | 5 80004980 038 105 243
-> 1U-38684 072 g

+ CORTECO Nr: 80000394 / - - 80004920

D @: M16x1,5x54 / M8x37 ‘ ll
1.9 TDI 4x4 ATD 09/00 - 01/06 6PK | 5 ' 80000396 | 038 105 243 K

->07/03 6PK | 5 80004790 | 038 105243 K

d

07/03 -> 6PK | 5 g 80004791 | 038 105243 K

1.9 TDI 4x4 AGR 11/99 - 02/06) -> 1U-3-726 896 / 6PK | 5 ‘ 80000394 038 105 243

276



o E g i VI o] OE

SKODA - Octavia | / Combi  09/96 - 12/10

1.9 TDI 4x4 ATD 09/00 - 01/06) -> 07/03 / - - 80001259
+ CORTECO Nr: 80000396 / ‘
D @: M16x1,5x59 / M8x37
07/03 ->/ - - 80004784
+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x16 (IY YY1
2.0 AEG, APK, AQY, AZH, AZJ |04/99 - 05/07) A &: 143 6PK | 5 e 80001118| 06B 105243 F..
+ Start & Stop
A D: 143 6PK | 5 e 80001118 | 06B 105243 F..
+ Start & Stop
2.0 4x4 AZH, AZ) 08/00 - 09/04| MC: AZJ / MC: AEG / MC: AQY / | 6PK | 5 80001118| 06B 105243 F..
AD: 143 e
+ Start & Stop
RS1.8T AUQ 05/01 - 01/06| A &: 143 6PK | 5 e 80001118 | 06B 105243 F..
ODA Octavia omb 0 04 06
1.6 TDI CAYC 06/09 - 04/13| 10/09 -> 6PK | 5 80000678 | 038 105 243 M...
1.6 TDI 4x4 CAYC 06/09 - 02/13 e
- - 80005272
1.8 TSI BZB, CDAA, CDAB 06/07 - 06/13| A &: 143 6PK 5 80001120 | 06H 105 243 K...
1.8 TSI 4x4 CDAA, CDAB 11/08 - 02/13 e
+ Start & Stop
1.9 TDI BJB, BKC, BLS, BXE 06/04 - 12/10| 1Z-4-000 001 -> 6PK 5 ° 80000543 | 03G 105243 C...
- Start & Stop
1Z-4-000 001 -> 6PK | 5 Q 80004922 | 03G 105243 C...
_ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 ‘
2.0 FSI BLR, BLY, BVY, BVZ 11/04 - 10/08| 124000001 -> / A &: 143 6PK 5 80001118 | 06B 105243 F..
2.0 FSI 4x4 BLX, BVX 11/04 - 10/08 e
! + Start & Stop
2.0RS BWA, CCZA 10/05 - 02/13| A @: 143 6PK | 5 e 80001120| 06H 105 243 K...
' + Start & Stop
A D: 143 6PK | 5 e 80001122 | 06F 105243 J...
2.0TDI BMM 11/05 - 05/10 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N
2.0TDI CFHF, CLCA 03/10 - 06/13 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005272

277



o B i VI o OE
SKODA - Octavia Il / Combi  02/04 - 06/13
2.0 TDI 16V BKD, CFHC, CLCB 02/04 - 05/13| 1Z-4-000 001 -> 6PK 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 a 80000678 | 038 105 243 M...
1Z-4-000 001 -> 6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
- - 80005272
2.0 TDI 4x4 BMM 07/06 - 05/10 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 TDI 4x4 CFHF 05/11 - 02/13 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

SKODA - Roomster

07/06 - 05/15

1.2 TDI CFWA 03/10 - 05/15 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

1.4 TDI BMS, BNM, BNV 07/06 - 03/10 6PK | 5 80000680 | 045 105243 D...

1.6 TDI CAYB, CAYC 03/10 - 05/15 6PK | 5 80000678 | 038 105 243 M...
- - 80005273

SKODA - Rapid  07/12 -

1.4 TDI CUSB 05/15 6PK 5 ﬂls,,,, 04B 105243 B

49374715

1.6 TDI CAYC, CLNA 07/12 6PK | 5 80000678 | 038 105 243 M...

- - 80005272

SKODA - Superb |
18T

12/01 - 03/08

AWT

12/01 - 03/08

A@: 143

4PK
+5PK

3+4

Ol: 00000l DEDO < £

80001124

06B 105243 D

278




& 2 3 i VI OF
SKODA - Superb | 12/01 - 03/08
1.9 TDI AVB, AVF, AWX 12/01 - 03/08 4PK | 3+4 80000395 038 105243 F
Jopk ‘
+ CORTECO Nr: 80000395 / - - 80001260
D @: M16x1,5x59 / M8x20
u‘“
2.0 AZM 12/01 - 03/08] A &: 143 4PK | 3+4 80001124 06B 105 243 D
+5PK
2.5TDI AYM 12/01 - 08/03| A &: 192 4PK | 3+5 80000200 | 059 105 251 M...
+6PK
+ CORTECO Nr: 80000200 / - - 80001261
D @: M18x1,5x98,3 / M8x16
2.5 TDI BDG 06/03 - 03/08| A B: 192 4PK | 3+5 80000200 | 059 105 251 M...
+6PK
+ CORTECO Nr: 80000200 / - - 80001261
D @: M18x1,5x98,3 / M8x16
2.8Vé6 AMX 12/01 - 03/08 6PK 5 80001079 | 078 105 251 R...

SKODA - Superb I

03/08 - 05/15

00:0)|0c-0¢0

1.6 TDI CAYC 09/10 - 05/15 6PK | 5 80000678 | 038 105 243 M...
- - 80005272
1.8 TSI BZB, CDAA, CDAB 03/08 - 05/15| A &: 143 6PK | 5 80001120 | 06H 105 243 K...
1.8 TSI 4x4 CDAA, CDAB 11/08 - 05/15
+ Start & Stop
2.0 TDI CBBB, CFGB 07/08 - 05/15 6PK | 5 80000678 | 038 105 243 M...
- - 80005273
&
i* 6’
2.0 TDI 16V BKD, CFFB, CLJA 01/09 - 05/15 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005273
¢
i* 6’
2.0 TDI 16V 4x4 CFFB 11/10 - 05/15 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005273
&
i* 6’
2.0 TDI 4x4 CBBB, CFGB 09/08 - 05/15 6PK | 5 80000678 | 038 105 243 M...
- - 80005273
2.0TSI CCZA 05/10 - 05/15| A @: 143 6PK | 5 80001120 | 06H 105 243 K...

G
L 4
Q-
A

; Start & Stop




i il € OE

SKODA - Yeti 05/09 -

1.6 TDI CAYC 11/10 6PK | 5 a 80000678 | 038 105 243 M...
- 80005272
1.8 TS| 4xd CDAB 11/09 AD: 143 6Pk | 5 e 80001120 | 06H 105 243 K...
+ Start & Stop
2.0 TOI CFHA, CFHC, CLCA 11/09 6K | 5 6 80000678 038 105 243 M...
- - 80005272
2.0 TDI 4x4 CBDB, CFHC, CLCB 05/09 6K | 5 6 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI 4x4 CEGA, CFIA 11/09 6K | 5 6 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI 4x4 CFHF 11/09 6K | 5 6 80000678 | 038 105 243 M...
- - 80005272
SKODA - FABIA Kombi (NJ5) 10/14 -
1.4 TDI CUSB, CUTA 10/14 6PK 5 ’Vs[,,/ 04B 105 243 B
O 49374715
SKODA - FABIA (NJ3) 08/14 -
1.4 TDI CUSB, CUTA 08/14 6PK 5 'sz 04B 105 243 B
° 49374715
BARU - Forester | 08/97 - 09/0
2.0 AWD EJ20 08/97 - 09/02 5PK | 4+3 80005110 12305AA243...
2.0°S Turbo AWD EJ20, E1205 06/98 - 09/02 +4PK '

SUBARU - Forester I 09/02 -

2.0 AWD EJ20 09/02 80005110 12305AA243...
2.0 S Turbo AWD EJ20 09/02 +4PK

2.0 XAWD EJ204 09/05

SUBARU - Forester Il 01/08 -

2.0 AWD 01/08 5PK | 443 80005110 12305AA243...

SUBARU - Forester IV 03/13 -

2.0 X AWD FB20 03/13 ° 80005108 12305AA370
+ Start & Stop
2.0 XT AWD FA20 03/13 6PK | 5 c 80005109 12305AA360

280



o %
SUBARU - Impreza | 08/92 - 12/00

i
¢

1234

1.8 1 AWD EJ18, EJ18E 08/92 - 12/00
2.0 AWD EJ205P 09/98 - 09/00
2.0 i AWD EJ20 10/95 - 12/00

2.0 Turbo GT AWD

1.8 AWD

EJ18

EJ20 (Turbo), EJ205
SUBARU - Impreza | Coupé 01/93 - 12/00

03/94 - 12/00

01/93 - 10/95

2.0 AWD

EJ20

12/95 - 12/00

2.0 Turbo AWD

EJ20G

12/96 - 12/00

SUBARU - Impreza Il 1

2/00 -

SUBARU - Impreza | Station Wagon 08/92 - 12/00

1.81i EJ18E 11/95 - 06/96
1.8 1 AWD EJ18 08/92 - 12/00
2.0i EJ201 09/98 - 09/00
2.0i 16V AWD EJ20, EJ20E 06/98 - 12/00
2.0 AWD EJ20 12/95 - 12/00
2.0 Turbo GT AWD EJ205 06/98 - 12/00;

SUBARU - Legacy | Station Wagon

01/89 - 08/94

2.0 AWD

SUBARU - Legacy Il Stat
2.0 AWD

SUBARU - Legacy Il 04/99 - 08/03

EJ20

ion Wagon
EJ20

04/99 - 08/03

12/98 - 08/03
12/98 - 08/03

+4PK

5PK
+4PK

4+3

80005110

80005110

80005110

1.5 AWD EL15 05/06 5PK | 443 80005110 | 12305AA243...
2.0 i AWD EJ20 12/00 +4PK

2.0i RAWD EJ204 09/05

2.0 i WRX AWD EJ205 12/02 - 09/05

2.0 WRX Turbo AWD EJ205 12/00

SUBARU - Impreza Il Station Wagon 12/00 -

1.5 AWD EL15 05/06 80005110 | 12305AA243...
2.0 AWD EJ20 12/00

2.0i RAWD EJ20, EJ204 09/05 - 06/07

2.0 Turbo AWD EJ205 12/00

2.0 WRX Turbo AWD EJ205 12/02

SUBARU - Impreza Il 12/02 -

1.5 EL15 02/08 80005110 12305AA243...
1.5 AWD EL15 02/08 +4PK

1.5F EL15 02/08

2.0 i AWD EJ201, EJ204 12/02 - 12/07

2.0 RAWD EJ204 01/08

SUBARU - Legacy | 01/89 - 08/94

1800 EJ18 SPI 01/89 - 12/93 80005110| 12305AA243...
1800 4WD EJ18 SPI 01/89 - 09/91 +4PK

2.0 EJ20E 08/91 - 12/93

2.2 09/89 - 08/94

2.2 AWD 09/89 - 08/94

2000 4WD EJ20 EMPI 08/91 - 07/94

2000 Turbo 4WD EJ20-GN 05/92 - 07/94

2200 4WD EJ22 EMPI 01/89 - 07/94

1800 EJ18 SPI 01/89 - 07/94 5PK | 443 80005110 | 12305AA243...
1800 4WD EJ18 SPI 01/89 - 07/94 +4PK

2.2 01/89 - 08/94

2.2 AWD 01/89 - 08/94

2000 EJ20 EMPI 09/91 - 12/93

2000 4WD EJ20 EMPI 09/91 - 07/94

2000 Turbo Super 4WD EJ20-GN 05/92 - 07/94

2200 Super 4WD EJ22 EMPI 01/89 - 07/94

SUBARU - Legacy Il  07/94 - 03/99

2.0i EJ20E 09/94 - 03/99 5PK | 4+3 80005110 12305AA243...
2.0i4WD EJ20 09/94 - 03/99 +4PK

2.2 EJ22 07/94 - 11/98

2.2 4WD 07/94 - 03/99

2.2 1 4WD EJ22 EMPI 09/94 - 03/99

SUBARU - Legacy Il Station Wagon 02/94 - 12/99

2.0i EJ20 EMPI 09/94 - 11/98 80005110 | 12305AA243...
2.0i4WD EJ20 09/94 - 11/98 +4PK

2.2 09/94 - 12/96

2.2 4WD 02/94 - 12/99

2.2 1 4WD EJ22 EMPI 02/94 - 12/98

80005110

80005110

12305AA243...

12305AA243...

12305AA243...

12305AA243...

12305AA243...

281



()
SUBARU - Legacy IV 09/03 -

OE

2.0 AWD

EJ20

09/03

2.0 RAWD

EJ204

09/07

2.0 Turbo AWD

09/03 - 11/06

SUBARU - Legacy IV Station Wagon 09/03 -
2.0 AWD EJ20 09/03
2.0 RAWD EJ204 09/07

2.0 Turbo AWD

2.0i AWD

SUZUKI - SX4 04/07 -
1.6 DDIS

TOYOTA - Auris

03/07

SUBARU - Legacy V Station Wagon

EJ204, FB20

9HX

09/09 -

09/03 - 11/06

09/09

04/07

5PK | 4+3
+4PK

5PK
+4PK

+4PK

SUBARU - Legacy V' 09/09 -
2.0 AWD EJ204 09/09 5PK | 443 80005110| 12305AA243...

6PK | 5

80005110| 12305AA243...

80005110

12305AA243...

80005110| 12305AA243...

80000682

1261069K00000

+ Start & Stop
80004330

1.4 Wi 477-FE 03/07 - 09/12| A @: 135 6PK | 5 ‘ 80000860 | 13470-22041...

6 1ZR-FAE 05/09 - 09/12 6K | 5 80005107 | 13470-37020

1.6 Wi 1ZR-FE 03/07 - 09/12

8 2ZR-FAE 02/09 - 09/12

1.8 4WD 2ZR-FAE 02/09 - 09/12

1.8 Hybrid 2ZR-FXE 09/10 - 09/12

2.0 D-4D 1AD-FTV 03/07 - 09/12| AD: 167 7K 6 e 80000857 | 13408-0R030...

22D 2AD-FHV 03/07 - 09/12| AD: 167 7K | 6 e 80000857 | 13408-0R030...

OYOTA Ave 04/0 08

1.6 WT-i 377-FE 04/03 - 11/08| A @: 135 6PK | 5 80000860 | 13470-22041...
12Z°FE 04/03 - 11/08 ‘

2.0 D-4D TAD-FTV 03/06 - 11/08| AD: 167 7K 6 e 80000857 | 13408-0R030...

2.2 D-4D 2AD-FTV 10/05 - 11/08| A D: 167 7K | 6 80000857 | 13408-0R030...

2.2 D-CAT 2AD-FHV 07/05 - 11/08 c

OTA Ave O D 04/0

1.6 WT-i 377-FE 04/03 - 11/08] A @: 135 6PK | 5 80000860 | 13470-22041...
12Z-FE 04/03 - 11/08 ‘

2.0 D-4D 1AD-FTV 03/06 - 11/08| A D: 167 7K | 6 O 80000857 | 13408-0R030...

2.2 D-4D 2AD-FTV 10/05 - 11/08| A @: 167 7K 6 80000857 | 13408-0R030...

2.2 D-CAT 2AD-FHV 07/05-11/08 G

TOYOTA - Avensis Il 11/08 -

1.6 1ZR-FAE 11/08 80005107 | 13470-37020

8 2ZR-FAE 11/08

2.0 3ZR-FAE, 3ZR-FE 11/08

282



TOYQOTA - Avensis lll Station Wagon 02/09 -

i il € OE

1.6 1ZR-FAE 02/09 6PK | 5 80005107 13470-37020
1.8 27R-FAE 02/09
2.0 3ZR-FAE, 3ZR-FE 02/09

OYOTA orolla 0 0 06
1.4 WT-i 47Z-FE 01/02 - 12/06|{ A &: 135 6PK | 5 80000860 | 13470-22041...
1.6 WT-i 3ZZ-FE 01/02 - 12/06

OYOTA orolla omb 01/0 02/0
1.4 WT-i 47ZZ-FE 01/02 - 02/07) A D: 135 6PK | 5 80000860 | 13470-22041...
1.6 WT-i 3ZZ-FE 01/02 - 02/07

TOYOTA - Corolla VIII  01/07 -

1.6 1ZR-FAE, 1ZR-FE 01/09 6PK | 5 80005107 13470-37020
1.6 Dual WTi 1ZR-FE 01/07
1.8 27R-FAE 01/09

OYOTA orolla erso 04/04 0 09
1.6 3ZZ-FE 04/04 - 03/09| A @: 135 6PK | 5 80000860 | 13470-22041...
1.8 1ZZ-FE 04/04 - 03/09
2.2 D-4D 2AD-FHV, 2AD-FTV 10/05 - 03/09) A @: 167 7PK | 6 80000857 | 13408-0R030...

2.5 D4d 2KD-FTV 08/01 7PK | 6
3.0 D4d 1KD-FTV 09/06

80005099 | 13408-30011...

TOYOTA - Hiace IV Wagon 08/01 - 08/04

2.5 D-4D 4WD 2KD-FTV 08/01 - 08/04 7PK | 6 80005099 | 13408-30011...
OYOTA ace 0
2.5 D-4D 2KD-FTV 11/01 7PK | 6 80005099 | 13408-30011...
2.5 D-4D 4WD 2KD-FTV 11/01
OYOTA ace ago 0
2.5 D-4D 2KD-FTV 11/01 7PK | 6 80005099 | 13408-30011...
2.5 D-4D 4WD 2KD-FTV 11/01

TOYOTA - Hilux Pick-up 11/01 -

2.5 D-4D 2KD-FTV 11/01 80005099 | 13408-30011...
2.5 D-4D 4WD 2KD-FTV 11/01
2.5 D 4WD 2KD-FTV 08/05
3.0 D-4D 4WD 1KD-FTV 12/07

TOYOTA - Land Cruiser (J9) 10/00 -

3.0 D-4D 1KD-FTV 10/00 7PK | 6 80005099 | 13408-30011...

TOYOTA - Land Cruiser (J15) 01/10 -
3.0 D-4D 1KD-FTV 01/10 7PK | 6

80005099 | 13408-30011...

TOYQOTA - Land Cruiser (J12) 09/02 - 07/09

3.0 D-4D 1KD-FTV 09/02 - 07/09 7PK | 6 80005099 | 13408-30011...

TOYOTA - Prius  04/09
1.8 Hybrid 27ZR-FXE 04/09 6PK | 5

80005107 13470-37020

283



. ] g i I o] OE
OYOTA - Rav 4 03/06
2.0 3ZR-FAE 12/08 6PK | 5 80005107 13470-37020
2.0 4WD 3ZR-FAE 12/08
2.2 D-4D 4WD 2AD-FTV 03/06 AD: 167 7PK | 6 80000857 13408-0R030...
2.2 D-CAT 4WD 2AD-FHV 03/06 AD: 167 7PK | 6 80000857 13408-0R030...
OYOTA erso 04/09
1.6 1ZR-FAE 04/09 6PK | 5 80005107 13470-37020
1.8 2ZR-FAE 04/09

TOYOTA - Yaris |

04/99 - 09/05

1.0 16V 1SZ-FE 04/99 - 09/05)ex. J /01/01 -> / A D: 143 6PK | 5 80000856 13470-0J010

1.0 16V 1SZ-FE 03/03 - 09/05)ex. J / A D: 143 6PK | 5 80000856 13470-0J010

1.3 2SZ-FE 04/02 - 09/05

TOYOTA - Yaris Il  08/05 -

1.0 WT-i 1KR-FE 08/05 ex.J/AD: 143 6PK 5 80000858 | 13470-0Q012...
1.4 D-4D 1ND-TV 08/05 AD:173 6PK | 5 80000859 13407-0N010

1.8 WTi 2ZR-FE 01/07 6PK | 5 80005107 13470-37020

VAUXHALL - Agila 01/08 - 11/14
1.3 CDTI D13A,Z 13 DTJ 01/08 - 11/14 6PK | 5 80001143 93194443...

-> 18182497

A A A Q . Q/0 . .
1.8 16V C 18 XEL, X 18 XE 11/94 - 03/01] -> 12703456 / -> 15166080/ | 6PK | 5 80000863 |  90469102...
18116V C18XE, C 18 XEL 06/93 - 02/98| -> 8182497 °
+ Start & Stop
> 72703456/ -> 75166080/ | 6PK | 5 80004898 | 90469102...
-> 78182497 Q
+ Start & Stop
+ CORTECO Nr: 80000863 / B 80004897
D @: M12x40 / M8x16 / M8x20 m
20 C 20 NE 09/91 - 09/98| P2000001 -> 12703456 6PK | 5 80000863 | 90469102...
P3000001 -> 53999999
P400000T -> 54999999
P5000001 -> T5166080
P800000T -> T8182497
PBO00001 -> TB035210 - Start & Stop
P2500001 -> 12703456 6PK | 5 80004898 | 90469102...
P3000001 -> 53999999
P400000T -> 54999999
5000001 -> 15166080
P800000T -> T8182497
PBO0000T -> TB035210 [+ start & stop)
+ CORTECO Nr: 80000863 / N 80004897
D @: M12x40 / M8x16 / M8x20 m
20116V X 20 XEV 01/94 - 09/98| -> 72703456 / -> 15166080/ | 6PK | 5 ° 80000863 | 90469102...

- Start & Stop

284



o 2 g i I o] OE
VAUXHALL - Astra lll - 09/91 - 03/01
2.0i16V X 20 XEV 01/94 - 09/98

-> T2703456 / -> 75166080 / 80004898 90469102...
-> 18182497

+ Start & Stop

+ CORTECO Nr: 80000863 / N 80004897
D @: M12x40 / M8x16 / M8x20 m

VAUXHALL - Astra IV 02/98 - 10/05

1.416V X 14 XE, Z 14 XE 02/98 - 05/05) A @: 160 5PK | 4 ‘ 80001113 9129209...

-> 12999999 / -> 15999999 / 5PK | 4 80004891 9129209...
-> 16999999 / -> 18999999 / Q
o

->1H/->1G/A@: 160

22000001 -> / 25000001 ->/ | 5PK | 4 80004893|  9129209...
26000001 -> / 4G000001 -> / .
2H-> /A D: 160 F//

®

-> 12999999 / -> 15999999 / - - 80004890
-> 16999999 / -> 18999999 /
> 1H/->1G/

+ CORTECO Nr: 80001113 /
D @: M12x1,75x62

22000001 -> /25000001 -> / - -
26000001 -> / 4G000001 -> /
2H->/

+ CORTECO Nr: 80001113/
D @: M12x1,5x62

1.6 16V X 16 XEL, Z 16 XE 02/98 - 05/05) A @: 160 5PK | 4

A@: 160 5PK | 4 Q 80004891 9129209...
o
QO

80004892

80001113 9129209...

+ CORTECO Nr: 80001113 / - - 80004890
D @: M12x1,75x62

1.6 16V C 16 SEL, X 16 XEL, 09/98 - 05/05| A @: 160 5PK | 4
Z 16 XE, Z 16 XEP

80001113 9129209...

A@:160 5PK | 4 80004891 9129209...

A@: 160 5PK | 4 80004893 9129209...
S.

+ CORTECO Nr: 80001113 / - . 80004890
D @: M12x1,75x62
+ CORTECO Nr: 80001113 / - - 80004892

D @: M12x1,5x62

1.7 CDTI 16V Z17 DTL 04/03 - 05/05) 16509 -> / A @: 154 6PK | 5 80000837 97353964...

1.7 DTI 16V Y 17 DT 02/00 - 05/05 6PK | 5 80000836 97361525...

1.8 16V X 18 XE1, Z 18 XE, 02/98 - 10/05) A @: 160 5PK | 4 80001113 9129209...
Z 18 XEL

-> 22999999 / -> 25999999 / 5PK | 4
-> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 /
->2G/AQ: 160

80004891 9129209...

$0002%°

285



o

VAUXHALL - Astra IV 02/98 - 10/05

1.8 16V

X 18 XE1, Z 18 XE,
Z 18 XEL

02/98 - 10/05

I

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3B000001 -> / 3HO00001 -> /
4G000001 -> / A @: 160

5PK | 4

80004893

OE

9129209...

-> 22999999 / -> 25999999 /
-> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 /
->2G/

+ CORTECO Nr: 80001113 /
D @: M12x1,75x62

80004890

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3B000001 -> / 3HO00001 -> /
4G000001 -> /

+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

80004892

2.0

Z 20 LET

09/02 - 10/05

2.0 16V

X 20 XEV

02/98 - 05/05

2.0 16V Turbo

Z 20 LET

09/00 - 08/05

AQD: 162

5PK | 4

80001115

90572761...

2.0 DI

X 20 DTL, Y 20 DTL

02/98 - 05/05

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80000085

9128177...

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@: 179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80001992

9128177...

+ CORTECO Nr: 80000085 /
D @: M18x122

80001241

2.0 DI

X 20 DTL, Y 20 DTL

03/98 - 04/04

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
AD:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80000085

9128177...

MAN / AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

6PK | 5

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80001992

9128177...

+ CORTECO Nr: 80000085 /
D @: M18x122

80001241

2.0 DTI 16V

X20DTH, Y 20 DTH

02/98 - 05/05

AC / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

6PK | 5

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

o ¢ 0 9§ 0 0°°9

80000085

9128177...

286




o E g i VI o] OE

VAUXHALL - Astra IV 02/98 - 10/05

2.0 DTI 16V X 20 DTH, Y 20 DTH 02/98 - 05/05| AC / -> 22999999 / 6PK | 5 80001992 9128177...
-> 25999999 / -> 26999999 /

-> 28999999 / -> 2H999999 /
AD: 179
32000001 -> / 35000001 -> /
36000001 -> / 38000001 -> /
3H000001 -> / A @: 179
+ CORTECO Nr: 80000085 / - 80001241
D @: M18x122 (
2.0 SRI Turbo 7 20 LET 11/01 - 05/05| A @: 162 5PK | 4 80001115  90572761...
2.0 Turbo 720 LET 03/02 - 10/05 °
A A A a . . 4 .
1.3 CDTi Z13 DTH 08/04 - 03/09 6PK | 5 80001143 | 93194443...
1.3 COTI Z13DTH 01/04 - 05/09 e
+ Start & Stop
.6 AT6XER, Z 16 LET, 01/04 -11/10| A @: 158 5PK | 4 80001114| 615 045...
716 XEP Z 16 XER ’
1.7 COTi A17DT),Z17 DT 01/04 - 05/09 6K | 5 ° 80001749 | 98022837...
+ Start & Stop
1.7 COTi Z17 DTH 08/04 - 11/10| A @: 154 6K | 5 ° 80000837 | 97353964...
1.7 CDTi A17DT) 02/07 -11/10 6PK | 5 ° 80001749 | 98022837...
+ Start & Stop
1.7 COTI Z17DTH,Z 17 DTL 01/04 - 05/09| A ©: 154 6K | 5 ° 80000837 | 97353964...
18 718 XE 01/04 - 05/09| A @: 160 SPK | 4 ' 80001113|  9129209...
AG: 160 5PK | 4 80004893 9129209...

6\\.

&

+ CORTECO Nr: 80001113 / - -
D @: M12x1,5x62

80004892

07

1.8 A 18 XER, Z 18 XER 01/04 - 05/09) A @: 158 5PK | 4 80001114 615 045...
1.8 Z 18 XE 10/04 - 11/10) A @: 160 5PK | 4 80001113 9129209...
A@: 160 5PK | 4 80004893 9129209...

+ CORTECO Nr: 80001113 / - -
D @: M12x1,5x62

1.9 CDTi Z19DT,Z19 DTL 08/04 - 03/09| -> 5545149 6PK | 5 e 80001159 93191381...
o - Start & Stop

80004892

°9

17205097 -> 6PK | 5 80004910 93191381...

+ Start & Stop

o
-> 17205096 6PK | 5 “ 80004910 93191381...
o - Start & Stop




o

VAUXHALL - AstraV. 01/04 - 11/10

OE

L.

+ Start & Stop

1.9 CDTi Z19 DT, Z 19 DIL 08/04 - 03/09] -> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / 4
D @: M16x1,5x70 / M8x26 (o) \\
1.9 CDTi 719 DTH 08/04 - 03/09] 72156709 -> / 75189053 -> / | 6PK | 5 80000855 | 6 14 584...
78104401 -> / 88000001 -> /
7G ->
> 72156708/ -> 75189052/ | 6PK | 5 80001159  93191381...
-> 78104400
+ Start & Stop
> 17205096 6K | 5 a 80004910  93191381...
N + Start & Stop
17205097 -> 6K | 5 & 80004910  93191381...
N + Start & Stop
> 17205096/ - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (<]
17205097 - / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 =] '
1.9 CDTi Z19 DTH 02/05 - 11/10| 72156709 -> / 75189053 -> / | 6PK | 5 80000855| 6 14 584...
78104401 -> / 88000001 -> /
7G ->
> 72156708/ -> 75189052/ | 6PK | 5 80001159  93191381...
-> 78104400 / -> 7G
+ Start & Stop
> 17205096 6K | 5 & 80004910  93191381...
N + Start & Stop
17205097 -> 6K | 5 @ 80004910  93191381...
N + Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / 4
D @: M16x1,5x70 / M8x26 (o) ‘\
1.9 COTi Z19 DT 02/05 - 11/10| -> 5545149 6PK | 5 80001159 | 93191381...
1.9 CoTl Z19DT 01/04 - 05/09
+ Start & Stop
17205097 -> 6K | 5 a 80004910  93191381...
N + Start & Stop
> 17205096 6K | 5 80004910  93191381...

= 17205096 / - 80004884
+ CORTECO Nr: 80001159 /

D @: M16x1,5x70 / M8x50 (]

17205097 -> / - 80004886

+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26

ol“t‘

288




o ] g i I o] OF
VAUXHALL - AstraV. 01/04 - 11/10
1.9 CDTI Z 19 DTH 01/04 - 05/09| 72156709 -> / 75189053 -> / 6PK | 5 80000855 614 584...
1.9 CDTI 16V Z 19 DTJ 01/04 - 05/09) 78104401 -> / 8B0O00001 -> /
7G ->
-> 72156708 / -> 75189052 / 6PK | 5 80001159 93191381...
-> 78104400/ -> 7G
+ Start & Stop
-> 17205096 6PK | 5 @ 80004910 93191381...
o + Start & Stop
17205097 -> 6PK | 5 & 80004910 93191381...
N + Start & Stop
-> 17205096 / - - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 o
17205097 -> / - - 80004886
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26
2.0 Turbo Z 20 LEH, Z 20 LEL, 01/04 - 11/10| A @: 162 5PK | 4 80001115 90572761...
Z 20 LER
VAUXHALL - Astra VI 1
1.7 CDTi A 17 DTC, A 17 DTE, 12/09 6PK | 5 80001749 98022837...
A 17 DTJ, A17 DTR
a a alibra 06/90 0 9
2.0i16V X 20 XEV 06/90 - 07/97 6PK | 5 80000863 90469102...
2.0i 16V 4x4 X 20 XEV 02/94 - 07/97
+ Start & Stop
6PK | 5 80004898 90469102...
- Start & Stop
+ CORTECO Nr: 80000863 / - - 80004897

VAUXHALL - Cavalier Ill
2.0i

09/88 - 11/95
20 NE

09/88 - 10/90

D @: M12x40 / M8x16 / M8x20

P1000001 -> / P5000001 -> /

80000863 90469102...

2.0 4x4 20 NE 01/91 - 10/92| P7500001 ->
2.0 i KAT C 20 NE 09/90 - 11/95
- Start & Stop
P1000001 -> / P5000001 -> / 6PK | 5 80004898 90469102...
P7500001 ->
+ Start & Stop
+ CORTECO Nr: 80000863 / - - 80004897
D @: M12x40 / M8x16 / M8x20
2.0 SRi 16V X 20 XEV 09/93 - 11/95 6PK | 5 80000863 90469102...
+ Start & Stop
6PK | 5 80004898 90469102...
+ Start & Stop
+ CORTECO Nr: 80000863 / - - 80004897
D @: M12x40 / M8x16 / M8x20
a a orsa 09/00 - 06/06
1.7 DI 16V Y 17 DTL 09/00 - 06/06 6PK | 5 80000836 97361525...
1.7 DTI 16V Y17 DT 09/00 - 06/06

289



o = i Ml €3 OE
VAUXHALL - Corsa Il 08/00 - 10/06

1.3 CDTI 16V Z13DT 08/00 - 09/06 6PK | 5 80001143 93194443...

+ Start & Stop
1.416V Z 14 XE 09/00 - 10/06f A &: 160 5PK | 4 80001113 9129209...

-> 13999999 / -> 24006768 / 5PK | 4 80004891 9129209...
-> 16999999 / A @: 160

23000001 -> /24006769 -> / 5PK | 4 80004893 9129209...
26000001 -> /A @: 160

-> 13999999 / -> 24006768 / - - 80004890
-> 16999999 /

+ CORTECO Nr: 80001113 /
D @: M12x1,75x62

23000001 -> / 24006769 -> / - - 80004892
26000001 -> /

+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

1.7 CDTI 16V Z 17 DTH 08/00 - 09/06) A @: 154 6PK | 5 80000837 97353964...

1.7 DI 16V Y 17 DTL 08/00 - 09/06 6PK | 5 80000836 97361525...

1.7 DTI 16V Y 17 DT 08/00 - 09/06

1.8 16V Z 18 XE 08/00 - 09/06| A @: 160 5PK | 4 80001113 9129209...
-> 23999999 / -> 24999999 / 5PK | 4 80004891 9129209...

-> 26999999 /A D: 160

33000001 -> /34000001 -> / 5PK | 4 80004893 9129209...
36000001 -> /A @: 160

-> 23999999 / -> 24999999 / - - 80004890
-> 26999999 /

+ CORTECO Nr: 80001113 /
D @: M12x1,75x62

33000001 -> /34000001 -> / - - 80004892
36000001 -> /

+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

VAUXHALL - Corsa IV 07/06 - 08/14

1.3 CDTI A13DTC, Z 13 DTH, 07/06 - 08/14 6PK | 5 80001143 93194443...
Z13DTJ

+ Start & Stop

1.6 SRi A 16 LEL 05/07 - 08/14) A D: 158 5PK | 4 80001114 615 045...

1.6 VXR AT6 LER, Z 16 LER 02/07 - 08/14

1.7 CDTI A 17 DTS 11/06 - 08/14 6PK | 5 80001749 98022837...
a a ontera 0 0 0/98

2.0 C 20 NE, X 20 SE 04/95 - 08/98 6PK | 5 80000863 90469102...

2.0i C 20 NE, X 20 SE 03/92 - 10/98

+ Start & Stop
MC: X20SE 6PK | 5 80004898 90469102...

+ Start & Stop
MC: X20SE / - - 80004897
+ CORTECO Nr: 80000863 /

D @: M12x40 / M8x16 / M8x20

290



o

VAUXHALL - Frontera

¢
2

B oo

OE

2.2i

VAUXHALL - Frontera Il

03/92 - 10/98
X 22 XE

10/98 - 10/04
X 22 DTH, Y 22 DTH

03/95 - 10/98

10/98 - 09/04

6PK | 5

80000863

+ Start & Stop

6PK | 5

80004898

+ Start & Stop

+ CORTECO Nr: 80000863 /
D @: M12x40 / M8x16 / M8x20

80004897

80000085

90469102...

90469102...

9128177...

+ Start & Stop

+ CORTECO Nr: 80000863 /
D @: M12x40 / M8x16 / M8x20

80004897

+ Start & Stop

AD:179 6PK | 5 80001992 9128177...
+ CORTECO Nr: 80000085 / - - 80001241
D @: M18x122
2.2 X22SE, Y?22SE 10/98 - 10/04 6PK | 5 80000863 90469102...
+ Start & Stop
6PK | 5 80004898 90469102...

1.6i16V Z 16 XE 01/03 - 09/05) A @: 160 5PK | 4 80001113 9129209...
-> 24999999 / A @: 160 5PK | 4 80004891 9129209...
34000001 -> / A @: 160 5PK | 4 80004893 9129209...
-> 24999999 / - - 80004890
+ CORTECO Nr: 80001113 /
D @: M12x1,75x62
34000001 -> / - - 80004892
+ CORTECO Nr: 80001113 /
D @: M12x1,5x62
1.61 16V Twinport Z 16 XEP 05/03 - 06/10) A @: 158 5PK | 4 80001114 615045...
1.6 Turbo Z 16 LET 05/06 - 06/10
1.7 CDTI 16V Z17 DTH 09/03 - 08/05) A @: 154 6PK | 5 80000837 97353964...
1.8i16V Z 18 XE 05/03 - 08/05| A @: 160 5PK | 4 80001113 9129209...
AQ: 160 5PK | 4 80004893 9129209...

291




o

VAUXHALL - Meriva |

01/03 - 06/10

I

B oo

OE

1.8i 16V

VAUXHALL - Meriva Il
1.7 CDTi

VAUXHALL - Movano

Z 18 XE

06/10 -
A 17 DTS

09/00 - 05/10

05/03 - 08/05

06/10

+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

6PK | 5

80004892

80001749

01

98022837...

VAUXHALL - Omega B

G9U 750, G9U 754
01/94 - 07/03

1.9 DTl FOQ 774 10/01 - 05/10 6PK | 5 80001010 93170225...
6PK | 5 80004894 93170225...
+ CORTECO Nr: 80001010 / - - 80001242
D @: M12x1,25x45
2.2 DTl G9T 720, G9T 722, 09/00 - 05/10f AC 7PK | 6 80004400 93198115...
G9T 750
2.5 CDTI G9U 632, G9U 650, 10/01 - 05/10
G9U 754
2.5DTl G9U 720, G9U 724, 10/01 - 05/10

+ Start & Stop

+ CORTECO Nr: 80000863 /
D @: M12x40 / M8x16 / M8x20

80004897

2.0 X 20 SE 03/94 - 09/99 6PK | 5 ° 80000863 |  90469102...
+ Start & Stop
6PK | 5 ‘g 80004898 | 90469102...
+ Start & Stop
+ CORTECO Nr: 80000863 / N 80004897
D @: M12x40 / M8x16 / M8x20 M
2016V X 20 XEV 03/94 - 02/01|-> 11145315 6PK | 5 ° 80000863 | 90469102...
+ Start & Stop
> T1145315 6PK | 5 ‘9\ 80004898 | 90469102...
+ Start & Stop
+ CORTECO Nr: 80000863 / B 80004897
D @: M12x40 / M8x16 / M8x20 m
2.0 DTI 16V X 20 DTH 01/98 - 09/00| A @: 179 6PK | 5 g 80000085 | 9128177...
AG:179 6PK | 5 Q 80001992 | 9128177...
+ CORTECO Nr: 80000085 / N 80001241
D @: M18x122 (
2216V Y22 XE, Z 22 XE 01/94 - 06/03 6PK | 5 ° 80000863 | 90469102...
+ Start & Stop
6PK | 5 ‘a 80004898 | 90469102...

292



VAUXHALL - Omega B 01/94 - 07/03

i il € OE

2.2 DTI 16V Y 22 DTH 08/00 - 07/03|A @: 179 6PK 80000085 9128177...
AD: 179 6PK 80001992 9128177...
+ CORTECO Nr: 80000085 / - 80001241
D &: M18x122

251D 25 DT, X 25 DT 04/94 - 07/01 5PK 80000025 90541669...

5PK 80001991 90541669...

+ CORTECO Nr: 80000025 / - 80001268
D @: M18x1,5x76,5 / M8x31

3.2 V6 Y 32 SE 02/01 - 07/03] C31000001 -> / A @: 166 6PK 80001116 614 430...

VAUXHALL - Signum O

5/03 - 05/08

1.8 Z 18 XE 06/03 - 07/05| A @: 160 5PK 80001113|  9129209...
AD: 160 5PK 80004893 9129209...
+ CORTECO Nr: 80001113 / - 80004892
D @: M12x1,5x62 ‘\
1.8 Z 18 XER 08/05 - 05/08| A @: 158 5PK ‘ 80001114| 615 045...
1.9 CDTI Z19 DT 04/04 - 03/08| -> 5545149 6PK O 80001159 |  93191381...
) + Start & Stop
1.9 CDTI 16V Z 19 DTH 04/04 - 03/08| 71021892 -> 6PK e 80000855| 6 14 584...
> 71021891 8PK Q 80001159 |  93191381...
\ + Start & Stop
17205097 -> 8PK Q 80004910|  93191381...
N + Start & Stop
> 17205096 8PK & 80004910  93191381...
N + Start & Stop
> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 o “
2.0 DTI Y 20 DTH 05/03 - 05/08| A @: 179 6PK 80000085|  9128177...

293



o E g i VI o] OE

VAUXHALL - Signum 05/03 - 05/08

2.0 DTI Y 20 DTH 05/03 - 05/08| A @: 179 6PK | 5 80001992 9128177...

+ CORTECO Nr: 80000085 / - . 80001241
D @: M18x122

2.2DTl Y 22 DTR 05/03 - 05/08) A @: 179 6PK | 5 80000085 9128177...
A@: 179 6PK | 5 80001992 9128177...

+ CORTECO Nr: 80000085 / - - 80001241
D @: M18x122
3.2Vé Z32SE 05/03 - 05/08) A @: 166 6PK | 5 80001116 614 430...

VAUXHALL - Sintra  11/96 - 04/99

2.2 DTI X 22 DTH 07/97 - 04/99\ A @: 179 6PK | 5

80000085 9128177...

AD:179 6PK | 5 80001992 9128177...

+ CORTECO Nr: 80000085 / - -
D @: M18x122

80001241

22i16V X 22 XE 11/96 - 04/99 6PK | 5 80000863 90469102...

+ Start & Stop
80004898 90469102...

6PK | 5

+ Start & Stop

80004897

+ CORTECO Nr: 80000863 / - -
D @: M12x40 / M8x16 / M8x20

0000|090 ¢§

VAUXHALL - Tigra TwinTop  06/04 - 08/09

1.3 CDTI Z13DT 06/04 - 08/09 6PK | 5

80001143 93194443...

+ Start & Stop

1.8 Z 18 XE 06/04 - 08/09| A @: 160 5PK | 4 ' 80001113 9129209...

AQD: 160 5PK | 4 80004893 9129209...
.

+ CORTECO Nr: 80001113 / - - 80004892

D @: M12x1,5x62 ‘\

VAUXHALL - Vectra 08/95 - 10/01

1.8i16V X 18 XE, X 18 XE1 10/95 - 09/00) -> T1147222 / -> T7563699 6PK | 5

80000863 90469102...

+ Start & Stop

->T1147222 / -> 77563699 6PK | 5 Q 80004898 90469102...
! Start & Stop

+ CORTECO Nr: 80000863 / - - 80004897
D @: M12x40 / M8x16 / M8x20

294



o E g i VI o] OE

VAUXHALL - Vectra 08/95 - 10/01

2.0 Di 16V X 20 DTL 08/95 - 10/01JAC/AD: 179 6PK | 5 80000085 9128177...
2.0 DI 16V X 20 DTL 08/95 - 10/01
2.0 DTi 16V X 20 DTH, Y 20 DTH 06/97 - 10/01
2.0 DTI 16V X 20 DTH, Y 20 DTH 08/95 - 10/01
AC/AD:179 6PK | 5 80001992 9128177...

+ CORTECO Nr: 80000085 / - -
D @: M18x122

80001241

2.0i16V X 20 XEV 10/95 - 01/01 6PK | 5 80000863 90469102...

+ Start & Stop
80004898 90469102...

6PK | 5

+ Start & Stop

80004897

+ CORTECO Nr: 80000863 / - -
D @: M12x40 / M8x16 / M8x20

2.2 DTI 16V Y 22 DTR 08/95 - 10/01|AD: 179 6PK | 5 80000085 9128177...

A@: 179 6PK | 5 80001992 9128177...

+ CORTECO Nr: 80000085 / - -
D @: M18x122

80001241

VAUXHALL - Vectra Il 04/02 - 10/08

1.8 Z 18 XER 01/06 - 07/08| A @: 158 5PK | 4 80001114 615 045...

1.8 16V Z 18 XE 04/02 - 07/08) A @: 160 5PK | 4 80001113 9129209...

-> 22999999 / -> 25999999 / 5PK | 4
-> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 /
->2G/AQ@:160

32000001 -> /35000001 -> / 5PK | 4
36000001 -> /38000001 -> /
3B000001T -> / 3HO00001 -> /
4G000001 -> / A D: 160

-> 22999999 / -> 25999999 / - -
-> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 /
->2G/

+ CORTECO Nr: 80001113 /
D @: M12x1,75x62

32000001 -> / 35000001 -> / - -
36000001 -> / 38000001 -> /
3B00000T -> / 3HO00001 -> /
4G000001 -> /

+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

1.8 16V Z 18 XE 08/02 - 07/08) A @: 160 5PK | 4

80004891 9129209...

80004893 9129209...

80004890

80004892

80001113 9129209...

-> 21999999 / -> 28999999 / 5PK | 4
A@: 160

80004891 9129209...

31000001 -> /38000001 -> / 5PK | 4
A@: 160

80004893 9129209...

9902 29900|R00:00 ¢

295



o

VAUXHALL - Vectra ll

04/02 - 10/08

I

OE

1.8 16V Z 18 XE 08/02 - 07/08 -> 21999999 / -> 28999999 / -] - 80004890
+ CORTECO Nr: 80001113 / \
D @: M12x1,75x62 ‘
31000001 -> / 38000001 -> / - 80004892
+ CORTECO Nr: 80001113 / \
D @: M12x1,5x62 ‘
1.9 CDTI Z19DT 04/02 - 09/08] -> 5545149 6PK | 5 80001159|  93191381...
+ Start & Stop
17205097 -> 6PK | 5 a 80004910|  93191381...
o + Start & Stop
> 17205096 6PK | 5 & 80004910  93191381...
M) + Start & Stop
> 17205096 / B - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / R 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 o “
1.9 CDTI 16V Z 19 DTH 04/04 - 08/08] 71021892 -> / 78 -> 6PK | 5 e 80000855| 6 14 584...
> 71021891/ -> 48999999 6PK | 5 80001159  93191381...
+ Start & Stop
> 17205096 6PK | 5 & 80004910|  93191381...
6
17205097 -> 6PK | 5 & 80004910|  93191381...
N + Start & Stop
> 17205096 / R 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50 (]
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 / l‘
D @: M16x1,5x70 / M8x26 (o) \\
2.0 DTl 16V Y 20 DTH 04/02 - 10/08| A @: 179 6PK | 5 80000085|  9128177...
AD:179 6PK | 5 Q 80001992 9128177...
+ CORTECO Nr: 80000085 / - 80001241
D @: M18x122 (
2.0 DTl 16V Y 20 DTH 10/03 - 07/08| A @: 179 6PK | 5 g 80000085|  9128177...
AD:179 6PK | 5 ’ 80001992  9128177...
+ CORTECO Nr: 80000085 / - 80001241
D @: M18x122 (

296




o

VAUXHALL - Vectra ll

¢
2

04/02 - 10/08

B oo

OE

2.2 DTI 16V Y 22 DTR 04/02 - 10/08) A D: 179 6PK 80000085 9128177...
A@: 179 6PK 80001992 9128177...
+ CORTECO Nr: 80000085 / - 80001241
D @: M18x122

2.2 DTI 16V Y 22 DTR 10/03 - 07/08) A @: 179 6PK 80000085 9128177...
A@: 179 6PK 80001992 9128177...
+ CORTECO Nr: 80000085 / - 80001241
D @: M18x122

3.2Vé Z32SE 08/02 - 07/08) A D: 166 6PK 80001116 614 430...

VAUXHALL - Vivaro 08

/01 - 07/14

©/00j0R¢0R$0

1.9 DTl F9Q 760 08/01 - 12/06 6PK 80001010 93170225...
6PK 80004894 93170225...
+ CORTECO Nr: 80001010 / - 80001242
D @: M12x1,25x45
2.5 CDTI G9U 630 08/06 - 07/14] AC 7PK 80004400 93198115...
2.5DTl G9U 630, G9U 730 07/03 - 07/14) -> C069549 / AC 6PK 80001154 93161444...
AC 7PK 80004400 93198115...
-> C069549 / AC 6PK 80004870 93161444...
-> C069549 / AC / - 80004869

VAUXHALL - VX220 03
2.0 i Turbo

VAUXHALL - Zafira
1.8 16V

/01 - 07/05
Z 20 LET

04/99 - 08/05

X 18 XE1, Z 18 XE

03/01 - 07/05

05/99 - 08/05

+ CORTECO Nr: 80001154 /
D @: M14x1,5x67

AQD: 162

5PK

80001115

90572761...

A@:160 5PK 80001113 9129209...
-> 22999999 / -> 25999999 / 5PK 80004891 9129209...
-> 26999999 / -> 28999999 /

-> 2B999999 / -> 2H999999 /

->2G/AQ:160

32000001 -> /35000001 -> / 5PK 80004893 9129209...

36000001 -> /38000001 -> /
3B000001T -> / 3HO00001 -> /
4G000001 -> / A @: 160

99010706

€

297



o E g i VI o] OE

VAUXHALL - Zafira 04/99 - 08/05

1.8 16V X 18 XE1,Z 18 XE 05/99 - 08/05| -> 22999999 / -> 25999999 / - - 80004890
-> 26999999 / -> 28999999 /
-> 2B999999 / -> 2H999999 /
->2G/

+ CORTECO Nr: 80001113 /
D @: M12x1,75x62

32000001 -> / 35000001 -> / - -
36000001 -> / 38000001 -> /
3B000001 -> / 3HO00001 -> /
4G000001 -> /

+ CORTECO Nr: 80001113 /
D @: M12x1,5x62

2.0DI 16V X 20 DTL 10/99 - 08/05| MAN / AC / -> 22999999 / 6PK | 5
-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

MAN / AC / -> 22999999 / 6PK | 5
-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

AUT / -> 22999999 /

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /

80004892

80000085 9128177...

80001992 9128177...

A@: 179
+ CORTECO Nr: 80000085 / - - 80001241
D @: M18x122
2.0 DTI 16V Y 20 DTH 04/99 - 08/05] AC / -> 22999999 / 6PK | 5 80000085 9128177...

-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

AC / -> 22999999 / 6PK | 5
-> 25999999 / -> 26999999 /
-> 28999999 / -> 2H999999 /
A@:179

32000001 -> /35000001 -> /
36000001 -> /38000001 -> /
3H000001 -> /A @: 179

80001992 9128177...

+ CORTECO Nr: 80000085 / - - 80001241
D @: M18x122

22D Y 22 DTR 06/01 - 06/05) A @: 179 6PK | 5 80000085 9128177...
A@: 179 6PK | 5 80001992 9128177...

+ CORTECO Nr: 80000085 / - -
D @: M18x122

80001241

VAUXHALL - Zofira Il 07/05 - 11/14
1.6 A 16 XER, Z 16 XET, 07/05-11/14) A D: 158 5PK | 4
Z 16 XER Z 16 XER

80001114 615 045...

1.7 CDTI A17DTJ,Z 17 DTJ 04/09 - 11/14 6PK | 5 80001749 98022837...
- Start & Stop

1.9 CDTI Z 19 DTH 07/05 - 11/14| 72156709 -> / 7G1050346 -> 6PK | 5 80000855 614 584...

-> 72156708 / -> 7G150345 6PK | 5 80001159 93191381...

©000|R 90 § OR & 0 %

- Start & Stop

298



o

B oo

OE

VAUXHALL - Zofira I 07/05-11/14
1.9 CDTI Z19 DTH 07/05 - 11/14|-> 17205096 6PK 80004910 93191381...
+ Start & Stop
17205097 -> 6PK 80004910 93191381...
+ Start & Stop
-> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26
1.9 CDTI Z19 DT 07/05 - 11/14] -> 5545149 6PK 80001159 93191381...
+ Start & Stop
-> 17205096 6PK Q 80004910 93191381...
N - Start & Stop
17205097 -> 6PK @ 80004910 93191381...
N ; Start & Stop
-> 17205096 / - 80004884
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x50
17205097 -> / - 80004886
+ CORTECO Nr: 80001159 /
D @: M16x1,5x70 / M8x26
2.0 Z 20 LEH, Z 20 LER 07/05 - 11/14| A B: 162 5PK 80001115 90572761...

2.57TDI

VOLVO - C30
1.6D

VOLVO - 850 / Kombi

10/06 -

08/95 - 12/96
D 5252 T

D 4164 T

08/95 - 12/96

21652976

9180620...

10/06 - 12/12

6PK 80001157 21652976
+ 80001156
+ CORTECO Nr: 21652976 / - 80001248
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
- 80001156 8627935

80000597

+ Start & Stop

80000682

+ Start & Stop

80001812

+ Start & Stop

6PK
220000 -> 6PK
6PK
220000 -> 6PK

80004330

+ Start & Stop

+ CORTECO Nr: 80000597 /
D @: M12x1,5x50

80001247

31272289...

313 300 83

31272289...

299



& ] i I o] OE

VOLVO - C30 10/06 - 12/12
1.6 D2 D4162T 10/10 - 12/12 6PK | 5 80000682 313 300 83

+ Start & Stop

6PK | 5 80004330

+ Start & Stop
1.8 B 4184 S11 10/06 - 12/12 5PK | 445 80005278 31375452...
1.8 FlexFuel B 4184 S8 01/07 - 12/12 +6PK
2.0 B 4204 S3 10/06 - 12/12
2.0 FlexFuel B 4204 S4 01/10-12/12
2.4i B 5244 S4 10/06 - 12/12| A @: 157 5PK | 4 80001053 8642173...
D5 D 5244 T13, D 524478 |10/06 - 12/12) A DB: 157 5PK | 4 80000992 8642400
5 B 5254 T3, B 5254 17 10/06 - 12/12| A &: 157 5PK | 4 80001053 8642173...

VOLVO - C70 | Cabriolet 03/98 - 10/05

VOLVO - 540 Il
1.6D

01/04

D 4164 T

01/05

6PK

80000597

+ Start & Stop

80000682

+ Start & Stop

530000 -> 6PK | 5
6PK | 5
530000 -> 6PK | 5

80001812

+ Start & Stop

80004330

+ Start & Stop

+ CORTECO Nr: 80000597 /
D @: M12x1,5x50

80001247

20T B 5204 T3, B 5204 T4  |03/98 - 10/05/01/03 -> / A @: 157 80001052|  8692285...

2375 B523473,B523419  |03/98 - 10/05

247 B 5244717 07/02 - 10/05

25T B 5244 T, B 5254 T 03/98 - 10/05| 01/03 -> / A @: 157 6PK | 5 80001052|  8692285...

OLVO 0 abriole 03/06 - 06

2.4 B 5244 S5 03/06 - 10/09| A @: 157 5PK | 4 80001053 |  8642173...

241 B 5244 54 03/06 - 10/09

D5 D 5244713, D 5244 T8 |03/06 - 06/13|A@: 157 5PK | 4 80000992 8642400

T5 B 5254 T3,B5254T7  |03/06 - 10/09| A @: 157 5PK | 4 80001053|  8642173...

VOLVO -S40 07/95-12/03

1.8 B4184S,B418452,  |07/95 - 12/03| CH920000 -> / A @: 157 6PK | 5 80001052|  8692285...
B 4184 53, B 4184 59

1974 B4194T,B 419472 05/97 - 07/00

2.0 B 4204 S 07/95 - 08/99

2.0 B 4204 S, B 4204 S2 07/95 - 12/03| CH920000 -> / A @: 157 6PK | 5 80001052|  8692285...

20T B 4204 T, B 4204 T2, 10/97 - 12/03| CH920000 -> / A @: 157 6PK | 5 80001052|  8692285...
B 4204 T3

2.0T4 B 4204 15 07/00 - 12/03

&9 QCOL(‘ D00 90 0j00C0 00

31272289...

313300 83

31272289...




o E g i I o] OE

VOLVO -S40 11 01/04 -
1.6 D2 D4162T 10/10 6PK | 5 80000682 313 300 83

+ Start & Stop

6PK | 5 80004330

+ Start & Stop
1.8 B 4184 S11 04/04 5PK | 445 80005278 31375452...
1.8 FlexFuel B 4184 S8 01/06 +6PK
2.0 B 4204 S3 10/06
20F B 4204 S4 10/09
2.4 B 5244 S5 01/04 AQD: 157 5PK | 4 80001053 8642173...
2.4 D5 D 5244 T13, D 524478 |03/06 AQD: 157 5PK | 4 80000992 8642400
5 B 5254 T3, B 5254 T7 01/04 AQD: 157 5PK | 4 80001053 8642173...
75 AWD B 5254 T3, B 5254 T7 04/04

VOLVO - S60 07/00 - 04/10

20T B 5204 T5 07/00 - 04/10§01/03 -> / A@: 157 80001052 8692285...
2.4 B 5244 'S, B 5244 52 11/00 - 04/10
2.4 Bifuel B 5244 SG 06/02 - 04/10
2.4D D 5244 72, D 5244 77 12/01 - 04/10} A @: 157 6PK | 5 80000990 8642368...
2.4D5 D 5244 T, D 5244 T4 07/01 - 04/10
24T B 5244 T3 11/00 - 04/10§01/03 -> / A @: 157 6PK | 5 80001052 8692285...
2475 B 524475 04/04 - 04/10) A D: 157 6PK | 5 80001052 8692285...
2.4 T AWD B 5244 T3 11/01 - 04/10J01/03 -> / A@: 157 6PK | 5 80001052 8692285...
25T B 5254 T2 02/04 - 04/10} A @: 157 6PK | 5 80001052 8692285...
2.5T AWD B 5254 T2 04/04 - 04/10
5T AWD B 5254 T4 03/03 - 04/10
R 2 B 5254 T4 03/03 - 04/10;
5 B 5234 T3 11/00 - 04/10§01/03 -> / A@: 157 6PK | 5 80001052 8692285...
VOLVO - S60 1l 04/10 -
1.5T3 B 4154 T4 03/15 6PK | 5 ey, 313594 14
49361872
D3 D 5204 T2, D 5204 T3, |04/10 A@: 177 5PK | 4 80000991 31258122...
D 5204 77
D4 D 5204 T3 05/12
D5 D 5244 710, D 5244 T11,|04/10
D 5244 T15
D5 AWD D 5244 710, D 5244 T15 |04/10
DRIVe / D2 D 416271 01/11 6PK | 5 80000682 313300 83

+ Start & Stop

80004330

6PK | 5

VOLVO - 570 01/97 - 11/00
2.57TDI D 5252 T 01/97 - 11/00) A @: 192 6PK

21652976 9180620...

P|190 Gejoho00ONVON 00

301



o

¢
2

VOLVO - S70 01/97 - 11/00

B oo

OE

@

+ Start & Stop

2.5 1D D 5252 T 01/97 - 11/00 6PK | 5 80001157 21652976
a + 80001156

+ CORTECO Nr: 21652976 / - 80001248

+ CORTECO Nr: 80001157 /

D @: M18x1,5x110 / M8x30 b

©o%¥o
P 0 80001156 8627935

VOLVO -S80 1 05/98 - 07/06
2.0 B 5204 T4 06/98 - 07/06] 01/03 -> / A @: 157 80001052|  8692285...
20T B520473,B520475  06/98 - 07/06 °
2.4 B 52445, B 5244 52 01/99 - 07/06 —
2.4 Bifvel B 5244 5G2 09/01 - 07/06
24T B 5244713 06/00 - 07/06
25T B 5254 T2 03/03 - 07/06| A @: 157 6PK | 5 80001052|  8692285...
25T AWD B 5254 12 07/03 - 07/06 °
2.5 DI D52527T 01/99 - 07/06] -> 12/01 / A @: 192 6PK | 5 Q 21652976|  9180620...

> 12/01 6PK | 5 80001157 21652976

e + 80001156

+ CORTECO Nr: 21652976 / - 80001248

+ CORTECO Nr: 80001157 /

D @: M18x1,5x110 / M8x30 b

©o¥o
A o 80001156 8627935

2876 B 6284 T 05/98 - 07/06| A @: 170 A ~y 1275369
2.9 B 6294 S, B 6304 S3 05/98 - 07/06 19368727
3.0 B 6294 52 06/01 - 07/06
3076 B6294T 06/01 - 07/06

VOLVO - S80Il  03/06 -
1.6 D DRIVe D 4164 T 01/10 134001 -> 6PK | 5 80000682 313 300 83

B 4184 S3, B 4184 S9

B4194T

05/97 - 07/00

B 4204 S

07/95 - 08/99

134001 -> 6PK | 5 = 80004330
+ Start & Stop
1.6 DRIVe D 416271 06/11 6PK | 5 ) \ 80000682 313 300 83
@ + Start & Stop
6PK | 5 = 80004330
+ Start & Stop
24D D 5244 T, D 5244 T14, 03/06 AD:177 5PK | 4 80000991 31258122...
D 5244 T5 a
25T B 5254 T6 03/06 AD: 157 5PK | 4 ° 80001053 8642173...
D3 D 5204 T7 05/12 AD: 177 5PK | 4 80000991 31258122...
D3 / D4 D 5204 72, D 5204 T3 01/10
D5 D 5244 710, D 5244 T11, |03/06
D 5244 T15, D 5244 T4
D5 AWD D 5244 710, D 5244 T15,|01/07
D 5244 T4
VOLVO - V40 / Kombi 07/95 - 06/04
1.8 B 4184 S,B 4184 S2, 07/95 - 06/04| CH920000 -> / A @: 157 6PK | 5 - 80001052 8692285...




o

VOLVO - V40 / Kombi

¢
2

07/95 - 06/04

I

OE

2.0 B 4204 S, B 4204 S2 07/95 - 06/04] CH920000 -> / A @: 157 6PK | 5 ° 80001052 8692285...
20T B 4204 T, B 4204 T2, 10/97 - 06/04] CH920000 -> / A @: 157 6PK | 5 80001052 8692285...
B 4204 T3 ‘
2.0T4 B 4204 T5 07/00 - 06/04 L )
D2 D4162T 03/12 6PK | 5 | N 80000682 | 313 300 83
@ + Start & Stop
6PK | 5 80004330
T2 B 4154 T5 02/15 6PK | 5 313 594 14
49361872
5 B 4204 T11 05/14 278380 -> 6PK | 5 Ty 313594 14
T5 AWD B 4204 T11 05/14 49361872

VOLVO - V50 04/04 -
1.6 D D 4164 T 01/05 6PK | 5 80000597 31272289...

+ Start & Stop

00l|00 9

590000 -> &PK | 5 80000682 | 313 300 83
+ Start & Stop
6PK | 5 80001812 |  31272289...
+ Start & Stop
590000 -> 6PK | 5 = 80004330
+ Start & Stop
+ CORTECO Nr: 80000597 / - 80001247
D @: M12x1,5x50 *
1.6 D2 D4162T 01/10 6PK| 5 | 80000682[ 31330083
o
6PK | 5 = 80004330
+ Start & Stop
1.8 B 4184 511 04/04 5PK | 4+5 N 80005278 |  31375452...
1.8 FlexFuel B 4184 S8 01/05 +6PK '
2.0 B 4204 S3 10/06
2.0 FlexFuel B 4204 S4 01/10
2.4 B 5244 S5 04/04 AD: 157 5PK | 4 ° 80001053 8642173...
2.4 D5 D 5244 T13, D 5244 T8 |03/06 AD: 157 5PK | 4 ‘ 80000992 8642400
5 B 525413, B 525417  |04/04 AD: 157 5PK | 4 80001053 8642173...
T5 AWD B 5254 13, B 5254 T/ |04/04 '

VOLVO - V60 09/10 -
1.6 DRIVe D 4162 T 06/11 6PK | 5 80000682 313300 83

0

- Start & Stop

6PK

o

80004330

; Start & Stop

303



o E g i i € OF

VOLVO - V60 09/10 -

2.0T4 B 4204 T19 05/15 6PK | 5 ey, 313594 14
49361872

2.4 Hybrid D6 AWD D82PHEV 06/12 7PK | 6 80005061 31251643

D3 D 5204 T7 12/12 AD: 177 5PK | 4 80000991 31258122...

D3/ D4 D 5204 T2, D 5204 T3 09/10

D4 AWD D 5244 117 12/12

D5 D 5244 T10 09/10

D5 AWD D 5244 710, D 5244 715,|09/10

D 5244 723

T3 B 4154 T4 03/15 6PK | 5 ‘M 313594 14

49361872

VOLVO - V70 | / Kombi
2.5 DI

VOLVO - V70 Il / Kombi

01/97 - 05/00
D 5252 T

03/00 - 08/07

01/97 - 05/00

A@:192 6PK | 5 21652976 9180620...
6PK | 5 80001157 21652976
+ 80001156
+ CORTECO Nr: 21652976 / - - 80001248
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
- - 80001156 8627935

20T B 5204 T5 07/01 - 08/07)01/03 -> / A@: 157 6PK | 5 80001052 8692285...
2375 B 5234 T3 03/00 - 08/04| 01/03 -> / A @D: 157 6PK | 5 80001052 8692285...
2.4 B 5244 'S, B 5244 52 03/00 - 08/07)01/03 -> / A@: 157 6PK | 5 80001052 8692285...
2.4 Bifuel B 5244 SG 09/01 - 08/07
2.4D D 5244 72, D 5244 77 12/01 - 08/07) A @: 157 6PK | 5 80000990 8642368...
2.4 D5 D 5244 T, D 5244 T4, 08/01 - 08/07

D 5244 T5
2.4 D5 AWD D 5244 T, D 5244 72, 03/03 - 08/07

D 5244 T4, D 5244 T5
24T B 5244 T3 03/00 - 08/03}01/03 -> / A@: 157 6PK | 5 80001052 8692285...
2.47T5 B 5244 T5 04/04 - 08/07) A @: 157 6PK | 5 80001052 8692285...
25T B 5254 T2 04/04 - 08/07
2.5 T AWD B 5254 T2 09/02 - 08/07|01/03 -> / AD: 157 6PK | 5 80001052 8692285...
5T AWD B 5254 T4 03/03 - 08/07) A @: 157 6PK | 5 80001052 8692285...
R2 B 5254 T4 03/03 - 08/07

V000 000 MO+rCI|e Goe@

VOLVO - V70 Ill / Kombi 08/07 -
1.6 D D 4164 T 01/10 167001 -> 6PK | 5 80000682 313 300 83

0

+ Start & Stop

167001 ->

6PK | 5

0

80004330

; Start & Stop

304



o T i VI o OE
VOLVO - V70 Il / Kombi 08/07 -
1.6 DRIVe / D2 D4162T 06/11 6PK 5 \ 80000682 313 300 83
@ + Start & Stop
6PK | 5 = 80004330
+ Start & Stop
2.4D D 5244 T14, D 524475 |08/07 AD:177 5PK | 4 e 80000991 31258122...
25T B 5254 T6 08/07 AQD: 157 5PK 4 ° 80001053 8642173...
D3 D 5204 77 03/10 AD:177 5PK | 4 80000991 31258122...
D3/ D4 D 5204 T2, D 5204 T3 03/10
D4 AWD D 5244 117 01/13 ’
D5 D 5244 T10, D 5244 711, |08/07
D 5244 T15, D 5244 T4
D5 AWD D 5244 710, D 5244 7T11,|10/07
D 5244 T15, D 5244 T4
T5 B 4204 T11 10/13 348837 -> 6PK | 5 ‘m 313594 14
' 49361872
VOLVO - XC60 05/08 -
2.4D D 5244 T14 07/09 AD:177 5PK | 4 80000991 31258122...
2.4D /D3 /D4 AWD D 5244 716, D 5244 T17,|05/08
D 5244 75
2.4 D AWD D 5244 T14 06/09 - 12/10
D3 D 5204 17 04/12
D3 /D4 D 5204 T2, D 5204 T3 03/10
D5 D 5244 T15 06/11
D5 AWD D 5244 710, D 5244 T11,05/08

VOLVO - XC70 |
2.5 T XC AWD

D 5244 715, D 5244 T4

09/02 - 08/07

B 5254 T2

09/02 - 08/07

01/03 -> /A @: 157

6PK | 5

80001052

8692285...

VOLVO - XC70 Il 08/07 -
2.4D D 5244 T14 01/10 AQD: 177 80000991  31258122...
2.4D /D4 AWD D 5244 T16, D 5244 T17, |08/07
D 5244 T5
D3 D 5204 T2, D 520413 |08/11
D3 AWD D 5204 T2 08/11
D5 AWD D 5244 T10, D 5244 T11, |08/07
D 5244 T15, D 5244 T4
5 B 4204 T11 10/13 237688 -> 6PK | 5 NI 31359414
49361872

VOLVO - XC90 10/02
25T B 5254 T2 10/02 AQD: 157 6PK | 5 ° 80001052 8692285...
D5 D 5244 T, D 5244 T4, 10/02 A@: 157 6PK | 5 80000990 8642368...
D 5244 T5 ‘
T6 B 6294 T 10/02 A@:170 - - ‘% 1275369
49368727
VW - Amarok 09/10 -
2.0 BiTDI CDCA, CNEA, CSHA 09/10 80000678 | 038 105 243 M...
2.0 BiTDI 4motion CDCA, CNEA, CSHA 09/10
2.0 TDI CDBA, CNFA, CNFB 09/10
2.0 TDI 4motion CDBA, CNFA, CNFB 09/10
- - 80005272
2.0TSI CFPA 12/10 AD: 143 6PK | 5 e 80001120 | 06H 105 243 K...

; Start & Stop

305



oa B i Ml € OE
VW - Beetle 04/11 -
1.6 TDI CAYC 10/11 6PK | 5 a 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI CFFB, CJAA 04/11 6PK | 5 a 80000678 | 038 105 243 M...
- - 80005272
2.0 TSI CBFA, CCTA, CCZA, 04/11 AQ: 143 6PK | 5 80001120 | 06H 105 243 K...
CPLA, CPPA e
Bora / Varia 0/98 - 05/0
1.8 AGN, BAF 10/98 - 05/05| A @: 143 6PK | 5 80001118 06B 105 243 F..
1.8 4motion AGN 02/99 - 05/05 e
+ Start & Stop
1.87T AGU, ARX, AUM, BAE 05/00 - 05/05| A @: 143 6PK | 5 e 80001118| 06B 105 243 F..
+ Start & Stop
AQ: 143 6PK | 5 e 80001118| 06B 105 243 F...
+ Start & Stop
1.87 AUQ 03/02 - 05/05| A @: 143 6PK | 5 e 80001118 | 06B 105 243 F..
+ Start & Stop
1.9 SDI AGP, AQM 10/98 - 05/05| -> 1J-3D016 000 / 6PK | 5 80000394 | 038 105 243
-> 1J-3W350 000 ‘
1J-3D016 001 -> / 6PK | 5 80000543 | 03G 105 243 C...
1J-3W350 001 -> °
+ Start & Stop
6PK | 5 Q 80004925 | 03G 105 243 C...
+ Start & Stop
~>1J-3D016 000 / 6PK | 5 80004980 | 038 105 243
-> 1J-3W350 000 g
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N
+ CORTECO Nr: 80000394 / - . 80004920
D @: M16x1,5x54 / M8x37 "|
1.9 TDI AGR, AHF, ALH, ASV 10/98 - 05/05| -> 1J-3D016 000 / 6PK | 5 80000394 | 038 105 243
-> 1J-3W350 000 ’
1J-3D016 001 -> / 6PK | 5 80000543 | 03G 105 243 C...
1J-3W350 001 -> °
+ Start & Stop
1J-3D016 001 -> / 6PK | 5 80004925 | 03G 105 243 C...
1J-3W350 001 ->
+ Start & Stop
~> 1J-3D016 000 / 6PK | 5 80004980 | 038 105 243
-> 1J-3W350 000 g
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N

306




o

VW - Bora / Variant

10/98 - 05/05

I

B oo

OE

1.9 TDI AGR, AHF, ALH, ASV 10/98 - 05/05| + CORTECO Nr: 80000394 / - - 80004920
D @: M16x1,5x54 / M8x37 ‘ ll
1.9 TDI AIM, AUY 12/98 - 01/02 6PK | 5 ' 80000396 | 038 105 243 K
6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 M\
1.9 TDI AHF, ASV 05/99 - 06/01] -> 1J-3D016 000 / 6PK | 5 80000394 | 038 105 243
-> 1J-3W350 000 ‘
1J-3D016 001 -> / 6PK | 5 80000543 | 03G 105 243 C...
1J-3W350 001 -> °
+ Start & Stop
1J-3D016 001 -> / 6PK | 5 80004925 | 03G 105 243 C...
1J-3W350 001 ->
+ Start & Stop
~>1J-3D016 000 / 6PK | 5 80004980 | 038 105 243
-> 1J-3W350 000 g
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N
+ CORTECO Nr: 80000394 / - . 80004920
D @: M16x1,5x54 / M8x37 ‘“
1.9 TDI ARL 05/00 - 05/05 6PK | 5 ' 80000396 | 038 105 243 K
6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 w‘
1.9 TDI ATD, AXR 09/00 - 05/05| 01/02 -> 6PK | 5 . 80000396 | 038 105 243 K
6PK | 5 . 80000396 | 038 105 243 K
6PK | 5 80004790 | 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 m‘
1.9 TDI ASZ 11/00 - 05/05| 05/01 -> / -> M: 435 000 6PK | 5 . 80000396 | 038 105 243 K
05/01 -> / -> M: 435 000 6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 m\

307



o = g i Ml €3 OE
VW - Bora / Variant 10/98 - 05/05
1.9 TDI ARL 05/01 - 05/05 6PK 5

80000396 | 038 105243 K

6PK | 5

+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 w‘

80004790 | 038 105243 K

1.9 TDI AGR, ALH 07/04 - 05/05| -> 1J-3D016 000 / 6PK | 5 80000394 038 105 243
1.9 TDI 4motion AGR 11/98 - 04/02) -> 1J-3W350 000
1J-3D016 001 -> / 6PK | 5 80000543 | 03G 105243 C...
1J-3W350 001 ->
+ Start & Stop
1J-3D016 001 -> / 6PK | 5 80004925 | 03G 105243 C...

1J-3W350 001 ->

+ Start & Stop

> 1J-3D016 000/ 6PK | 5 80004980 | 038 105 243
> 1J-3W350 000 g

+ CORTECO Nr: 80000543 / - - 80004917

D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N

+ CORTECO Nr: 80000394 / - - 80004920
D @: M16x1,5x54 / M8x37 ‘ 'I
1.9 TDI 4motion AJM, ARL, ATD, AUY 02/99 - 05/05 6PK | 5 . 80000396 | 038 105243 K
6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 M‘
1.9 TDI 4motion ASZ 11/00 - 05/05| 05/01 -> / -> M: 435 000 6PK | 5 ' 80000396 | 038 105 243 K
05/01 -> / -> M: 435 000 6PK | 5 80004790 | 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 wx
1.9 TDI 4motion ARL 05/01 - 05/05 6PK | 5 . 80000396 | 038 105243 K
6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 M‘
2.0 APK, AQY, AZG, AZH, AZJ,|10/98 - 05/05| A @: 143 6PK | 5 80001118| 06B 105243 F..
BBW
2.0 4motion AZH, AZ) 04/00 - 05/05 e

VW - Caddy Il 11/95 - 01/04
1.7 SDI AHB 07/96 - 09/00 6PK | 5 80000204 | 028 105243 T...
®

308



o Z i Ml €3 OE
VW - Caddy Il 11/95 - 01/04

1.7 SDI AHB 07/96 - 09/00 6PK | 5 @ 80004333 | 028 105243T

+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45 44‘¥£

1.9D 1Y 11/95-01/04 6PK | 5 80000204 | 028 105243 T...

6PK | 5 80004333 | 028105243 T

+ CORTECO Nr: 80000204 / - -
D @: M14x1,5x47 / M8x45

80001253

19D AEF 06/96 - 12/00 5PK | 4 @ 80000677 | 028 105 243 AC...
+ CORTECO Nr: 80000677 / B 80001263
D @: M8x37 w
1.9 SDI AEY, AYQ 11/95 - 01/04 6PK | 5 @ 80000204 | 028 105 243 T..
6K | 5 . 80004333 028105243 T
+ CORTECO Nr: 80000204 / N 80001253

D @: M14x1,5x47 / M8x45

Q=
C=
o
[y

1.9 TDI 1Z, AHU, ALH 09/96 - 01/04 6PK | 5 80000204 | 028 105243 T...
-> M: 896339 6PK | 5 80000394 038 105 243
M: 896340 -> 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004333 | 028 105243 T
M: 896340 -> 6PK | 5 80004925| 03G 105243 C...
+ Start & Stop
-> M: 896339 6PK | 5 80004980 038 105 243

+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37
1.9 TDI AHU, ALE, ALH 10/96 - 01/04) -> M: 896339 6PK | 5 80000394 038 105 243
M: 896340 -> 6PK | 5 80000543 | 03G 105243 C...

90 P0PO00

; Start & Stop

309



VW - Crafter 04/06 -

2.5 TDI BJJ, CEBA 04/06 - 07/11) ex. ZHP - KK/ A @: 192 6PK | 5 21652976 074105251 T..
ex. ZHP - KK 6PK | 5 80001157 21652976
+ 80001156
+ CORTECO Nr: 80001157 / - - 80001244
+ CORTECO Nr: 21652976 /
D @: M18x1,5x110 / M8x30
- - 80001156 074105193
2.5TDI BJL, BJM, CECA, CECB 04/06 ex. ZHP - KK/ A @: 192 6PK | 5 21652976 | 074 105251 T..
ex. ZHP - KK 6PK | 5 80001157 21652976
+ 80001156

o | i M € OE
VW - Caddy Il  11/95 - 01/04
1.9 TDI AHU, ALE, ALH 10/96 - 01/04| M: 896340 -> 6PK | 5 80004925 | 03G 105243 C...
+ Start & Stop
-> M: 896339 6PK | 5 g 80004980 038 105 243
VW - Caddy Il 03/04 - 08/10
1.6 TDI CAYD, CAYE 08/10 a 80000678 | 038 105 243 M...
- - 80005272
1.9 TDI BJB, BLS, BSU 04/04 - 08/10 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D &: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N
2.0 EcoFuel BSX 04/06 AD: 143 6PK | 5 e 80001118 | 06B 105243 F..
+ Start & Stop
2.0 SDI BDJ, BST 03/04 - 08/10 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105 243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 TDI CFHE, CFJA, CLCA 08/10 6PK | 5 80000678 | 038 105 243 M...
2.0 TDI 16V CFHC, CLCB 11/10
2.0 TDI 16V 4motion CFHC 11/10
2.0 TDI 4motion CFHE, CFHF 08/10
- - 80005272

310



o

I

B oo

OE

VW - Fox
1.4 TDI

VW - Crafter 04/06 -
2.5TDI BJL, BJM, CECA, CECB 04/06 + CORTECO Nr: 21652976 / - - 80001244
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
- - o 80001156 074105193
2.5TDI BJK, CEBB 04/06 ex. ZHP - KK/ A &: 192 6PK | 5 Q 21652976 074 105251 T..
ex. ZHP - KK 6PK | 5 80001157 21652976
e + 80001156
+ CORTECO Nr: 21652976 / - - 80001244
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
+ CORTECO Nr: 80001157 / - - 80001244
+ CORTECO Nr: 21652976 /
D @: M18x1,5x110 / M8x30
- - o 80001156 074105193
VW - Eos 03/06 - 05/08
2.0 FSI BVY, BVZ 03/06 - 05/08| A @: 143 6PK | 5 e 80001118 | 06B 105243 F..
! + Start & Stop
2.0TDI BMM 06/06 - 05/08 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N
2.0 TDI CFFA 11/10 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005272
2.0TDI 16V CBAB, CFFB 05/08 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005272
2.0 TFSI BPY, BWA, CAWB, CBFA, 103/06 AD: 143 6PK | 5 80001120 06H 105 243 K...
CCTA, CCZA e
' + Start & Stop
AD: 143 6PK | 5 e 80001122 06F 105243 J...
2.0TSI CCZB 11/09 AD: 143 6PK | 5 e 80001120 | 06H 105 243 K...

04/05 -
BNM

04/05

6PK | 5

80000680

045105 243 D...

311



i il € OE

VW - Golf lll / Variant  11/91 - 04/99

1.9D 1Y 11/91 - 08/97) 1H-N-000 001 -> 6PK (° 80000204 | 028 105243 T...
1H-N-000 001 -> 6PK . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9D 1Y 07/93 - 04/99 6PK O 80000204 | 028 105243 T...
6PK . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 4£‘¥4
1.9 SDI AEY 07/95 - 04/99 6PK ‘ 80000204 | 028 105243 T...
6PK . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9TD AAZ 07/93 - 04/99 6PK O 80000204 | 028 105243 T...
6PK . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 4£‘¥4
GTD AAZ 11/91 - 08/97) 1H-N-000 001 -> 6PK 80000204 | 028 105243 T...
1.9TD AAZ 11/91 - 08/97 ‘
1H-N-000 001 -> 6PK . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9 TDI 1Z, AHU, ALE 09/93 - 08/97| 1H-N-000 001 -> 6PK O 80000204 | 028 105243 T...
1H-N-000 001 -> 6PK . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 4£‘¥4
1.9 TDI 1Z, AHU, ALE 03/94 - 04/99 6PK ‘ 80000204 | 028 105243 T...
6PK . 80004333 | 028105243 T

312



o = i Ml €3 OE
VW - Golf lll / Variant  11/91 - 04/99

1.9 TDI 1Z, AHU, ALE 03/94 - 04/99] + CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45 A;.‘g
1.9 TDI AFN 04/96 - 04/99 6PK | 5 @ 80000204 | 028 105243 T...
6PK | 5 . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45

Q=
C=
o
[y

1.9 TDI Syncro 1Z, AHU, ALE 07/95 - 04/99 6PK | 5 (° 80000204 | 028 105243 T...
6PK | 5 . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45

Q=
Q=
o
C==

1.9 TDI Syncro 1Z, AHU, ALE 08/95 - 08/97 6PK | 5 @ 80000204 | 028 105243 T...
6PK | 5 . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 gé‘xs

VW - Golf Ill Cabriolet 08/95 - 05/98

1.9 TDI 1Z, AHU, ALE 08/95 - 05/98 6PK | 5 ° 80000204 | 028 105243 T...
6PK | 5 . 80004333 | 028 105243T
+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45

[
=
o
Q=

1.9 TDI AFN 07/96 - 05/98 6PK | 5 (° 80000204 | 028 105243 T...
6PK | 5 . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45

[
Q=
o
()

VW - Golf IV / Variant  08/97 - 06/06

1.8 AGN, BAF 08/97 - 06/05| A &: 143 80001118 | 06B 105243 F..
1.8 4motion AGN 05/98 - 06/06

1.8T ﬁ\?\/lé, AQA, ARZ, AUM, 08/97 - 06/06

1.8 TGTI AUQ 08/01 - 06/05

1.9 SDI AGP AQM 08/97 - 06/06] -> 1J-3B 075 000 / 6PK | 5 80000394 038 105 243

->1J-3D 016 000 /
1J-3P 066 000 /
-> 1J-3U 205 000 /
-> 1J-3W 350 000

1J-3B 075001 ->/ 6PK | 5
1J-3D 016 001 -> /
1J-3P 066 001 -> /
1J-3U 205 001 -> /

1J-3B 350 001 -> ; Start & Stop

\

80000543 | 03G 105243 C...

313



o Z g i VI o] OE

VW - Golf IV / Variant  08/97 - 06/06

1.9 SDI AGP, AQM 08/97 - 06/06| 1J-3B 075 001 -> / 6PK| 5 80004925 | 03G 105243 C...
1J-3D 016 001 -> /
1J-3P 066 001 -> /
1J-3U 205 001 -> /
1J-3B 350 001 -> + Start & Stop
-> 1J-3B 075 000 / 6PK | 5 80004980 038 105 243

->1J-3D 016 000 /
-> 1J-3P 066 000 /
-> 1J-3U 205 000 /

-> 1J-3W 350 000
+ CORTECO Nr: 80000543 / - - 80004917

D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N
+ CORTECO Nr: 80000394 / - -

D @: M16x1,5x54 / M8x37 ‘ll

1.9 TDI AGR, AHF, ALH, ASV 08/97 - 05/04| -> 1J-3B 075 000 / 6PK | 5 80000394 038 105 243
1J-3D 016 000 /
1J-3P 066 000 /
-> 1J-3U 205 000 /
-> 1J-3W 350 000

1J-3B 075 001 -> / 6PK | 5
1J-3D 016 001 -> /
1J-3P 066 001 -> /
1J-3U 205 001 -> /
1J-3B 350 001 -> + Start & Stop
MC: AQM / 1J-3B 075 001 -> / 6PK | 5 80004925 | 03G 105243 C...
1J-3D 016 001 -> /
1J-3P 066 001 -> /
1J-3U 205 001 -> /
1J-3B 350 001 -> RRCLE R
-> 1J-3B 075 000 / 6PK | 5 80004980 038 105 243
-> 1J-3D 016 000 /
-> 1J-3P 066 000 /
-> 1J-3U 205 000 /
-> 1J-3W 350 000

80004920

VoV

80000543 | 03G 105243 C...

+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /

M8x20 / M8x37

+ CORTECO Nr: 80000394 / - - 80004920

D @: M16x1,5x54 / M8x37

1.9 TDI AIM, AUY 12/98 - 06/01 6PK | 5 80000396 | 038 105 243 K

6PK | 5 80004790 | 038 105243 K

+ CORTECO Nr: 80000396 / - -
D @: M16x1,5x59 / M8x37

80001259

1.9 TDI AGR, AHF, ALH, ASV 05/99 - 05/06) -> 1J-3B 075 000 / 6PK | 5
->1J-3D 016 000 /
-> 1J-3P 066 000 /
-> 1J-3U 205 000 /
-> 1J-3W 350 000
1J-3B 075001 -> / 6PK | 5
1J-3D 016 001 -> /
1J-3P 066 001 -> /
1J-3U 205 001 -> /
1J-3B 350 001 ->
MC: AQM / 1J-3B 075 001 -> / 6PK | 5
1J-3D 016 001 -> /
1J-3P 066 001 -> /
1J-3U 205 001 -> /
1J-3B 350 001 ->
-> 1J-3B 075 000 / 6PK | 5
-> 1J-3D 016 000 /
-> 1J-3P 066 000 /
-> 1J-3U 205 000 /
-> 1J-3W 350 000

80000394 038 105 243

80000543 | 03G 105243 C...

+ Start & Stop
80004925| 03G 105243 C...

+ Start & Stop
80004980 038 105 243

POOB-09r: 9

314



o

VW - Golf IV / Variant

08/97 - 06/06

I

OE

1.9 TDI AGR, AHF, ALH, ASV 05/99 - 05/06| + CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 N
+ CORTECO Nr: 80000394 / - - 80004920
D @: M16x1,5x54 / M8x37 ‘ 'I
1.9 TDI AIM, AUY 08/99 - 06/01 6PK | 5 . 80000396 | 038 105243 K
6PK | 5 80004790 038 105 243 K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 M‘
1.9 TDI ARL 05/00 - 06/05| -> 06/05 6PK | 5 . 80000396 | 038 105243 K
6PK | 5 80004790 038 105 243K
+ CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 w‘
1.9 TDI ATD, AXR 09/00 - 06/06] -> 1J-6-005 000 6PK | 5 . 80000396 | 038 105 243K
1J-6-005 001 -> 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
-> 1J 6 005 000 6PK | 5 80004790 038 105243K
1J 6 005001 -> 6PK | 5 80004792 038 105 243 K
->1J 6 005000 / - - 80001259
+ CORTECO Nr: 80000396 / ‘
D @: M16x1,5x59 / M8x37
1J 6 005001 -> / - - 80001260
+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x20 sl
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
1.9 TDI ASZ 11/00 - 06/05) -> 1J-4D 008 311 / 6PK | 5 80000396 | 038 105 243K
-> 1J-4U 001 138/
-> 1J-4W 040 231
1J-4D 008 312 -> / 6PK| 5 80000543 | 03G 105243 C...
1J-4U 001 139 ->/
1J-4W 040 232 ->
+ Start & Stop
-> 1) 4D008 311 / 6PK | 5 80004790 | 038 105243K
-> 1J 4U001 138/
-> 1) 4W040 231 ‘
1) 4D008 312 -> / 6PK | 5 80004792 038 105 243 K
1J 4U001 139 -> /
1J 4W040 232 -> ‘
1J-4D 008 312 -> / 6PK | 5 80004922 | 03G 105243 C...
1J-4U 001 139 -> /
1J-4W 040 232 ->

- Start & Stop

315



o
VW - Golf IV / Variant
1.9 TDI

08/97 - 06/06
ASZ

g

11/00 - 06/05

I

-> 1) 4D008 311/

-> 1) 4U001 138/

-> 1) 4W040 231/

+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x37

ubiy

80001259

OE

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

T

80004916

1.9 TDI

ASZ

11/00 - 06/06

-> 1J-4D 008 311/
-> 1J-4U 001 138/
-> 1J-4W 040 231

6PK | 5

80000396

038 105 243 K

1J-4D 008 312 -> /
1J-4U 001 139 -> /
1J-4W 040 232 ->

6PK | 5

-> 1) 4W040 231/
-> 1) 4D008 311/
-> 1J4U001 138

6PK | 5

d

80000543

+ Start & Stop
80004790

03G 105243 C...

038 105243 K

1) 4D008 312 -> /
1J 4U001 139 -> /
1J 4W040 232 ->

6PK | 5

d

80004792

038 105 243 K

1J-4D 008 312 -> /
1J-4U 001 139 -> /
1J-4W 040 232 ->

6PK | 5

-> 1) 4D008 311 /

-> 1J 4U001 138/

-> 1) 4W040 231 /

+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x37

80004922

+ Start & Stop
80001259

03G 105243 C...

1) 4D008 312 -> /

1J 4U001 139 ->/

1) 4W040 232 -> /

+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x20

“‘“

80001260

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

1.9 TDI 4motion

AGR

07/98 - 04/02

-> 1J-3B 075 000 /
->1J-3D 016 000 /
1J-3P 066 000 /
-> 1J-3U 205 000 /
-> 1J-3W 350 000

\

6PK | 5

80000394

038 105 243

1J-3B 075001 ->/
1J-3D 016 001 -> /
1J-3P 066 001 -> /
1J-3U 205 001 -> /
1J-3B 350 001 ->

6PK | 5

MC: AQM / 1J-3B 075 001 -> /
1J-3D 016 001 -> /

1J-3P 066 001 -> /

1J-3U 205 001 -> /

1J-3B 350 001 ->

6PK | 5

-> 1J-3B 075 000 /
-> 1J-3D 016 000 /
-> 1J-3P 066 000 /
-> 1J-3U 205 000 /
-> 1J-3W 350 000

6PK | 5

80000543

+ Start & Stop
80004925

+ Start & Stop

80004980

03G 105243 C...

03G 105243 C...

038 105 243

+ CORTECO Nr: 80000543 /
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37

80004917

+ CORTECO Nr: 80000394 /
D @: M16x1,5x54 / M8x37

80004920

1.9 TDI 4motion

AIM, AUY

05/99 - 06/01

6PK | 5

80000396

038 105243 K

6PK | 5

d

80004790

038 105243 K

316




. E g i VI o] OE

VW - Golf IV / Variant 08/97 - 06/06

1.9 TDI 4motion AIM, AUY 05/99 - 06/01} + CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 w‘

1.9 TDI 4motion ARL 02/00 - 06/05| -> 06/05 6PK | 5 . 80000396 | 038 105243 K

6PK | 5 80004790| 038 105243 K

+ CORTECO Nr: 80000396 / - -
D @: M16x1,5x59 / M8x37

80001259

1.9 TDI 4motion ATD 09/00 - 06/06) -> 1J-6-005 000 6PK | 5 ' 80000396 | 038 105 243 K

1J-6-005 001 -> 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
->1J 6 005 000 6PK | 5 80004790| 038 105243 K

1J-6-005 001 -> 6PK | 5 , 80004792 | 038 105243 K

> 176005 000/ - 80001259
+ CORTECO Nr: 80000396 / \
D @: M16x1,5x59 / M8x37
116005001 -> / - 80001260
+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x20 S
+ CORTECO Nr: 80000543 / - 80004976
D @: M16x1,5%59 / M8x16 /
M8x20 / M8x37 ‘“
1.9 TDI 4motion ATD 09/00 - 06/05| -> 1J-6-005 000 6PK | 5 . 80000396 | 038 105 243 K

1J-6-005 001 -> 6PK | 5 ° 80000543 | 03G 105243 C...
_ Start & Stop

->1J 6 005 000 6PK | 5 80004790 | 038 105243 K

1J 6 005 001 -> 6PK | 5 ’ 80004792 | 038 105243 K

> 116005 000/ B 80001259
+ CORTECO Nr: 80000396 / \

D @: M16x1,5x59 / M8x37

116005001 -> / B 80001260
+ CORTECO Nr: 80000396 / l

D @: M16x1,5x59 / M8x20 S

+ CORTECO Nr: 80000543 / N 80004916

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N

1.9 TDI 4motion ASZ 11/00 - 06/06{ -> 1J-4D 008 311 / 6PK | 5 80000396 | 038 105 243 K
-> 1J-4U 001 138/
-> 1J-4W 040 231

1J-4D 008 312 -> / 6PK | 5 80000543 | 03G 105243 C...
1J-4U 001 139 -> /
1J-4W 040 232 ->

+ Start & Stop

317



o

VW - Golf IV / Variant

08/97 - 06/06

B oo

OE

1.9 TDI 4motion

ASZ

11/00 - 06/06

->1J4D008 311/
-> 1) 4U001 138/
-> 1) 4W040 231

6PK | 5

80004790

038 105243 K

1) 4D008 312 -> /
1J 4U001 139 -> /
1J 4W040 232 ->

6PK | 5

80004792

038 105 243 K

1J-4D 008 312 -> /
1J-4U 001 139 -> /
1J-4W 040 232 ->

6PK | 5

80004922

+ Start & Stop

-> 1) 4D008 311 /

-> 1J 4U001 138/

-> 1) 4W040 231 /

+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x37

80001259

03G 105243 C...

1) 4D008 312 -> /

1J 4U001 139 -> /

1J 4W040 232 -> /

+ CORTECO Nr: 80000396 /
D @: M16x1,5x59 / M8x20

80001260

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

2.0

APK, AQY, AZG, AZJ, BER

07/98 - 06/06

2.0 4motion

AZH, AZ)

10/00 - 06/06

2.0 Bi-Fuel

VW - Golf V / Variant / Plus

BEH

10/03 - 12/13
CAYB, CAYC

02/02 - 06/06

02/09 - 12/13

AD: 143

6PK | 5

80001118

80000678

06B 105 243 F..

038 105 243 M...

80005272

1.9 TDI

BKC, BLS, BRU, BXE, BXF.
BXJ

10/03 - 01/09

6PK | 5

80000543

+ Start & Stop

6PK | 5

80004922

+ Start & Stop

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

03G 105243 C...

03G 105243 C...

1.9 TDI

BRU, BXF, BXJ

05/05 - 12/08

6PK | 5

80000543

+ Start & Stop

6PK | 5

80004922

+ Start & Stop

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

03G 105243 C...

03G 105243 C...

1.9 TDI

BLS, BXE

06/07 - 07/09

1.9 TDI 4motion

BKC, BLS, BXE

08/04 - 11/08

6PK | 5

80000543

+ Start & Stop

6PK | 5

80004922

+ Start & Stop

03G 105243 C...

03G 105243 C...

+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 BWA, CAWB, CCTA 06/07 - 07/09| A &: 143 6PK | 5 80001120 | 06H 105 243 K...

318

; Start & Stop




o

VW - Golf V / Variant / Plus

¢
2

OE

10/03 - 12/13

2.0 FSI AXW, BLR, BLX, BLY, BVX, |01/04 - 11/08] A @: 143 6PK 80001118 | 06B 105243 F..
BVY, BVZ
2.0 FSI 4motion BLX, BVX 08/04 - 11/08
+ Start & Stop
2.0 GTl AXX, BPY, BWA, CAWB, 10/04 - 02/09| A @: 143 6PK 80001120| 06H 105 243 K...
CBFA, CCTA
+ Start & Stop
A D: 143 6PK 80001122 | 06F 105243 J...
2.0 GTI BYD 09/06 - 12/08| A @: 143 6PK 80001122 | 06F 105243 J...
2.0 SDI BDK 01/04 - 11/08 6PK 80000543 | 03G 105243 C...
+ Start & Stop
6PK 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 TDI AZV 10/03 - 11/08 6PK 80000543 | 03G 105243 C...
+ Start & Stop
6PK 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 &
2.0 TDI BMM 12/04 - 11/08 6PK 80000543 | 03G 105243 C...
+ Start & Stop
6PK 80004922 | 03G 105243 C...
- Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 ‘
2.0 TDI AZV, CBDA, CFHB 05/05 - 12/13 6PK 80000543 | 03G 105243 C...
- Start & Stop
11/09 -> 6PK a 80000678 | 038 105 243 M...
6PK 80004922 | 03G 105243 C...
- Start & Stop
6PK 80004925 | 03G 105 243 C...

+ Start & Stop

+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
+ CORTECO Nr: 80000543 / - 80004917
D @: M16x1,5x54 / M8x16 / ’
M8x20 / M8x37 \

- 80005272

319



o 2 i I o] OE
VW - Golf V/ Variant / Plus 10/03 - 12/13

2.0 TDI BMM, BMN 11/05 - 05/11 6PK | 5

80000543 | 03G 105243 C...

+ Start & Stop
80004922 | 03G 105243 C...

6PK | 5

+ Start & Stop

80004916

+ CORTECO Nr: 80000543 / - -
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

2.0 TDI CBDC, CLCA 01/09 - 12/13 6PK | 5 80000678 | 038 105 243 M...

80005272

+ Start & Stop
80004922 | 03G 105243 C...

6PK | 5

+ Start & Stop
80004916

|

+ CORTECO Nr: 80000543 / - -
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

2.0 TDI 16V BKD, CBDB, CFHC 01/05-12/13 6PK | 5 80000543 | 03G 105243 C...

+ Start & Stop
80000678 | 038 105 243 M...

11/09 -> 6PK | 5

2.0 TDI 16V BKD 10/03 - 11/08 6PK | 5 ° 80000543 | 03G 105243 C...

6PK | 5 80004922 | 03G 105243 C...

+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 ‘

- - 80005272

2.0 TDI 16V BKD, CBDB 06/07 - 07/09 6PK | 5 80000543 | 03G 105243 C...
2.0 TDI 16V 4motion BKD 08/04 - 11/08
2.0 TDI 4motion BMM 08/04 - 11/08 !

+ Start & Stop
80004922 | 03G 105243 C...

6PK | 5

- Start & Stop

+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “‘w
O ap ole .
1.6 TDI CAYC 03/11 6PK | 5 80000678 | 038 105 243 M...
2.0 TDI CFHC 11/11

80005272

VW - Golf VI / Variant  10/08 - 11/13
1.6 TDI CAYB, CAYC 02/09 - 11/12}-> 10/09 6PK 5

80000543 | 03G 105243 C...

; Start & Stop

320



i il € OE

VW - Golf VI / Variant  10/08 - 11/13

1.6 DI CAYB, CAYC 02/09 - 11/12] 11/09 -> 6PK | 5 80000678 | 038 105 243 M...
D @: M16x1,5x54 / M8x16 / - 80004917
M8x20 / M8x37 ’ ‘N
1.6 TDI CAYC 07/09 - 07/13] 11/09 -> 6PK | 5 e 80000678 038 105 243 M...
- 80005272
1.6 TDI CAYB 12/09 - 07/13 6PK | 5 e 80000678 038 105 243 M...
- 80005272
1.6 TDI 4motion CAYC 07/09 - 07/13] 11/09 -> 6PK | 5 e 80000678 038 105 243 M...
- 80005272
1.8 TSI CDAA 06/09 - 01/11| A @: 143 6PK | 5 80001120| 06H 105 243 K...
2.0GTi cczB 04/09 -11/12 e
+ Start & Stop
2.0 R 4motion CDLC, CDLF, CRZA 11/09 - 11/13| A @: 143 6PK | 5 e 80001122| O6F 105 243 J...
2.0 TDI CBAB, CFFB, CJAA 10/08 - 05/13 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
&PK | 5 a 80000678 | 038 105 243 M...
D @: M16x1,5x54 / M8x16 / 1 - 80004917
M8x20 / M8x37 ’ ‘\
2.0 TDI CBDC, CLCA 10/08 - 11/12 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
6PK | 5 e 80000678 | 038 105 243 M...
6PK | 5 Q 80004922 | 03G 105 243 C...
+ Start & Stop
D @: M16x1,5x59 / M8x16 / - 80004916
M8x20 / M8x37 ‘“‘ w
2.0 DI CBAA, CFFA 10/08 - 11/12 6PK | 5 e 80000678 038 105 243 M...
- 80005272
2.0 DI CBBB, CFGB 04/09 - 11/12 6PK | 5 e 80000678 038 105 243 M...

321



o

B oo

OE

VW - Golf VI / Variant  10/08 - 11/13
2.0 TDI CBBB, CFGB 04/09 - 11/12 - - 80005272
2.0 TDI CLCA 01/10 - 07/13 6PK | 5 a 80000678 | 038 105 243 M...
- - 80005272
2.0 TDI 4motion CBAB, CFFB 05/09 - 11/12 6PK | 5 ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 a 80000678 | 038 105 243 M...
6PK | 5 Q 80004922 | 03G 105243 C...
+ Start & Stop
D @: M16x1,5x59 / M8x16 / - - 80004916
M8x20 / M8x37
2.0TSI CCZA 07/09 - 07/13| A @: 143 6PK | 5 80001120 | 06H 105 243 K...

VW - Golf VI
1.6 TDI

08/12 -

CLHA

08/12

80000543

+ Start & Stop

2.0 GTI

VW - Jetta lll

CHHA, CHHB, CXDA

08/05 - 10/10

04/13

06/09 - 10/10

A@: 143

6PK | 5

80001120

80000678

03G 105243 C...

06H 105 243 K...

038 105 243 M...

- - 80005272
1.6 TDI CAYB 12/09 - 10/10 6PK | 5 80000678 | 038 105 243 M...
- - 80005272
1.9 TDI BKC, BLS, BXE 08/05 - 10/10 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D &: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 FSI BLR, BLX, BLY, BVY, BVZ 08/05 - 10/10| A &: 143 6PK | 5 e 80001118| 06B 105243 F..
+ Start & Stop
2.0 TDI AZV, BMN, CBDA, CEGA |09/05 - 10/10! 6PK | 5 ° 80000543 | 03G 105 243 C...

322

- Start & Stop




o

VW - Jetta lll

08/05 - 10/10

B oo

OE

2.0 TDI AZV, BMN, CBDA, CEGA |09/05 - 10/10) 6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 TDI 16V BKD, CBDB, CBEA, CJAA |08/05 - 10/10 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 TFSI AXX, BPY, BWA, CAWB, 10/05 - 10/10} A @: 143 6PK | 5 80001120 | 06H 105 243 K...
CBFA, CCTA, CCZA e
+ Start & Stop
A D: 143 6PK | 5 e 80001122 | 06F 105243 J...
2.0 TFSI CAWA 03/08 - 10/10} A &: 143 6PK | 5 e 80001120 | 06H 105 243 K...
etta 0/10
1.6 TDI CAYC 02/11 6PK | 5 80000678 | 038 105 243 M...
2.0 TDI CLCA 10/10 a
- - 80005272
2.0TSI CBFA, CCTA, CCZA, 12/10 A D: 143 6PK | 5 80001120 | 06H 105 243 K...
CPLA, CPPA e
+ Start & Stop
VW - LT 28-3511 05/96 - 07/06
2.5 SDI AGX 07/96 - 07/06| A @: 192 21652976 074 105251 T..
2.5TDI AHD, ANJ, APA, AVR, BBE, |05/96 - 07/06
BBF
6PK | 5 80001157 21652976
e + 80001156
AD:192 6PK | 5 80004398 | 074 105251 T..
o !
+ CORTECO Nr: 21652976 / - - 80001243
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
- - O 80001156 074 105 193
VW - LT 28 - 461l 05/96 - 07/06
2.5 SDI AGX 09/96 - 07/06| A @: 192 6PK | 5 21652976 | 074 105251 T..
2.5TDI AHD, ANJ, APA, AVR, BBE, |05/96 - 07/06
BBF
6PK | 5 80001157 21652976
e + 80001156
AD:192 6PK | 5 80004398 | 074 105251 T..
o !

323



o & g i VI o] OE

VW - LT 28 -4611 05/96 - 07/06

2.5 SDI AGX 09/96 - 07/06) + CORTECO Nr: 21652976 / - - 80001243
2.57TDI AHD, ANJ, APA, AVR, BBE, |05/96 - 07/06] + CORTECO Nr: 80001157 /
BBF D @: M18x1,5x110 / M8x30

80001156 074105193

VW - Lupo  09/98 - 07/05
1.4 TDI AMF 01/99 - 07/05 6PK 5 80000680 | 045 105243 D...

1.7 SDI AKU 09/98 - 07/05 5PK | 4

elo

80000677 | 028 105 243 AC...

+ CORTECO Nr: 80000677 / - -
D @: M14x1,5x47 / M8x37

80001264

VW - New Beetle 01/98 - 09/10

1.87 AGU, APH, AVC, AWP 10/99 - 09/10| A @: 143 6PK | 5
AWU, AWV, BKF, BNU

80001118 | 06B 105243 F..

+ Start & Stop

1.9 TDI ALH 01/98 - 06/04| -> 1C-3-432 286 6PK | 5 80000394 038 105 243
1C-3-432 287 -> 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
1C-3-432 287 -> 6PK | 5 80004925| 03G 105243 C...
+ Start & Stop
-> 1C-3-432 286 6PK | 5 80004980 038 105 243

+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /

M8x20 / M8x37

+ CORTECO Nr: 80000394 / - - 80004920

D @: M16x1,5x54 / M8x37

1.9 TDI ATD, BEW 02/01 - 09/10 6PK | 5 80000396 | 038 105243 K

6PK | 5 80004790 | 038 105243 K

+ CORTECO Nr: 80000396 / - -
D @: M16x1,5x59 / M8x37

80001259

2.0 AEG, APK, AQY, AVH, 01/98 - 09/10) A @: 143 6PK | 5
AZG, AZJ, BEJ, BER, BEV,
BHF, CBPA

80001118 | 06B 105243 F..

0r99:900000]|£0

VW - New Beetle Cabriolet 09/02 - 10/10

1.8T AWU, AWV, BKF 01/03 - 09/10) A &: 143 6PK | 5 80001118 | 06B 105243 F..
+ Start & Stop

1.9 TDI AXR 06/03 - 09/10) -> 12/05 6PK | 5 80000396 | 038 105243 K

6PK | 5 80004790| 038 105243 K

324



o

VW - New Beetle Cabriolet

09/02 - 10/10

I

B oo

OE

1.9 TDI AXR 06/03 - 09/10| + CORTECO Nr: 80000396 / - - 80001259
D @: M16x1,5x59 / M8x37 w‘
2.0 AQY, AZJ, BDC, BEV, BGD [09/02 - 10/10} A @: 143 6PK | 5 e 80001118 | 06B 105243 F..
+ Start & Stop
VW - Passat Il / Variant 03/91 - 05/97
1.9TD AAZ 03/91 - 05/97| 31-J-000 001 -> 3A-V-300 000 6PK | 5 (‘ 80000204 | 028 105243 T...
31-J-000 001 -> 3A-V-300 000 6PK | 5 . 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9 TDI 1Z, AHU 10/93 - 05/97) 31-J-000 001 -> 3A-V-300 000 6PK | 5 O 80000204 | 028 105243 T...
31-J-000 001 -> 3A-V-300 000 6PK | 5 . 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44“3
1.9 TDI AFN 03/96 - 05/97| 31-J-000 001 -> 3A-V-300 000 6PK | 5 (‘ 80000204 | 028 105243 T...
31-J-000 001 -> 3A-V-300 000 6PK | 5 . 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
VW - Passat IV / Variant  08/96 - 12/14
1.6 TDI CAYC 08/10 - 12/14 6PK | 5 a 80000678 | 038 105 243 M...
3C-D-000 001 -> - - 80005272
1.8 ADR, APT, ARG 10/96 - 11/00] AC / A @: 143 4PK | 3+4 80001117 | 058 105 251 E...
1.8 Syncro/4motion ADR, APT, ARG 10/96 - 11/00 +5PK
1.8T AEB, ANB, APU 10/96 - 11/00
ex. AC 5PK | 4 i 80001537 | 058 105251 D
.
@
1.8 TSI CDAA 08/10 - 12/14| A D: 143 6PK | 5 e 80001120 | 06H 105 243 K...
' + Start & Stop
1.9 TDI AHH, AHU 10/96 - 11/00] 3B-V-000 001 -> 4PK | 3+4 80000203 | 028 105243 Q
+5PK Q
+ CORTECO Nr: 80000203 / - - 80001266
D @: M14x1,5x47 / M8x16 “.‘
1.9 TDI AFN, AVG 10/96 - 11/00] 3B-V-000 001 -> 4PK | 3+4 ’ 80000203 | 028 105243 Q
+5PK

325



o

I

OE

VW - Passat IV / Variant 08/96 - 12/14
1.9 DI AFN, AVG 10/96 - 11/00| + CORTECO Nr: 80000203 / -] - 80001266
D @: M14x1,5x47 / M8x16 *
1.9 DI AFN, AVG 06/97 - 11/00] MC: AVN / MC: AVG / 4PK | 3+4 80000203 | 028 105 243 Q
3BV-000 001 -> +5PK ’
+ CORTECO Nr: 80000203 / - 80001266
D @: M14x1,5x47 / M8x16 ; ‘ .
1.9 DI AHH, AHU 06/97 - 11/00] 3B-V-000 001 -> 4PK | 3+4 80000203 | 028 105 243 Q
+5PK °
+ CORTECO Nr: 80000203 / - 80001266
D @: M14x1,5x47 / M8x16 “.‘
1.9 DI AIM, ATJ 08/98 - 11/00] 3B-V-000 001 -> 4PK | 314 80000395| 038 105 243 F
+5PK ‘
1.9 TDI 4motion ATJ 08/99 - 11/00] 3B-V-000 001 -> 4PK | 3+4 80000395| 038 105 243 F
5P ‘
3B-V-000 001 -> 4PK | 314 80000395 | 038 105 243 F
+5PK ‘
1.9 TDI Syncro/4motion | AFN, AVG 10/96 - 11/00 4PK | 3+4 80000203 028 105 243 Q
+5PK °
+ CORTECO Nr: 80000203 / - 80001266
D @: M14x1,5x47 / M8x16 “.‘
2.0 TDI CFFA, CFFB 08/10 - 12/14 6PK | 5 80000678 | 038 105 243 M...
2.0 TDI 4mofion CFFB 08/10-12/14 a
R 80005272
2.0TsI cczB 11/10 - 12/14| A @: 143 6PK | 5 e 80001120| 06H 105 243 K...
+ Start & Stop
2.5 DI AFB, AKN 07/98 - 11/00] 3B-V-000 001 -> / A @: 192 4PK | 3+5 80000200 059 105 251 M...
+ CORTECO Nr: 80000200 / B 80001261
3B-Y-179 242 -> /
3B-YE234 924 -> /
D @: M18x1,5x98,3 / M8x16
+ CORTECO Nr: 80000200 / - 80001262
> 3BY-179 241 /
-> 3B-YE234 923 /
D @: M18x1,5x110 / M8x16
2.5 TDI Syncro/4motion | AFB, AKN 12/98 - 11/00| A @: 192 4PK | 3+5 80000200 059 105 251 M...
6Pk °
+ CORTECO Nr: 80000200 / R - 80001261
3BY-179 242 -> /
3B-YE234 924 -> /
D @: M18x1,5x98,3 / M8x16
+ CORTECO Nr: 80000200 / - 80001262
> 3BY-179 241/
> 3B-YE234 923 /
D @: M18x1,5x110 / M8x16
2.8V6 ACK, AHA, APR, AQD _ |08/96 - 11/00| 3B-V-000 001 -> 6PK | 5 ‘ 80001079| 078 105 251 R...

326




o

¢
2

OE

VW - Passat IV / Variant

08/96 - 12/14

VW - Passat V / Variant
1.8 T 20V

AQD

11/00 - 05/05
AWT

11/00 - 05/05

+5PK

2.8Vé ACK, AHA, APR, AQD 06/97 - 11/00 6PK | 5 80001079 | 078 105 251 R...
2.8Vé ATX, BBG 09/99 - 11/00 6PK | 5 80001079 | 078 105 251 R...
2.8 V6 Syncro/4motion ACK, AHA, ALG, APR, 10/96 - 11/00] 6PK | 5 80001079 | 078 105 251 R...

80001124

06B 105 243 D

1.9 TDI

AVB

11/00 - 05/05

-> 3B-5E 170 000 /
-> 3B-5- 100 000/ 01/01 ->

4PK
+5PK

3+4

80000395

038 105 243 F

+ CORTECO Nr: 80000395 /
3B-5E170 001 -> /
3B-5-100 001 -> /

D @: M16x1,5x59 / M8x20

80001260

1.9 TDI

AVF, AWX

11/00 - 05/05

1.9 TDI 4motion

AVF

11/00 - 05/05

-> 3B-5E 170 000 /
-> 3B-5- 100 000

4PK
+5PK

3+4

80000395

038 105243 F

+ CORTECO Nr: 80000395 /
3B-5E170 001 -> /
3B-5-100 001 -> /

D @: M16x1,5x59 / M8x20

80001260

2.0

ALT, AZM

11/00 - 05/05

2.0 4motion

AZM

11/00 - 05/05

A@: 143

4PK
+5PK

3+4

80001124

06B 105 243 D

2.57TDI

AFB, AKN

11/00 - 05/05

A@:192

4PK
+6PK

3+5

80000200

059 105 251 M...

+ CORTECO Nr: 80000200 /
3B-Y-179 242 -> /
3B-YE234 924 -> /
D @: M18x1,5x98,3 / M8x16

80001261

+ CORTECO Nr: 80000200 /
-> 3B-Y-179 241/

-> 3B-YE234 923 /

D @: M18x1,5x110 / M8x16

80001262

2.5TDI

BDG

05/03 - 05/05

AD:192

4PK
+6PK

3+5

80000200

059 105 251 M...

+ CORTECO Nr: 80000200 /
D @: M18x1,5x98,3 / M8x16

80001261

2.5 TDI 4motion

AFB, AKN

11/00 - 05/05

A@D:192

4PK
+6PK

3+5

80000200

059 105 251 M...

+ CORTECO Nr: 80000200 /
3B-Y-179 242 -> /
3B-YE234 924 -> /
D @: M18x1,5x98,3 / M8x16

80001261

+ CORTECO Nr: 80000200 /
-> 3B-Y-179 241/

-> 3B-YE234 923 /

D @: M18x1,5x110 / M8x16

80001262

2.5 TDI 4motion

BAU, BDH

01/03 - 05/05

A@:192

4PK
+6PK

3+5

80000200

059 105 251 M...

+ CORTECO Nr: 80000200 /
D @: M18x1,5x98,3 / M8x16

80001261

2.8 4motion

AMX, ATQ

11/00 - 05/05

6PK

060:¢060¢0

80001079

078 105 251 R...

327



o

VW - Passat VI / Variant

03/05 - 10/11

B oo

OE

VW - Passat VI CC  06/08 - 01/12

BZB, CDAA

1.6 DI CAYC 08/09 - 11/10] 11/09 -> 6PK | 5 a 80000678 | 038 105 243 M...
3C-D-000 001 -> - 80005272
1.8 TSI BZB, CDAA 05/07 - 10/11|AQ: 143 6PK| 5 e 80001120 | 06H 105 243 K...
+ Start & Stop
1.9 TDI BKC, BLS, BXE 03/05 - 11/08 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
&PK | 5 Q 80004922 | 03G 105 243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 FSI BLR, BLY, BVY, BVZ 03/05 - 07/10| A @: 143 6PK | 5 e 80001118 06B 105 243 F...
+ Start & Stop
2.0 FSI AXX, BPY, BWA, CAWB,  |07/05 - 07/10] MC: CCT / MC: CAW /A @: 143 | 6PK | 5 80001120| 06H 105 243 K...
CBFA, CCTA, CCZA e
+ Start & Stop
AD: 143 6PK | 5 e 80001122| O6F 105 243 J...
2.0 FSI AXX, BPY, BWA, CAWB,  |08/05 - 11/10] MC: CCT / MC: CAW /A @: 143 | 6PK | 5 80001120 | 06H 105 243 K...
CBFA, CCTA, CCZA e
+ Start & Stop
AQ: 143 6PK | 5 e 80001122| 06F 105 243 J...
2.0 FSI BLR, BLY, BVY, BVZ 08/05 - 11/10| A @: 143 6PK| 5 80001118| 06B 105 243 F...
2.0 FSI 4motion BLX, BLY, BVX 09/05 - 11/10 e
+ Start & Stop
2.0 TDI BMP 08/05 - 05/09 6PK | 5 ° 80000543 | 03G 105 243 C...
+ Start & Stop
6PK | 5 Q 80004922 | 03G 105 243 C...
+ Start & Stop
D @: M16x1,5x59 / M8x16 / - 80004916
M8x20 / M8x37 “‘ w
2.0 TDI BMA, BMR, BUZ, BVE,  |08/05- 11/10 6PK | 5 80000543 | 03G 105 243 C...
CBAA, CBBB
2.0 TDI 16V BKP, CBAB 03/05 - 11/10

+ Start & Stop

6PK | 5

80004922

+ Start & Stop

06/08 - 01/12

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

80004916

80001120

+ Start & Stop

2.0 TDI

CBAB, CFFB

06/08 - 01/12

6PK | 5

80000543

328

- Start & Stop

03G 105243 C...

06H 105 243 K...

03G 105243 C...




o

VW - Passat VI CC  06/08 - 01/12

B oo

OE

2.0 TDI

CCZA, CCZB

VW - Passat VIICC  11/11 -

CFFA, CFFB, CFGB,
CFGC, CLLA

11/11

2.0 TDI 4motion

CFFB, CFGB, CFGC

VW - Passat Allirack  01/12 - 12/14

11/11

01/12-12/14

2.0TDI CBAB, CFFB 06/08 - 01/12 6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop
6PK | 5 80004925| 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37
2.0 TSI CAWB, CBFA, CCTA, 06/08 - 01/12| A &: 143 6PK | 5 80001120| 06H 105 243 K...

+ Start & Stop

80000678

038 105 243 M...

80005272

80001120

+ Start & Stop

06H 105 243 K...

VW - Phaeton 09/04 -
3.0 V6 TDI 4motion

2.0 TDI CFFB 01/12-12/14 6PK | 5 80000678 | 038 105 243 M...
2.0 TDI 4motion CFFB 01/12-12/14

- - 80005272
2.0 TSI 4motion CCzB 01/12-12/14) A D: 143 6PK | 5 80001120 | 06H 105 243 K...

80000202

059 105 251 S...

6PK | 5

80004350

+ Start & Stop

3.0 V6 TDI 4motion

VW - Polo Il / Variant
1.7 SDI

CARA, CARB, CEXA

10/94 - 09/01
AHG

06/07

04/97 - 10/99

AD:192

6PK | 5

80001009

059 105 251 S...

059 105 251 AS...

6PK | 5

80004350

80000677

059 105 251 S...

028 105 243 AC...

+ CORTECO Nr: 80000677 / - - 80001264
D @: M14x1,5x47 / M8x37
1.7 SDI AKW 08/97 - 09/01 6PK | 5 80000204 | 028 105243 T...
6PK | 5 80004333 | 028105243 T

329



o

VW - Polo Ill / Variant

10/94 - 09/01

I

B oo

OE

1.7 DI AKW 08/97 - 09/01] + CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 43‘¥£

1.9 DI AEY 06/97 - 09/01 6PK | 5 @ 80000204 | 028 105 243 T..

6K | 5 . 80004333 028105243 T

+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 44‘¥4

1.9 7DI AGR, AHU, ALE, ALH 05/97 - 09/01| -> 08/99 6K | 5 (0 80000204 | 028 105 243 T...
> 08/99 K| 5 . 80004333 028105 243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 43‘¥£

1.9 DI AFN, ASV 06/98 - 09/01| -> 08/99 6PK | 5 @ 80000204 | 028 105 243 T..
> 08/99 6K | 5 . 80004333 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 44‘¥4

60 1.7 5DI AKU 08/97 - 10/99 5PK | 4 @ 80000677 | 028 105 243 AC...
+ CORTECO Nr: 80000677 / - 80001264
D @: M14x1,5x47 / M8x37 m

6419D AEF 10/94 - 10/99] -> 6N-SW150 000 / 5PK | 4 80000677 | 028 105 243 AC...
-> 6N-5Y300 000 @
+ CORTECO Nr: 80000677 / - 80001264
D @: M14x1,5x47 / M8x37 m

641.9 SDI 'AGD 07/96 - 10/99 SPK | 4 @ 80000677 | 028 105 243 AC...
+ CORTECO Nr: 80000677 / - 80001264
D @: M14x1,5x47 / M8x37 m

VW - Polo lll Classic  12/95 - 01/02

110 1.9 DI AFN, ASV 06/98 - 01/02] -> 08/99 6PK | 5 Q 80000204 | 028 105 243 T...
>08/99 6K | 5 . 80004333 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 44‘¥4

57 1.7 DI AKW 07/97 - 09/01 6K | 5 (‘ 80000204 | 028 105 243 T...

330



o

VW - Polo Ill Classic

¢
2

12/95 - 01/02

B oo

OE

57 1.7 SDI AKW 07/97 - 09/01 6PK | 5 ! 80004333 | 028 105243T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£

64 1.9 SDI AEY 12/95 - 08/99] MC: AEY / MC: 1Y 6PK | 5 @ 80000204 | 028 105243 T...
MC: AEY / MC: 1Y 6PK | 5 . 80004333 | 028105243 T
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 Aé‘%‘

90 1.9 TDI AGR, AHU, ALE, ALH 09/96 - 09/01} -> 08/99 6PK | 5 ‘ 80000204 | 028 105243 T...
-> 08/99 6PK | 5 ! 80004333 | 028 105243T
+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45

VW - Polo IV 10/99 - 09/01
1.4 TDI AMF 10/99 - 09/01] 6N-YD 000 001 -> / 6PK | 5 80000680 | 045 105 243 D...
6N-YY 500 001 -> ‘
1.7 SDI AKU 10/99 - 09/01 5PK | 4 80000677 | 028 105 243 AC...
1.9 SDI AGD, ASX 10/99 - 09/01
+ CORTECO Nr: 80000677 / - 80001264

D @: M14x1,5x47 / M8x37

VW - PoloV 10/01 - 1
1.4 TDI AMF, BAY, BMS, BNM, BNV,[10/01 - 11/09 6PK | 5 80000680 | 045 105 243 D...
1.8 GTI BJX 09/05 - 11/09] 9N5500001 -> / A @: 143 6PK | 5 80001118 | 06B 105243 F..
1.8 GTi Cup Edition BBU 05/06 - 11/09 e
+ Start & Stop
1.9 SDI ASY 10/01 6PK | 5 e 80000678 | 038 105 243 M...
- - 80005272
1.9 TDI ATD, AXR, BMT 10/01 - 11/09] 9N-2-000 001 -> 6PK | 5 80000543 | 03G 105243 C...
Country Version: ZA /
9N-3-110 001 ->
+ Start & Stop
9N-2-000 001 -> 6PK | 5 80004922 | 03G 105243 C...
Country Version: ZA /
9N-3-110 001 ->
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
1.9 TDI ASZ, BLT 11/03 - 11/09] 9N-2-000 001 -> 6PK | 5 80000543 | 03G 105 243 C...

Country Version: ZA /
9N-3-110 001 ->

; Start & Stop

331



o ] i I o] OE
VW - PoloV 10/01 - 11/09
1.9 TDI ASZ, BLT 11/03 - 11/09| 9N-2-000 001 -> 6PK | 5 80004922 | 03G 105243 C...
Country Version: ZA /
9N-3-110 001 ->
+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
VW - Polo VI 06/09 -
1.2 TDI CFWA 10/09 6PK | 5 80000678 | 038 105 243 M...
1.4 TDI CUSA, CUSB, CUTA, 02/14 6PK | 5 ‘M 04B 105 243 B
CYZA, CYZB
49374715
1.6 TDI CAYB 06/09 ->10/09 6PK | 5 80000543 | 03G 105243 C...
+ Start & Stop
11/09 -> 6PK | 5 80000678 | 038 105 243 M...
->10/09 6PK | 5 80004922 | 03G 105243 C...

VW - Scirocco

Il 05/08 -

2.0 TDI CBDB, CFHC 08/08 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

2.0 TDI CBBB, CFGB 05/09 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

2.0 TDI CFGC, CFHB 11/10 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

2.0TSI CAWB, CCZB 05/08 A@: 143 6PK | 5 80001120 | 06H 105 243 K...

VW - Sharan

09/95 - 03/10

1.8 T20V AJH, AWC 09/97 - 03/10| A @: 143 6PK | 5 80001118| 06B 105243 F..
+ Start & Stop
1.9 TDI 1Z, AHU, ANU 09/95 - 03/10} -> 02/00 6PK | 5 80000204 | 028 105243 T...
-> 7M-4-015 000 6PK | 5 80000396 | 038 105243 K
7M-4-015 001 -> 6PK | 5 80000543 | 03G 105243 C...

->02/00

6PK | 5

©P90900|0:0:0:0OID0PO O£

+ Start & Stop

80004333 | 028105243 T

332



i il € OE

VW - Sharan 09/95 - 03/10

1.9 TDI 1Z, AHU, ANU 09/95 - 03/10f -> 7M 4 015 000 6PK | 5 80004790| 038 105243 K

7M-4-015 001 -> 6PK | 5 80004922 | 03G 105243 C...
+ Start & Stop

+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45

->7M 4015000 / - - 80001259

+ CORTECO Nr: 80000396 /

D @: M16x1,5x59 / M8x37

7M 4015001 ->/ - - 80001260

+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x20

1.9 TDI AFN, AVG 09/96 - 04/00 6PK | 5 80000204 | 028 105243 T...

6PK | 5 80004333 | 028105243 T

+ CORTECO Nr: 80000204 / - - 80001253

D @: M14x1,5x47 / M8x45

1.9 TDI AUY, BVK 04/00 - 03/10| -> 7M-4-015 000 6PK | 5 80000396 | 038 105 243 K
7M-4-015 001 -> 6PK | 5 80000543 | 03G 105 243 C...
+ Start & Stop
> 7M 4015 000 6PK | 5 80004790 | 038 105 243 K
7M-4-015 001 -> 6PK | 5 80004922 | 03G 105 243 C...
+ Start & Stop
> 7M 4015000/ B 80001259
+ CORTECO Nr: 80000396 / ‘
D @: M16x1,5x59 / M8x37
7M 4015001 -> / N 80001260
+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x20 Sl
1.9 TDI ASZ 11/02 - 03/10| -> 7M-4-015 000 6PK | 5 ' 80000396 | 038 105 243 K

7M-4-015 001 -> 6PK | 5 ° 80000543 | 03G 105243 C...
_ Start & Stop

> 7M 4 015 000 6PK | 5 80004790 | 038 105 243 K

7M-4-015 001 -> 6K | 5 80004922 | 03G 105 243 C...
+ Start & Stop

> 7M 4015000/ N 80001259

+ CORTECO Nr: 80000396 / \

D @: M16x1,5x59 / M8x37

7M 4015 001 -> / B 80001260

+ CORTECO Nr: 80000543 /

D @: M16x1,5x59 / M8x20 S

333



o

¢
2

B oo

OE

VW - Sharan 09/95 - 03/10
1.9 TDI BTB 06/05 - 03/10 6PK 80000543 | 03G 105243 C...
+ Start & Stop
6PK 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
1.9 TDI 4motion AUY, BVK 04/00 - 03/10| -> 7M-4-015 000 6PK 80000396 | 038 105 243 K
7M-4-015 001 -> 6PK 80000543 | 03G 105 243 C...
+ Start & Stop
->7M 4 015 000 6PK 80004790 038 105243 K
7M-4-015 001 -> 6PK 80004922 03G 105243 C...
+ Start & Stop
->7M 4015000/ - 80001259
+ CORTECO Nr: 80000396 / ‘
D @: M16x1,5x59 / M8x37
7M 4015001 ->/ - 80001260
+ CORTECO Nr: 80000543 /
D @: M16x1,5x59 / M8x20 ' I
2.0 ADY, ATM 09/95 - 03/10| A @: 143 6PK e 80001118 | 06B 105243 F..
+ Start & Stop
2.0 TDI BRT 11/05 - 03/10 6PK ° 80000543 | 03G 105 243 C...
! Start & Stop
6PK Q 80004922 03G 105243 C...
- Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37
2.0 TDI CFFA, CFFB, CFFE, CFGB, |05/10 6PK 80000678 | 038 105 243 M...
CFGC, CUVA
2.0 TDI 4motion CFFA, CFFB 05/11
- 80005272
2.0TSI CCZA 12/10 A D: 143 6PK 80001120 06H 105 243 K...

VW - T4 Transporter

07/90 - 04/03

07/90 - 12/95

F70-P-085 001 -> 70-T-199 000 /
ex. Servo / ex. AC

F70-P-046 679 -> 70-T-199 000 /
Servo / AC

80000204

028 105243 T...

F70-P-085 001 -> 70-T-199 000 /
ex. Servo / ex. AC

F70-P-046 679 -> 70-T-199 000 /
Servo / AC

6PK

80004333

028 105243 T

+ CORTECO Nr: 80000204 /
70-P-085 001 -> /
D @: M14x1,5x47 / M8x45

80001253

+ CORTECO Nr: 80000204 /
-> 70-P-085 000 /
D @: M14x1,5x47 / M8x47

80001256

334



. 2 g i il € OE
VW - T4 Transporter 07/90 - 04/03
1.9TD ABL 10/92 - 04/03] F70-P-085 001 -> 70-3-250 000/ | 6PK | 5 80000204 | 028 105243 T...
-> 70-4-099 000 / ex. Servo /
ex. AC
F70-P-046 679 -> 70-3-250 000 / A 4
-> 70-4-099 000 / Servo / AC
F70-P-085 001 -> 70-3-250 000/ | 6PK | 5 80004333 028 105243 T
-> 70-4-099 000 / ex. Servo /
ex. AC
F70-P-046 679 -> 70-3-250 000 /
-> 70-4-099 000 / Servo / AC
+ CORTECO Nr: 80000204 / - - 80001253
D @: M14x1,5x47 / M8x45 4£.¥£
24D AAB 07/90 - 04/98| M: AAB 320127 -> / A D: 192 6PK | 5 21652976 | 074105251 T..
M: AAB 320127 -> 6PK | 5 e 80001157 21652976
+ 80001156
-> M: M: AAB 320126 2PK 1 ’ 80001830 | 074 105 251 K...
-> M: M: AAB 320126 2PK | 1 ‘ 80001831 80001830
+ 80001156
AD: 192 6PK | 5 80004398 | 074 105251 T..
(o] !
+ CORTECO Nr: 21652976 / - - 80001243
OE Nr: 074105263B /
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
+ CORTECO Nr: 21652976 / - - 80001246
OE Nr: 069105263 /
+ CORTECO Nr: 80001157 /
D @: M18x1,5x65 / M8x30
- - o 80001156 074 105 193
2.4D AJA 08/97 - 04/03] -> 70-3-250 000 / A @: 192 6PK | 5 Q 21652976 | 074105251 T..
-> 70-3-250 000 6PK | 5 e 80001157 21652976
+ 80001156
AQD: 192 6PK | 5 80004398 | 074 105251 T..
(o] !
+ CORTECO Nr: 21652976 / - - 80001243
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
- - o 80001156 074105193
2.4 D Syncro AAB 10/92 - 09/98] M: AAB 320127 -> / -> 09/98 / 6PK | 5 21652976 | 074105251 T..
AD: 192 Q
M: AAB 320127 -> / -> 09/98 6PK | 5 e 80001157 21652976
+ 80001156
-> M: M: AAB 320126 2PK 1 ’ 80001830 | 074 105 251 K...
-> M: M: AAB 320126 2PK 1 80001831 80001830
‘ + 80001156
=1

335



g

OE

VW - T4 Transporter 07/90 - 04/03
2.4 D Syncro AAB 10/92 - 09/98| A @: 192 6PK | 5 80004398 | 074 105251 T...
o !
+ CORTECO Nr: 21652976 / - 80001243
OE Nr: 0741052638 /
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
+ CORTECO Nr: 21652976 / - 80001245
OE Nr: 0741052638 /
+ CORTECO Nr: 80001157 / 4
D @: M18x1,5x110 / M8x30
+ CORTECO Nr: 21652976 / - 80001246
OE Nr: 069105263 /
+ CORTECO Nr: 80001157 /
D @: M18x1,5x65 / M8x30
- o 80001156| 074 105 193
2.5 TDI ACV, AHY, AUF. AXG, AYC |09/95 - 04/03| -> 70-3-250 000 / A @: 192 6PK | 5 Q 21652976 074105251 T...
-> 70-3-250 000 6PK | 5 80001157 | 21652976
e + 80001156
AD: 192 6PK | 5 80004398 | 074 105251 T...
o !
+ CORTECO Nr: 21652976 / - 80001243
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
-1 - o 80001156 074 105 193
2.5 DI AJT, AYY 05/98 - 04/03| -> 70-3-250 000 / A @: 192 6PK | 5 g 21652976 074105 251 T...
-> 70-3-250 000 6PK | 5 80001157 | 21652976
e + 80001156
AQ: 192 6PK | 5 80004398 | 074 105251 T...
o !
+ CORTECO Nr: 21652976 / - 80001243
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30
+ CORTECO Nr: 80001157 / - 80001243
+ CORTECO Nr: 21652976 /
D @: M18x1,5x110 / M8x30
- o 80001156| 074105 193
2.5 TDI AT, AYY 12/98 - 04/03| -> 70-3-250 000 / A @: 192 6PK | 5 Q 21652976 | 074105251 T...
-> 70-3-250 000 6PK | 5 80001157 | 21652976
e + 80001156
AQ:192 6PK | 5 . 80004398 | 074 105 251 T...
o
+ CORTECO Nr: 21652976 / - I 80001243

+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30

336



o B g i VI o OE
VW - T4 Transporter 07/90 - 04/03
2.5TDI AT, AYY 12/98 - 04/03 - - 80001156 074105193

2.5 TDI Syncro ACV, AXL 09/95 - 04/03| A @: 192 6PK | 5 21652976 | 074 105251 T..

6PK | 5 80001157 21652976
e + 80001156
(o] !

A@:192 6PK | 5 80004398 | 074 105251 T..

+ CORTECO Nr: 21652976 / - -
+ CORTECO Nr: 80001157 /
D @: M18x1,5x110 / M8x30

80001243

B R o 80001156 074105193

VW - T5 Multivan  04/03 - 11/09
1.9 TDI AXB 04/03 - 11/09) -> 7H-5-075 000 / 6PK | 5 80000396 | 038 105 243 K

-> 7J-5-022 000

7H-5-075 001 ->/ 6PK | 5
7J-5-022 001 ->

80000543 | 03G 105243 C...

+ Start & Stop
-> 7J-5-022 000 / 6PK | 5 80004790| 038 105243 K
-> 7H-5-075 000

-> 7H 5H081 000 /
-> 7H 5X022 400 / ‘
->7) 5022 000
-> 7H-5-075 000 / 6PK | 5 80004792 | 038 105243 K

-> 7J-5-022 000
7H 5H081 001 -> /
7H 5X022 401 -> / ‘

7) 5022001 ->

7H-5-075 001 -> / 6PK | 5 80004922 | 03G 105243 C...
7J-5-022 001 ->

+ Start & Stop
-> 7H 5H081 000 / - - 80001259

-> 7H 5X022 400 /
->7J5022000/ \
+ CORTECO Nr: 80000396 /

D @: M16x1,5x59 / M8x37
7H 5H081 001 -> / - - 80001260

7H 5X022 401 -> / '
715022001 ->/

+ CORTECO Nr: 80000396 / ‘ éé
D @: M16x1,5x59 / M8x20
+ CORTECO Nr: 80000543 / - - 80004916

D &: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “

1.9 TDI BRS 06/06 - 11/09 6PK | 5

80000543 | 03G 105243 C...

+ Start & Stop

6PK | 5 Q 80004922 | 03G 105243 C...

+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 &

2.0 AXA 11/03 A D: 143 6PK | 5 e 80001118 | 06B 105243 F..
; Start & Stop

2.0 BiTDI CFCA 09/09 6PK | 5 80000678 | 038 105 243 M...
2.0 BiTDI 4motion CFCA 09/09
2.0 DI CAAA, CAAB, CAAC, 09/09
CCHA

337



VW - T5 Multivan  04/03 - 11/09

i il € OE

2.0 BiTDI CFCA 09/09 - - 80005272

2.0 BiTDI 4motion CFCA 09/09

2.0 TDI CAAA, CAAB, CAAC, 09/09

CCHA

2.0 TDI CAAE, CCHB 05/10 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

2.0 TDI 4motion CAAC, CCHA 09/09 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

2.0 TDI 4motion CAAE, CCHB 05/10 6PK | 5 80000678 | 038 105 243 M...
- - 80005272

2.0 TSI CJKA, CIKB 05/11 AD: 143 6PK | 5 80001120 | 06H 105 243 K...

2.0 TSI 4motion CJKA 07/11

VW - T5 Transporter 04/03 - 11/09
1.9 TDI AXB, AXC 04/03 - 11/09

-> 7H-5-075 000 /
-> 7J-5-022 000

80000396 | 038 105243 K

7H-5-075 001 -> / 6PK | 5
7J-5-022 001 ->

80000543 | 03G 105243 C...

+ Start & Stop
80004790| 038 105243 K

-> 7J-5-022 000 / 6PK | 5
-> 7H-5-075 000
-> 7H 5H081 000 /
-> 7H 5X022 400 /
->7J 5022 000

-> 7H-5-075 000 / 6PK | 5
-> 7J-5-022 000
7H 5H081 001 -> /
7H 5X022 401 -> /
7J 5022001 ->
7H-5-075 001 -> / 6PK | 5 80004922 | 03G 105243 C...
7J-5-022 001 ->

80004792 | 038 105243 K

0090000«

+ Start & Stop

-> 7H 5H081 000 / - - 80001259

-> 7H 5X022 400 /

->7)5022 000/ ‘

+ CORTECO Nr: 80000396 /

D @: M16x1,5x59 / M8x37

7H 5H081 001 -> / - - 80001260

7H 5X022 401 -> / “

7J 5022001 ->/

+ CORTECO Nr: 80000396 / ‘ “

D @: M16x1,5x59 / M8x20

+ CORTECO Nr: 80000543 / - - 80004916

D @: M16x1,5x59 / M8x16 /

M8x20 / M8x37 N‘w

1.9 TDI BRR, BRS 01/06 - 11/09 6PK | 5 ° 80000543 | 03G 105243 C...

+ Start & Stop

6PK | 5 80004922 | 03G 105243 C...

+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916

D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 N

338



o

¢
2

B oo

OE

VW - T5 Transporter 04/03 - 11/09

2.0 AXA 11/03 A D: 143 6PK 80001118 | 06B 105243 F..
+ Start & Stop
2.0 BiTDI CFCA 09/09 6PK 80000678 | 038 105 243 M...
2.0 BiTDI 4motion CFCA 09/09
2.0 TDI CAAA, CAAB, CAAC 09/09
- 80005272
2.0 TDI CAAE 05/10 6PK 80000678 | 038 105 243 M...
- 80005272
2.0 TDI 4motion CAAC 09/09 6PK 80000678 | 038 105 243 M...
- 80005272
2.0 TDI 4motion CAAE, CCHB 05/10 6PK 80000678 | 038 105 243 M...
- 80005272
2.0 TSI CJKA, CJKB 05/11 AQD: 143 6PK 80001120 | 06H 105 243 K...
2.0 TSI 4motion CJKA 07/11

VW - Tiguan 09/07 -

2.0 TDI CBAB, CFFB 03/08 6PK 80000678 | 038 105 243 M...
- 80005272

2.0 TDI CFFD 05/10 6PK 80000678 | 038 105 243 M...
- 80005272

2.0 TDI 4motion CBAB, CFFB, CLIA 09/07 6PK 80000543 | 03G 105243 C...
+ Start & Stop

6PK 80000678 | 038 105 243 M...

6PK 80004922 | 03G 105243 C...
+ Start & Stop

6PK 80004925 | 03G 105243 C...

+ Start & Stop

+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /

M8x20 / M8x37

+ CORTECO Nr: 80000543 / - 80004917

D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37

{00000 D<D<OO

339



i VI o OF
VW - Tiguan 09/07 -

2.0 TDI 4motion CBAB, CFFB, CLIA 09/07 - - 80005272

2.0 TDI 4motion CBBB, CFGB 09/07 6PK | 5 80000543 | 03G 105243 C...

+ Start & Stop
80000678 | 038 105 243 M...

6PK | 5

6PK | 5 80004922 | 03G 105243 C...

+ Start & Stop
80004925 | 03G 105243 C...

6PK | 5

000o <

+ Start & Stop
+ CORTECO Nr: 80000543 / - - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37

£
o=
%

+ CORTECO Nr: 80000543 / - - 80004917
D @: M16x1,5x54 / M8x16 /
M8x20 / M8x37

A3
F

- - 80005272

2.0 TDI 4motion CBAA, CFFA 11/07 6PK | 5 80000678 | 038 105 243 M...

80005272

2.0 TDI 4motion CFGC 11/12 6PK | 5 80000678 | 038 105 243 M...

80005272

2.0 TFSI 4motion CAWB, CCTA, CCZA 09/07 A@: 143 6PK | 5 80001120| 06H 105 243 K...

+ Start & Stop
80001120| 06H 105 243 K...

2.0 TFSI 4motion CAWA, CCZC 09/07 MC: CAWB / A @: 143 6PK | 5

+ Start & Stop
80001120| 06H 105 243 K...

2.0 TSI 4motion CCzZD 05/11 A@: 143 6PK | 5

VW - Touareg | 11/04
3.0 TDI BUN, CASB 04/06 - 05/10

80001134 | 059 105 251 AT...

+ Start & Stop
80004350 | 059 105 251 S...

6PK | 5

+ Start & Stop
80000202 | 059 105 251 S...

3.0 V6 TDI BKS, CATA 11/04 - 05/10 6PK | 5

A@:192 6PK | 5 80001134 | 059 105251 AT...

- Start & Stop

80004350 | 059 105251 S...

; Start & Stop

6PK | 5

@Co@CIO0® 0«0

340



o & g i il € OF
VW - Touareg | 11/04 - 05/10
3.0 V6 TDI CASA, CASC 11/07 - 05/10J A ©&: 192 6PK e 80001134 | 059 105 251 AT...
+ Start & Stop
6PK 80004350| 059 105 251 S...
+ Start & Stop
4.2 V8 FSI BAR 06/06 - 05/10| A @: 204 5PK 80001695| 079 105 251 N...

@j0 @

+ Start & Stop

80001134

+ Start & Stop

80004350

+ Start & Stop

VW - Touran

02/03 - 05/15

3.0 V6 TDI CASA, CNRB 01/10 A@:192 6PK
6PK
4.2 V8 TDI CKDA 01/10 05/12 -> 6PK

80005052

VW - Touareg Il 01/10 -
3.0 V6 TDI CASD, CJMA, CYWA 01/10 6PK| 5 80004350 | 059 105 251 S...

059 105 251 AT...

059 105 251 S...

057 105251 T..

1.6 TDI CAYC 05/10 - 05/15 6PK a 80000678 | 038 105 243 M...
1.9 TDI AVQ, BKC, BLS, BRU, BXE, |02/03 - 05/10 6PK 80000543 | 03G 105 243 C...
BXF, BXJ °
+ Start & Stop
6PK Q 80004922 | 03G 105 243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 “
2.0 EcoFuel BSX 02/06 - 05/09| A &: 143 6PK 80001118 | 06B 105243 F..
2.0 FSI AXW, BLR, BLX, BLY, BVY, |10/03 - 01/07
BVZ
+ Start & Stop
2.0TDI AZV, BMN 02/03 - 05/10 6PK ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D &: M16x1,5x59 / M8x16 /
M8x20 / M8x37 w
2.0 TDI BMM 12/05 - 05/10 6PK ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK 80004922 | 03G 105243 C...
+ Start & Stop
D &: M16x1,5x59 / M8x16 / - 80004916
M8x20 / M8x37 N‘w
2.0 TDI CFHC 05/10 - 05/15 6PK Q 80000678 | 038 105 243 M...

341




2 i il € OE
VW - Touran 02/03 - 05/15
2.0 TDI 16V BKD 08/03 - 05/10 6PK ° 80000543 | 03G 105243 C...
+ Start & Stop
6PK Q 80004922 | 03G 105243 C...
+ Start & Stop
+ CORTECO Nr: 80000543 / - 80004916
D @: M16x1,5x59 / M8x16 /
M8x20 / M8x37 ‘
VW -Vento 11/91 - 09/98
1.9D 1Y 11/91 -09/98 6PK (‘ 80000204 | 028 105243 T...
6PK . 80004333 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 4£‘¥3
1.9 SDI AEY 04/97 - 09/98 6PK ‘ 80000204 | 028 105243 T...
6PK . 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.97D AAZ 11/91 - 09/98 6PK (‘ 80000204 | 028 105243 T...
6PK . 80004333 028105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 4£‘¥3
1.9 TDI 1Z, AHU, ALE 09/93 - 09/98 6PK 0 80000204 | 028 105243 T...
6PK . 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - 80001253
D @: M14x1,5x47 / M8x45 44‘¥£
1.9 TDI AFN 04/96 - 09/98 6PK (‘ 80000204 | 028 105243 T...
6PK . 80004333 028 105243 T
+ CORTECO Nr: 80000204 / - 80001253

D @: M14x1,5x47 / M8x45

Q=
Q=
o
[y




Produktbilder | Photos | Foto

PICTURES

2



PICTURES

PRODUKTBILDER | PHOTOS | FOTO

21652976

21653130

21653131

]

49359583

49361662

T 49361872

-

49362585

‘% 49363329

Se

~

49367371

!

®

T 49367373

T 49367375

49367375

‘Tﬂ\ 49367379

~=

49367381

T 49367383

T 49367387

49367387

T 49367389

=

49368727

T 49374655

T 49374679,

49374679

T 49374715

~=

49374722

.4

T 49374727

-

49374729

T 49374731

=




80000025

80000085

80000200

80000201

80000202

80000203

80000204

80000205

80000351

80000352

80000363

80000366

80000374

i

80000384

80000385

80000386
,//

80000394 80000395 80000396 80000543
80000544 80000597 80000598 80000599

80000600

80000677

80000678

80000680

345



80000682

80000684

80000685

80000707

80000708

80000709

80000820

80000822

80000834

80000835

80000836

80000837

80000855

80000856

80000857

80000858

i

80000859

80000860

80000861

80000862

i

80000863

346




80000873

80000917

80000918

80000919

80000921

80000927

80000931

80000936

80000992

i

80001010

80001019

!

80001048

347



80001050

80001052

80001053

80001079

80001091

80001101

é

80001103 80001104 80001105
80001106 80001107 80001108 80001109

80001110

80001111

80001114

80001117

80001118

80001121

348




80001122

80001123

80001124

80001125

80001126

80001133

80001134

80001139

80001140

80001142

80001143

80001146

80001147

80001156

80001196

349



80001237

80001238

80001240

80001241

80001242

o

80001243

&

80001244

80001245

é

&5

&

e,
Oéd

80001246 80001247 80001248 80001249
w . o o “ l“
O O
80001250 80001251 80001252 80001253

L@

80001254

i

o
22

80001255

80001256

80001257

80001258

80001259

TR

80001260

J“J‘

80001261

Lot

80001262

80001263

§L

80001264

80001265

.-




80001266

80001267

80001268

»
¢3:

80001269

80001270

80001290

80001291

8000129

80001294

80001299

80001535

80001537
4 'L, \ ‘;

( L ]
O f

80001539

80001556

80001616

80001695

80001696

80001697

80001698

80001699

351




80001700

80001701

80001806

mne

80001726

80001727

80001812

80001808

80001811

-

80001830

80001824

80001831

i

8001827 |

80001825 |

80001990

i

o

80001991

H

80001832

80001833

i

<

80001994

i

80001992

S

80001993

i

=

80001998

i

80001995

=

80001995 |

80001996

800019%|

80004326

(]

80001997

-

H

=

80004326

80004328

i

@




80004329

80004330

D

80004332

80004333

80004346

80004334

80004336

80004348

80004350

80004364

e T

80004366

80004368

80004372

80004380

80004378

80004398

80004374 80004376
80004382 80004384 80004386 80004388
80004400 80004468 80004519

353



80004569

80004704

@

80004781

80004784

56‘6‘

o

-

o

o

d

o

o

e

%

80004865

1

o

80004867 80004868 80004869 80004870
80004873 80004874 80004875 80004876
80004877 80004878 80004879 80004882

olw

o

(o

!

80004886

l‘s\

]

354




80004891 80004892 80004893 80004894

80004895 80004896 80004897 80004898

80004902 80004903 80004910 80004916

wiv

80004925

N

80004917 80004920

!

80004980 80004988

2

80005014 80005017 80005020 80005025

@ @ ©

80005052 80005055 80005058 80005061

Iy !

i

i

355



80005064

80005092

80005093

80005094

80005095

80005096

80005097

80005098

80005099

80005100

80005101

80005102

80005103

80005104

80005105

80005106

80005107

80005108

80005109

80005110

80005171

80005190

PAPLPPY

060
PPN

006GaGE6

ol
{00066

80005271

g

80005272

80005273

@
. ¢
\ O

e oo o e e
@6 € 6o

80005275

80005278

b,

!iii /




OE-Nummern | Correspondances CORTECO-Origine
| Tabelle Comparative CORTECO-OEM

OE-NUMBERS

2

357



OE-NUMBERS

2| A'_
OE-NUMMERN | CORRESPONDANCES CORTECO-ORIGINE | TABELLE
COMPARATIVE CORTECO-OEM
OE OE OE
038 105 243 80000394 06F 105 243 J 80001122
46427969 80001142 038 105 243 80004980 06H 105 243 C 80001120
46447843 80001159 038 105 243 E 80000543 06H 105 243 F 80001120
46447843 80004910 038 105 243 F 80000395 06H 105 243 G 80001120
46544612 80001159 038 105 243 K 80004791 06H 105 243 K 80001120
46544612 80004910 038 105 243 K 80004792 074105 193 80001156
46544615 80001142 038 105 243 K 80000396 074 105 251 AC 21652976
46548458 80000926 038 105 243 K 80004790 074 105 251 AC 80004398
46742883 80001159 038 105 243 L 80000678 074 105 251 M 21652976
46742883 80004910 038 105 243 M 80000678 074 105 251 N 21652976
46742884 80001142 03G 105 243 80000543 074105251 N 80004398
46780491 80001159 03G 105 243 80004922 074 105 251 R 21652976
46780491 80004910 03G 105 243 80004925 074105 251 R 80004398
46791865 80000926 03G 105243 C 80000543 074105 251S 21652976
55181198 80000926 03G 105243 C 80004922 074105251 T 21652976
55181620 80000926 03G 105243 C 80004925 074105251 T 80004398
55184474 80001142 045 105 243 80000680 077105251 N 80001126
55185409 80001159 045105243 C 80000680 078105 251 L 80001079
55185409 80004910 045 105243 D 80000680 078105 251 Q 80001079
55187707 80001142 04B 105 243 B 49374715 078 105 251 R 80001079
55189083 80000917 057 105251 D 80000201 079 105251 E 80001695
55190424 80001159 057 105 251 M 80005052 079 105 251 F 80001695
55190424 80004910 057 105251 N 80005052 079 105 251 N 80001695
55196301 80001159 057 105251 Q 80005052 07L 105 251 P 80001123
55196301 80004910 057105251 80005052 07L105251 Q 80001123
55197953 80000926 057 105251 T 80005052 07L105251 T 80001123
55208280 80001159 058 105 251 A 80001117 21652976+80001156 80001157
55208280 80004910 058 105 251 D 80001537 AUDI (FAW)
55215574 80001142 058 105 251 E 80001117 058105251E 80001117
55217836 80000926 059 105 251 AA 80001009 059105251AH 80001009
60610906 80000917 059 105 251 AA 80004350 059105251M 80000200
60617857 80000917 059 105 251 AC 80000200 06B105243D 80001124
60620395 80000927 059 105 251 AD 80000202 06B105243F 80001118
60622945 80001138 059 105 251 AD 80004350 06E105251C 80001121
60630428 80000917 059 105 251 AF 80001134 06E105251E 80001125
60670055 80001139 059 105 251 AF 80004350 06F105243H 80001122
60802008 80001139 059 105 251 AG 80001134 06H105243F 80001120
60812505 80000917 059 105 251 AG 80004350 078105251L 80001079
60813309 80001138 059 105 251 AH 80001009 078105251R 80001079
60813915 80001159 059 105 251 AH 80004350 BMW
60813915 80004910 059 105 251 AJ 80001134 11231432471 80001100
60815661 80001159 059 105 251 AJ 80004350 11231438995 80001100
60815661 80004910 059 105 251 AQ 80004350 11231439 683 80001102
60815890 80001159 059 105 251 AR 80004350 11231741773 80001294
60815890 80004910 059 105 251 AS 80001009 11232244 417 80000025
60815929 80001142 059 105 251 AS 80004350 11232245377 80000025
60815976 80000917 059 105 251 AT 80001134 11232246511 80001991
60816824 80001159 059 105 251 AT 80004350 11232246511 80000025
60816824 80004910 059 105 251 BB 80004350 1123 2247 565 21653131
60816960 80001159 059 105 251 BN 80004350 1123 2 247 565 80001990
60816960 80004910 059 105 251 BP 80004350 11232247 886 80004988
71728498 80001159 059 105 251 BQ 80004350 11232247 886 21653130
71728498 80004910 059 105 251 DB 80004350 1123 2 247 887 80005025
71747796 80001142 059 105 251 M 80000200 1123 2 247 887 80000366
71747797 80001159 059 105 251 S 80000202 1123 2 247 887 80005020
71747797 80004910 059 105 251 S 80004350 1123 2 247 890 80004988
73501275 80001159 06A 105 243 E 80001118 11 23 2247 890 21653130
73501275 80004910 06A 105 243 F 80001119 11237504 527 80001104
93183257 80001159 06B 105 243 D 80001124 11237509 481 80001106
93183257 80004910 06B 105 243 F 80001118 11237513862 80001101
06E 105 251 A 80001121 11237516385 80004704
028 105 243 K 80000204 06E 105 251 C 80001121 11237546108 80004704
028 105243 Q 80000203 06E 105 251 E 80001125 11237548 003 80001699
028 105 243 R 80000204 06E 105 251 F 80001125 11237551308 80001700
028 105243 T 80000204 06F 105 243 80001122 11237561312 80001616
028105243 T 80004333 06F 105 243 H 80001122 11237564969 80004704

358




OE
11237566248 80001107
11237566 301 80001107
11237 567 055 80001105
11237 568 345 80001102
11237570 263 80005008
11237787 304 80001996
11237 787 304 80000374
11237788611 80004866
11237788611 80001103
11237790921 80001996
11237790921 80000374
11237793593 80004866
11237793593 80001103
11237793882 80001996
11237793 882 80000374
11237797 995 80004879
11237797 995 80000936
11237799153 80004879
11237799 153 80000936
11237 800 026 80001419
11 23 7 800 385 80001418
11237801977 80001996
11237801977 80000374
11237 805 696 80001996
1123 7 805 696 80000374
11237823191 80004879
11237823191 80000936
11238511321 80001826
11238511 371 80004866
11238511371 80001103
11238512072 80001698
11238513539 80001827
11238515002 80001828
11238571 269 49374679
1123 8 638 534 49374722
BUICK (SGM)

90469102 80004898
90469102 80000863
CHEVROLET

25182300 49367383
25182733 49367371
25193475 49367373
96336264 49367387
96352877 49367373
96416271 49367371
96563901 49367383
96563902 49367383
96592001 49367389
96853690 49367379
96897424 49367373
0515 GO 80004364
0515 G3 80000352
0515 G3 80001995
0515 G7 80000685
0515 HO 80004368
0515 H1 80004366
0515 H2 80004370
0515 H3 80001019
0515 H6 80001048
0515 H7 80000709
0515 J9 80000385
0515 1J9 80001998
0515 K1 80000931
0515 K1 80004883
0515 K2 80004374
0515 K3 80004374
0515 K4 80000708
0515 Ké 80001726
0515 K9 80000384
0515 K9 80001997
0515 L2 80004368

OE OE
0515 L4 80004370 0515V4 80000597
0515 L5 80004370 0515 V4 80001812
0515 L6 80000351 0515V5 80001811
0515 L6 80001994 0515 V5 80000873
0515 L7 80000707 0515 Vé 80001811
0515 L9 80001811 0515 V6 80000873
0515 L9 80000873 0515V7 80000597
0515 NO 80000931 0515 V7 80001812
0515 NO 80004883 0515V8 80000597
0515 N4 80000918 0515V8 80001812
0515 N5 80001146 0515V9 49363329
0515 N7 80004372 0515V9 80004382
0515 N8 80000918 1613977180 49374729
0515 N9 80001146 9636924480 80000931
0515 P1 80000931 9636924480 80004883
0515 P1 80004883 9650653380 80000931
0515 P2 80001811 9650653380 80004883
0515 P2 80000873 9653771880 80000931
0515 P3 80001146 9653771880 80004883
0515 P5 80000931 9677608180 80004874
0515 P5 80004883 9677608180 80000834
0515 P7 80005064 97522360 80004366
0515 P8 80000597 9804347980 80001196
0515 P8 80001812 9806722380 80004874
0515 P9 80000918 9806722380 80000834
0515 Q0 80000684 9808058180 49374729
0515 Q6 80004334 V763855180 80001196
0515 Q6 80000707 DACIA
0515 Q8 49363329 12 30 332 45R 80005275
0515 Q8 80004382 82 00 036 888 80004386
0515 R0 80000597 82 00 051 194 80000600
0515 RO 80001812 82 00 184 103 80000600
0515R1 80001556 82 00 185 800 80000600
0515 R2 80000598 82 00352 613 80001299
0515 R2 80004328 82 00 392 697 80000600
0515 R4 80005064 82 00 395 313 80001299
0515R5 80001007 82 00 477 938 80000600
0515 R6 80004338 82 00 544 135 80001299
0515R7 80004378 82 00 552 236 80001299
0515R8 80000931 82 00 687 605 80001299
0515R8 80004883 82 00 699 517 80001299
0515 R9 80000598 DAEWOO
0515 R9 80004328 25182300 49367383
0515 S1 80000931 25193475 49367373
0515 S1 80004883 96182652 49367375
0515 $4 80000598 96336264 49367387
0515 $4 80004328 96351111 49367381
0515 S6 80004376 96352877 49367373
0515 S7 80001238 96563901 49367383
0515 S7 49359583 96563902 49367383
0515 S8 80000684 96592001 49367389
0515 89 80004468 96853690 49367379
051570 80000597 96897424 49367373
0515T0 80001812 FIAT
0515T1 80004874 46427969 80001142
0515T1 80000834 46438708 80000925
051572 80001196 46438708 80000928
0515T3 80000682 46447843 80001159
051573 80004330 46447843 80004910
0515 T4 80001146 46472876 80000921
051575 80000932 46516096 80000924
0515 Té 49363329 46544612 80001159
0515T6 80004382 46544612 80004910
051577 49359583 46544615 80001142
051578 80001811 46548453 80000929
051578 80000873 46548458 80000926
051579 80001238 46742883 80001159
051579 49359583 46742883 80004910
0515 V0 80000597 46742884 80001142
0515 V0 80001812 46744318 80000922
0515V3 80001238 46747308 80001144
0515V3 49359583 46752133 80001150

359



OE
46753606 80000923
46770939 80001144
46776095 80000929
46780491 80001159
46780491 80004910
46791865 80000926
46791866 80000929
46809886 80001144
46819147 80001143
500312310 80000918
5003322830 80001141
500332292 80000918
500332293 80001146
500332296 80001140
500332830 80001141
504012367 80001147
504017415 80000919
504048057 80000932
504076697 80001147
504078435 80000919
504099920 80001146
55181186 80000929
55181189 80001148
55181190 80001425
55181196 80000928
55181198 80000926
55181200 80001150
55181230 80000930
55181620 80000926
55182506 80001145
55184019 80000923
55184474 80001142
55185409 80001159
55185409 80004910
55187707 80001142
55189083 80000917
55189263 80000930
55190424 80001159
55190424 80004910
55190581 80001144
55192966 80000930
55196301 80001159
55196301 80004910
55197953 80000926
55200498 80001143
55202554 80000933
55202555 80000934
55203502 80001149
55205471 80000934
55208280 80001159
55208280 80004910
55215574 80001142
55217836 80000926
60610906 80000917
60617857 80000917
60630428 80000917
60812505 80000917
60813915 80001159
60813915 80004910
60815661 80001159
60815661 80004910
60815890 80001159
60815890 80004910
60815929 80001142
60815976 80000917
60816824 80001159
60816824 80004910
60816960 80001159
60816960 80004910
71711983 80000924
71718235 80001148
71720588 80001148

360

OE OE
71723808 80000924 1319519 80000597
71728498 80001159 1319519 80001812
71728498 80004910 1329202 80001806
71747796 80001142 1329203 80001201
71747797 80001159 1329203 80004868
71747797 80004910 1329205 80001201
73501275 80001159 1329205 80004868
73501275 80004910 1332895 80001237
73502725 80000925 1332899 80005278
73502725 80000928 1339469 80001292
7778028 80000924 1349993 80001201
7787889 80000921 1349993 80004868
9467510480 80000598 1351731 80001201
9467510480 80004328 1351731 80004868
9467586180 80001811 1355516 80001237
9467586180 80000873 1355517 80005278
9467597180 80001811 1366102 80001237
9467597180 80000873 1366109 80005278
9608938980 80000352 1369546 80000597
9608938980 80001995 1369546 80001812
9624596880 80004334 1372756 80000834
9624596880 80000707 1376475 80000834
9630647280 80000598 1377588 80001806
9630647280 80004328 1379766 80000835
9637218980 80004334 1379766 80004875
9637218980 80000707 1379766 80004877
9641548980 80001811 1386188 80004468
9641548980 80000873 1387095 80004874
9651770980 80000598 1387095 80000834
9651770980 80004328 1434432 80004468
9654961080 80000682 1469700 80001701
9655703580 80000931 1473366 80000597
9655703580 80004883 1473366 80001812
9681761480 80001811 1485765 80000597
9681761480 80000873 1485765 80001812
99461230 80000918 1490842 49363329
99462683 80001146 1490842 80004382
FORD 1490906 80001195
1038330 80001290 1517975 80000597
1069593 80000204 1517975 80001812
1069593 80004333 1517976 80000597
1079188 80001133 1517976 80001812
1079188 80004903 1520590 49363329
1100051 80001133 1520590 80004382
1100051 80004903 1539704 80001112
1119003 80000394 1539837 80004468
1119003 80004980 1561030 80001237
1119175 80001237 1561803 80001701
1124891 80001201 1564852 80001143
1124891 80004868 1571899 80005278
1131911 80001292 1594853 80001201
1135052 80001290 1594853 80004868
1141497 80001428 1675115 80001806
1143413 80000833 1682158 80004336
1147683 80000597 1683820 49363329
1147683 80001812 1683820 80004382
1151392 80000833 1690296 80000682
1151394 80001201 1690296 80004330
1151394 80004868 1708966 80001806
1198049 80001292 1711500 80001292
1226637 80001201 1717678 49374731
1226637 80004868 1723700 80004468
1226638 80001201 1727140 80000835
1226638 80004868 1727140 80004875
1231959 49363329 1727140 80004877
1231959 80004382 1731716 80004874
1250444 80001290 1731716 80000834
1251672 80005278 1748942 80000835
1305988 80001195 1748942 80004875
1315782 80000543 1748942 80004877
1315782 80004922 1752282 80001112
1315782 80004925 1761940 80005014




OE
154Q 6B319 AE 80000833
154Q 6B319 AF 80000833
154Q 6B319 BD 80001292
1S7E 6316 DA 80001237
1§7G 6316 BC 80001237
157G 6316 BD 80001237
157G 6316 BE 80001237
157G 6316 CA 80001237
157G 6316 CB 80001237
1S7Q 6B319 AB 80001201
1S7Q 6B319 AB 80004868
1S7Q 6B319 AC 80001201
1S7Q 6B319 AC 80004868
1S7Q 6B319 BA 80001201
1S7Q 6B319 BA 80004868
1S7Q 6B319 BB 80001201
1S7Q 6B319 BB 80004868
2M5Q 6B319 AA 80001292
256G 6B321 AA 80001428
256Q 6B319 AD 80000597
256Q 6B319 AD 80001812
256Q GB319 AA 80000597
256Q GB319 AA 80001812
256Q GB319 AB 80000597
256Q GB319 AB 80001812
31460551 80004336
3M21 6B320 AA 80000543
3M21 6B320 AA 80004922
3M21 6B320 AA 80004925
3M5Q 6B319 AA 49363329
3M5Q 6B319 AA 80004382
3M5Q 6B319 CB 80000597
3M5Q 6B319 CB 80001812
3M5Q 6B319 CC 80000597
3M5Q 6B319 CC 80001812
4C10 6B319 AA 80001806
4C1Q 6B319 BA 80001806
4C1Q 6B319 C1A 80001201
4C1Q 6B319 C1A 80004868
4C1Q 6B319 C1B 80001201
4C1Q 6B319 C1B 80004868
4C1Q 6B319 DA 80001201
4C1Q 6B319 DA 80004868
4C1Q 6B319 DB 80001201
4C1Q 6B319 DB 80004868
4C1Q 6B319 DC 80001201
4C1Q 6B319 DC 80004868
4M5E 6316 JA 80005278
4M5G 316 GA 80005278
4M5G 6316 FB 80005278
4M5G 6316 FC 80005278
4M5G 6316 GB 80005278
4M5G 6316 HA 80005278
4M5G 6B321 ZA 80001195
4M5G 6B321 ZB 80001195
4M5Q 6B319 BA 80001292
4M5Q 6B319 EA 80001292
5087792 80004336
5227815 80001237
5227818 80001701
5227821 80005278
5348415 80004336
6599021 80001290
6C1Q 6B319 AD 80004468
6C1Q 6B319 AE 80004468
6C1Q 6B319 AF 80004468
6C1Q 6B319 CA 80000834
6C1Q 6B319 CB 80000834
6C1Q 6B319 CC 80004874
6C1Q 6B319 CC 80000834
6C1Q 6B319 EA 80000835
6C1Q 6B319 EA 80004875

OE OE
6C1Q 6B319 EA 80004877 46548453 80000929
7G9E 6316 CA 80001701 46548458 80000926
7G9G 6316 AA 80001701 46742883 80001159
7G9G 6316 BA 80001701 46742883 80004910
7M5Q 6B319 AA 49363329 46742884 80001142
7M5Q 6B319 AA 80004382 46776095 80000929
7M5Q 6B319 AB 49363329 46780491 80001159
7M5Q 6B319 AB 80004382 46780491 80004910
8A6G 6B321 AB 80001112 46791865 80000926
8A6G 6B321 AC 80001112 46791866 80000929
928M 6B320 DB 80001290 46819147 80001143
928M 6B320 DD 80001290 55181186 80000929
928M 6B320 DE 80001290 55181189 80001148
928M 6B320 DF 80001290 55181196 80000928
95VW 6B321 CB 80000204 55181198 80000926
95VW 6B321 CB 80004333 55181230 80000930
9C1Q 6B319 AA 80001806 55181620 80000926
9C1Q 6B319 AB 80001806 55184474 80001142
9M5Q 6B319 AA 49363329 55185409 80001159
9M5Q 6B319 AA 80004382 55185409 80004910
9S51 6B319 AA 80001143 55187707 80001142
AG9E 6B319 AA 80004336 55189083 80000917
AG9E 6B319 AB 80004336 55189263 80000930
AG9E 6B319 AC 80004336 55190424 80001159
AG9G 6B319 AD 80004336 55190424 80004910
AVQ6 6B319 AA 80000682 55192966 80000930
AVQ6 6B319 AA 80004330 55196301 80001159
BB3Q 6B319 BA 49374731 55196301 80004910
BK2Q 6B319 BA 80004874 55197953 80000926
BK2Q 6B319 BA 80000834 55200498 80001143
BK3Q 6B319 CA 80000835 55202554 80000933
BK3Q 6B319 CA 80004875 55202555 80000934
BK3Q 6B319 CA 80004877 55205471 80000934
BK3Q 6B319 CB 80000835 55208280 80001159
BK3Q 6B319 CB 80004875 55208280 80004910
BK3Q 6B319 CB 80004877 55215574 80001142
BU3Q 6B319 AA 80004468 55217836 80000926
CM5G 6316 HB 80005014 60610906 80000917
XS4Q 6B319 FC 80001133 60617857 80000917
XS4Q 6B319 FC 80004903 60622945 80001138
XS4Q 6B319 FD 80001133 60630428 80000917
XS4Q 6B319 FD 80004903 60670055 80001139
YM21 6B320 AA 80000394 60802008 80001139
YM21 6B320 AA 80004980 60812505 80000917
HONDA 60813309 80001138
13810-PNA-003 80005105 60813915 80001159
13810-PNA-013 80005105 60813915 80004910
13810-PWA-003 80005092 60815661 80001159
13810-PWA-013 80005092 60815661 80004910
13810-RNA-A02 80000861 60815890 80001159
13810-RRA-A01 80005105 60815890 80004910
13810-RRA-A02 80005105 60815929 80001142
13810-RZP-003 80000862 60815976 80000917
IVECO 60816824 80001159
5003322830 80001141 60816824 80004910
500332296 80001140 60816960 80001159
500332830 80001141 60816960 80004910
504017415 80000919 71711983 80000924
504078435 80000919 71718235 80001148
JEEP 71720588 80001148
71723808 80000924
LANCIA 71728498 80001159
46427969 80001142 71728498 80004910
46438708 80000925 71747796 80001142
46438708 80000928 71747797 80001159
46447843 80001159 71747797 80004910
46447843 80004910 73501275 80001159
46472876 80000921 73501275 80004910
46516096 80000924 73502725 80000925
46544612 80001159 73502725 80000928
46544612 80004910 7778028 80000924
46544615 80001142 7787889 80000921

361




OE

93183257 80001159
93183257 80004910
9467510480 80000598
9467510480 80004328
9467586180 80001811
9467586180 80000873
9467597180 80001811
9467597180 80000873
9630647280 80000598
9630647280 80004328
9641548980 80001811
9641548980 80000873
9651770980 80000598
9651770980 80004328
9681761480 80001811
9681761480 80000873
LAND ROVER

LHG000090 80001106
LHG100750L 80005025
LHG100750L 80000366
LHG100750L 80005020
LRO05344 80001806
LRO19351 80001806
LR025252 80004336
LR029988 80001806
LR068885 80004336
MAZDA

L32311400A 80005094
L323114008 80005094
L3K911400 80005098
LF2L11400A 80005096
LF5011400 80005101
LF5011400A 80005101
LF50114008B 80005101
LF9411400 80005095
LFE511400 80005097
LFR511400 80005097
Y60311401 80000597
Y60311401 80001812
Y66211401 80000682
Z)3811400 80005093
ZY0811400 80005106
ZY0811400A 80005106
ZY0811400B 80005106
112 035 06 00 80000363
112 035 08 00 80000363
112 035 09 00 80000363
112 03513 00 80000363
112 035 14 00 80000363
11303001 03 80001291
113 035 02 00 80001291
166 030 03 03 80004326
166 030 03 03 80000544
27003001 03 80005055
270 030 05 03 80005055
27103000 03 80001110
27103001 03 80004332
27103001 03 80001536
271 030 02 03 80004332
2710300203 80001536
272 030 00 03 80000830
272 030 03 03 80001109
272 030 08 03 80001427
272 030 09 03 80000830
273 03001 03 80000937
2730300303 80001427
273 030 08 03 80000937
274 030 00 03 80005058
274 030 08 03 80005058
274 03012 03 80005058
275 030 00 03 49374727

OE OE
27503501 00 49374727 06 14 758 80001749
276 030 09 03 80005011 06 15 026 80001696
61103002 03 80001108 06 15029 80001115
611030 02 03 80004793 06 15 045 80001114
611030 03 03 80000821 06 15049 80001697
611 030 0503 80001108 06 15 062 80001535
6110300503 80004793 13101722 80001116
611030 10 03 80000822 24430551 80001114
611030 14 03 80000822 44 05 268 80004400
61103017 03 80000821 44 13 748 80001010
612 030 02 03 80001462 44 13 748 80004894
612 030 08 03 80001462 44 13 749 80001010
61203012 03 80001462 4413 749 80004894
613 030 00 03 80001091 4414115 80001010
613 030 00 03 80004795 4414115 80004894
613 030 00 03 80004796 4414116 80001010
629 030 03 03 80000818 4414116 80004894
640 030 05 03 80001111 4416 426 80004400
642 030 00 03 80000819 44 16 535 80004400
642 030 01 03 80000820 4418 765 80004400
642 030 04 03 80000819 44 30728 80004870
642 030 05 03 80000820 44 30728 80001154
642 030 06 03 80004569 44 33 564 80004400
646 030 09 03 80001108 55196301 80001159
646 030 09 03 80004793 55196301 80004910
647 030 01 03 80000829 55351711 80000085
648 030 00 03 80001091 55351711 80001992
648 030 00 03 80004795 55559328 80001114
648 030 00 03 80004796 55563401 80001808
648 030 02 03 80001091 55564573 80000855
648 030 02 03 80004795 55565300 80001535
648 030 02 03 80004796 55571402 80001696
MINI 55571403 80001697
11237 514 461 80001833 55574772 80001697
11237525135 80001833 55575960 80001749
11237 562 801 80001196 55586935 80001808
11237 829 906 49361662 56 14 413 80004898
MITSUBISHI 56 14 413 80000863
MD350781 80005100 56 14 415 80000085
MD374223 80001832 56 14 415 80001992
NISSAN 56 14 425 80001113
1230300Q0A 80001434 56 14 425 80004891
1230300Q0)J 80001299 56 14 425 80004893
1230300QAY 80000600 56 14 428 80001115
1230300QBD 80004348 56 14 431 80001113
1230300QBD 80001093 56 14 431 80004891
123038J101 80005104 56 14 431 80004893
12303AL501 80005102 56 14 437 80000085
12303AW300 80004348 56 14 437 80001992
12303AW300 80001093 56 14 438 80001143
12303EN20C 80005171 56 14 441 80000837
12303JK20A 80005103 56 14 444 80000836
OPEL 56 14 445 80001159
06 14 150 80001143 56 14 445 80004910
06 14 182 80001697 56 14 447 80001114
06 14 193 80001808 56 14 450 80001749
06 14 352 80001159 614150 80001143
06 14 352 80004910 614172 80001749
06 14 411 80000085 614182 80001697
06 14 411 80001992 614193 80001808
06 14 414 80001539 614 352 80001159
06 14 426 80000836 6 14 352 80004910
06 14 430 80001116 614411 80000085
06 14 484 80001539 614411 80001992
06 14 487 80001808 614414 80001539
06 14 584 80000855 6 14 426 80000836
06 14 610 80001991 6 14 430 80001116
06 14 610 80000025 6 14 484 80001539
06 14 612 80001991 6 14 487 80001808
06 14 612 80000025 614571 80001159
06 14 654 80004898 614 571 80004910
06 14 654 80000863 6 14 584 80000855

362




OE

614610 80001991
614610 80000025
614612 80001991
614612 80000025
614 654 80004898
614 654 80000863
614758 80001749
615026 80001696
615029 80001115
6 15045 80001114
6 15 049 80001697
615062 80001535
90424119 80001115
90466618 80004898
90466618 80000863
90469102 80004898
90469102 80000863
90487878 80001991
90487878 80000025
90528648 80000085
90528648 80001992
90531581 80001113
90531581 80004891
90531581 80004893
90531582 80001539
90541669 80001991
90541669 80000025
90572761 80001115
9121101 80004400
9128177 80000085
9128177 80001992
9128562 80001539
9129209 80001113
9129209 80004891
9129209 80004893
931177317 80001143
931188615 80004400
93161258 80001010
93161258 80004894
93161259 80001010
93161259 80004894
93161444 80004870
93161444 80001154
93170224 80001010
93170224 80004894
93170225 80001010
93170225 80004894
93183257 80001159
93183257 80004910
93187473 80004400
93191381 80001159
93191381 80004910
93194443 80001143
93196089 80004400
93198115 80004400
97251975 80000836
97353964 80000837
97361525 80000836
98022837 80001749
PEUGEQOT

0515 F7 80004362
0515 GO 80004364
0515 G3 80000352
0515 G3 80001995
0515 G7 80000685
0515 HO 80004368
0515 H1 80004366
0515 H2 80004370
0515 H3 80001019
0515 H6 80001048
0515 H7 80000709
0515 J9 80000385

OE OE
0515 J9 80001998 0515 Té 49363329
0515K1 80000931 0515T6 80004382
0515 K1 80004883 051577 49359583
0515 K2 80004374 051578 80001811
0515 K3 80004374 051578 80000873
0515 K4 80000708 051579 80001238
0515 K6 80001726 051579 49359583
0515 K9 80000384 0515 V0 80000597
0515 K9 80001997 0515 V0 80001812
0515 L2 80004368 0515V3 80001238
0515 L4 80004370 0515V3 49359583
0515 L5 80004370 0515 V4 80000597
0515 L6 80000351 0515 V4 80001812
0515 L6 80001994 0515V5 80001811
0515 L7 80000707 0515 V5 80000873
0515 L9 80001811 0515 Vé 80001811
0515 L9 80000873 0515 V6 80000873
0515 NO 80000931 0515V7 80000597
0515 NO 80004883 0515 V7 80001812
0515 N4 80000918 0515V8 80000597
0515 N5 80001146 0515V8 80001812
0515 N7 80004372 0515V9 49363329
0515 N8 80000918 0515 V9 80004382
0515 N9 80001146 1613977180 49374729
0515 P1 80000931 9636924480 80000931
0515 P1 80004883 9636924480 80004883
0515 P2 80001811 9650653380 80000931
0515 P2 80000873 9650653380 80004883
0515 P3 80001146 9653771880 80000931
0515 P5 80000931 9653771880 80004883
0515 P5 80004883 9677608180 80004874
0515 P7 80005064 9677608180 80000834
0515 P8 80000597 9804347980 80001196
0515 P8 80001812 9806722380 80004874
0515 P9 80000918 9806722380 80000834
0515 Q0 80000684 9808058180 49374729
0515 Q6 80004334 V763855180 80001196
0515 Q6 80000707 PORSCHE
0515 Q7 80004380 948 102 241 02 80004519
0515 Q8 49363329 948 102 241 03 80004519
0515 Q8 80004382 RENAULT
0515 R0 80000597 12 30 327 62R 49374655
0515 RO 80001812 12 30 332 45R 80005275
0515R1 80001556 77 00 100 882 80001999
0515 R2 80000598 77 00 100 882 80000386
0515R2 80004328 77 00 100 883 80001999
0515 R4 80005064 77 00 100 883 80000386
0515R5 80001007 77 00 101 242 80004781
0515 R6 80004338 77 00 104 292 80001999
0515R7 80004378 77 00 104 292 80000386
0515R8 80000931 77 00 105 321 80004781
0515R8 80004883 77 00 109 260 80001727
0515 R9 80000598 77 00 110 329 80000599
0515 R9 80004328 77 00 110 329 80004329
0515 S1 80000931 77 00 112 999 80001993
0515 S1 80004883 77 00 112 999 80000205
0515 $4 80000598 7700113018 80000599
0515 S4 80004328 7700113018 80004329
0515 S6 80004376 7700113776 80001010
0515 S7 80001238 77 00113776 80004894
0515 S7 49359583 77 00 115 309 80000599
0515 S8 80000684 77 00 115 309 80004329
0515 S9 80004468 77 00 115766 80001010
051570 80000597 77 00 115766 80004894
051570 80001812 77 00 724 249 80001993
0515T1 80004874 77 00 724 249 80000205
0515T1 80000834 77 00 738 072 80001727
051572 80001196 77 00 747 282 80001727
0515T3 80000682 77 00 853 470 80000710
051573 80004330 77 00 856 673 80001050
0515 T4 80001146 77 00 858 731 80001155
051575 80000932 77 00 864 763 80001993

363




OE
77 00 864 763 80000205
77 00 870 877 80004384
77 00 870 878 80004384
82 00 029 592 80004386
82 00 036 888 80004386
82 00051 126 80004870
82 00051 126 80001154
82 00 051 194 80000600
82 00 079 183 80001010
82 00 079 183 80004894
82 00 162 582 80004400
82 00 184 103 80000600
82 00 185 800 80000600
82 00 195 546 80004870
82 00 195 546 80001154
82 00 207 435 80004400
82 00 207 436 80004870
82 00 207 436 80001154
82 00 213 058 80004870
82 00 213 058 80001154
82 00 268 426 80004348
82 00 268 426 80001093
82 00 276 838 80005017
82 00 276 840 80005190
82 00 297 934 80005017
82 00 297 935 80005190
82 00 297 936 80004348
82 00 297 936 80001093
82 00 313 231 80004781
82 00 352 613 80001299
82 00 361 247 80001434
82 00 361 247 80004896
82 00 386 445 80001993
82 00 386 445 80000205
82 00 386 446 80001010
82 00 386 446 80004894
82 00 392 683 80004781
82 00 392 697 80000600
82 00 395313 80001299
82 00 451 065 80005017
82 00 451 073 80005190
82 00 457 775 80004348
82 00 457 775 80001093
82 00 458 171 80004400
82 00 458 960 80001727
82 00 468 081 80004870
82 00 468 081 80001154
82 00 505 824 80005017
82 00 505 833 80005190
82 00 523 061 80005017
82 00 523 068 80005190
82 00 523 072 80004348
82 00 523 072 80001093
82 00 544 135 80001299
82 00 545 437 80001993
82 00 545 437 80000205
82 00 552 236 80001299
82 00 555 547 80004870
82 00 555 547 80001154
82 00 555 549 80004400
82 00 619 927 80005190
82 00 637 900 80004388
82 00 638 754 80005017
82 00 664 348 80004870
82 00 664 348 80001154
82 00 664 350 80004400
82 00 687 605 80001299
82 00 689 702 80000599
82 00 689 702 80004329
82 00 699 517 80001299
82 00 767 762 80001434
82 00767 762 80004896

364

OE OE
82 00 802 664 80004870 045 105 243 D 80000680
82 00 802 664 80001154 04B 105243 B 49374715
82 00 802 666 80004400 059 105 251 AC 80000200
82 00817 574 80005190 059 105251 M 80000200
82 00817 580 80005017 06A 105 243 E 80001118
82 00 972 496 80004386 06B 105243 D 80001124
ROVER 06B 105 243 F 80001118
LHG100750 80005025 06F 105 243 80001122
LHG100750 80000366 06F 105 243 H 80001122
LHG100750 80005020 06F 105 243 ) 80001122
SAAB 06H 105 243 C 80001120
55196 301 80001159 06H 105 243 F 80001120
55196 301 80004910 06H 105 243 G 80001120
55351711 80000085 06H 105 243 K 80001120
55351711 80001992 078 105 251 L 80001079
95 44 461 80000085 078 105251 Q 80001079
95 44 461 80001992 078 105 251 R 80001079
SEAT
028 105 243 AA 80000677 06A105243E 80001118
028 105 243 AC 80000677 06H105243C 80001120
028 105243 T 80000204 06H105243G 80001120
028105243 T 80004333
038 105 243 80000394 12305AA121 80005110
038 105 243 80004980 12305AA242 80005110
038 105 243 E 80000543 12305AA243 80005110
038 105 243 K 80004791 12305AA360 80005109
038 105 243 K 80004792 12305AA370 80005108
038 105 243 K 80000396
038 105 243 K 80004790 1261069K00000 80000682
038 105243 L 80000678 1261085E00000 80001143
038 105 243 M 80000678
03G 105 243 80000543 13407-ON0O10 80000859
03G 105 243 80004922 13408-0R011 80000857
03G 105 243 80004925 13408-0R030 80000857
03G 105243 C 80000543 13408-30010 80005099
03G 105243 C 80004922 13408-30011 80005099
03G 105243 C 80004925 13470-0D040 80000860
045 105 243 80000680 13470-0J010 80000856
045 105 243 C 80000680 13470-0Q010 80000858
045105243 D 80000680 13470-0Q011 80000858
04B 105 243 B 49374715 13470-0Q012 80000858
06A 105 243 E 80001118 13470-22041 80000860
06A 105 243 F 80001119 13470-37020 80005107
063 105 243 F 80001118
06F 105 243 80001122 06 14 150 80001143
06F 105 243 H 80001122 06 14 352 80001159
06F 105 243 ) 80001122 06 14 352 80004910
06H 105 243 C 80001120 06 14 411 80000085
06H 105 243 F 80001120 06 14 411 80001992
06H 105 243 G 80001120 06 14 426 80000836
06H 105 243 K 80001120 06 14 430 80001116
SKODA 06 14 584 80000855
028 105 243 AA 80000677 06 14 610 80001991
028 105 243 AC 80000677 06 14 610 80000025
038 105 243 80000394 06 14 612 80001991
038 105 243 80004980 06 14 612 80000025
038 105 243 E 80000543 06 14 654 80004898
038 105 243 F 80000395 06 14 654 80000863
038 105 243 K 80004791 06 14 758 80001749
038 105 243 K 80004792 06 15029 80001115
038 105 243 K 80000396 06 15 045 80001114
038 105 243 K 80004790 13101722 80001116
038 105 243 L 80000678 24430551 80001114
038 105243 M 80000678 44 05 268 80004400
03G 105 243 80000543 44 13 748 80001010
03G 105 243 80004922 44 13 748 80004894
03G 105 243 80004925 44 13 749 80001010
03G 105243 C 80000543 44 13 749 80004894
03G 105243 C 80004922 44 14115 80001010
03G 105243 C 80004925 44 14115 80004894
045 105 243 80000680 44 14116 80001010
045 105243 C 80000680 4414116 80004894




OE
44 16 426 80004400
44 16 535 80004400
4418 765 80004400
44 30728 80004870
44 30728 80001154
44 33 564 80004400
55196301 80001159
55196301 80004910
55351711 80000085
55351711 80001992
55559328 80001114
55564573 80000855
55575960 80001749
56 14 413 80004898
56 14 413 80000863
56 14 415 80000085
56 14 415 80001992
56 14 425 80001113
56 14 425 80004891
56 14 425 80004893
56 14 428 80001115
56 14 431 80001113
56 14 431 80004891
56 14 431 80004893
56 14 437 80000085
56 14 437 80001992
56 14 438 80001143
56 14 441 80000837
56 14 444 80000836
56 14 445 80001159
56 14 445 80004910
56 14 447 80001114
56 14 450 80001749
614150 80001143
614172 80001749
6 14 352 80001159
6 14 352 80004910
614411 80000085
614411 80001992
614 426 80000836
6 14 430 80001116
614571 80001159
614571 80004910
614 584 80000855
614610 80001991
614610 80000025
614612 80001991
614612 80000025
614 654 80004898
614 654 80000863
614758 80001749
615029 80001115
615045 80001114
90424119 80001115
90466618 80004898
90466618 80000863
90469102 80004898
90469102 80000863
90487878 80001991
90487878 80000025
90528648 80000085
90528648 80001992
90531581 80001113
90531581 80004891
90531581 80004893
90541669 80001991
90541669 80000025
90572761 80001115
9121101 80004400
9128177 80000085
9128177 80001992
9129209 80001113

OE OE
9129209 80004891 038 105 243K 80000396
9129209 80004893 038 105 243 K 80004790
931177317 80001143 038 105243 L 80000678
931188615 80004400 038 105 243 M 80000678
93161258 80001010 03G 105 243 80000543
93161258 80004894 03G 105 243 80004922
93161259 80001010 03G 105 243 80004925
93161259 80004894 03G 105243 C 80000543
93161444 80004870 03G 105243 C 80004922
93161444 80001154 03G 105243 C 80004925
93170224 80001010 045 105 243 80000680
93170224 80004894 045 105243 C 80000680
93170225 80001010 045105243 D 80000680
93170225 80004894 04B 105243 B 49374715
93183257 80001159 057 105251 M 80005052
93183257 80004910 057 105 251 N 80005052
93187473 80004400 057 105251 Q 80005052
93191381 80001159 057 1052518 80005052
93191381 80004910 057 105251 T 80005052
93194443 80001143 058 105 251 A 80001117
93196089 80004400 058 105251 D 80001537
93198115 80004400 058 105251 E 80001117
97251975 80000836 059 105 251 AA 80001009
97353964 80000837 059 105 251 AA 80004350
97361525 80000836 059 105 251 AC 80000200
98022837 80001749 059 105 251 AD 80000202
VOLVO 059 105 251 AD 80004350
1275369 49368727 059 105 251 AF 80001134
1275930 80001052 059 105 251 AF 80004350
21652976+80001156 80001157 059 105 251 AG 80001134
30637335 80000990 059 105 251 AG 80004350
30677464 80000991 059 105 251 AH 80001009
30731039 80001052 059 105 251 AH 80004350
30731045 80001053 059 105 251 Al 80001134
30731865 80000990 059 105 251 A 80004350
30757386 80005278 059 105 251 AQ 80004350
31104839 80001052 059 105 251 AR 80004350
31251290 80000597 059 105 251 AS 80001009
31251290 80001812 059 105 251 AS 80004350
31251643 80005061 059 105 251 AT 80001134
31258122 80000991 059 105 251 AT 80004350
31258384 80005278 059 105 251 BB 80004350
31272289 80000597 059 105 251 BN 80004350
31272289 80001812 059 105 251 BP 80004350
313 300 83 80000682 059 105 251 BQ 80004350
313 594 14 49361872 059 105 251 DB 80004350
31375452 80005278 059 105251 M 80000200
8627933 21652976 059 105251 S 80000202
8627933 80004398 059 105251 S 80004350
8627935 80001156 06A 105 243 E 80001118
8642173 80001053 06B 105243 D 80001124
8642368 80000990 06B 105 243 F 80001118
8642400 80000992 06F 105 243 80001122
8692285 80001052 06F 105 243 H 80001122
9163918 21652976 06F 105 243 J 80001122
9163918 80004398 06H 105 243 C 80001120
9180620 21652976 06H 105 243 F 80001120
9180620 80004398 06H 105 243 G 80001120
YW 06H 105 243 K 80001120
028 105 243 AA 80000677 074 105 193 80001156
028 105 243 AC 80000677 074 105 251 AC 21652976
028 105 243 K 80000204 074 105 251 AC 80004398
028 105 243 Q 80000203 074105251 ) 80001830
028 105 243 R 80000204 074 105251 K 80001830
028 105243 T 80000204 074 105251 M 21652976
028 105243 T 80004333 074105251 N 21652976
038 105 243 80000394 074105251 N 80004398
038 105 243 80004980 074 105251 R 21652976
038 105243 E 80000543 074105251 R 80004398
038 105 243 F 80000395 074 105251 S 21652976
038 105 243 K 80004791 074105251 T 21652976
038 105 243 K 80004792 074105251 T 80004398

365



OE
078 105 251 L 80001079
078 105 251 Q 80001079
078 105 251 R 80001079
079 105 251 E 80001695
079 105 251 F 80001695
079 105 251 N 80001695
21652976+80001156 80001157
80001830 + 80001156 80001831
VW (FAW)
038105243K 80004791
038105243K 80000396
038 105 243 K 80004792
038 105 243 K 80004790
03G105243 80000543
03G105243 80004922
03G105243 80004925
06A105243E 80001118
06H105243C 80001120
06H105243F 80001120
VW (SVW)
06A105243E 80001118
06B105243D 80001124
078105251Q 80001079

366

OE

OE



SIGNS AND SYMBOLS

ZEICHENERKLARUNG | SIGNES ET SYMBOLES | SEGNI E SIMBOLI

o

Application
Anwendung
Application
Applicazione

Information
Information
Information
Informazione

CORTECO-Number
CORTECO-Nummer
Reference CORTECO
Codice CORTECO

New
Neu
Nouveau
Nuovo

2

Engine
Motor

Moteur
Motore

I
iy

Belt type

Riementyp

Type de courroie
Tipologia di cinghia

|1234|

Number of inner ribs
Rippenanzahl, innen
Nombre de vervures
Numero di gole

Comparison-Number
Vergleichsnummer
Reférence origine
Codice di confronto

OE

<

Installationi perios
Einbauzeitraum
Periode de montage
Periodo di utilizzo

Pictures

Produktbilder _
+ Start & St

Foto

for Start & Stop
for Start & Stop
pour Stop and Start
con Start & Stop

-> M
5-AUT

5-MAN

6-AUT

AC

AUT

AD: ...
BM: ...

+ CORTECO Nr: ...

DPF

DQ:..
ex. AC

ex. Code: ...

ex. DPF

ex. J

ex. Servo

ex. ZHP - KK

Construction year from / Chassis
number from / Organisation
number from

Construction year to / Chassis
number to / Organisation num-
ber to

Engine number to

Transmission Type, Automatic
Transmission, 5-speed

Transmission Type, Manual Trans-
mission, 5-speed

Transmission Type, Automatic
Transmission, 6-speed

Vehicle Equipment, for vehicles
with air conditioning

Transmission Type, Automatic
Transmission

Outer diameter [mm]
Type
only in connection with

Catalytic Converter Type, for vehi-
cles with soot filter

Specification

Vehicle Equipment, for vehicles
without air conditioning

Manufacturer Exclusion

Catalytic Converter Type, for vehi-
cles without soot filter

not for country-spec. model, Ja-
pan

Vehicle Equipment, for vehicles
without power steering

Vehicle Equipment, for veh. with-
out add. hydraulic pump or radi-
ator compressor

Transmission Type

Engine number from

Baujahr ab / Fahrgestellnummer
ab / Organisationsnummer ab

Baujahr bis / Fahrgestellnummer
bis / Organisationsnummer bis

Motornummer bis

Getriebeart, Getriebeautomatik 5
Gang

Getriebeart, Schaltgetriebe 5
Gang

Getriebeart, Getriebeautomatik 6
Gang

Fahrzeugausstattung, for Fahrze-
uge mit Klimaanlage

Getriebeart, Automatikgetriebe

AuBendurchmesser [mm]
Baumuster
nur in Verbindung mit

Katalysatorart, for Fahrzeuge mit
RuBBpartikelfilter

Spezifikation

Fahrzeugausstattung, for Fahrze-
uge ohne Klimaanlage

Herstellerausschluss

Katalysatorart, fir Fahrzeuge
ohne RuB3partikelfilter

nicht for Lénderausfihrung, Ja-
pan

Fahrzeugausstattung, for Fahrze-
uge ohne Servolenkung

Fahrzeugausstattung, for Fahrze-
uge ohne Zusatzhydraulikpumpe
oder Kuhlkompressor

Getriebetyp

Motornummer ab

Année & partir de / N2 de chaéssis
& partir de / N2 d'organisation &
partir de

Année jusqu'a / N2 de chassis
jusqu'a / N2 d'organisation jus-
qu'a

N° de moteur &

Type d'entrainement, Boite auto-
matique & 5 vitesses

Type d'entrainement, Boite de vit-
esses manuelle & 5 vitesses

Type d'entrainement, Boite auto-
matique & 6 vitesses

Equipement véhicule, pour véhi-
cules avec systéme de climatisa-
tion

Type d'entrainement, Boite auto-
matique

Diamétre extérieur [mm]
Modéle type
uniquement en connexion avec

Type de catalyseur, pour véhicules
avec filtre & particules

Spécification

Equipement véhicule, pour véhi-
cules sans systéme de climatisa-
tion

Exclusion de fabricant

Type de catalyseur, pour véhicules
sans filtre & particules

pas pour version-pays, Japon
Equipement véhicule, pour véhi-
cules sans direction assistée

Equipement véhicule, pr véh.s
sans pompe hydraul. add. ou
compresseur refroidi.

Type de boite de vitesses

N° de moteur de

Anno da / N° telaio da / N° or-
ganizzazione da

Anno fino a / N° telaio fino a / N°
organizzazione fino a

N° motore fino a

Tipo trasmissione, Cambio auto-
matico a 5 marce

Tipo trasmissione, Cambio man-
uale a 5 marce

Tipo trasmissione, Cambio auto-
matico a 6 marce

Equipaggiamento veicolo, per
veicoli con aria condizionata

Tipo trasmissione, Trasmissione
automatica

Diametro esterno [mm]
Modello
solo unitamente a

Tipo catalizzatore, per veicoli con
filtro antiparticolato

Specificazione

Equipaggiamento veicolo, per
veicoli senza aria condizionata

Esclusione costruttore

Tipo catalizzatore, per veicoli sen-
za filtro antiparticolato

non per versione per paese,
Giappone

Equipaggiamento veicolo, per
veicoli senza servosterzo

Equipaggiamento veicolo, per
veicoli senza pompa idraul. ausil.
o compressore raffred

Tipo trasmissione

N° motore da

367



SIGNS AND SYMBOLS

ZEICHENERKLARUNG | SIGNES ET SYMBOLES | SEGNI E SIMBOLI

MC: ...
OE Nr: ...

RHD

Servo

ZA

ZBA

ZBG

368

Transmission Type, Manual Trans-
mission

Engine Code
for OE number

Driver Position, for right-hand
drive vehicles

Vehicle Equipment, for vehicles
with power steering

Alternatively
Country Version, Africa

Engine Block Material, Aluminium

Engine Block Material, Cast Iron

Getriebeart, Schaltgetriebe

Motorcode
for OE-Nummer

Links-/Rechtslenker, fir Re-
chtslenker

Fahrzeugausstattung, for Fahrze-
uge mit Servolenkung

wahlweise
Landerausfihrung, Afrika

Motorblockmaterial, Aluminium

Motorblockmaterial, GuBeisen

Type d'entrainement, boite de vit-
esses manuelle

Code moteur
pour numéro OE

Véhicule avec direction & gauche
ou & droite, pour véhicules avec
direction & droite

Equipement véhicule, pour véhi-
cules avec direction assistée

au choix

Type de pays, Afrique

Matériel pour bloc-moteur, Alumi-

nium

Matériel pour bloc-moteur, Fonte

Tipo trasmissione, Cambio man-
uale

Codice motore
per N° OE

Veicolo con guida a Sx/Dx, per
veicolo con guida a Dx

Equipaggiamento veicolo, per
veicoli con servosterzo

a scelta
Modello p. paesi, Africa

Materiale blocco motore, Allumi-
nio

Materiale blocco motore, Ghisa



Notizen | Notes | Note

NOTES




Notizen | Notes | Note

NOTES




